deall b

AT FIHR
firert, famm aun afafa q=mem
uroAthd fdbrR dog
AAISHT, WaaI



PEQRIED
LEICECEEOLY

fren, o @ afafa we=mem
qeaHH fawE &
TAISHT, W

© waEifgwR qeuwA fawm &

T TEATETRERE a0 AfERE aeued faw @ qeieHl, waaqeAr e
R B | megwn faww dww fafen wfmfafa et e anft @ @
an HTEH W gEE THFEM T, TEdd TRY TEEE W, F fare arew ar ow
gfafiere I T T gfafafy fee o o |

TYH GERIUT : fa® 309

gfenfsa &@eweur : fa.8. 059

F7, HT TUT FHIA TG WBIERTET JTUT T | TEHGEAE AT
THATAZEATZ F77 gl &@NTd Mo |




14l ot

fRreTeTE JTYAHAF, ATARTNE, THATAIEF T ISRIRAAS aArs (= THIHT qTETFHH,
A faepr qar afewTstd Hrars HReRdr fags et @ 1 faerdtar e e T
faeprg T ardfa® StEmfa= weg Tfaa T, g ¥ @Eaers aHEy T4, @aRrEtad g
A, [T ¥ ewarars STt T AEHATE [GEE g dravdsd @ | faerdiEr afuer, @dedn
T HHEATH! TagT T+, e Saadl AV T, Ml [aeaqo T80 o T, I
[Tt ATIRHT AT, THTS T eIl [GTT [qehTaHT Ak g FeTHaTen! faehrq aid et
T | feramdTaT Afqe ATeRoT GaeTe T, ATHITE Faua Gaaaeiidl g, TaERu Feqemyid
FaaelTer g, 373 A< e faur nfeqsr anfr yfdqeag Tew Germarer fawm 9t wreafas
qeel Rrefreme SUTa B | I9 dedl RIETETe ATieE A, (69, e a9 TR qrarae
TART T, a3 SAGAHE! (qaeh! TR T, I, ARTAAT ¥ G AT T FFATH T,
THTST HTH AT T FTA FEE(qh] ATFIA T, ATEW] AT TCT FETHAT HUH ARTE T
T qTeT el T | A, faeefie, wemrefier, Sawefiar tay == "= T areerHr anarted
TEAER T, THATAIE TATceEd] qhe G T add [euard Jad e,
T, aRadaaE!r, famaaeie Tae dHrEe FAS AT e T e GEHaraiedd
ARTRE TR T ATeATAE RIS q&d Wehl @ | el a8 il AT [qarad Rretrr afteg
TSI T, 0% I ANGAATET [ehTe qUH ATt RIeq (Felr & -q0) TEAHHATAR
TAR IRTERT HET 4, BT O (TP T TEATAFATS 9T [alq [T ™ Tereror Tr
9T ESUIY FHET AT THAT TSATETF TR TR 8l |

T qIEIIEAhed] @ qAT GIATS Hrd AT T0reT Aqrqeprar, A7 Avefe Ao, # afaayans
A=, AT faAEgare 9=, A7 I 9w, A7 faRagarg daawrs, A7 THER ehe T AT S
TS TUHT &1 | TMEIARAFATS T BIH] ATIH FIUAT Hrachl HaLTE T AMTAR
S, ST 39 ARMEW A, 9T ST AESArE qived, o7 werartst Bern, o giEer e,
ST 9ATH AT AT, A7 W erer, o fAwer aw, o aferar o, o queeTey serHerTad
TRIFRATATRT (9T AT TEehT B | TERT AT TEATT ST, TOTIATE HE2Ts, FEmrepamey e 2
g GATAATE AU &l | TH IISATEI Db TATIE (SIS H STAH Fgebel T HT TS YLIelE AUH]

2T | T TEAhep] (T BTAHT el Fegiq AR (G bvg g7gaT2 Tehe T |
AEATEAFATE RTEANTFGH Hewd Ul Aqraded] ®qq fageg | a9are faendiel aeasmagrT

Al Feawar efad T 7Ed T ATl TRUH G | T TMTIAHATs G (R aTharIqEr,
FATTR 5, ILYTHAF T FAABT A3 G TRUH G | (Feprg ¥ faamdiept st aqaata=

ATETCRT I TS TGRT el FART T RTeThel esihdl, I, JauE T GreThaiel T

qTHPTHT ATLTT TRTHT @ | TSATRARATE Ak TR TTebT AT (retep, faamdf, s,
ST TaH T qTSEEd THT Hewd U A e 231 qFEg Gl THAATCHE qIRTaF

AT qreTeh e faTa &g s A T |
AT AR
firent, famm @ gfafa we=e=
fa & Rozq T faw &
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e (Sets)

1.0 qaRaet® (Review)

FHET 9 BT AR TAT [GATITHT IR AATCHT AIMZUHT ATATATATE SR ATHT TARA
&l AAYHR ATHRRT ITd AT
() UrTAl AAATIHT AU ATAl © &, g, HIal, ARI, B, B3, AAT
(@) TrueATeh! GaTaaT T Sredl Mg, BIUR, qE, AN, Weal, Ga, o,

are, fardT
(TT) TR GAATEHT AIMTHT STl - BTAR, ST, oTe, faedi, aweb
(%) TTHTAATERT GAGTIHT TTCH AT < T8, AL, G, Heb, HT, I, el

AT STARTHRT SATTTAT TART TIAGEHT HATA T T (THATE AT T T :
() WP Joheh THEEATS SATST THeATs AR [digare qefard |

A1) TrsTeAehl GASRIHT T TFITR] AAATH] TSR] el THEE® H&l THEEE
gt 7
() faHATR TAETHT AMMSTHT STeAl T AHTATHD] GAATTHT AT STeA kT

YHge® Bl HEe® Bl 7

(%) fawarsr Gqarmr ¥ TrTdd! GasREl dgusE aTdidl GHee®  Hedl
HHEE®E Bl ?

(I) THTATHHI GAAIHT ATATETE MR ITTHEE® [HHIU TH T Hedl

THEE® AU G falgdre defard |
- AR qHE
- HAhAR FHE
-  TRENH FHE

1.1 g f&a@® (Operation of sets)

T

T2 T2 SR THEHAT TUFd [ ISH hde® qghad THed T STEAT THT oAl
TSATAR THEe™ (AAIT T, ST -

QAT STHAT TR |Ahl Igaeadl THe (S) = {0al, Teal, e, Tarht }

UfeTATel STHAT TRHT el ehl I3ee&ehl qHE (A) = {Tedl, Jadl, [Fal, @rsil, gwaar, Tar}

7T, T < ( q




HITYhT HEETE! ATAHT TAB] THEEE (AT TR

(F) RTAT AT, TTAT AT Faof TSHAT TEH FAF Tawhl THE

(@) AT T QT gl FEeherT bl HAdl AT TZe®ehl THE

() TSI AT AZHAT TR FAH ISEh THE

(") AT FgHAT Tkl FeAR] TZe® ATehehl ISewd THE |
& (AT TRUHT qHEEE HET HEEE Al ?

1.1.1 awggEht U= (Union of sets)

HITIFT HEEEHT, ]
RFATer STHAT RN FelehT Tkl THE (S) > 2

= {3741, qedl, fqar, TATHT}

UfrSTeTel STFAT TR el ekl T3e%ehl THE (A) w?
UL LN ﬁ N i; N
= { g ) w) ] ) E\-, l ) W} W

oIl T AT TEAT TYhT helg®cTs Teb ST

THATSAT STFAT TUHT BAHT ISeedh THE

= (1T, Jeal, e, TAThl, FAT, TS, ool }
TG TP THEATE T AAT AT AZhelwl TXehT Helehl TSeeeh] THEh! AT v, |
U_.

THee® A Y B wEa# I U &1 II9HE
g1 99 IHEe® A T B @& FaNH @ AU B
T e | A UB @% A d4r9i9 B (A union
B) 9% 9fess | A UB AT 998 A @1 99 a1 99E
B H1 99 HEE® UG | gHE (AT fafaaar,
AUB={x:x €A dx € B} dfag | faguar
9 =91 AT 9IRUE AT 998 (A U B) @1
TS | U-

A B

T (AUBUC)={x:xec Adal x € BaT
x € C} «fgws | faguasr 97 Feemr gran qieues
AT (A U B U Q) @18 SAISS |

THgEwd A Tl [agURT qHEH "I
YTEEdls ARETATSHh dieh] g Geewdls
fez FEet T eI |

B ) afere, e



BEEETD

afd P = {20 =T T 3 & AUaze) T Q = {20 HT T 2 FT JqqUgE} A T PU Q
TT ATE ST I THa |

SEIBIC] b 9 Us
7El, P = {20 9T | 3 P ATaAE® |
=1{3,6,9,12, 15, 18} 4 10
Q = {20 W=T I 2 F AIAIEE } 16 2
=1{2,4,6,8,10,12, 14, 16, 18
{7777 D) D) D) D) } 148
g, PUQ

=13,6,9,12,15, 18} U {2,4,6,8, 10, 12, 14, 16, 18}
=1{2,3,4,6,8,9,10, 12, 14, 15, 16, 18}
TATEHT BT AT TR PU Q a8 TS, |

| ST

afe A = (g, wUR, A, Masen, wwar, @, o, ar, &l T B = (W, S e,
f ) B WA, AU B T @ TE ARt T6 (A TR |
AT
Tel, A = {T§ WINR, NI, TAHST, w1, o,
i, e, et}
B = {®TW, S, o<, faH)

q$a, AUB
= (W&, R, qRI, MAFST, Heal, G,
S, wer, fadr) U (RO, S, AT,
fereir
a1, fdT) = A
TR AT PR TRET TR A U B @18 SA19E |

T, T < ( 3




| a2

Ife TZATaT THEe® ATITHT AANTUHT G A AT ATLIATHT fqile®dl AT & el 7
ATTHHT AR T HATTGHT FATGZ TEAT MBI |

dle: T8 THEHL U3l YHE Ah| THESH! IUUHE B A [dAIawdl AN 6l 998
T T3 | A% TEATQT THE ATTIHT AANTUHT B T [avileemedl FATT ol THEH
qI qEOEE R I9H T8 &5 |

BEEEEE

afd P = {10 91 @1 AR G€&0=E} T Q = {10 w1 a1 iR age@s) v, PU Q
qAT M AATTAT T T |

THTAT

, \ P
e, P = {10 9T AT IR ASEAEE} Q
—12,4,6,8)
2 4 6
Q = {10 ww=T AT foeiR AS@eE)
= {1,3,5,7,9} 8
PuQ =1{2,4,6,8} L {l,3,57,9;}

=1{1,2,3,4,5,6,7,8,9}

U

Al : GAFTTHT FIAT TRF 9T P U Q T8 A3 |

BTN

at A={a,b,c,d, e}, B={a,e,i,o,u},C=1{d, e, f,g} I, AU B U C 7dT &g
ST T TR |

AT

g8, A={a b c d e}, B={a e i o, ul, U

C={defg}
¥a, (AuBuUCQ) A
={a b, c, d e} via e ioulvidef g}

~J(AVUBUC)={a, b, c, d e [ g i o0, u} ﬂ.
TepT FATTHT AT T 9T (AU B U C) &8

ERIEEE

k'Y ) T, FET <




1.1.2 aqgges! gfawewed (Intersection of sets)

$w9wﬁmaﬁﬁ&uhﬁmmww1nﬁmmwﬁmﬁﬁaﬁmww
fasm 79 wreA famndiesar 998 (S)
= {3\, drar, T, dfers, ST, fae
T w9 WIS faEndiews 998 (M)
= {&f, drar, 91, SreAr, ST, AT}
el SeterAn, fase ¥ g o 79 wrew e
quE (Irar, ST} AT AT 7 fase /e wRiee T
AT IRTS [a=TdieT FHEewdl gia=gad (Intersection of sets) 2T |

aff A T B 3o @l IHEE® EgAd A9 A T B 9
THEH IIRT Feewdld  oddl dHEdAls 99 A R
B @ Uidwged @iMwg, a9dE A N B & SRS |
ANBdE A 9fa=gsd B (A Intersection B) 9% dfews |
THe A fafgeTar, ANB={x:x € AT x € B} df@= |
AT HATAHT FANT TR (TR @IS Aleheg; | AT AATTHT AT ITLehT
AT 98 A ¥ B &1 Yid=geddrs Sass |

——VU
T (ANBNC)={x:xcA¥xe BIxeC} B

g, | [egUasr JAT==aT Frar areue qRTer
(ANBANC) @5 JASE | c

|| sTems

afe P= {zoww3mw}TQ—{ZOWW2aﬂwm}gﬂwﬁ
T8 P N Q T T A= J&qd TR |

T y 4Q
&, P = {2091 I 3 BT ATAAEE) 10
=1{3,6,9, 12,15, 18} 2
Q = {20cwT AT 2 *T AYacdes} 14
={2,4,6,8,10,12, 14, 16, 18}
q, PN Q
={3,6,9,12, 15, 18} N {2,4, 6, 8, 10, 12, 14, 16, 18} = {6, 12, 18}
TTepT TATATT BIAT TR AT P A\ Q T8 FTS T |

T, #EIT ¢ C 4




BEEETE

afd A = {20 9T AT 2 FT JUEHEE} T B = {20 W1 A 4 1 AEULE} FA T ANB
TAT AE ST e THa |
QU
TgT, A = {20 9T AT 2 FT AIAAEE )}
=1{2,4,6,8,10, 12, 14, 16, 18}
B = {20 9T | 4 #1 quacies} = {4, 8, 12,16}
a9, ANB =1{2,4,6,8,10,12, 14,16, 18} N {4, 8, 12,16}
= {4, 8, 12, 16}
FAEETHT BIAT IRET AT A N B &8 915 |

= IHEHY U3l GHE A GHeH SUGHE @ A° [qrlewdl Gfdeeed
STEHE J T |

| s

afe AT HHEE® ATTHAT AAMUHT G WA Al Faeqr [qiesesr giq=ae
& BT 7 ATTGHT FA®A TR T&d TR |

IfT I THEE® ATITHT AANTTHT Bl AT [qiTewedl HToead @l 998 &5, |

BTN

gk M={a,e,i,o,u} IN={p,q,r,s, £ BT M N N TAT TE FATTHT @SR |

THTETE

M N U
aﬁMI{a,e,i,o,u},NZ{p,q,;;S,t}
MNN ={aeioutni{paqrst}
~MANN ={ }ar¢

QIHRT FERT THUFS FATTTAT T@ISET FH I THEAT FrAT e |

% ) T, BT <




BEEETED

af P={1,2,3,4,5,6},0=1{3,4,5,6,7,8} TR={1,3,5,7,9} 59 P N Q N Ru=T+TE

AT ISR |

THTE

et P =1{1,2,3,4,5,6}
Q=1{3,4,5,6,7,8}
R=1{1,3,5,7,9}

T PNQNR
= {1,2,3,4,5 6} n{3,4,5 6,7, 8 N
{1,3,5,7,9}
{3,5}
PNnQnNnR ={3,5}

1.1.3 aHgge®T ®{Hh (Difference of sets)

U_
BT : .

feguar wAfaT woad e | dfafws &

79 e faendier a9 (T) = (I, fefs, #i, e s
I, aiw ) |

af el 9 A9 WIS A=l I9e (P) = {3t fofee i BR
ghy, feues, I, ai=s) s -

afafast w1 & W wRre faamdier aqg T qtr
AT 9gd AT RIS [ 99 deferd |

T, 9Tt AT 9EH A WIS fafqs & 79 WISeA | 999 Jaqers affeal 9 ¥
SATISIT &7 HT WIS THEh! Tk A, |

e, fafase &FaTT B9 RIS 9ET UeH A WIsedd | 99 J9arg farae
& T 9fAET 9gH A RIS GHEH Bl AT |
e A

THE A ¥ 99 B 99AF 998 U & SUGHEE® &1 | 99 A 971 99 a¥ 99 B AT
TI9 THE A T A HeEwd GHeAs A T B & ®¥F (A difference B) wivwg,
TqdTs A—B @@ ¥ 9gaT A T B &1 ®& 9941, A difference B 9% dfewg |
7T § FHE B A AT O AEEEEH GHgATs B T A F H¥F A94T, B difference
A A | 79Ts B — A Af@ws T 9eaT B ¥ A &1 ®¥% 94T, B difference A 99
afews | @9 fafr fafa (Set builder method) ¥R,

(A-B={x:xeAZx¢B}¥B-A={x:xeBixgA} A= |

T, FET € C 9




AT A ®3F B T B ®F A
(@) Il FHE A ¥ 99 B @leus 998 g1 ¥,

A-B _
(A-B) U (B -A) U
A B A B
@) I ¥HE A T ¥HE B AQTWIUHT THE & A,
(A-B) U— (B—A) U

olojel

[ I ¥ B 998 A &I U3l ITLH IIHHE &l A,

(A=B)  _ | e =f 75 A7 79 B e @we ot
A-B=B-A=¢

A o UG THE A T @Rl THEH! G (HebTed &1
wﬁ-’
A-d=A

o I @l FHEATE FHE A Hl b [HAeblerd &l
ﬂﬁf
o-A=¢ X o

o T THE AUHE B &I ITFHE & ¥4,
A-B=¢

AT : (A—B)T(B—A) & FaAars GHFAT B2 (Symmetric diference)
A, | A5 AA B o 9g75 | (AAB) @ A ¥ B &1 IHEAT ®F (A
symmetric difference B) ¥7¥ 9f&7s | AAB=(A-B)U (B-A) df@ws |

) ) T, e €




BECEDED
ezt Ffaene frafafen aqgeeats g fafiee aEEe
() A (@) B M A-B T B-A

@) A=1{l1,3,5,7,9}
@) B=16,7,8,9,10}
@M A-B={1,3,5!

@ B-A={6,8,10}

T sewen 0

ak U=1{1,2,3,4,5,6,7,8,9,10},A={1,2,3,4,5} T B={4,5,6,7, 8,9, 10} 1T
A-BIB- A 70T AE FAf=HT1 GET TRY T&qd TR |

FETE (A-B) U-
I8, A—B A B
= {1,2,3,4,5}—{4,5,6,7,8,9, 10} 6
- {1,2,3}7 ;
B-A 9
= {47 5’ 6’ 7’ 8’ 9’ 10} - {17 23 3’ 4’ 5} 10
= 1{6,7,8,9,10}
BT AATTTAT A — BT B — A &8 @ram Iix B-A)
N N — U-
TETSTH T | A B
6
7
8
9
10

T, FET < ( Q




BEETTED

afe U= {x : x < 30, x ¥ TTh{dh agen S eo),

A= {x:x® 1597 A1 T 30 AT FMI TIT IhIdeh Tl TGS} T

B={x:xd 3@ 15T TIT YThiqe qgen AASs} 99, A— BT B — A 7T
Q\\l

AT Um

T U=1{1,2,3,4,..28 29,30
A=1{16,17,18, ..., 27,28,29} T
B=1{1,2,3,4,..13, 14, 15}

2345
6 78 9 10
11 12 13
14 15

18 19 20 21
22 23 24 25

26 27 28

29 30

SR
A-B=1{16,17,18,...,27,28,29} — {1,2,3,4, ..., 13, 14, 15}
={16,17,18, ...,27,28,29} =A%
B-A={1,2,3,4,..,13,14, 15} — {16, 17, 18, ..., 27, 28, 29}
={1,2,3,4,..,13,14, 15} =B
afg A ¥ B 9=TTHT (Disjoint) THEe® HTHT A-B=ATYB-A=BI g3 |
1.1.4 axg® W& (Complement of a set)

A, TE A FY gEeTE g U F STIHE A | A U7
et aHE A "Rt 99 U AT A 99 qeeieedied
Fel 99 GeHE® geo | a& gaaarad qHe U #1 | %

AT g O FHE A ¥ gH Gedendl GHEAls 998
A # & F9g (Complement of set A) A5 |
TS A' 49T, A AGaT, A° TRT SATS |

APl ITeFHT o qIeAYH G U T AGH II99E A 1 ®¥k (Difference) @1 ot
STHHE A & T A5 | TJFaTs qeabadl A = U — A dfaws |

aqe fwmor fafgerman,

10 ) T, FET €




A={x:xeUTx ¢ A} df@s |
A g AT @S FWMehT AT ST G URY @S Al |

AT L # a7 Ug= | 4 AT 4 AT THAFIF 7 i |
AUF=U74=A&gI

ANA® B ? FHEHT BA®A T TET6 9

BTN

af U={1,2,3,..,18,19,20}, A= {1,3,5,7,9, 11,13, 15,17, 19} T B={2, 4,6,
8,10, 12, 14, 16, 18, 20} ¢ ffafaa awgeeH qeeages! go! AU THEH |

(&) A @) B M AUB TMANB

AT

7el, U=1{1,2,3,..,18,19,20}
A=1{1,3,5,7,9,11,13,15,17, 19}
B=1{2,4,6,8,10,12, 14,16, 18, 20}

® A=U-A
{1,2,3, ..., 18,19,20} — {1, 3,
5,7,9,11,13,15,17, 19}
{2, 4, 6,8, 10, 12, 14, 16, 18,
20}
@) B=U-B
= {1,2,3,..,18,19,20} — {2,4,6,8,10, 12, 14, 16, 18, 20}
{1,3,5,7,9,11, 13,15, 17, 19}
M AuUB
{2,4,6,8,10,12, 14,16, 18,20} v {1,3,5,7,9, 11, 13, 15, 17, 19}
{1,2,3,4,..,18,19, 20}
@ ANB
=1{2,4,6,8,10,12, 14,16, 18,20} n {1,3,5,7,9, 11, 13,15, 17, 19}
=1{}

P @K




BEEETEED

uﬁU:{19233749536973879910}TA={193359739} Wﬁﬁﬁf@ﬂ'w

HqIeugE gl fafuare aE@"
F A @ AUA M ANA &) A
FETE

7=t U ={1,2,3,4,5,6,7,8,9,10} ¥ U-
A={1,3,5,7,9} ) 4
@® A=U-A ‘
=1{1,2,3,4,5,6,7,8,9,10} — {1,3,5,7,9}
={_2, 4,6,8,10} 10 .
@ AUA=({1,3,579}uU{246,38,10}
=1{1,2,3,4,5,6,7,8,9,10} =U
M ANA={1,3,57,9n{2,4,6,8, 10} =0
@ A=U-A
=1{1,2,3,4,5,6,7,8,9,10} — {2, 4, 6,8, 10}

{1
{1

,3,5,7,9} =A

BEETE

akeU={a,b,c,d, e, f,8 h i j, k},A={a, b, c d ij},B={cdef,gh i, TC

={d, e, f, g h,i,j, k} WU fAfafaq aeeoges g @) TR

*® (AUB)NC @ AUB M ANB
@ (ANC)UA @ (AnC)UB
THTIH
@ (AUB)NC
(AU B) ={a,b,c,d ij} Uicdefghi}

= {a, b, C, d, e,f;g; h’ l’.]}

(AuB)YNC ={abcdefghijnNidefghijk}

=ldefghilj}

i)

T, e €



wR, (AUB)NC
=U-{(AUB)N C}
={abcdefghijki—{defghi,j

{a, b, c, k}

U B

U-A

{a,b,c, d e fghijki—{abcdi,j}

le.f g h Kk}

=U-B
={a,bcdefghijki—{cdefghi
={a b, j k}

wk, AU B

2> |

@)

o
Il

|

le.fig h ky\Ula b j ki
{a, b, e f, g hj k}
@ AnB
={a, b c d ij}n{ab,j k}
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WW(WW & 4,00,000, 9T a¥ET T & 30,000 , ©
ATITIHT) FHT &AT & 20,000 T ‘G AR AR T
10,000
(3) | 33Tk RTRT 75% TRHAT Tarerekr fagetfead waditas fHammT FrERa
FHIHATIHT AT
(=) | T STARAT AR @A | T AT ITAR @ aTqd (e HITSTHebT
AR IH G THA 4% T T GYO A S THH
FH greg, Il THHHT

T, FET € ( R




(ST) | SATSITT AT ATaael qre | ATRU! JIHTHT 99 T=ME Ffqerd 99 THHAT
g fae

(+F) |Fmee femramd faver ffaas |arfties ffeas a1 % 20,000 |71 9 &7 &5

1 IHHHT
() ||THINSTE FREAT HIYHT AR @i afaead & 5,00,000 T+
TRT TEHHT
(@) |ITSTHIRIRT T AT AUHT qTAHY THAAT 10% T
aleredr g

(@) |aretsre qreme &qar fegw
A YehTTehT AATHT

(®) |aTesit BrEf, dqdre,
TTFIAATT JTe] THHHAT
(@) |arRAT e we foft | aiie fafeas a1 % 5,000 /1 S99 g Al
Tl fommarda faver ftaas |THHHT

THHT
INIEESGIUTEIRE AfFTRT AT 25% I9 THEAT
(@) |TRAET B TAT TR BT frafqoamder o fgfaswo @ ?
AT FeRHAT RTETTHT AR FTHINSTR FRET hITHT

FRTETA T ki SAfadel A 1% B HT
it

uw i faanfEa fremrer @i aoe © 48,689 © | 3 aw 2079/080 W ATHHT
TEMER free g1t T F1eud weateaet 13 Afgarnt st e met arfiw o s

ferot w2 ?
T % 6,32,957
el P T = .48,689 ¥ 600000 |% 32,957
Fif® AT = 13 x 48,689 107 0%,
= %.6,32,957 ° °
q FART THH . 6,32,957 AT ATTHIEIHT ATIRHAT (AFTTAR €T,
% 6,32,957=%.6,00,000 +%.32,957

N/ N/
1% 10%
M AT =%, 6,00,000 1 1% + %.32,957 1 10%
% 6,00,000 x — + 32,957 x 0
>0 100 ’ 100
= 6,000 + 3295.7
=%.9295.70
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BEEEEE

TIT SSHHT FTH T rfaafaa Afge FHATRT AT o €. 40,000 B | JT=EHEED aifis
%. 5,00,000 TFHAT ATHTF L&A FY 1% FT A T & 5,00,000 F=T ACGHT T7H7T 10%
FT IA AIFT OIS | I FHAWA T U7 15 AT a¥e qod e wo aifad s
Fi s fe{as ? o SneR |

QHTE
Tl FHHATUAH! A A= = 5. 40,000
Fifte AT = 15 x 3. 40,000
= %. 6,00,000
7Bl A ATNE AR % 6,00,000 AT [GZUHT ATFR FATATAR (AFATTER AT,
% 6,00,000= % 5,00,000+ % 1,00,000

N N
1% 10%
o, SHET AT e = %, 5,00,000 FT 1% + % 1,00,000 FT 10%

_ 1 10
=5,00,000 x Too ™+ 1,00,000 x 100
— 5,000 + 10,000
=3 15,000
AiEdT AUHTA ATARTHT 10% o Fe a3 gal,
B2 THA =%. 15,000 &1 10%
= 3. 1500
fst FH=Rre fqeu= amie &7 =% 15,000 -3 1500
=% 13,500

BT

AT T 2,000 W W@ qhE T 45,689 FHGH TF A {qaiEd w wHERA
ik & 23,500 fufrms fadt < S fomr e o) S ara T Send @=EiEast 13
AT TER T THRT AR TUEET HEA 9T T A1Td @eangamant arawmer 10%
FHAR =0T HIGHT GEATGHRUNS AT AT FTHT Hfel TIFRT IS ? T4 FMESEH |
(TET sTmife T Sfcafaa STy HRRMER TUET TRTH B 1)

A —— (=%




QU
TEt At T = 3. 45,689 — 3. 2,000 = %. 43,689
qMF qaaad =%, 43,689 x 12=3%. 524,268
HEWM =T = 2,000 x 12 =%. 24,000
TF T =%, 43,689
T T F AT = 524,268 (ob =7 52,426.80
e fHaRor 4T A =%, 5,24,268 +%. 24,000 +%. 43,689 +%. 52,426.80
=3%. 6,44,383.80
Fh o fgama e,
(i) HHIAR! T HITHT STHAT g THH
¥, 52,426.80 + %.52,426.80 =%. 1,04,853.60
(i) forwr faferre =3 23,500
STFT % 1,28,353.60
o9 aRY 9/ Aqred U e g4 A
=3%. 6,44,383.80 x
=% 2,14,794.60

1
3

R ART I U [qeTgHwaT FHARI =g FITHT STFT TH THH FH TUH T
ferar fufras 769 & 40,000 9=T FH AUHI,

FEata® FX g2 THA = 5. 1,28,353.60
F AT AT = 6,44,383.80 — 1,28,353.60 =%. 5,16,030.20

o (Y C o N
[ddlled pHHIRT HUch[,

faeo R TH9 = %. 5,16,030.20 & 1%

—% 5.16,030.20 x ﬁ % 5.16,030.20
=5,160.30 7{,16,030-20
1%

Jad IFA FHARI Al EGAT ST 3. 5,160.30 e fqq e |

30 ) T, FET €




BTN

afe 1 saarfit arftie s ©.4,50,000 959 I 52, % 4,50,001 2@ < 5,50,000
TH 10% T & 5,50,001 3@ =.7,00,000 T 20% FT XA ATHT ATG W9 AR
%.6,75,000 ST T HTERAA FTEAT & JTHT TS ? T FSE |

AT
Tl & AMIF AR 5. 6,75,000 15 (TSR ATIF FHIATAR TR ThaTR
T,

%. 6,75,000 = . 4,50,000 + =. 1,00,000+ =. 1,25,000

’ | '

TR g 10% 20%
SEAT A1 AT = . 1,00,000 #T 10% + 1,25,000 &1 20%
_ 10 20
= 1,00,000 x 100 + 1,25,000 x 100
=10,000 + 25,000
=% 35,000
FHAT for=r fafgere,
%, 6,75,000
%, 4,50,000 % 1,00,000 |=. 1,25,000
Erl 10% 20%
ST AT AT = %, 1,00,000 # 10% + &, 1,25,000 F 20%
_ 10 20
= 1,00,000 x 100 +1,25,000 x 100
= 10,000 + 25,000

% 35,000
;. S9d FEATE aNE . 35,000 AR faAe |

7T, T < ( 9




| sTwws

TG T. 35,000 FT 4 THAT 10% Ffer THERT TTHA ATELIUT ST TS T TIST TEHRA
HEATHT HEdl SFqHT AT TR | TfE ITA AT SHAHT TS SATTHT 5% FT ANG A I Y
Fad i Hid ST IT T ? TAT ST |

T
grat (P) = %. 35,000
g (T)=4 3y
IR &A1 (R) = 10%
*aT = 5%
HIIRIT TS = 7
FR FHaafg g g AT = 7
SATSTATIART ATTHT AR HT =7

Ec\l l E)
[= PxTxR
100
_ 35,000 x4 x 10
100

=%. 14,000

AERT AT = 14,000, TST T IT AT IHH TAGRTEIHR] ATHIEE I
TRl ETHT TUAT §75 |

G smaET = % 14,000 ®T 5%
=% 14,000 x %
=3 700
. STSTATIdHl ATAHT AR F = &, 700
. &Y FEEMSH &A= %, 14,000 — F. 700
=% 13,300

FrAfead TEHT GATT § 5% o & SATSTHT AT H2 Fadl T Todehdl dHaegRals
% 13,300 9T & TS |

3R ) T, BT <




. Eoced |

1. SurerdEr gifg® %, 60,490 FATIH T A% &, 35,500 FT SAra= [qAT TehT Teh
ST AfgeRd TEAT HIATT (qaTled FHAR T TH =S99 @odiededl 13 Aiedr
FRTER Tk AU AT edTa &l ATfieh i St AT fTed, TaT avs-erd |
(3VTTTS GTAT Jleafad AT AT Fara THEr 1)

2. ® UQGET TRATHT BTH T Uh T U= ITR ARHE %, 6,00,000
I 1%, . 6,00,000 =T e % 8,00,000 ¥+ 10%, *. 8,00,000 sTw=T e
% 11,00,000 I¥F 20%, &. 11,00,000 sT==T1 AT &. 20,00,000 T 30% T
WA AIH faqIe A9 AIfGE F 72,082 FHSH IR FHAKIG ATSHd @
gleqer 13 AleAT aRTaRe! Th audl ATRMT (69T a7 dearaddl hid ThH
TIHRATS AFRTIATE, 7 [E91e TR |

3. TR AR TheART HHET TTHT GG g T AT IfedAfad e T
FETTA TR

FINF AFIH () FLIX
1-5,00,000 ATFR B2
5,00,000 - 7,00,000 10%

7,00,000 - 10,00,000 20%
10,00,000 - 20,00,000 30%
20,00,000 s==T AT 36%

AT ATIF GIHATATEAR (AFAHINSTHST AT AT T T ST AT Bl ATTHT
) A A= = & 6,30,000
) A& dEEr = % 9,25,000
(M) AT =T = %, 17,88,000
(°) ATfek T = %, 22.25,000

4. SHAT TET TR F.10 ATGRT 4 AT 8.5% AR SATAHT T3l [6aTd gal Fe
TS HId g, 7 Al Iad SATSTHT 5% ATAHY ARG, A g3 AR AT Fld 578,
AT AMSTRE | (TF ATSTAT [ARTRT AT AHIEATE AURT ATIHAT fqfegart
FATE THISS 1)

A —— ( =




—ECEak
(®) ATRAT [TATATAT PR ATATHE RTeTHH Foa9 FW, ANKS AT I,
T AT (aaeEars THET daeEl areqatad fqavor e T ged et

>
r

~

MM ATIHT Hi Fq ot w2 faqod es 7 fedme T e |

@) faEmdrer AT 'Y UaReET EE%eh! Al YUAT a7 FaqTIeTe AR
T AUHT Meeware Al Tl feara feara T aredias fgav faqer
T AIF Ffq T Harad fqqdae, o1 dSHe |

T A

1. = 21,087 2.% 53,413.20
3.(%) % 13,000 (@) & 65,000 (T . 3,16,400 (=) ®. 4,61,000

4.%. 3,40,000 T =. 3,23,000

3¥ ) T, FET €




2.1.2 9= satwafg #T (Value added tax)

T

feguet faa sregae TR AITTUHT TR FFIH] FA®RA THa4

ABC Electronics
Kathmandu

Invoice No. 883 TAX INVOICE Date: 2077-11-15

VAT No| x [ x| x [ x| x| x| x| x]~x]
VL S e ——— et et e e e e e e e r e

Buyers VAT No. :| x | x | x | x | x | x | X | x | x | Mode of Payment: Cash/Cheque/Others

S.N. Particulars Quantity Rate Amount
1. | Refrigerator Rs. Ps.
C,LD 201 ALLB 1 27,876.10 | 27,876 10
Amount in Words: Thirty One Total 27,876 10
Thousand Five hundred only. -
....... Discount —
Taxable Amount 27,876 10
13% VAT 3,623 90
Grand Total 31,500 00

Customer's Sign For. ABC Electronics
(@) faguesmr faear Ipeees fa@r e &id W2 ?
@) IH Mheiver @REHAr g TH g [F wAg 7
TR & 7

4
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(=) 9 faaeTar fasml I 3. 3,623.90 99 74 [aver sfEwg | g e g

TR [aeerT &rel ¢

(¥ % ETHIT SHAAF AT @iE a1 9T JIFFTHT Feaa T Th80 7 99 T {7

(=) FET @REFAr [aedl 7 & 31,500 o FFEReTH & Fads qHhiss ?

| a2

T AT F AT FFI) TAPT TSHAT AT TR, -

T AT AATARArT T3l FeR & 20,000 AT AT THT (94T | Iaq A AT &l
Heg Ataafg & favert faua | Soa ArHe IUEEITHT T A 8dder T gsT fershdn
T g% TEHT faanl TRUHT 31 | A wal, Sder ¥ Rdavesd % 400 99 @9 ¥

ARTT HeAHT 5% HATHT FATAL T (2T |

(®F)  SIHETH ANTT Hed HIq arr ?

(@) AT &, Saaar T ReeRd qghedd T H. 0%, THH B Hd Bl ?

AT
ATATT HAT ATATT TP HAATAG Y ATehad! @iXE A 3. 20,000
faanie dees
N r C C = C
HEKELEIF LEEEEIES JUATEITATS
T afEty w7 20,000 21,420 22,911
ATE bl AN Aol
Tt wfafy 400+1020 = 1420 | 400+1091 = 1491 |400+1165.55 =
1,565.55
q a]ﬁqzl'ﬁg T ATEhhl 21,420 22911 24,476.55
EEAR ]
T atagig #2 13% 2784.60 29,78.43 3,181.95
q aﬁqz[ﬁg Y gfederr 24204.60 25,889.43 27,658.50
fernT ot
et W ety e 2784.60 193.83 203.52
AFRATE FTo R 2784.60+0= 2784.60+193.83 = | 2978.43+203.52 =
feq 7o Atadgig &7 2784.60 2978.43 3181.95

AT () IUATHITH AT faanT e & 27,658.50

(@) ATdedra & 2784.60, @RS ¥ 193.83 Rl ¥ 203.52 T
TITHATS STFAT &, 3181.95sss UTe T |

® )

7T, e <



wew sfvwafg #T (VAT)

qA Al Y T&] 9T FATAT AR b (il ATALT HT Bl | a% T
YATH IATEASNY (AARTETHHT (A= q8 /TR qfg TUH TeAAT dF F A

HeA ATAlg HT &7 | BT "aTeAsh] v Hedl Aqaig w3l aX 13% Taus! § |

ST TSI SAtast= ({0 T FI=Tel T3ar iArAsTehl A @= T AR Sirel
q %, 10,000 HF 7T | I AT Tehr afeatas feer, deder, feaw g5
SUHATFATHF ATSIRET [TFTTER Iiehal T g

ﬁ c c ?\ﬁ C
ferht Tral

~

HEECEEIFRCEARIE

o ~
[ISERSY

T3al dfafaser 77 = % 10,000
T Aiidig Fhl &= 13%
fersiT T

=%. 10,000 + 10,000 =1 13%

FT HA = A ATAeg F Aehdl A
=%. 10,000
99 @9 T ATRT T %, 2,500 ST T3aT

afafasTe®r 7 = & 12,500

13 HeA ATAdig Fhl & = 13%

=10,000 + 10,000 < 100 P T

=10,000 + 1,300 =% 12,500 +%. 12,500 %I 13%

=%. 11,300 =% 12,500 +%. 1,625

=% 14,125

HEEELCRICEICIERCEAIRIE] fraaeer st forehl TeT
FI A = [SeRH qF A9l FA HA = ETAdAB] HA ATHAG FT ATachebl
FX ATehebl [danl HA EEAR: )
=% 12,500 =% 15,000

qq @9 ¥ ATRT T . 2500 SAreT
T3 sl 7 = 15,000
H afafg &l = 13%
et A
=% 15,000 + 15,000 =T 13%
= 15,000 + 1,950

= 3. 16,950

99 @ ¥ ATRT T %, 3,000 SATST T30
featstTer g = %. 18,000
T Afdig &bl T = 13%
EEIR G
=% 18,000 + %. 18,000 &I 13%
=3 18,000 + 3. 2340
=% 20,340

T, FET €
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TEt ITAEA T, 2,340 AT ATF1g Y [qTes | ST ThH AP HITHT STFIT BT,
IAEF "HRT =% 1,300
feeramra = (1,625 — 1,300) = %. 325
g TR = (1,950 — 1,625) = . 325
feawaRa = (2,340 — 1,950) = ¥ 390
STHAT = 1,300 + 325+ 325+ 390) = %. 2,340

A YU TEHT TGhl Hedehl ATATHT

~

IAEEd =% 10,000 & 13%

13
= 10,000 X 100~ 1,300

ferrer =% (12,500 - 10,000) &1 13%
13

= X —=
2500 100

=% 325
BT = %, (15,000 — 12,500) # 13%
13
= 2500 X m
=% 325

freaeer =% (18,000 — 15,000) # 13%
13
= 3,000 X 100

=% 390

ST He Ataaig &2 =% 1,300 + % 325+ % 325+ %. 390
=3 2,340

REEETED
fagu sraeamn wew aifwafg w3 (VAT) & o= SR
(®) HA AAFg FATeHH Hd = 7. 7,000 T HeI AlTalg HH W = 13%

@) ¥ AFG FeATedH Hed = %.10,000 T I ATAG HIH T = 13%

AT

(%) &l Hed Adlg HaTadhd T =3 7,000
qd A9d1g FHhl W = 13%
Hd AIIg HT THH =7

35 ) T, FEIT <




a HeAl ATAT1g aagmzzmoooﬁ 13%
=7,000><1—OO
=% 910
T Afaafg #¥ TEH =%, 910
(@) T8l 7 AMglg HaTehdl Hed = 10,000
e ATAglg Fh a7 = 13%
Hed ATIIg FT THH =7
q AfAdig & TH =% 10,000 F1 13%
=10,000X%
=% 1300

. AT Atqaig = (VAT) 38 =%, 1,300

BEEEEEE

TIT HEEA Al T AWAlg Feaeasl dgfed qe . 15,000 Tfewsr Bay | S
WaTEe FTHT 13% Ted AfHaly FT AT AR T wie gy 2 ? e wEE )
AT
J&l Hidrgdsl Hed AlTdigaTaredhal dgied A (MP) = %. 15,000

A Afwalg & 33 =13%

A Afwafg waiedes Hed = ?

HGTEAH ATHANE H AW Hed = & 15,000

AT Agig # A = 5. 15000 F1 13%
13
= 15000 x 100
=3 1950
. Hed Atwalg wafeds 9o = 15000 + 1950

=% 16,950

A —— (3¢




Jepleue afeaT

AT

HIATSAH Hed AqdIg FRATeHP AZHd A (MP) = & 15000
13% ¥, 9. AUIe=a,

A A FGfeds qea =3 15,000 # 113%
113

=% 15,000 x 100
=% 16,950
FHAT FerAvr fqfaae,
%. 15,000 ~_
% 100x s 13x
Vat
A9 100x == 15,000
_ 15,000 _
dqq4T, x = 100 5. 150
13x =% 150 x 13
=%. 1950

. "o Ataatg wafeded 90 = 3 15,000 + 3. 1950

=% 16,950
BEEEE

TS AHWET 7o ATWITg FLaRFH 7wt 13% Aed AfHafg FY amSe @Egswaid &
57630 fue W IFT AR T fhd Ted T TSR |

THTE

FEt, AT G Atadig Ramededl dgied g (MP) =% x
qeu wfaafs #ar ¥ = 13%

e Afafg FRafETE e = 7. 57,630

TIAATAR H.AF. TFA = % x B 13%

13 13
=% XX700 ~ 100

o 13x_ 113
A AIE FTRETH A =x + 05 = 100

%O ) T, FET €




EEREE SIS

113x _
100 57630

FeaT, 113x = 5763000

5763000
113

7o, x = 51,000
9. refed 7= (MP) = %. 51,000

3T‘<’T°|T,x=[

THAT Ferar fafyee,
_— % 57,630 ——
% 100x ® 13x

a 113x = 2. 57,630

or,x =510
#gihd A 100x = 510 x 100

=% 51,000
. R W (MP) = %. 51,000

Jefeaes afear

AT W ATAgTg HeaTehedl dgihd Hed (MP) = %. x
qT Atgig w3l & = 13%

W yfvrafs & At 9 = 7. 57,630

we Ataety #7 e qe = x # (100 + 13)%
= x #1 113%
100

_ 113x
100

T, FET €




YA,
113x

5. 57,630= m
4T, 113x — 57,63,000

57,63,000
sS4l x = 113

4T, x = 51,000
o qghd 7 (MP) =% 51,000

BTN

T3 T8 3T qleohed Ao AHAlg FXae® & 5,800 A1 o< st @o | e 7
TUHRT 40% T A AT FUW TS | 3G 13% T AMHGlg FT ST IR
& 7o foeues, oo AmeRR e |

THTE

Tel AeFdadl Hed ATl FAeHH HT 79 (CP) = . 5,800

q&hl A = 40%

T Ag1g HTHl T = 13%

T Afglg Faiededl Jed =7

J9AaTe,
AZFAH AShd HeI (MP) = %. 5,800 1 (100 + 40)%
140
=3 5,800 x 100
=3 8,120

o9 A Aalg #T THH = %.8120 # 13%

13
=3%.8120 x 100

=% 1055.60
- H Aalg FRAfEddl rgdhadl Hed = % 8120 + 1055.6
=% 9175.6
qqd ITATFIA & 9175.6 fadus |

¥R ) T, FET €




DR

e 7o Afvafg Feares € 2,000 |1 fFant geer g & 200 99 @ T AN He T T
25% AT T S5 W 13% 7o sfwatg 1 afo faemn Susimae fadow @ ®fa 7o

g, a1 eI |

AT
Tl gl ®T T4 (CP) = %. 2,000

99 g9 = %. 200

ATRTEY = 25%

qa afvatg & ® = 13%

YA o YA (VAT Ffede Hed) =7
ST @R {4 = %, 2000 + & 200

=% 2,200
qTRT = 3. 2,200 &1 25%
= 2200 x %
=% 550
o HF Alalg # AT 5 =%, (2200 + 550)
=% 2,750
Hd Ad1g H IFH = 3. 2750 & 13%
= 2750 % %
=3 357.50
<. JUATHRIT fqqoe A = 5. 2750 + 5. 357.50
=% 3107.50

T, FET €
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BT

YAHE AR (S ATTAFAEE TIT 39 9 qTe 7ed ATWElg FIEEH . 25,000 A
T D | IEA gaHT @9 T ATHTERT AIST IF daa (Md aledTs Hed AWIfg Faw®w
% 30,000 7T GET ARIATE 9% | IF Gl AR A7 SgdAts A AfWafg Faes
%. 37,000 T faaiamg Sus | T EHT To ATHGlg FXERT I 13% WOHRT SATETHT qalahmt
TRAZERT I Il SR
(&) TEoHl H.4.%. Aleddl Ha A Hid w8 7
(@) GHT AR HA.F. Fleddl FHT e Hid W 7
(M) fagerer Hia st fqaw e @s 7
(&) aod dTER [aehiare Hed ATl FRaTad Fiq THH TP BITHT STHIT
T 7
(3) fed’ T a1 AN A ATAAG FATIT HI HIq TeHH AR BITHT STHT
T 7

QHTAE
ATATARATA FAH T Hed ATAI(G FATRHH! ool Ted = & 25,000
H A998 Fh R = 13%
(%) feerars ¥ o % afed T 5 = 25,000 + 25,000 F 13%
=25,000 + 25,000 X 1%
= 25,000 + 3,250
=% 28,250
F21 feerel ATRT ¥ A @=aHd Ss Hed ATHglg FaTewhd,
fasnt 7= = %. 30,000
(@) T ATIRIETS 7.9.% dfed TH g4 = 30,000 + 30,000 FT 13%
=30,000 + 30,000 X =
=30,000 + 3,900

=%. 33,900

FET GAT AT AT ¥ o4 @oaud SISl Hed Afqafy weergehar,
fasnt 7= = 3. 37,000

¥ ) T, FET €




(W) o1 fqaebrel /.9.%. Aledal 74 = & 37,000 + 5. 37,000 & 13%

=%. 37,000 + 37,000 x 13

100
=%. 37,000 + 4,810
=% 41,810

(°) A ATTF(g FHIaTId FXHBRR] HITAT STHAT 8 T = %, 4,810
(3) feavel Ao Afglg FRATIA FIHNT HITH] STFAT T I THH [Hebleal,

gfedr afeerr

YT qfeerT

SHA ISTHI HAF =%, 3,900
I [l 9% =3, 3,250
TIFHTT FITHT STEAT T I T H
=% 3,900 — = 3,250
=3 650

TFRT BITHT STHAT T T THH
(& 30,000 — & 25,000) &1 13%
_ 13
= 5,000 % 76

=% 650

S

AT AT A ATANG FATTT FRFR BITAT SFAT T I IHH [ebTeAT,

gfedr afeerr

T qieerT

JdA JSETH {3k = %, 4,810
39 fqvel 7HA® =%, 3,900

TP HITH] STEAT T I THH

(& 37,000 — % 30,000) %1 13%

FIHR PITHT FTFAT T T THH = 7,000 x %
=% 4,810— % 3,900 =% 910
=% 910
T, FET € ( ¥y




. Ecuedd 0|
1. fezusy arfeenmnn snamean gea afiafy T W oo SRGTRE

F.9. | AA Aqalg FeATE bl qe iy qe ATaTg F THH
qA HTERT T

@) | = 300 13% .

@ | % 750 13% .

(M % 6,000 13% ?

& | % 3,75,000 13% .

@ | % 20,27,000 13% )

2. fus afaswm snamean g afvaly #3 aamde g e v

#.9. H Atafg He Afaafg e Afaafg &l
() ? T 3,616 13%
@) ? % 30,510 13%
() ? ¥ 3,390 13%
() ? & 57,630 13%
() ? s 1,19,328 13%

3.  a« Regust aou S H.30.F. SEhnt AT &1 | TAaRT SATENTHT TTEhdt oI .30,
Afgaat 7o TH1 TSR ¢ :

(%) VAT =Téehel ASfbd A

T = % 35,000 .
T = 10% ﬂ T = 15%
TAF = 13% qaF =13%

@ I = % 25,700 @) 7T = %.1,450
AE =20% AE =25%
q19%F =13% 9% =13%

8% ) T, e €




4. fausr aTfemat SATEmTHT aEERT ardtas® 7o E TR (F.3.F.H 3T 13%)

#.9. a1 afaatg qq @< | AThT (NI e Aagig
FRATShD AGIhd - FeATEdR T
qeA '

(@) | =<1 % 2,000 100 10% ?

(@) |Frged 5 7,000 300 13% ?

(M |HEEa F 27,000 500 15% ?

(&) | HrETEe %, 20,525 450 10% ?

(@ | @y % 1,81,500 1500 15% ?

5.  UQQ qHAd UAgel fAlHed dahl Hed Aqdig Fatesd ¥ 37,500 A fFe |
IHT gl 9T @ . 500 e AN TeAAT 12% ATHT Af@ 13% VAT s e
qr afatasaars Iuaradre Hiq fqus 2 feare T adr arsed |

6. fezumr arforarma st srgfra wour e

A | I Al | aq @e | AR | Aoy Al | el Afig
BTG (ARTART) | BTl T FE(EAH HeA
A e

() ? % 300 10% 13% % 4,518.30

(@) ? % 500 8% 13% % 15,132.96

() ? % 600 12% 13% ¥ 57,584.80

o)) ? % 100 15% 13% % 2,079.20

&) ? % 1500 20% 13% % 2,40,012

7. Ale U3l G 9|l qdrsd STl Hed Aqdlg FRaTed I TRUH HAH
15% ATaT fag 13% Fea wfaglg & awmsar & 2,573.01 g7 99 &1 S
A(Fd HA Hid BT 7 ATRI T HA.F. THH Bl B ardl, T ST |

8. UF T 78« Hed AfWafg Fvawga & 27,500 A1 frvaht gat M fasht T et
ATHT ST TeT T 35,000 FEH TRGA | 13% 7o Afwafg FT e a=2T,
(®) T AWgg FAEdH A Hd &5 7
(@) T FRIERHT SATIRA FHid GITTd ATRT Tehl e, ?
(M) Ffg ferenl AeF & 33,000 HTIH TLHT AT Hiq F(qAqT ATH FH &7, 7

T, FET < C o




9. TE W AR HeH Afwalg Faes T 4,000 A1 fmaw mmgsy ot fasnter afi
25% T9 TR HSfhd Hed MeiRur o | I5a aSM1 13% Ao afvwafg w3
AT,

(%) ITATHIT A ATTI(G FTATId Hicd THH IHRTITIS, 7
(@) Al 20% ATHT TGN A TSRl WY Hed ATAT g FTHT Bid THA Hede g
feran 7

10. TH 51 9 faghdrel o g+ Afgq (Washing Machine) ¥ 67,000 |1 13%
e ATF(g FR AU GaT THAATs [l TAT | GT T8l Al AiGq 99 @ 2.
3,000 T ANTAHT %, 5,000 ATRTAET ITHEATERT SXAT TATS(GAT T
(F) GIT THAA Hid IHH HAF. AT (08, ?

(@) IIAEITA HA AWafg Haad BTiehl AT Bl THA [q=A1 &rer, 9l
TSR |

11. =S Badd qqdd [Savare U3er Ul Hed AlWdig #=ares & 12,000 HT
fFe | ETde q99d ¥ dfialg #afed Sad gs! Ga1 s € 16,950
AT o=l | Yo qeHT Hed AfHalg HTepl 3T 13% WUHl ATIIRHA,

(F) G5 AR Ia TS[ATs A ATAING Felled Hid dqal Al e ?
(@) GAT AT e ATAF1g FATIT i IHH [Tl 8 7
(M) ETAHA THAA Hi THH ATHT TEH LS, ?

12. Er&ed 9fd &47 A% daed 5. 9,000 F1 X Reawars 15 afrar H41 faenl
T | e I FAEAE HAF. qeek & 11,500 F1 37 ITAFATATS T BT
fergnT =T W9 15 3TeT ATl FREARHAT 13% SATeH 3,

(%) e Ffd TFH ATeaTd Eaaarars IERTIH s
(@) ReaRel SATEadd Hq A ITATHTENE [dawg ?
(M) REAS TRPRATS WATEATId HId THH STHT I, 7

13. Bt giq &4 §.oA.F. qied . 10,170 1 52 Taewars 10 iar w47 fashr
T2 | frdare I HAEs WA Faed . 11,500 F1 A STHFAATS ol FHT
fergnl =T A 10 3TeT FHHTHT FREARHAT 13% SATEH a3,

(@) RETRT FIq A AAF. a9 BAdeRdATs GHRICH G 7 Ik HAIH!
HAF. ATkl Hed Hd WG 7
(@) REae H.90.% ar9d Hid THH ITHEare faes ?
(M) e AHERATE H,A.F AT il IHH THAT THIS, 7
¥g ) T, FET €




14.

15.

16.

—EREIECA
foramdl Iugaq FHEdT [a9TeT R | T AHEA dAledd ATNUFE TR auid
FFIAH AAAT THRE T & oIole TSI (FATTAREF] FAATEE AShAT T

Bredae 9fd a0 H.90.%. Fied . 10,170 %1 2 Rdarars 30 #Arer o ferht
TT | REAwer I dAArs H.A.F.9ied €. 12,995 T R ITHATS A <
A faehl =T A7 30 #ATar el FRIEARHAT 13% SATCH a3,

o

(@) RERST Hq A A AFA0d BTGy GHRICH g 7 e I
TaAEwATs H.9.F. A0k Hd T [FAH s 7

@) el HAFAIT Hq THA IUAEERE (g ¢ IHd Tl
H A F. AEHH HA F( S, 7

(M) feATer ARFERATE | A.F . aTIT Hd THH THAT IS, 7

T3l RSt Hed e & 30,000 FTIH TR B | I ol FFIAT [SaATelTs
Ig, B feaRer & 5,000 99 T GET qHAATS a9 | GaT T I %, 5,000
99 T FH FeTaRars o=l | 13% HAed Afalg #R Icied deH dmsal Avei
ATE Bl BTAT B AT Evg 7

TF 97 feoRel Amgg #iEdd g AAF ded 5. 56,000 FAA T |
I 3T AT HiEH 13% FAfed eradaRdrs (aehl WS | araaard 13%
wreafed 9 dGT & 74,580 AT Reerars s=E |

() BIAHERA Hid IHH HA.F.a79d [aqde, 7

@) e feewer gaa afag #Afga fbmar A 9% 99d % 6,500 faer 90 39
FHA THA H.HAF A0 TFRATE AH1STIS, 7

(M) RETRS ITHTRITATS Hid FTATHT S=H] Hed ATqdig Famad v 9,360 I
T TS |

(&) AITIPT FRIARAT FAA TATT Tl H.A.F. THH ISSSA 7

~ =

T, FET < C 8%



—

1. (%)% 39 @) = 97.50 ([ 2. 780 (%1 &. 48,750
(®) % 2,63,510

2. (&) % 3,200 @) = 27,000 @@ =& 3,000 (=) % 51,000
(®) *. 1,05,600

3. (%) & 43,505 @) %.8,446.75 () ¥. 34,849.20 (&) & 2,048.13

4. (&%) % 2,610.30 @) % 9,321.37 (@) & 35,736.25 (&) & 26,071.93
() = 2,37,808.50

5. % 48,092.80
6. (%) % 3,335 @) % 11,900 @0 2 44,900
(=) % 1,500 () & 1,75,500

7. % 297 T % 296.01

8. (%) %. 39,500 @) 27.27% (M) 26.67%
9. (%) F 650 (@) ¥ 26 FH AT |
10. (@) & 8,710 @) % 9,750

11. (=) & 15,000 @) & 1,950 (M =. 3,000
12. (%) & 17,550 (@) & 22,425 ([ = 4,875

13. (%) & 11,700 T % 9,000 @) = 14950 @) = 3,250

14. (%) &. 35,100 ¥ =. 2,70,000 @) % 44,850 T = 3,45,000
() = 9,750

15. = 5,200

16. () ®. 7,280 @) & 780 (M) = 72,000

(°) RreTrars T@rSerd |

Y0 ) 7T, FET <



®IdRIS I CALHIA
% 3 (Commission and Dividend)

3.1 W9 (Commission)

BT

FeITH ATIEEHEATE AT THE TATSR | THEewded Tedl THEH! Tqcd TdTs

ferghTerdiehT ®HHT TG (ATH : gf=TH), 8T THER! Aqcd TdTs @Radhardl &I
ST fq 2afad (ATH AT ¥ 99T AHEH Aqcd TdTs HeARIEhdih] &qHT Telwe
(AT : |iaAT) aqTs AT THR |

FA q A1 JaTH fawmiwar T afewdier faer emewarer S et
TH AMATE Toive (Agent) W= | J90 WeARAEdTH AHSHT fale TRamaa
et foatt qeaer fafrea gfaeaest R Tived TS (@HEATS BHE
g | Tovael T (A GGl aT (Sghiedi a1 gaare o a9g | Haad
fefar féaT foghl TeaaTe SR /Mg | FHEAATE JIAeaHT & g | ST
AP FRAR g1 ATAIGEAT HHGAR! AT TG |

BT

Toad & 25,00,000 W1 ST Sfafuamd 5% e e W9,

(%) TSTeeed HHGASIT i THH T3 LG ?

(@) FHATIG STRMGATHT BTTAT HIq THH T, ? IAqT A3 a4 |
U
Tl ST faanl 77 = %, 25,00,000

FHHET W = 5%
(%) HIAFTATIAR THH = 7
(@) ST 93+ T = 7

(%) BTHIATS ATeT B,
HEAT 7T = F. 25,00,000 FT 5%

PSR (o«




=%. 25,00,000 x %
=% 1,25,000
. HFaTIdRl TEH = %.1,25,000
(@) STTEAT qr3 TebH = FAHAATSR Hed = [ashl oA — FHAA 7oA
=25,00,000 — 1,25,000
;. ST 9199 WA =& 23,75,000

RPN

U9ET T GoredTé A wfred 2 frmeTe S RO ©
% 15,00,000 TwHeRT ferghraT 0.5%
% 15,00,000 w==T |IIT %, 25,00,000 TFHT foshr@T 1%
% 25,00,000 sw=T ®IFT & 40,00,000 TFAHT fagmmAT 1.5%

%, 40,00,000 dv=T HITGET fagnmar 2%
AT HHATH TWATAR & 60 AR [ThHT Tslradd FAGATT TFAT F(q THA

S 7 Il AMSerd |
AT
T2t faahl 77 %.60,00,000 ATE HITTAR! FHTATAR THATIX JET,
%.60,00,000 = %.15,00,000 + %.10,00,000 + %.15,00,000 + %.20,00,000
0.5% 1% 1.5% 2%

ST A THH = %.15,00,000 F 0.5% + 10,00,000 1 1%
+%.15,00,000 %1 1.5% + %. 20,00,000 T 2%

0.5 1
=3, [15,00,000 x m] + [10,00,000 x m]

1.5 2
+ [15,00,000 X m] + [20,00,000 X m]

=7,500+ 10,000 + 22,500 + 40,000
. ST A TRE = % 80,000

) T, e




BT

T3aT (AT Gl e T FH T FHAR T 7S aad © 12,000 © | 39 aEE et
TRETE HFE aft TEE | I UF /AW | 4,75,000 F o awwft e e afe
IAA IFA HigAHT HfEAEted €.19,125 FHUGA W FHAETT T FHfd TIA9d AT
TR o ? e |

QHTE

fert g7 =%, 4,75,000

THAHT FHATH A(GH qaa = & 12,000
FHATHRT FHHATIETH! HIIFF A= =%, 19,125

L HEET TR = % 19,125 — % 12,000
=3 7,125
HHAT THEA
9T FHGT T = W x 100%

7.125
= 775,000 < 100%

= 1.5%

BTN

TIT T THART FH T Afekaant Aifea® aod & 16,000 T | 39« Afgamr & 5,00,000
Wl JEH1 Teq® fonl T Gl Iaars 2% &wfvad fav e | afe S o
g wfgarRt s foeiY ® 7,25,000 WU, T T i I AfEATRT ST SR R
O, TT TWMETRE :

U

Tel FHATH! /IfGE dad =%, 16,000

Jemr@ wfgAre fasr TH =3, 7,25,000

FHHAAR T = 2%

FHARIET AT AR = ?

STAT farhT TFH %.7,25,000 @18 FEET SHTATER T,
% 7,25,000=3%. 5,00,000 +=. 2,25,000

A —— ( w




HHIT = 2%
¥ HHIT THEA =5, 250000 FT 2%

=2,50,000 x —
=%.5,000

2
100

T IHT HUARIBT ST HigATR! TET AT =%, (16,000 + 5000)

=%. 21,000

B e

1. feusr arfaerment snenme wfHaa @ I ISR
F. ferarear ST ferenT Ao FITAAHT T
() SERI % 1 &< 50 @@ 5%
(@) 2K T 2 WS 3%
() HIarEdr HiGT % 4 @G 7.5%
() IR FRER % 5 @IS 25 A 2%
2. T ® 1,40,00,000 F ¥ afafegamad 5% e o6 wW
(%) TsTeeel ATS HIHAT THH Hid arar ¢ Eare THere |
(@) BRYAT TS THH Bl arel 7 Tal A3l |
3. U3 HiEaEEd aeHdt € 20,000 JiEE FEee aee e 10§91 FEE o |
ItgEe ATfa et foah it 0.25% 1 IR HIHEA TS o | AT TR Al ST 71
% 1,35,00,000 FT FER ATD A9
(&) I FFAA FAAAATTA FHARIATS STHAT Bl Far faquq g 7 feame
e |
(@) T AT FHARIET AR I TleATRT qeAeTwaT Hid Faerder sal Jue, ?
4, UIAT HAMEHITT AW IaEd: FOAA T 6,00,000 THwRT o
1%, % 6,00,000 ST@sw=T & & 10,00,000 Tt fozw@m 1.5% T & 10,00,000
W=t ARt fosiiET 29 wfew M wo v aw feguar ot e fashaer o
T e TR
() ®. 4,45,600 @) % 7,25,000 (M) =. 15,75,000
¥ ) T, FET €




5.  UIAT FA[CH TIAAT BTH T4 HHARIHR! ATGE Jad 5. 17,000 S | ST FTET
faanT THHHT Fel Y HHAT TS, | Afe Ay Afeqar™r €. 10,00,000 faznr
TR I9d qaadlied S# T % 30,000 IR TG A9 TIdqaTe hid giaerd
FHAT qITH 78S ? O SR |

B i

Al TIAT FFAT a7 TAAHT SHEM | ASTH FHARIEEHT a7 FoaTeehaT
frefafad =T aAT |aTs THe T Jidaad JarR T Fel 95qd THard

() ferehlept yraera
(@) FHATIHT AT faehraradesl a9 T e

— el

1. (%) & 7,50,000 1. @) & 6,00,000 1. (1) %.30,000 1. (&) %.10,50,000
2. (%) %.7,00,000 2.(@)%.1,33,00,000 3. (%) %.33,750 (@) 16.88%
4. (%) 2.4,456 4. (@) =.7,875 4. () %.23500 5.1.3%

T, T < ( 14




3.2 ¥ (Bonus)

BT

24 99 2077 1 AT qCAHT STHFAT TR “FHATIATS 6 FIS AVE (G0 Te AT
TR Tl THERS qHTed #9T TIIHR S -

UM AT (THS FHANATS S99 (A0 T ATHT G | ATHT JUHT 99 G99
fOTr T BT | FHEARIATE S99 AT (HRTHer GRepRe! Aqafd faqae |

g FTEer 3% anfdE A (2075/076 T 2076/077) F STEEATIA  SEATTET
29 FIE 9 oG 86 EWR IFATATE HRT 6 FIS FTAT HHATNATS [qaor T
AR &7 | et ik I8 AMaTHT Teaet MaTe ASHATAR TeTTHEAH
FHANATE 2 AiedT 15 faq@r ¥ afged a1 d9=1 Aol @Rl FHAN AT
2 HgATHl qAd IRTERF! THH ST (a0 T (qu qURl § | FHARATS a9
(Bonus) faaer 9 T FEGETET B FAFHRI g [qvara fawer &, I 9=,
“YUS AT TIF TR GAAT TeTTATar g 1

FAE T @3 ATRHN | GAqd g A3 IHH ATl GITTHR FHANATS
AT faaRe TGS AT TR G | TAA Afgehdq 3 AfedArdl doq
TRATHT THH Teh ATTF qUAT FHARIA qAIATIT T3 FaIE@HT TH F, |
FRTHr SAEeETe GeaTUH! THHATE FHATATS [qaeur TR diehl THHBT 80% TLHNT
FITAT T 20% [ATHET FeATTRTT FITHT T THIT & | G BTAT 22 FRIS
Frataeet adr TR TS STET T G o

AT FATARH AT AHIAT T AT TIAH AT (SR -

(%) FFIAT A9 (b fawg g
(@) FeTE AR AT GG (G0 TR g 2l 7
() & HFIATA HATHT HHATSA AFaRT I A9 (qaeor T 7

F FHARIS AR R eI AT ®UHT qTed qREfAE  (dAe) #
AfARFT IHT FHAKS ATH BT FEUT ATHT FATGT Febehl BRI FAT
FHANATS Sad ATRIH] M=d JiTeTd ThH FTME ®IH] THAT Jcded @Eed
U IR YFHATE A9 (Bonus) WiAWE | AUTER] FRHAT &9 8l W T
2@ ITaehol, A9 dfqehd, F9Td Ad RH, J97 @ 99, fatae
TSHATAT A [T TeATHET HATRT TEHT AT ARATAEEHT HIH T FHAR G
U MI9aTar At &991 T d\9 (Bonus) 98 A |

&) T, e




BT

T3 I T q9AT & 40,00,000 HATRT TE | HATRT TR THFART 60% THA 9
JINTHT FULA 80 FAT FHATLATE, 19 TET JLE (A [Gaor 1 g Mo 1 53+
FHATA IFA aY FHfel LA G T T S, T ST |

TqHTE
STFAT HATRT TRl THH =& 40,00,000

faa=or Wil aME T = &, 40,00,000 FT 60%

_ 60
40,00,000 x 100

=%.24,00,000

STHAT FHETRT eI = 80 ST

24,00,000
80

= %.30,000

Teh AT FHARS qI3 ST = 3.

A TAF FHARIA oA aUAT qAd aTedk %.30,000 ST THH YT T |

BEEEEE

TS FadAA TF qHAT & 50,00,000 FATRT TS | FAATRTRT gl Tiawa q a1 wEd
55 ST FHIRATE aXER . 50,000 FT IXA S9E fGAX0T TG 74 &7 gaAA TATHRTRT Ficl
gfcrera awie faaor et &, fme TR |

AT

EIEeTehl STEAT AT JATHRT = %.50,00,000

gt FH=ANT fadRer TRus §HE9 = %.50,000

STHAT HHAT FgeT = 55 51

AT @EY [aarer ARTET ST 7T = 55 x £.50,000
=%.27,50,000

: . _ . 27,50,000 o
. faazor wifvuepr @rater ufqera ==, 50.00,000 x 100%

=55%

T, FET < ( FaS)




3.3 fetwewe (Dividend)

BT

fad 2077 = 14 79 RE@TT ATATSTH] TR “‘SfqbHel Arerer qriee’ ofrderept
HTARST THET AT T ThR G

AT RHA=AR FHFA ATGF a9 2076/77 HT AATRTEATE Fid FAR 40 FHATH 3
YIRIATATS AITE ATATT fqaqeor T geaqra arfed T 3 |

AT FHTER AT ALAIA T TABT TEAHT IR (G B4

(®)  HUT AR F &l ?

(@) IS AT, TATEH TRATTHT o TG % FFIATHI JIX G TAATH G 7

@ fefvgre 9=l & &1 7 FaATs ATIR AWl FFA fefvge faawor g 7

() FHATT JAF a0 TE qATRIH Fel 6l IR giigears e T T,
qUTES a1 qTUTSH] TRARS N THHA Y TATHT G, 7

F FFIA! AT ATRTHAF FEATHT YA AT TEHT SATARAT AEATS FATTHT ATRT

THAET Fel 9faerd TRH FAREAT (Share holder) @M% 9™ TiRwg w9 I

TFHATe fetae=e (Dividend) wi=g | fefisve faa=or &l F¥am= e @3 ATHRHA

gaareudl fAi=rd gfqera vaers Y ggere 9 R faave ey | ar

fefae~e (Dividend) 3= forfawar g7 -

(@) T fefaeve (Cash dividend) ¥

(@) ¥77 fefag=g (Share dividend) | a9 ? fefage g3 wmwer & |

BEEEE

afe q3eT Agfad FFAHHT 100 F I 6,00,000 7T §9X Wo T I Gedr™ TH JHHT
% 40,00,000 FATHRT W | gfe e HATRTRT 20% 1T fefwrg=g (Cash dividend)
R eigEdr fqawer T fule e W I R 60 R T g afae S e
fefwerg (Cash dividend) T 7%, =1 TSR |

T
el ST HATRT = %. 40,00,000
faaeor e SET |E fefieee = %, 40,00,000 #1 20%

415 ) T, FT <




20

=40,00,000 x 100

= %. 8,00,000

HiT STHEAT 97 fohdT Ig@T = 6,00,000
| faFT AT e fefrges = —5:00.000

6,00,000
=%133

Fq : 60 fobT TR g ATdT IHT FFAEE I T fefag=e = 60 x & 1.33

=% 80

B s 2

1. fegusr anforamat saman arwiw fgame TR

FHEIAT HATHRT FATATITHT TX
(%) %60 M@ 25%
(@) T 2 HS 50 A 67.5%
() % 80 @& 48%
(%) %9 FIe 55%

2. USEl FUST IANTA f4.°. 2076 AAHT & 5 @@ 60 FAR HATHT T | HATH
TR THAFT 60% THH ATFI SARTHAT FF TH 105 THT FHARIATS a9 @wd
faaRer T MU g 99 TAF FHANI HId Bq THH I T9 AU 7 Il
TSR |

3. UGl fqwr FEA HATRRT 3E fAETs TEH ATET 150 WAT =
FRTER I &, 40,000 F 3 AT @EY [qaR T4 [ Wy 99 aq av

T FHFIAIH] STHAT FATRT Bl e 7

4. fuwr aifqwee #@ fefwewg (Total dividend) T gidax fean fefwere

(Per share dividend) fga@ 7w -

FEAL | ST AR e fefrgre®r =X gg ARl
() 4,50,000 40% %.50,00,000
@) 1,15,62,486 55.5% %.12,00,00,000
(M) 3,28,50,000 23.5% %.5,20,60,000
(¥T) 21,63,25,030 60% %.2,75,67,36,894

T, FET €

4%




5. TIAEH! ERRI LT €100 F7 33 13,63,497 fohar v faar | Aearesr 34
FEHT ALATAT 350 FoFaT TR B | FXATS T audT & | F€ 20 A1d HATR
FHITG, T IR gAeeadrs HATRIH 45% 8 fefaeve fo faorr weg s v
Fid T fefevg (Dividend) ISTEHA, T1T AR |

6. 9fa fear & 100 99 22,39,440 fFam ¥R WU UIAT fqWT FEAA ATRE
% 1,52,05,674 HATHT T | F FFAAB Goarde AATETE TATRIE 65%
Tz fefwe~s (Cash dividend) fa o1 U W= 280 FoFdT FAX WUHT T AT

—EREIECE

ATHT FeqThTSTH ATAE®dTE 5 ATl THeHAT faarsrd W fafq=t 5 sfrer qrasitas

ar Aol FRITeed ATHT FHARIATS [aaee T a=& T %HT 5 HTal FFIATe!
—

1. (=) % 1,5,00,000 @) % 1,68,75,000 (M) =& 38,40,000

(®1) =, 4,95,00,000

2.% 3,200

3. % 90,00,000

4. (%) . 20,00,000 T %. 4.44 @) 3 6,66,00,000% % 5.76

(M = 1,22,34,100 ¥ =. 0.37 (=) % 1,65,40,42,136.4T %. 7.65

5.%. 1,386.14

6. % 1,235.77

%0 ) T, FET €




IRRRA 35Hafoia
s 4 (Household Arithmetic)

4.0 qAEA®T (Review)

feguaT TeTeTAT SR T THHM THEY

(@) 25 AT FTIMH A ¥ 500 T 97 TIeT FTIH A Fd T 7

(@) T ToF BTGP Hed T 600 T 9 7 AT HTATRl HeA B T8 7

() ATHEET AUH 5. 750 AT 10% THH I &1 9 H(q AT 87 7

(&) % 500 H FATerRATHT 2% G (€81 Hd IHH e 573 7 GeUSH Hed Hid 878, 7
tfepep forw, ge ThW, 99 THHATAT fEATe ARTeoT FETHT HeAAT MR G | TS
SATAT AT ATaRYd fharesare fedre T q8s g |

HIGTZTAT &7 U a7 #FFa¥ 2 JIIT 7 Jaarsd (online) ATETASE i qFarl
T GEeg | AT GAAT GIATeed TRl [T Aeqeaass, Jekase FTHl T7 qrld
FTATTTHT §ifTeF &THT FTURTT 9 T2] GIATAT TETIH ATATHE FTITH HT 57

TPl F |
4.1 oS GUaEET SREdr @ fga (Household expenses

for use of electricity)

BT

AHATATIAR. F¥eh F¥eh MR TH F |
fafdr 2095 /9 ¢ w1 T@T foer frawm s qyo o seweTe feifea

famm SuwERaT Jege X
N — 5 TR 15 TR 30 TR 60 TR
@fe) T F | TN o | AaT ok | TN O | 0 o | T ok | A4 Oob | TN O
®) ®) (®) (®) (®) (®) (®) (®)
0-20 30 0 50 4.00 75 5 125 6
21-30 50 6.50 75 6.50 100 6.50 125 6.50
31-50 50 8.00 75 8.00 100 8.00 125 8.00
51-100 75 9.50 100 9.50 125 9.50 150 9.50
101 — 250 100 9.50 125 9.50 150 9.50 200 9.50
250 wear wifr | 150 11.00 175 11.00 | 200 11.00 | 250 11.00
qla: 5 THgawesT Jiada #FHT Il Jifa® 20 fFaiare-var: JiAaq=T & @qad TR 1
afg 20 fFarare-gver: giiear# g7 3e® & 3.00 i e 7T ard g |

T, T S C <9




HITTRT HE aX T TP (et AT TR (G FIFEw GEIvd W] HETHISTHT ATHEw =
TARA e :

feg a1 dfa=g |
(@) fagusl fastelrer faa &
.q.%:n_rﬁ. %ﬁ' ” HEA ELECTRICITY BILL

BRAWCH: THIMI DCS
(@) fIAATAR BT THATH  BILL MTHEVERR: MRAG-2078

v v e 7
() TSN SRAT T aAarer e ey
frey STeT TTRueT 3 ¢ HENE: SLWERNA PRAVA GURA
() @_ 'FI'%T'\T‘:IT I ﬁﬂT'ITIT GHINCEHATTAR
NS N S — METER D328l

MF: . 1.08  STRTUSINOR

of BaBPh Yh Bl Er Bi

o) | 2ptan) wp Judwied J0j pood

AED) 22k pakelilh kel 2

QB ERLh kiikiek LOR| lshint EPh 2N klp 2L R223) 22k | kb k2| LoaR 14y ki B 1

qURT & Tiheg, 7 AFP.LOAD:  15.98
@ 79 [aaaTER gaaw RRES RDG: L
= <. FREL RDG: 41956 | &
STehaTad Hid faae UNITS ¢ 6 3
m p RECORDED DMD: 8. G -
: BILLABLE DMD: 15. 68 g
[N ?
(F)  TqUIPl UTHT ST EMERGY CHGS: 5241 . B 3
fuET e DEMAND - CHES: 9. 08 F
SRR SUBSIDY CHGS: -  B.60 5
Heqe 99 feara MIMIMUM CHGS: 175.08
e OTHER  CHGS : B. G :
TIE, ! MTR RENT AMT: 2.58 s e e ew| B
. CURREMT AMT @ S416.08 "o
(@) T S e i ARREARS ANT : -8, 54 S RS e _
3G 7 BILL AMOUNT = S415.9 §32§1%¢
() W Heqe &% SEM 16928573 WERL L, 16
AT ST T RERDER {METERREADER €002

(Minimum charge)
qT & af¥vg 7 91 9 (energy charge) W=ITel & g 7

() TUTEATS BT TANTHT ATSUH H=tad dfaqare fawt fama faemm &7 &1
faR Jeid TRUH &7 7

() qUEA fHex Revare g T faaHr Ifedatad Heda Hae feard TRue

gl 7
@) 9 faaaar &4 fafqar fHex Rieg wowr g 7
fafa R095/9/c W SEH faud ERA WERTET q¥o W@t Toeare  faulied

faea ITHTRT Hedd RAMAR Meeddad (fage o) fa=@ @9d Erdder 9ok
freear fafas s -

%R ) T, BT <




fafaeg ™ afew (5 ufwawa anf

faa | frmemw | (g faferg i afeawr
gfie gfie 7))
1. 0-20 0.00 | =Faw ek T 30 AT T A YHATIAR] HEHA
TAT
2. | 21330 6.50 | mew ¥ ¢ T, 50 AT ¥
e TSIt Yo ¢ 20 AfTeaw gfq afqe & 37 21 gfee
fa 30 gieaw® gfaaide & 6.50 #1 R Hedd
AR
3. 313f@50 8.00 |=rem e : %. 50 @R ¥
AAE Tl e : 20 AHeaH qid giae & 3
o 21 FHasfE 30 qeawa gfqafde & 6.50
o 31 gMasfa 50 AfTeawa yfqafe & 8.00 &
QXel Hedel «lid
4. | 513f@ 100 9.50 | =e® ok : %, 75 @R ¥
e TSI Y : 20 Ifeaw ufd afie % 3
o 21 Fiesfa 30 FfqeawH=®I giaaiie %. 6.50
e 31 Ffivesfa 50 gfqeawa giaaite = 8.00
e 51 FfHest@ 100 IeFa+H Iiq AfHe & 9.50
BT T AR
5. [ 1013f@250 | 950 | egeew e : F. 100 A 2
RIREEE

>

TSt e < 20 YiTeaH T 9id IfHe & 3
o 21 Fieafa 30 gireawdal gfd e ¥ 6.50
o 31 Fesf@ 50 AfTeawal gid Ife = 8.00

e 51 Ffesf@ 250 A ea+H®! gfd e % 9.50
BT TA HEGA AN

T, FET €
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250 A=1 11.00 | ~geew gk : . 150 @ ¥
|1t Tt ek : 20 e  9iq Fie 5. 3
o 21 FiHest@ 30 AHeaw el 9id Ife & 6.50

e 31 FHesl@ 50 FHeTFAF! 9iq e %. 8.00
e 51 Fiesf@ 250 FiTeaw®! giq If+e & 9.50
o 251 fHeafa Al #. 11.00 #T Il HEHA

~

SIELI

400 Afvedw=r | 12.00 | omew ew : % 175 A 7

ATt TSt I ¢ 1 3@ 20 IfAeaFTeH Iid gfHe & 3
o 21 Fiesf@ 30 FHagFAF! 9iqd e %. 6.50
e 31 Fiveafa 50 giqeaw! giq af+e & 8.00
o 51 Ffest@ 150 AfTeawal gid IHe & 9.50
e 151 Afesf@ 250 AeTHH! Ufd Ie

% 10.00
e 251 FiMeefa 400 qeawa ufd gfae

% 11.00 #T ST Hedd T
e 400 Ffeafa ATfaewr @aaqHr . 12.00 Fid

F(AEHT Tl HEGA AN

Az : 78 gERe 15, 30 7 60 uftqgeasr fafas kT g 1

IHT [ATTTHEIATHT YTEchel HEHd A¥hTIaT [HFTTEAR e TIT AT TaedT TRUb!

.

1.
2.
3

ez fefes Wearr thlaer 7 feaftas weqa aeRTear foaa Tae 2% B v

frey fefeg weer fafaer 8 off famafa 15 o feafas weqer avhroar faaerar
fey fifeg wear fafaer 16 o famsfa 30 of famaew fas@ weaa gepmeaAT faa
TEHH 5% 99 TEAY (AT A

fex fifes wear fafaer 31 off famsfa 40 o femaww fa=d weqer awheHAT fad
TFHET 10% 99 TXAX (SRETT) A

fey fefeg weeer fafaer 41 e fam 3@ 60 o famaww fasa weqe awheaT faa
TEHH 25% 9 TER (SARETET) Aqe

faey fifeg e fafaer 60 & feweem ofv fas@ weqe AashRrewr fomr gem
TAEE GEIAT I faa Fifed | e T el TR gEEiead ATehare aXehn
el e AFA U MRA T R T&R & 500 T |

%Y
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AT TRAT TS TRUH (HeThl TSIl HATATAR AT [aad IIaehorel Hedd a¥
¥ HIF Er | TEl ST &THATHl (HaX TeIH &l FAqH Hedd Iid adl 7 qehTs
TE | A S FEl fahd @ud = Afd 7 99 Hedd GRS IS | Hedd fedre gar
AT YRTIF FEITA T3 9o (a9 ITANT TATId AR ek A qi¥heg | 8T Ja1e
faq WTigeoTer fHeR Rf€e 79 ¥ UTesdhars (a9 e AT Tl A G=ar giaie
(IT) T FIATATE & ITATHRATHT TEHT TS+ |

faerd e faex fifgg e fafaer s eeaifas awRToAT g2 aTe, UF g AR 15
fea e AT FRTTAT G AUTSH JI faaa @R gq, 15 fed dfg Fp1ear Jfamr are
g1 60 faTaw 9 Hed TIRTCHT faq T T JeT fae[eiledl d1ga F1aq
o T I S etk AN FTGT [MIHAT Il TRUH 3 |

REEETD

5 g gt emareRt et siem fvgst TweurT ot fad. 2078 @t q| Afgn

forerelan foerat fmE gdeliaT fem<umeT STaTeAT aest TeeEeEl IaX G T o=

AMETR :
grershl ag® (PRESENT RDG) = 42973
qifae a=® (PREVIOUS RDG) = 42828
gel faadr RDG 9+l READING A+ % |

(F) ITHEROHT T T HGATH Hid A G @Id 7S, ?

(@) STPAT HEEA Hid A AU, ?

@ frex Rfeg quar fafaer 5 oFf fGFaT weqa FpTe & 99 & *Tar gg
argeeAT ?

() afs fAex Rfeg s fafaar 13 of femar weqa awres &1 99 &fq At
ATAYAF T 7

(@ At faex Rfgg wuer fafaer 22 o famar wede JeRTTHT U e Hiq st
StearTT 9 fau g 7

@) afs 9 faer Rfeg wuar fafaa 39 of femwr #weqer aepTusr WU Hfa w@FH
SAfearar faq Tt 7

(@ ats faax Rige quar fafaer 50 o famar Heqer a¥pTed &1 99 99 a9 s&edted
F(T THA AT [ TgHERTATS I¥HTIT T g 7 [@dra e |

T, T < ( KL




FHTI
TEt BT A=E = 42973
qifees o1g% = 42828
(%) TAHAIU(H OB TH HeATH @ad TUH! fagd = (42973 — 42828) Iive
=145 g
(@) e IHT Ifeafad Hede 3¢ deaT M,

Tl 145 Fe 93 @ud AUH PR 5 IR &THAT HUhl HaTeh! @Rt ar
gud IMe TUH AT |T A9 101-150 ITeawH] THe A Ig5 | qrer
THEATAR @Id 145 Ffears Harsa,

145 give = 20 FfFe + 10 A + 20 FfHE + 95 I

ol

%3 %.6.50 %.8.00 %.9.50

ATH Tesb = %.100

STFAT ST 9o = 20 X 3+ 10 x 6.50 + 20 x 8.00 + 95 x %.9.50
=60+ 65+ 160 + 902.50
=%.1187.50

(101-150) FHEH FATH ek = 5. 100
ST Heqdl = “IAdH e + STEAT 9T eeh
=3%100+ &.1187.50

=%.1287.50

@ ez Rfgg W a7 f@aiva qeda qaa AT faa THE 2% T2
RIERS N
7Et Afg THAROT 5 AT fGTHT Heqd IERTIA AT,
HEHAHT e THH = & 1287.50 &1 2%

—% 1287.50 x —=

100
=% 25.75

%% ) T, BT <




(@) frameER, faaw ffeg wear fafaer 8 of faaefa 15 of feafas weger awpmoar
TR e g |
et 13 o femar TweRwe faua wedd swEaE T & A9 faasaet
% 1287.50 FHTIAIE |
@ frowaar, faey figg wewr fafaer 16 o feasfa 30 o faqae weqa aehaa
foret YA 5% 99 FTFAR faque |
FET AU 22 A faAHT faua "ead GETs &1 9 ST dRe ST g |
IS TS I AT ThH = %, 1,287.50 T 5%

—% 1,287.50 x >

100
=%. 64.38

@) ez fifeg wear fafaer 31 off famsfa 40 o femeraar weqa aaeHT faa ¥
FHE 10% 99 TER [q0 |

TET AHATO 39 Wt faT WEhe TS AqRAT AT
faa o9 &R (WRETHT 7o) = & 1287.50 %8%

=% 1,287. —
,287.50 x 100

=% 128.75

@ rmaeR, frex ffes wuer fafaer 40 o fo7 afeudls qeqa gepmE foaa 3
FHET 25% 99 TER AT |

7et afg THERuer 50 @t famwr faed Heqe GRS &1 9,

Stteararad faqad TFA - = % 1,287.50 & 25%
25
=% 1,287. —_—
,287.50 x 100
=% 321.88
. SIiErATafed YRS 91 ST Hedd =%, 1, 287.50 + %.321.88
=% 1609.38

T, FET < ( %9




. Eceesy |

1. fEus atawmn 5 ghuaT SAst earnt fHaT e TRUH SRERHT qTg ! Xt
fad 2078 wifvwfe wrim i fiex fifse ferd o | aa aifawe
HEATTATE T WATHT TgEah! I e -

wfeAT Fae | "SR qq TS BRI

N

faer Rfez (?Iﬁch) 3528 3593 3;00 3904 3950
(F) HEER AlEATH STHT Hiq Iie fa9q @qd 9us 7
(@) TFIREHIH] TTHT AT AET T FATET HH (qoell & F HiEAH @I
qU, ?
2. FARW WEEE emER efafaa smeamn Ao fem nfawcoe e qeaew
[SIEREHEE
(®) BTAHI dqGH : 2575, Aa® qgH : 2472,
ey ear ¢ 5 TR
fraz Refeg wuer fafaqer =ren famwar weqer gwhTeHT
(@) BTAH qgF : 3036, AfaF qgH © 2831,
ey ear ¢ 15 Ui
frez ffes wumr fafaer 413 femwm wega avproaT
() ETAHI dqgH : 3603, AIaF qgH : 3294,
ez &mwar : 30 iR
frez Rfeg vt fafaer 39 ot famam wewe gepTTaT
(°)  BTART AqgH © 4311, AMlaF ASF © 3944,
T emar ¢ 60 uirER
frez fifeg woer fafqer 14 & femam weqe avpreET
() BRI AgH : 5555, Alied d5F : 5107,
fHex awar ;30 TR
frez Refeg vt fafaer 17 ot famam weae gepmean
(F) ETARI AGF © 6452, ATGF T : 6443,
ey eqar ;5 ufrer
frez fifeg woer fufder 57 ot famar wegqer gvhToaT

%5 ) T, FEIT <




—Eetukicl

T B AT fa=Terael e 6 AieATH! fasTeliert fae Tgeper T @=taq Jfa=are
Hedqd fHarer que! giewar fedra T SAafaaTa AT fadated Rierddrs arsTerd |

1. (&) 65 g
2. (%) & 870.73
(') . 3,782

(@) FATRT TET AT T FerTwal FH AR
@) % 2,378.13 () = 3,381.40
() & 4.833.15 (=) = 37.50

T, FET €
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4.2 U EUaEEET eI @=at fg@e (Household expenses

for use of water)

BT

Wﬁ%@%ﬁww
TRUR AR fad R
GEIHT  HEGA &Y Tt
AT T IR FITeeHT
FARA Terd, st 1000 feaex

=1 gHe & |

(@) faedr & &A fqERw
Joel@ TRUHT B ?

(@) [ae®T ST THH Fid G 7

(M) fereren i THq g faguw
g7

(&) faerHr Hid w@H
Stteamarard faqavs 3
fepet grer 7

@ faawr afdr g@ar A
(Arrears) Hid e 7

(=) gAHATATIdH (Sewerage)
Heqd TR HA 68 7

@ 9 fgaaqar fao feame
wfeuert wfeArar #fq e
Il @9 HUh a7, 7

w0 )

Kathmandu Upatyaka
Khanepani Limited

Branch: Tripureshwor
PAN No. : 600041601

14

At

PAYMENT DUPLICATE-RECEIPT

Receipt No.
Date

Customer ID
Connection No
Area No.
Name
Payment Mode
Cheque No
Arrears

Water Charges
Sewerage Charges

Meter Rent Charges :

Miscellanceous
Penalty

Rebate

Previous Balance
Bill Amount

Total To Be Paid
Total Amt Paid Rs.
Payment Period
Advance

Advance Rebute

Balance (After Paid) :

Received By

1115117730000577
2077-11-17
1115004313

20198

14C-17-55

Jana bikas pra.bi.
Cash

1083.00
100.00

50

0.00

0.00

200.50

13.95

0.00

1238.00
1424.55
1425.00

2077 Shrawan - 2077 Falgun
0.45

0.01

0.46
(rbhattarai - 3)

————— Computer Generated Receipt-----

T, e €



2070 STET 1 M AR] ATHN TGS I qHART

ey qIEs AAH ITHWT
) TAAH T X W WUET GIRTEEAT
(7=H) (fe=m)
ATH FIH TN T I 2T SRt
TR T (8) | srerean (7f 1000 fram =

25 10000 10 100 32
" 27000 27 1,910 71
1" 56000 56 3,960 71
1.5" 155000 155 10,950 71
2" 320000 320 22,600 71
3" 881000 881 62,240 71
4" 1810000 1810 1,27,865 71

Alg: FUIFT HEGTHT FFIHIT 73 AT geT FATarqas s 50% I7 TEqA FIH 57 F |

HITFT [T [TFATTEATE Hage AT AT TRTH & -
fawsTare s g==rer arg7ar Faaw 10000 faee seiq 10 Ff+e ar4t (1 e = 1000
fe7e7) @ TR & | @7 FATArTd 50% TEH 99 T HEG [FEI TR |

GraTIhl Hedd HHAE g9 g2 qaT SReMl (99 §&R) dohl b J&qd
TREHITSTH B &
qaFa (e faaeer 9ueer fAfaen) g/ Sfeemr

afedr T qrEr AfgArtTT 3% g2
REUKIELIEED EEEREIN
= wfeetr 10% Sifeamr
qr=it AfeATT 20% STfeaTaT
qreEt AfeATRT e 50% StfeaTT

T, FET €



BTN

1, T7 e TSR] qTI20 SIS TTIYTRT 18Tt SCAT 9= At aHisT frey fifee mef 3754
qrga | afe wE A e fifee et 3727 Prl s & da@mmast 50% TFREtaat
= HiEATRT HEGd i §70 ? FTGT ATAT W WEhe J¥hTTHT i TfUaT faus ? o= ameTE ™ |

THTE
el Tl AgH (Present reading) = 3,754
drferhel @g® (Previous reading) = 3,727
gqd 9l = 3754 — 3727
=27 7fe
= 10 A (10000 ferer) &1 gea = 3. 100
ggt 27 give = 10 AlHE + 17 give
FATH n%%lq}r %.100 >qu%€ %32 F A
. STERT WEge = 100 + 17 x 32
= 100 + 544
= %.644
T ATAIqR Heqd = 3. 6445()3% 50%
=644 x o5
= %322
ST fae T = 644 + 5.322
= %.966
A, FETATS TTHT I STHART AT = HgHTRT TSI Hedqd = & 966
gfe Féree faq faaeer wusr 90 Afedtad qedd qEad AT MERaaar o
TRHFN 3% FE T &I,
e THH = T 966 H1 3%
=3 966 x %
=%.28.98
-, FRIETS ST AfEATHT AEdd IERTSar faqad TEH = % 966 — %, 28.98
=% 937.02

R ) T, FET €




BEEEEEE

TF T Qg TEUETE dvgd R &4 A sw 123 e ot @ wow |
forer feareor W <t wiefie wEEe qvRTe oA SR wfa wfat S are 2
AP |

QAT
STHAT @9d 9T = 123 FfAe
FATH 56 FE (56000 faaz) 91 @adaraded Hedd = 5. 3,960
Jet 123 gMe =56 A + (123 — 56) e
=56 afe + 67 T

; ;

FATH Hegd & 3960 ufqgive F. 71 F WA

;. STHAT HEgel = %, 3960 + 67 x 3.71
=% 8717

50% & FeTeIclebl Hedqe = 8,717 & 50%

50
=8&717 x 100

_ 8717
2
= %. 4358.50

qaqd T fae TH =% 8717+7%. 4358.50
=% 13,075.50
forer faeeor quer =ver wieAtas faer (@Rt faed TaEr 10% 99 & (Siearn)
AN, |

T, SETr T = & 13075.50 # 10%
_ 10
= 13,075.50 x 755

=%.1,307.55

T, FET € ( 93




B o= 42

1.

—

1.
2.

FIUATR! TTHT V4 T @ATHIRT TET A AL TLCH © | ITRT TTHT A&
Hfgamn fHex fifeg el g=@® sIg® (Present reading) 4225 © | 3T @tfe®
ag® (Previous reading) 4197 TEE WA (S TSAT Iedfgd HgdA AT(AHTRT
HTETTHT THT TIAEE TATLH TR

(%) FITTTr IT AT 50% T JATATId Hid Heqdl fa{ad s, ?

(@) ST o T Hid g 7

@@ foer faazor quepr qfedr T ST Aiean T foae SeRTaHr Fiftdre wid Aeda
IR 7

(&) foer faazer o J9T AfeAiaT aEde IYRTCHT I Hid TRH [qHe, 7

U3 el 1.5"" 1 I1ZY AZAETE @RI Tt g afe w1 o At

T 423 gfE T GO HUD S SIS TRAT [REUE @t JEde 3 atfesTent

HTYTTHT TAHT T TATLW TR |

(&) ST AfEATHT g Jarafeded! T Hedd Hd g 68, 7

@) afg foer fadwor sut ar=t AfemifaT Sad AfeqTer AT Heqe TERTCHT i
st Stfearar fadde ?

(%) . 338 @) = 1,014 (M) & 983.58 (=) % 1,014
(%) . 44,967 @) %. 8,993.40

oY

) T, FET €




43 ATRAH TR TR D feqT

(Household expenses for use of telephone)

BT

[aSUsl faa q2aq T AR JITewHl IR [GTR

< TAX INVOICE TPIN/PAN : 300044614
( A} Nepal Telecorn

(Nepal Doorsanchar Company Limited

Transacoor No 73414226817 Invoice No R210623414226817 Date (BS AD) (70758075 775-0un-207% i :,_ Ay
Customer Company's Name  eeeemeeerenmeenseenes
Rega. Account No 6001190372 Customer's TPIN/PIN 1
Subscnpion Number s 015531957 Subscription Type PSTN
Payment Type PAYMENT/ADVANCE PAYMENT Payment Mode Casnh
Bilof  BasaknJesnaof 2078 Chawaof2077 T
Charge tiems Charge(NPR) TSC(NPR) VATINPR)
Biii Amount 404.01 5252 5934
Fine 721 000 0.00
Maintenance 0.00 000 500
Rebate 0.0 000 000
Adjustment 0.00 000 0.00
Aavance 192 0.00 0.00
or 0.00 0.00 000
Sum Amount 41314 5252 ez
Invoice Amount 525.00
IPTV Cash Received 000
Total Receivable Amount 525.00
Tender Amount Rs 52500 Return Amount : Rs 000 T ot Recewed Re T S eg T
Received Amount(in words) Five Hundred And Twenty Five Rupees Only T
Counter Thecho Received By: ..........cccvvvuunnnns No. Of Copy 1[Onginal}

Note In case of Deposit and Advance Payment. this invoice is considered as Receipt as well.IPTV Tax invoice is
provided by NT Partner’s Billing System

[T & FH (TR Ioei@ TR S 7
forera Heg Afwalg F=arad Hiq giqerd TeH faues &
(W) ST HEEA Hid g 7
A1ty Ifetad @ local call tariff &7 & | Local call &I MIRATAR —AdH 175 FeAh!
Heqd %, 200 T TAIS, T & %1 FT A 9 Heqd [@a1d g7 | AEehel STHAT HeAehl
HTIRHT (G AU He g AR 13% 99 THH a1 Aedb (AT IUA TRIIA ATl
IS 9Teep) [aTE | T STehAfede dra AUHl STFT Hedqadsd! 13% T Ardig &

ATIAH] THH AT AIHRATS Aoed W& H1ITTE, |

T FT 7 qer (TC) = FATH Heqed + 97 TG
a1 [k (TSC) = %7 "e gt 13%

qa A9dig #< (VAT) 77 = (TC + TSC) #T 13%
5T 75 g = TC + TSC + VAT w7

T, FET € C 94




e faFT Sft.ga.aw e (GSM Prepaid) @@t 929« 3T

&4 SEIGIEARS ek
l. | qqrer afaqswes deastas ®w= (% 1.50 fq faee
&l (On-Net call)
TUTA SfABHBT AdabaNEy B | %, 2 9ia fave
Tl (off-Net call)
2. |UH.UAR.Ug. gar %, | ufq vg.uq.uq. (fasasr TeadtaT
T TH.TH Tl
& 1.259fq TH.TH.TH (3 qETHHAT
T, TH.TY.TET)
& 5 9fa TH.TH. T, (ST FATHT
U, TH.T.TaT)
3. ||rdr T afEr F&r (FNF % 0.70 9iq =g aIgrAT 5 ST
Service)
4. | Video call charge T 2 yfq faae
AT 2R (9.0 oH qiedE (GSM postpaid) a6 78qd @
.4, TR TR X JUNT g qHT | A TN g q | A e
(Peak hour) (Off peak hour) (Monthly
. BT . e rental
6.00A£/[M 18:00 | 10:00 1111\1\//[[ 6:00 charge)
1. |+9rer afererwerr & 1 9fq fve | % 0.55 9fq = | € 300
TIARAT BT TaT
(On-net call)
9T afebHet Jeas |%. 1.5 gfq faqe |5 1.5 gfq faee
FTfex &I TaT
(Off-net call)
2. |uvmuH g gar AT [ ABHR! TEaHAT T TH.TH
Short message service EIRA IS A A
(SMS) FRIteT  WRAT TH.UH.UH  TEl
¥ 5 Ud U9.UH.Uq.
3. |=mdfr ¥ ofvarfa=er | % 0.55 9fa fave admT © S
a1 FNF Service
4. | Video call charge T 2 yfq fgae
% ) T, e €




qre:

1. AT UEq HEqe SCHT ¥ GHTAL TRTH ST |

2. TH HEHAH! FHHM 13% afdwH FaT ek (Telecom Service Charge
13%) ¥ Ha #tqaig #= (Value Added Tax) 13% @R | [ 2075 =& 1

< = e |

3. afsw T4 ek 13% T HF Afqaig &% 13% SISl g7 Ars+ ek 2%
@A &2 [Ownership Tax (OT)] @& | [2077 =AW 1 A<M ART HUHT
4, WU AFHH, AU ISR IR website www.ntc.net.np are fa&qd

STHET fem Al |

General Notice:
Please pay your bills on time to avoid call restriction by Credit Control System.

To know due amount and available credit limit, please type CB for GSM/CDMA Postpaid
and send sms to 1415, CB*PSTN Number and send sms to 1545.

13% TSC & 13% VAT will applied as per Government rule from 1st Shrawan 2075.

GSM/CDMA Outgoing calls will be blocked (1-Way bar) after finishing remaining credit
limit. Outgoing and incoming both calls will be blocked (2-Way bar) on crossing 90 days
of 1-way bar.

Both Outgoing and Incoming calls will be blocked (2-Way bar)) automatically in PSTN
after finishing remaining credit limit.

For PSTN Numbers distributed from Soft Switches like NGN, IMS MSAN, MSAG: Meter
reading value remains same in each month bill statement; local calls are charged based on
call data record (CDR) not on meter reading.

To download monthly Bill statement, please visit: http://gsmbl.ntc.net.np/ For any com-
plains, Please contact nearest customer care center or dial 191.1498.

2% Ownership Tax (OT) will be applied on every GSM and CDMA Postpaid mobile re-
charge as per Government rule from 1st Shrawan 2077.
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BTN

PSTN afawr™ agaare U Afgamn 267 & fawe Tus ¥,
(@) I&T AieATHl ARMR F Teqga (TC) TAT MG |
(@) ¥a1 ek (TSC) ¥ 77 #Afwafg ¥ (VAT) v+ feama e |
() I HiedATH STHAT (AR Teqd F(d g 7 IaT AR |
HHTE
(%) F&T Uk HIgATAT ST 267 e diqthld TRUH Haedl 3 |

A 175 FAAIT ATH Tedb = & 200 T

AT 267 ®A =175 ® + (267 — 175) &
=175 & + 92 &®A
\
Wwa\lzoo gfd % & 1 &1 A 99 Heqd
- & wege (TC) =% 200+92 x . 1
=% 200+% 92
=%. 292
(@) a1 9Tk (TSC) =%. 292 & 13%

_ 13
=% 292X 155

=% 37.96
AT ek (TSC) Afedshl & Heaqa (TC + TSC) = % 292+ % 37.96 = & 329.96

9 U ATdlg BT THH =%, 329.96 HT 13%

= 329.96 x 13

100
=% 42.89
() STFT Hedqa = TC + TSC + VAT &+
=292 +37.96 + 42.89
=% 372.85
TII IHT HledTehl STFAT AT Hedd & 372.85 g |

Ul ) T, FET €




Ipieqe qfee

STFT F = 267 FA

Afarad & = 267 — 175=92 %

%A Heqd (TC) = AdH Hedd + AR Heqd
=%.200+%. 92 x 1
=% 292

TSC ¥ VAT afeaar #gqad = TC x 113% x 113%

_ 113 ,, 113
=292 100 100

=%.372.85

BEEEEE

Aure ferrrat Sf.ga.w. (GSM) e Aramee &at seid = 100 #1 =t wdae s
et Trafeea AAUTER Hfa Tt axEew Talktime (Voice Call) STW T TGS ? S
% 100 71 FF: RS qa1 7o (TSC) 13%, Fou sfvafg #X 13% ¥ w@ntaea #¥ (0T)
2% aHEw TTH &6 | afe NT Network 5 ¥ Voice Call &t %, 1.50 fafimas®t ez
ek ATG WA Fid fAvE FIEET (Voice Call) T e ? aam SMETRE |

THTET

RE=AR a1 Tk (TSC) = 3. 13%
7 afwalg &7 (VAT) = 13%
@raea &2 (0T) = 2%
fe=mst | =%, 100

AT, OT TS AT qeh =%, x

L Xx+x B 2%=7% 100
2
qg4T, x +x < {op = 100

102x _
100 100

- x=98.04
®fY, AT 13% VAT TS ATael ek =%, y
Ly 4y E 13%=98.04
13
qI4l, y +y X 1o = 98.04

113
ST, o0 = 98.04

- y=86.76

o,

T, FET € ( A




T |,
AT, 13% TSC @S ATl 9o = 3. 2
- z4z B 13%= 3. 86.76

1
AT, 242 % [ = 86.76

A, T 86,76

- z=76.78
agd % 100 %1 =rer TET F. 76,78 sRTEwE Talk time 9TSar & |

D o N

AT afAFHE RIS BT FA T FRTHMAT Ta1 & 1.50 9fq FAaHhr T Tob
A, |
- . 76.78
- B 76.78 © FIERHT TH G THA = 755 (AT
=51.19 f=e

Tgd 5. 100 &1 =S BTE TIART T AT STABHB! "abidT hid &el TaT 51.19
fA¥E TR T qTE @ |

L EocEss
1. TEATEERT g3 JemE AfgAen 2faem w0 fifeg mef go sigw 4444 T afesw
AEHF 3992 o WA
(%) STHAT i el AR TR 7
(@) ufeer 175 ®efepl 5. 200 T F@die 9iq oAl 5.1 * a3 %A qeqe (TC)
Hd TS, 7
(M) & T 13% T HeF Aqdig F< THH fedre THa |
() A ARG FASH STHAT Heqd fedra TR |
2. frmat 2famm e @& geF (TSC) 13% T /e atwafg w3 13% afgaa
(STet gfedr 175 & 5. 200 T adfe gfd Fasl &1 & Rl Hedqd 333 |)
(&) 550 & (@) 695 F (M) 793 &

3. afg@r 175 wawt & 200 T J9ufs qfd w1 I 9@hd 959 | qar gk
(TSC) T 7=9 srfwafg #FT TomT Fiiaw o feguat qeamn &fq & fqwm ™
afeo ?

(%) ¥.275 (@) & 695 () & 890

g0 ) arTT T <




4. dfedr 175 wAH & 200 ¥ GG Fq FARN 5.1 F A T2 A I8 | qa
T (TSC) 10% 7 13% e afsraty #eafed %.696.08 HEdd S35 7 B Fe
afTRTT TRTH 8T 7

5. A9 faFH STuE.TH. (GSM) dreds (Postpaid) HETSd AT IAdH
4T 9T (Rental charge) ¥. 300 @ | TE AT RHAR AT ek 13% 99
g AT qehHT 13% | AMI(g FR ANG | TAL g AT STFAT HEGAHT T
2% @@rHeE & (OT) aRg A9 9redg faH TaRTdard Aiias ®IA1 IFaq Hid
HEHA q¥R1ST T8 ¢ Il ANTSTR |

— G

1.(%) 452 %<1 @) = 477 (M % 62.01,%. 70.07 (=) = 609.08

2.(%) & 734.22 (@) & 919.37 (M) & 1044.50
3.(&) 250 &1 @) 670 & (M) 865 &
4. 535 &t 5.%.390.73

T, FET < C =1




4.4 A e o N feaE

(Calculation of amount of taxi meter)

BT

ety SvEe TR

(F) & TUTe Uep AT bl TATHHT ATH TATHRIT TART TAATHT 3, ?
(@) TATRIT ATSTERIF=] oAl IIEl Fof TETATH B 7

()

BT A9 [AARTS=AvTael FEaas AR (e #fd Faw T 5 0 A"

TEFIHT STAERI Falare Fad a3q Alheg, ?
e &FHT TARTHT ATSH ATRIE® [Hex e TRUHT T fHax T TRTHT 9iq
g9 | [HaR SIS TRUHT TATRIEEH AISTETH] ThETdl I g5 ¥ ST JFATaAT
qfq Y I g | TR ATST ¥ THeEEEeAT el AARI URET AT B I
TSR ARTHT TATRIT THRATEd ARl IIMther Te<l HTATAHT TATET AT F(ehes; |
T IURAR JAT A9 90T, [Nepal Bureau of Standards of Metrology (NBSM)]
®1 Website: nbsm.gov.np |1 IMEUHI TATRIT AR [AHTARGd ATARHET IJeei@

T 3 |

Tt ATATATT T faamTehr Afq 2075/06/07 TAHT HUTTATAR HTIH TS TATHRIHT
qTeTe? [a3Uah! 3 |

faer 6 awrvear ufig AT 9 TSI A 9 =T 9 foeTe 6 asraen
Fopl T 0 %14 IR W % 21

gfq 200 fAe : % 7.80 I fegrawr wia
fr.f e 5 39 99 W FEH 1 km H
arere? @ & 53

gfq 200 faew : & 11.70 =1 feqrawr gfa
fop.fr.#T & 58.50 99 T FZHT 1 km H
qrere? @ . 79.50

qq grafereTaeTal ATSRET .39

qq graferaTaeTal ATErR? %, 58.50

q@rgardl ST (Waiting charge) X @ .
7.80 9fq 2 fAie

@S aTHl ATST (Waiting charge)
27 % 11.70 9fq 2 e

(Tee@ TRYF HISTET THIFTATT TRATAT HZeH 57 TF5 1)

c?)

T, e €



BEEETED

fraRA e FEAEE awEifd qadEeEerH 6 f6 frwr g T e afew | g
ot e AaH ©.14 T TEdts gfd 200 feTwt ©.7.80 F1 axa Wiet faus | awm
FAAT I 10 fme it saigst o e W e €.7.80 gfd 2 fmewr e
WIST AW W e s fa wiet fafven 2 e wEm |

THTI

IATH (TR Teb = . 14
TATHFT TEH T =6 km
=6 % 1000 m
= 6000 m
200 faezar wreT =% 7.80

1 fHazar AreT — 5 130
00
6000 fHezer AreT =%O x 6000 =% 234
TATHRIT qE@IUaTIasl Aedd (Waiting charge) = 7%) x 10
=%39
faHTRHRI fqwehl ST ATeT = 14+ 234+ 39
=% 287
Fafers qrea
G2hl T (FATH Teeh) =% 14
TATHIT TSHT T = 6km
EIRECATIC I | =% 39
TATRIT TETURT THT = 10 fqe
qiq 2 fAee 9@ wreEy = 3. 7.80
10 fove T@ueT Arer =6%0><10=3.39
SEAT ATST =% 14+39x6+39
=% 14+234+39
=% 287

AT ( G3




. o

1. fFTaer FTSHTSIS TaT aMvavsid qaqqY faorRas 9 frarfaer amwi
TS | AT TR el =ATH %14 ¥ agquig 9fq 200 fHezar %.7.80 &1
WA LT AU | ATATRT FHAT IAA 6 TA¥E TR g@iuama %.7.80 9fd 2
FHeas! fedree ST AR 99 A\19e STFT Hid ATeT faead ¢ feama T erd |

2. gitad qaqRe! SRR Afadaze! qraraed 18 fFaitaer arar Ta | G
AR THaeAT %14 T 39dig 9 200 MHe®l %.7.80 &1 T ATST (@0 |
ATATHT HHAT I 20 FAAe T g@iuarad €.7.80 gfq 2 faveer feamer gar
gftaer STFT Fiq 9reT faqaes 7 fedmer e |

3. 79 AT Jfeafan WigRGRER et 38 amn TaE et Wiet e

g9 | T (km ) e afduR FHEr THT AT
(waiting time) (FAerem)

(@) |6 faer 8 aw 15

@ |15 fesEr 3:30 =t 10

@ |75 AT 11 aToT -

=) |8.75 faem™ 4 =51 7

4, FAWTS 10 e @O SATERIET AT WA €.228.50 ATST faduaee | I ARy
=EaT AT AR Haxel =AaH %14, AAis 9id 200 fHavewr .7.80 &I &< T
TR qE@ardd €.7.80 9fq 2 TAeHl Il fedmEde WISl @iy Ae
FANT STEAT i THeX AT TR 7

5. waHErd 12 fHAe 9E@iUHl Arsided STl drer €.1027.20 fakisd | S
TATHRIT FeaTdd &1 &, 21, AU 9iq 200 Mzl &.11.70 1 3 T AR
q@eTad %.11.70 9iq 2 fHAEH! @ 78w W9 BAATATS SATRIHT STFT i
ez amr i 2 oar s erd |

— KR

frte AraTgae %.100 H T3l RATST #le [Ux el FSAT Ifedt@d dar qedb, T4

Hfgig FT ITUAT T FETHISTHT J&IT THR |

1.%.388.40 2.%.794 3. (%) %.306.50 3.(@) %.638
3. (M) ©.459.75 3.91) ¥.573.83  4.4.5km 5.16 km

c¥ ) T, FET €




fataa s

l.

M &, 7 ARG FATIA TIT SATHRIH! AT TRATT ASEIATHT ATATRHT F. 4,50,000
TEIAT 1% T FATHAT 10% FT A AR ARG AT IAqA Hiel AT [ {de, 7

FIHE ¥ 4,60,000 ATTATT T9 Tk A7 A@FIAA 5. 5,500 [rqax fag afg
& 4,50,000 TFIHT ATTAT 1% HY AR T8, AT alebl ATTAT ARTH ATTRER
H(T T8G 7 TN ASTRE |

F GRS AT EIAT TR AT & 10 ATGAFHR ATREAT 2.5%,
& 10 AE@HRT AT €. 20 ATGIFHR] AT 4%, & 20 A@H=T AT €. 40
ATGIFIR ATRTHMAT 5.25% T F. 40 AT@HT AMIHRT ATREMAT 12.75% FT XA
() & 7,60,000 @) % 15,70,500 (0 % 23,75,600 (=) = 55,75,000

% 3 %l | AieHATH =TS 2 TATHT ¥ AR AT 37 feare T&1 €. 50,000 F

1 aH FERT AT Hq gg 7 AG IJad ATTHT 5% HY ATSET G& AR

TS Bl g, ?

TEAd €. 7,520 ¥ T et agwd dgihd wed T 10,000 w1 et W& 13% "o

aifwafy waf,

(&) JUATRIT Hid wqar fqTae 7

(@) I9 BRIETAT T B F{qerd ATRT GrUs, ?

(M) Ffe AZfhd AT 30% B [qUR =ehl 9T d ATAg1g FATeddhl T Hid
gl 7 THdTe I IITeTd ATHRT a1 F-T &al, a1 aRSerd |

TSI ATITATE %. 1,50,000 AT f67 10% AT forg fernr wat wer sifwafg &<

13% dfeds®l Hed Hid g 7

T3aT FEHN 20% B2 a5 13% A7 afwalg &7 @ % 9040 AT aferdr s+

e Bt e feguEl e 7 O SR |

T3l ATATARATAE FAdLTATH] [SATA T3l FFAX Hed ATAIG FX THA &,

22,600 9T [Fg | I AT @ T AR THA SISl IHT HFa GaT faehardrs

I Atagig Fafed & 25,990 AT 9=05 | GaT [aehdlel ITAEATATS e AT

FEEd % 28,250 AT =g | I AtHAlg F 13% WUH ATaRAT e feara

TUET TR

(@) feoRA ATATARATET Hed ATIIIg FATadh H(q FTATHT GRE TH 168, 7

(@) TR AT HIA TR TR &S, 7

T, FET < C c4




10.

11.

12.

13.

14.

15.

(M) HeA AAF(G FRATIA HIq THA FIHRH GIATAT STHAT G, 7
() G ATIR Hid IHH eI ATafg FATTA AXRRT HITAT STHAT T
TG

TF ST [aeh! gaegebebl H1Tg® daa . 22,000 § T STHAT faehl Tedal 0.75%
HHAT THA IAB] TAGHT Sliewg T HAledA Tl & 6,24,000 &1 A fasnr
B3 SHH ST A ATFRTAT Hid &vg, 7 HITGF TATH] Hid Fiqerae] ATFRTAI
afaus, fedre THEE |

AT B TETTH] AMSEUaTTd BRI Uoiraels Yodeh el HTATSIEe I
g THHB 3% FHAT GEATSE | A(Q B F@Tdare Aitge ST & 75,000 fedre
BT TSAEATS 5% HAA U2 o= fasT Te7 3. 1 #3028 9@ 25 e9r yre
TG, T IAHl TR FAAT [oehl AUH Teg 7 TAT AMSerd |

T3l HFIATH] HATHTR 25% A & 1,50,000 @S | FFIATA STFHT HATRTH]
65% @99 (bonus) ATHT 15 THT FHATIATE JIcATed &I TR &IAT g0
T U T, A 8¥e FHAT Hid S9dT ad G T Fa <f@ar 7 e
T 9T AR |

TIT Sghel Ueh ATHT bl HATRIR! 55% <ATATT (bonus) T SgHAT FEART
275 T FHAWT TAFATS %, 65,000 F1 el fqazor T o7 g w9 41 99
Fl STFAT I FATRT THT 6 7

T3l faive Same® Ol 5. 100 99 3,50,000 frar dRmed efvaergd
LP.O. |1 Wal 250 fam X @ | afs Iad A amis €. 9,00,00,000
HATHT TR ATLATHT 40% TTE A1 (dividend) fo Mo g 99 TR g+
BRI STFAT i ATHILT TS+ WUSHA 7 [@drd T 91 RIS el |

ae aTfersmr 15 TRume star fey siegm e avwt dumafa srEtsasHa
ﬁﬁ&%@ﬁ?@@:

HigAT ERIc] EE) FAR qre C | AT
et Rfes | 1577 | 1622 | 1647 | 1662 | 1689 | 1731

AgeRr arfeserar afe faey Rfes yoe wafewmer afaw &7 wuer ws 99 ada9m

(@) SIS AledATarg A AledATa+ Hid Hiq e a2 g9aq 9usg, ?

%

) T, FET €




16.

17.

18.

19.

(@) A AiEATH! AT AT gET (qgq e Eae v ¥ B g 7

(M) = wleTer foaaar FerweT F9 faUd qeqd 358 ¥ Ha WY !

(°) S5 AlEATH e AAREN 13 T A¥R13 &l 9 Hiaq Fqadt [q = g ?
(3) IR AeATHE Fedd ATIT 27 A THAH T&[ STHAT Hid Hedd [qas, ?
(=) AT AleATH! Teqd Fide 5 T fq= TUHr Hq 7Hq Aa9qF 9% 7

Y4 Zed qTed ST RUHl T3l Bl SFAT 58,000 feaex o @ad g=g 9
ferer fara=or quet =T Ao Tede ERTTAT THAT Hiq Heqd favTs 7 50%
T AR Heqd Il aRSTard |

afedl 175 &A1 €200 ¥ TH9(G T FAR &1 & = 99 feaqa ga1 10%

FaT 97ek (TSC) T 13% VAT |fed HeAaH T el IR HAdT ST i fae
3@, feamd TET |

%) 275 & (@) 325 & (M) 469 &t

afgdl 175 &A1 7200 ¥ FAFT(G T Heaehl &1 1 a2l 99 f&drer a1 10% qar
9T (TSC) T 13% VAT @fed o IfeAta@d STHT Aedd I&&T Hicl hel afAhid
TR, fedme TR 9T dmeHe |

%) & 766.14 (@) & 893.83 (M =& 1021.52 (&) = 1149.21

TATHIT qq@Igehd ITAT T&T FEAT ITRIT el =AaH & 14 ¥ @adig 9ia 200
el & 7.80 &1 A ATST WU, A [HEAGHISTHB! ATATHT TATHIT [HITAT
HT HeqA I&G erdl ? Il S Aed

%) 4 km @) 9 km (M 13 km (") 15 km

T, FET < ( i




—

15. (%) 93 45 units, F9R 25 units,qT37 15 units, 987 27 units, JETT 42 units
(7)) % 295 faasar

(M % 630.79
(M 775 %A
@) 3 365

1. % 29,500 2. 10%

@) ¥ 47,820 (M & 84,719

4. % 4,000 ¥% 3,800 5. (%) % 11,300

M % 7,910 (%) AT 6.91%

7. % 2,000 8. (@) =& 20,000
(M & 3,250 (') %260

9. % 2,606,680, T 21.27% 10.%. 27000

12. & 26,000 13. = 3,25,00,000
(@) 35, 7. 295 WM &, F75
(3) % 152.25 =) % 300.86

17. (&) & 383.07 @) % 446.92

18. (&) 575 % 17. @) 675%Fd
(") 875 & 19. (%) % 170
(M & 521 (") % 599

3. (&) % 19,000
(=) % 3,70,812.50
(@) 32.98%

6. 3. 1,86,450
@) = 2,000

11. = 1,35,00,000
14. % 25,714.29

16. = 6,783.15

(SX=Y )

T, e €



319 (Area)

50 qRas®T (Review)

UL FHEHAT [TATSTT A &34 | Yodeh THE Udh Uh3A[al (A9 fa=ia e | qolraeeh!
9 (A2 | & ST a7 7 PeAhel T BETHT TE Tl

o PIVTRT AMeATE TR AT SRTEX TUHT I PAqSTeAe qHemg B
(Equilateral triangle) 9, |

o ISTSTRT T TSI IHT AT SRTAR TUHT Fokd AASTeTS qHigarg Fregst
(Isosceles triangle) =g |

o FASTHT AT TR AT Xk Bk AT G (ASAATS [aTHaTE BI7st
(Scalene triangle) Wi =g |

5.1 fawwarg Brgsiar &%« (Area of scalene triangle)
| fm

feguert f9sl Aeqg = TErd T T Terd

AT, Bt ABC &, ST 9T BC = ¢ UHTE, CA= b UHE TAB = U#E g | ofifawg
A aTe HgR qS1 BC AT AD L BC faf=rus! 8 | amar w1 BC /1 DC &1 A19ers x
THTE AT BD = (¢ — x) UHTE &7 | 191 ABC &1 3=15 AD = /4 | |

#a st ABC &1 aRfafd (P)=a + b + ¢ T I9&1 A4 aRfAfT

_ P _atb+c
(S)_z_ 2 @I

F&T FHH (57T ADB AT

AD? + BD?* = AB? A

qAg9T, i’ + (a —x)* =2

AT, 2= — (@ —X)? e (1) c b
®X FHPI (57T ADC AT ¢
2 4 2 2
AD? +DC? = AC WARSES - S Ve
a

T, FET < ( 5%




qI4T, I+ x* = b?

JIAT, B2 =D — X7 e (i1)

FHET (1) T (ii) o<

c—(a—x)y=b—-x*
qgar, 2 =bh> - x>+ (a —x)?
qqdl, 2 = b> — x* + a* — 2ax + x?
Aqg4T, ¢? = b* + a*> — 2ax
AT, 2ax = b* + a*> — ¢?

2 2 2
ST?JHT,xzbJFg—a_C ........... (iii)

A x B AT FHIE (i) AT IFT=ITIT e,

P o= b (EEC)

2a
2, 2 2y
g = bz_%L
4a2b2— (a2 + bZ_CZ)Z
2 _
qAI4ar h = 402
y (2ab)? — (a® + b* — c?)?
AIAT K = 4a2
2 +2+b2—2 2b_2_b2+2
g B — (2ab + a c4)(2a a c)
a
P (R | L (B
4q?
, _latbto@at+tb-c)(cta-b)(c—a+tb)
AIAT h = 44>
atb+c

Prestepr o afefuiq (s) ==

AGdl, a + b+ c=2s

A9l a+b=2s —c¢
AR ¢ Tarsar

AYA, a+b—-c=2s—c—c

AYA, a+b—c=25s—2c=2(s—c¢)

atb—c=2(s—c)

R0

T, e €



TE W a+c—b=25-2b=2(s—b) ... (vii)
b+tc—a=2s-2a=2(s—a) (viii)

FHET (iv), (v), (vi), (vii) T (viii) a1
h2=2s X2(s—c)X2(s=b) X 2(s—a)

4a?
165 (s —a) (s—b) (s—c¢)
a4, h? = 422
gw,h:%/s(s—a) (s=b)(s—0)
a
BTHIETE 918l 3,
Fras ABC &1 06t =%xBCxAD =%><aXh

wgx2Ws(s—a)(s—b)(s—c)
a
—+ls(s—a) (s—b)(s—c)
-, Pt ABC %1 &Rt =+s(s —a) (s —b) (s — ¢) = urg

1
2

froraTg BreETeT SeTher T SIS 9,

fawwarg st 3w = A[s(s —a) (s — D) (s — ¢) EB | T&t 's' AT a7
gfzfafa &1 | 7¥«rs Heron's formula 99+ |

BTN

T3 PR @t ATt s etg & S m 12 m. T 13 m. WO T R a0
AMRPREE :

HTY™
At a=5m, b=12mTc=13m

Ferafeiata (s)=a+§+0=5+1§+13m ~=15m

T, T S ( 29




HAATHR,
Pt amme = Vs(s —a) (s —b) (s —¢)
=T3(15 -3) (15 -12) (15 - 13)
=4/15x10x3 x2

=4/900

=30 m?
|| s

D 10

faEuT AR SwS T ST = C
W%TH 14 cm (LQQ@ 12 cm
e,
feguel =rqest ABCD W1 gg#iler favaeg st & | A 16em B

AABCH, AB=c=16cm, BC=a=12cm AC=b=20cm

et (s)=a+§+"= 12+220+16=24cm

AT,
AABC #1 &e (A,) = Vs(s —a) (s—b) (s—¢)
= 2424 —12) (24 — 20) (24— 16)
—\24x12 x4 %8
— 9216

=96 cm?

%e, AACD T,
At AD=a=14cm,CD=bh=10 cm T AC=c=20cm

‘ _atbt+c_ 14+10+20 _44
A e
AACD &1 &7 (A)) =A[s(s—a) (s—b) (s —c)

=22(22 - 14) (22 — 10) (22 — 20)
=22 %8 X 12 %2
= \[4224

=84/66 cm?

=22 cm

R ) T, wET <




<. TS ABCD T &% = A + A,

= (96 + 8+/66
=160.99 cm?

BEEEEEE

T3 R FEEE FREE 3 0 4 0 5 ® a5 T SEwd 216

THIT B WA IFA HIAE 0T TS Tl &6 ? 70 ST |

AT
et ATl HIATARIE [FAREEH Tqw=T,

a=3xmb=4xmTc=5m S|

a7 gttty (S):a+12)+c: 3x+42x+5x:6xm

ST 8 (A) =216 m?

TAATAR,
IR wvararaT aame (A) =S —a) (s—b) (s —¢)
216 =+/6x(6x — 3x) (6x — 4x) (6x — 5x)
qqa, 216 =4/6x x3x X 2x X x
Feam, 216 =A+/36x7

Aqgar, 216 = 6x°

T FLATATIHT [FARIEER] AFITS
a=3x=3x6=18m
b=4x=4%x6=24m
c=5x=5%x6=30m

®iR TR qRtad (P)=a+b+c
~ (18 +24+30)m
=72 m

T, FET €

23




BEETED

AR 336 m? T ufefufa 84 m WUH TIAT BIATRR qrEET TS R @ g 26 m
B | SFA TTHHT ST TEATET fReTITRT FAFTZHT AT (RTeTE e |
QHTE
Tei PSR qral 9% d (A) = 336 m?
afefafa (P) =84 m
T3l fhARTR T+ (a) =26 m
i FEATAT FFART () =27 ¢ =72

r P 84
a9 sdaRfAfa (S)=—- =— =42m
ETHIETE ATeT o,

P=a+b+c

84 =26+b+c

ag4T, b+ c = (84 —26)
g4, b+ c =58

T awe (A) =Vs(s—a) (s—b) (s—c¢)
336 =\/42(42-26) (42 -58 T 0) (A2 —¢) [ FHE (i) a1e]

AT 336 =B x16(c—16) (32 —0)
ag4T, 336 =+/672 (42x — > — 672 + 16¢)
gad® a9 Ta,
A4, (336)) =672 (— ¢+ 58¢ — 672)
112896
4T, 6 ¢ + 58¢c— 672

Ag4T, 168 +¢*>—58¢c+672=0
AT, ¢ —58¢c+840=0

. A2—(30+28)c+840=0
Aqg4T, ¢ —30c—28c+840=0
94T, ¢(c—30)—-28 (¢c—30)=0
ag4T, (c—30) (c—28)=0

EPEI

R¥ ) T, FET €




AIAl, ¢ —30=0=c=30m

AIET, c—28=0=>c=28 m

(®) W ¢ =30 FHHI (i) AT Ffqeard= Tam

b=(58m —-30 m)=28m

(@) TF ¢ =28 m THIET (i) AT FF=ATaT Tl

b=58m-28 m=30m

T afehl fFARTE®H a¥ g 28 m ¥ 30 m &5 |

B s

1. U e ST e

(@) fauwHarg s 9= & i 7

(@) ST AFAe qSle®dl aFaTs AT pem, qcm T rcem HT Iad

Prastet sreaffata #fq g 7

@) fauHaTg BT & oar @Rms g7 (Heron's formula) &8 |
2. feuw faurag Bt & o e

B 20 cm
P
(M)
NS I\l 14 cm
Q
15 cm R

T, FET €

@ M
{0
6 cm &
N (0]
g cm
20 cm
e D E
13 cm
21 cm
F

R4




3. ﬁngaaﬁaﬁmwm:
4 cm 14 cm
N \ 10 cm
5 om 12 cm

4, U MASATHR TRMMHT FARTER 3 05 1 7 F1 ATIIAH G T TFHT TRIAIT 300
[HeY B | a0 SAWMHI &R F(q gy, Tl NS |

5. U3 SR ST (FaARES 12 017 0 25 &1 A9TdH S T IRIAfT 540 ft
&|WWWE€%@,WW|

6. T3l ASITHR eI =Teh] r¢d|(|6<t\% % —aﬁaﬂwaﬁzﬁﬁ&mw
AT AR TR F(A T3, EIT-IT?FTWWI

7. GRfAfT 20 m ¥ UIer [FARMRN ATT 9 m HUH TIl ASHR Wbl &ahd
65 M* T T T GAHT Al [FARTEES! AT G IR |

8. Tazu®l aither WSHa dle, THATE ST ATHRHAT @, STOHAT
ASIewd! aFTE 'a' cm fGSUH G | I dresw aRkfAfd 360
cm & 99 Heron's formula YIRT X 39T ATl &THd Hid
g7, Il S ary ¢

9. TSl AT ST ThHTATE Theigss T4 fagqel  ,  28m D
feraeT TETSUET B | ferH TWET e IH THAS .
THAY g% o9 Wgars aigaud @ | easherd 00 jg
STETRAT FHEH ST HAA TE B, AT TR | AT 1
TEFATSS |1 TN ABCD &1 &% & b, war - B 40m ¢

Q\ \:

10. =S ATEHRAT FATEUAT TIST a3 ABCD B, FT€H £C = 90°, AB =9 m, BC

=12m, CD=5m7 AD=8m B | S& =T ARTEHl GRS BT gveg, Tl
Q\ \l

11. I AR TUHT S T FAATR ATHSAR] &R aRTa% G | PSR ol
FHETS 26 cm, 28 cm T 30 cm & | (T IoT THTATR FHSAH ATIREFT A¥aITg
28 cm B A IS Hid g, T AMSTR |

% ) T, wET <




()

<

U3l FHeals AAT, AMAAT HaA ATHA HAY AHATHR ATHT TATS TR |
TP HETAAT Ik [THSATHR ATR(TR] AT Ewehl ArTghl A9 [qu feure

THaE | @ Heron's formula & TART 777 & AT &6 00T ARSI
T FEITHT Y& THerd |

FUTSHT FTYIHT TS TaATaT Freerar fasrsra T Preqstewet ahe e
SHT UTHTRT GAEH! SFARA T SR | o ITHIRl qwalg T =TSTgH]
AT fAUR STATFT FARART T TAN T FARA (HPTART | T9 TS
HRITAURT JaT ITATHI AR AT THEE T HeATHT T Tl |

qITEH O AT [GATAT AT TEhT TSR AT GEATSURT STITh! [hARTEEHT
FrEdia® AT (U FTIAET Sketch TR THEE | FAHSTPR THTeE aarsd
ATAYTF [FARTESH Ui qrediae ATIe® [aderd ¥ Iod HS<Ihl &ahd
fTepTe R |

—

= % 2w

Rrerears @R |

(%) 96 cm? (@) 24 cm? (1) 84 cm? (%) 126 cm?
(%) 13.27 cm? (@) 101.48 cm?

2,598.07 m? 5. 9,000 ft* 6. 80.49 m?

4m/7m 8. 6235.38 cm?

180 m?, 126 m2, 54 m? @er, 306 m> 10. 65.49 m?

12 cm

T, FET € C RV




5.2 =R {2 T fafaeer &awa

(Area of four walls, floor and ceiling)

BT

faamdl IUgFT FHEHT (a9 gerd | [Ggusl o s@die W Yods THed qdAH
JIAHN AT HEATHT T TR
(®) TFHT HIAAET THAAT TAE B 7

(@) AT HAgewh! AR FE AT TS ik T AT &TRAGEAH Hr
FA FAH AARA SR(AR g, ATATHA TR FHEH] BAHA TR |

RGP

g faamdiars ATATRAT "RPT FA TIAT FHISTH]
AT, =STg T JoTSh] ATTATARB BRI THAT e —

T Y fa Pramerr aTSEr e oRmSEE | R ':'1'1'1'1'1'1'9}:"&
I, THEHT SAR T AR faar, 72 ¥ fafagesr QD

AR Il TS | 7 [T

Sm

faie®nel F THEH TF TG TATTH Tl A m B
HIOTH AHAT =7 T JHH [FARTE®S ATT T&(
T TRUH G
@ @TE (AB)=/=4m
STl =rerg (BC)=b=3m
H3Th 3918 (HC)=h=5m% |
THATAR I F1BTH 5 (ABCD) 1 &A% (A))

=ABxBC=[xbhb=4x3=12m?
TEhT &Rl aRTaR (qfcTghl &Ahel g TTehTel,
faferger &awa =[x b= 12 m?

RS ) T, e ¢




=R TAAHe] TFTEaied 3 [AaTd aawd

(A)=2(ABxHC)=2(Ixh)=2 (4 x5)=40m’
=reTsiaea 35 A &a%d (A,) =2 (BC xHC)=2 (b x h)=2 (3 x 5)=30 m?
g AR e, 98 7 fafager aawma = 12+40+ 30+ 12=94 m? & |

T3l ATAATHR HISTHT FARAE AT, T3S 2 ¥ U fafds &5 | Aaamsr
FoTH faodrq faemer faar 9f aReR g | 9% ¥ afdgel eFwd i
AR TG |
EIPE RIS
IR THATH! &R = FARATS ATIAATHR (TR Tdahl AThdd! TNTHT
= ABGF & &9%d + CDEH #I &% + BCHG &1 &a%d + ADEF &1 &%
=Ixh+IXh+bxh+bxh
=2lh + 2bh
=2h (I +b) TS |
T2 ¥ fafdgs! eawd= ABCD #I &% + EFGH #I &%
=lxb+Ixb=2b
== foar, 92 ¥ fafaesr e®wd = 2h(/ + b) + 21b
— 2(hl + bh + Ib)
— 2(Ib + bh + hi)

BT

FTEE 6 m, AEE 4 m T ST 3 m HUHT TIET RISTRT

(F) o &AFA F(A &7, 7
(@) =R ATl a%d 9a1 ATSa d |
(M =R T, 93 T [aidgs! eahd 91 aserd |

THTE
TR ([)=6 m
=erg (b)=4 m
3= () =3 m

A —— @K




(%) SR EARA (A) =[x b
=6 x4 m?
=24 m?
@) =R e g% (A) =24 (I +b)
=2x3(6+4)m?
= (6 x 10) m*> =60 m?
@M wm, fafaear aawd = (A)

IR IS
HTSTRT EhT &Rl = BISTH! [Afefehl &R (A))
=24 m’
=R T, 972 T faieeal eamed = A + A +A,
= (24 + 60 + 24) m?
=108 m?
apieqe afcat
FISTHl AR T, 5 2 fafassr aasa
=2 (Ib+ bh + Ih)

—2(6x4+4%3+6x3)
—2(24+12+18)
—2 x 54

=108 m?

BT

TIeT BB qFTg, =erg ¥ I8 HHT 10 m,
8§m =z 3m B | AT HSAT I3 2 m T ASTS

1 m 9UHN TIET QHT T | AT o ST [ 1m
TREX X FEl ATFRFT LA RAT B, | o
SEFE THEE I m ¥ AEE 05 m ® | ger |m
QT T FHATAATEE =R 9Tl TR Hal gl

Im,

<—2m|

~

TS BT, FHEAT FARA T T HETH

TET TR |

q00 )

10 m

T, e €



UET Tl Gl ¥ GRATET RATAATEchl AR el &Ahe (A))
=2 (I+D)
—2x3 (10 +8)
=6x 18
=108 m?
T3eT Gl &F%hA (A)=2m x I m

=2m?
TEATET SRR ATTH] FATAH! FABA (A,) =2 (1 m x 0.5 m)
=2x0.5m?

=1m?

A QT T HATAATe Rl =R (AR TR

:AI _Az_A3
= (108 —2 — l)m2
=105 m?

WA T SrhTaTeshedl AR TRl &A% Il a3,

() =R ATt &Rl (A)) O SIS

(@) VRITAH] STFAT ST Ol IS, TETS (A,) o FASH

(M) TR T GARE TAT AT, STqATS (A,) o AT

() =R f9TeRl SaARdare ST T GRThl SAhd HarsH
ERE

ISl ¥ QrelTechebl SRIATIR! &TAHeT (A)=A —A, —A,

P (909




BT

TIaT FEMET e, WEE T IAE wAI: 15 ft, 10 ft T 9 ft WH © | IFd HBMET
3ft fRATT WO IENET AR J B T TSET 6 ft x 3 ft B W B | T T
SEETEF AT HAH SAHA Tl TSR |

THTET

9

gal,

ATTTFI ST AR TRl @wrg (/) =3 fi
g (1) =15 fit
=rerg (b) = 10 ft

=g (h) =9 ft
I T Qhlaledh a% (AThl &R =7

BT 98T 3,
TSI =X ATl &R (A)) = 2h(1 + b)
=2x9(15+10)

=18 x 25
=450 f
TEAET AHR HITEH SF (A) =2 (12)
=2(3)
=2x9
= 18 ft?
TIT eIkl &Rl (A;) =6 ft x 3 ft =18 ft?

G I ¥ GIEETed TRl aahd,
= =R Tl el (A ) — WITeTEl &FRe (A ) — STl &R (A,)
— (450 — 18— 18) fi2
— 414 f2

10% ) T, FET €




BEETED

T AT faandier aTET oA dvers, =eE T 9Ug aRia] qUsl qReT e a%
UScl plolebl THAT JATUY YTU k] @@T‘{l S Id '_‘rﬂ_"l'l_cl'?l' SMIHT bl Jdge Sdh o
TR HETHT J&AT TR

(F) TSI ISR g FHAAT TAee®d] aTheh] T ’

& Bl G 7 25m
@) 9% ¥ fafdaesr e w3d o fF 9 7
@ =R faar, 2 3 fafager A Hiq g s 25m
(&) QTR T T dTaes =R [T, 92 ¥ fafasar aawd wid '
grer 7
(F)  JoT BISTH TFIE, ATSG T IAG a6 HUHA o THAAT TAGEwH] AR
ENELE
(@) JAPT BISTHl T = ATEg = IS
l=b=h=25m

FIEHN qebl &R =[x h=25mx2.5m=6.25m’
FIETH! fafagdt & =/xbh=2.5m x2.5m=6.25 m?
;. SET HIATH e ¥ fafdgdl ahd aRer 3 |
(1) RIS T FrepTaed AR ARl &a%d =24 ([+b) =2 x2.5(2.5+2.5) m?
=5%x5m?
=25m?
ag = fad, 98 7 fafag® aawa = ol qEH aahd + AR fared fawd +
fafas®r &R = (6.25+25+6.25) m?
=37.50 m?
(F) I T AR AR =(ImXx 1m+2mx1m)=3m?
o T T FTAATed =R (9, q8 ¥ (afagar e
= QIehT ¥ wRTedied A i, 93 ¥ fafas®r aawa — s T Qe s
=37.50 m* — 3 m?
=34.50 m*
HITRT JEAfTHT I FISTHT TF 6 ATd ANFR THAAT TAEewd! SR aXTa g

W | ol &A% ¥ TS [HARES &Thd a6 ad teg | a99 Jqdls gardr
FIST AT, |

nfore, ¢ ( qo3




TG, ATSIZ T AT ARTAX AUR[ ISR
i. VSR ARA =2
ii. =R faames eTwa = 472
iii. fafagsr &awa = 1
iv. =R faar, g 7 fafas®r e
=RP+4R+ P =6P

V. YRITAH SARA (a,) T STHHI &R (a,) T T T IbTAIesh = AT,

T2 ¥ fafdgd! aawd
=6l—a, -

BEEEE

qE=Tg 9 ft, TISE 9 ft T I=E 9 ft HUHT TIl FHIShT

() bl AR AT AMSTard |

(@) =R f9ares &ahd a1 TS erd |

(M =R far, 92 ¥ fafaesl aawd Hid g, I aserd |

HTET

T&l TR R HSIhl aFg (/) = =S8 (b) =38 (h) =9 ft
AR,
() EH GARA (A) =P = (9 ft)2 =81 f*
@) =R (e gahe (A) =4 P =4x9 =4 x 81 f* =324 f?
CRICIFRIEINEN
(M) fafergerl &ame (A,) = TE&0 &35 (A) =81 ft?
gt =R fon, g 2 faferger e =A +A, +A,
= (324 + 81 + 81)
=486 ft*
Iehfeqs i
=R T, 972 2 fafegel &ame (A,) =6 2 ft?
=6 x (9 ft)?
=6 x 81 ft?
= 486 ft?

Q0% )

T, e €



B s

1.

faguat gvAt IO AT
(%) ATAATHR BB faqeia faemer (eEs! eAhedl & qrd g !

(@) EATHR HISTH] TRATS TGS AAT AT &TRA T Tobl ATHAHT FH|
TF VB, 7

() & ATAATHR FISTH Tl &AFd ¥ (AASH ATRHAT AR &7, 7
(I) TIAT ATAATHR BISTH 6 AR TAAAT HAGEEHT & kA Adees® aR[aT
TS 7

fEu AR T TR SRR THAT AT SR SR, A TR SR
T fafae®t SehadTE AT qdgeedt AW ACRE
(%) (@)

S R FH 3

TEE 8 m, FESE 5 m T I8 2.5 m TUH UIS ATATHRR HISTH (F) =R
forerr erRe (@) 93 ¥ fafager sawd o aReHEe |

FETE 8.5 m, IS 6 m T IS 2.4 m WUHT AATHT HISTHT
) Edl AR FA &S, T NSl |
) fafager o #iq g, oar ased |
AHATSIE(CHT T3 (AT AARA Hid grg, TAqT AT |
rSTguiasT 33 ATl &hel H{d gvg, TAT dMSHE |
(3) =R TATH SThRd T TSIl |
) =R far, 98 ¥ fafdgs aaha #iq g, I RSl |

T3l THTEAHT =X =Tl &%d 135 m? B | S0 IAHEAH] A8 T AISg
FHHM 15m T 12 m AT IATS I &, AT ASARI |

o, e € ( qoy




10.

T3] BIETeT =R TRl e 432 2 & | o BBl =erg T I=18 HHT 14
ft T 9 ft AU TS HId g7, TAT AR |

TS ATRAT ol BB IRIATT 60 m T AR [AATR AR d 144 m? & 94
ST HISTRT IS IT AR |

A T faarer fafwe Fdes as=e T U8 39T & S URT © | IFd g
el g, SRR YSAE @A 30m, 25 m Y4 m B | SF A 2.5 m x 1.5 m
&1 5 AET FITE T 5 m % 3 m T AT T B ¥,

(@) % ¥ fafas®r aowa I amsTerd |

(@) AT T EepTelach =X (AT &R Hid gre, Il dgard |

(M) fafeesr gfq aRitaezaT qAeTer J2ar aargudl & 99 STFT Hiqaiel gaar
FATSUHT BIAT ?

(°) AR AT 9fq 15 aEiaeAr 3 el AT sheel FATSUal § A HwiET
STHAT HleTar whvel |1 fATHT aarsd Alhrg, 9al ATgHerd |

e UGeT FEATHRSTEH AFE, HIEE T IAE FAM: 8 m, 6 m T 3 m T I
FSHT 2 m % 1.5 m FT EHETEH T 1.5 m x 1 m FT JLIHNET T B ¥,

(%) YT T bl AR (AR GARd Hid greg, T AN Tad |

@) faandiess AR MarET (Warer T grarares) Iid aviqavar Tehsiel fa auer
PRI qTATEE TTUHT G I STFAT FIAATET BETSTHT IHEE dT (T

METRT BIAT, IT ST |

ot qeT weT fasawt AR 2 m x 1 m T TIET A SIRT HURT ALATLT HST
HIEHT [ WU © | IF FST TAHR ATHRAT © TR qF 12 2.7 m T A &t
HISTHT,

(%) TUFETe® AR AATH FARA Hid g3 7 Tl NSl |

(@) TrFETeHH AR FATHl STRAAT Id 4 m? 77 T3l hIel HH Frgarsuah
B WA ST HITATET BIEl B IT (AT a3 Hiche, Ol TS a4 |

j0t ) PR




—

TUTEHT oA ISR AHITE, GG T JATSH A9 [ATard | o FISTH FIA T

STeRTehT IFaTg ¥ TTSTgehl ATT Ui (e | qefehl JIFHT [GSUATAR &haes i
TSI ¥ FHEATHT Jqd Tl

(&) YIS T ITHTPT FYEATPac ETThd

(@) YT ¥ e IR ATl AR

M) YT ¥ klETed AR [AATR &ahd

() RIS ¥ erbrdtedsd! 9 far, 92 ¥ fafagdr aawd
(3) RIS ¥ SHEEH =R (741, 943 ¥ [aidages aand

(F) USR] AT o PSRN qFITE T ATSTSH ATTATS 25% o TRTIET av HISTH|
IR T, g ¥ fafded! Sawd gfearsdl FIEThra=T Hiad del g7s ¢ qaqm

.
T |
AN

3. () 65 m?

4. (F) 51 m?

(¥) 28.8 m?
5. 25m
8. (F) 1500 m?
9. (eP) 75 m?

10.  (P) 27.16 m?

— el

(9) 80 m?
() 51 m? (A1) 40.8 m?

() 69.6 m? (=) 171.6 m?

6.10 ft 7.24m

(@) 391.25m? (1) 2250 AT (%) 88 3ATaT
(@) 75 AT

(@) 6 AT

T, FET €
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53 WNa @9 Aeear 99T (Problems related to cost
estimation)

BT

HATRAT HETRISTHT FMUC [TGATITRT AT qUTGhT FETTBISIR] FTg T ATSTg HTIT
THEM T &Fhd 9A] ASHer™ | AfThdl HUe THAHT g | AN(HEHT FHUC
fagamue! Hfq @= dFg AT AHHRT [dTard T ATRAT FEATHISTHT FH1U [agars= A
g IT MM HETHT F&qd THe |

S UZET AHEH FY (AFER @A

ATHAT FBETRISTH qF=TE ([) =6 m

Froar ez () =4m

THA I BIBThl &ThA (A)=/xb
=6 x 4 m?
=24 m?
ETHIEATE 9ATeT &, FISThT &l = FIITH TR
I FTACH dTFRA = 24 m’
THAHT TERT, ATIRY GTART HTAd T SATATAET FISTHT FIUE fagaqrg & 1 m? avrer
%500 IS | AU HEATHISTHT HIUC (TPATIAT A1 @,
=500 x 24 =%.12,000

1. ISR ASh! TR = FAdh FTHA
2. U% FTHER U [TEATSET AR Gecdls STFAT HTUTH! TRl U T=AT A
STHAT @9 9l o, |
8 THAT @ (T) = FTaEHT FTRA (A) X THE &A% HIH T (R)
T=AXxR

I B §
T R = 4% A=pE3

105 ) T, FEIT <




BEEETD

7 m qE, 6 m AEE T3 m IAE WIH U FBT © | AfT ufd FwifeT Fdawr oo
% 300 T% WA IFT HISTRT WEAT FUS [S@ATIET STFAT Hid @ AND E1AT, TAT SR |

QU
&l BIaTel aFrg ([)=7m
FrTE FeTE (b)=6m o g
fars a7, 3m
FISTH Hahl &ARd = [ X b 6m
=7 x 6 m? 7m
=42 m?

g gfa aEITHETR! BTUCH! arTa &, 300 T AT
42 m? HTIEHT THT AT = 3. 42 x 300 =3%. 12,600 I |

| 2

SUIET ALEITHT GHE (AT T faaeraeT FET Frerh aware, Gerg ¥ SHg Hia B
B, TR | I9 HSTH =R 4T (@ T Fharadas) T fafagdr - a9 g |
T TABT JIAEED I FHEH AT T @Rl

(%) =R (AT ST A I TS Ficbreg, 7

(@) HATA T HATEH =R (AR &R FIA qAqT q3A Aleheeg, ?

(M) AR aahd HHA T ST Hichreg, 7

() TS AMSal R STFAT @ Hg] U<l 3 dfbeeg 7

BECEEEE

TTHHT TTHRT TIST RIS g, AT T I HAT: S5 m, 4 m T 3 m B | 5 Fwifaa<wr
. 50 FT ITA T FATEEHT a0 (VIT, gT ¥ fafagamsat emmmem) feefe @ amear
IAATE FHid THA ATRTAT, TAT TSR

T, T < ( q0%




HTI

BISTHT =I5 (/) =5 m [] g3m
FTSTH AT () =4 m
FISE 9912 (h) =3 m — 4m
¥$ IS 9fd AtHeRH ® (R) =% 50

ATTAF ST 7FH (T) =2

A,
SRR &% (A)=2h(I+b) =2x3(5+4)m?> =6 x9m?
=54 m?
AT SET T (T)=A x R =54 x 50 =%. 2700
Tad ITAATE AR P T AMSA T 2,700 FAEATF T |

BEEEEED

8 ft

A
faguar ®roTRT AT, =S T IS E 5
FHA 15ft, 10ft T 8ft WHT T | IH ! 2 ft
PISHT 3ft fFART 9UHT FgATar AR ™50 g
WA BA T EAET 6ft x 2ft F |y, 3w o
IR A | Giq ARG T 175 H TS pap - }
I faarr 7 fafaear v emeEer ane el - A
STEHT NI O TSR | e A0
S S 15 -2 > *

et FHE (1) =15 ft
STl =erg (b) = 10 ft
BISTR I3 (h) = 8 ft
TR FATAR! FFTE (1)) = 3t , THTH IAE (h)) = 6 ft T THTH AT (b)) =2 ft

990 ) 7T, FET <




BTHIETE, 918l 3,
HTSTeRT =X for T fafeiger émwhet (A) =2h(I+b) + b
=[2 % 8 (15+10) + 15 x 10] 2
= (16 x 25 + 150) ft2
= (400 + 150) ft’
=550 ft?

TRATET AR AR EARA (A) =2 % (1)
=2 x 321t
= 18 ft?

TESATT BT EAH (A,) =2 (h, X b))
=2x6x2ft
=24 ft?

YT T GepTaleds AR (ATl &% d (3§ ANSUH AITH &%)
(A) =A —A -A,
= (550 — 18 — 24) ft2
=508 ft?

gfq aRTHETAT 33 dmsH &¥ (R) =73 175
ST @ (T) =A xR
=508 x& 175
=%. 88,900

qqd T ASA ATFeTF THH %, 88,900 BF AT |

T, FET €
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BTN

A U1 AHR aWEaHT Fde famadar afa wifier = 75 1 33 & 10,800
forfefon | & I FAR T, IRT aTE T AT AT WY Tet SaeEtEd | 25
gfer SR T T @ & 6,000 fafsd | ST & T 4 SfiaT FITe T 2 ET grntt
T ST 6 24 m? B AR THTEART S8 Tl NSRRI

THTEAT

]

ael,
ST Teh A THSTHT HiUa fregaraar antel @ (R) =3. 75
FTde fagars artel s @+ (T,) =% 10,800
=R FAITHT @Tee? W&l Toh =¥(iHeaT @il @ (R)) =3, 25

=R FAxiTT =R TTef drteRl S @ (T,) =% 6,000

TAMHR BISTHN aFTe ([) = ?

FMHR BISTH 3915 (h) =?
. ; T
WS AR FISTHN Tebl TR (A, :lTl
% 10,800 !
qgar, P= ——m? A=
%75 [ rJ
qgar, = 144 m?

s [=12m

Y, ST T FrebTelge AR ATl &Ahe (A) = L
6,000 R,

25 (- A= 4ni]

= 240 m*

FATA T FrpMied ARIAATR &R = 240 + 24 = 264 m?
4T, 4lh = 264
dqIAT, 4 X 12 x h= 264

264
CEREIR h= 4 %12

q94T, h=5.5m

J9T IFT aHR FSTH IAE 5.5 m B |

K ) T, wET <




BT

T SAEHT deay T AT ASEH JeaY WUHR TIET FSMT Frie fomaraq & 80
i SRRt XA T T 10,240 @ AFG | I HISTHT WUHRT FITA T STl J=HT
AR 5 m? B WA A o T fafaewn ufa arifiem & 90 &1 33e T8 AeeT ST# T i

T AND, T AMSRE /: \
THTI E Exm
Tet WY BT IAE (h) =xm 9T ¢ ’i v
FSTHN ASTE () =2x m /x/ |_| /2,;;1
T BISTH] AF S ([)=2h=2x2xm =4xm <€-rooo--- >

ST G aitHeaT #rie fagarser T @= (R,) =%, 80
FTe faegarsd ar st @ (T,) =3%. 10,240
Ueh AF((HETHT TS &Ts =Mied @ (R,) =2, 90
fafers 7 = fammar 29 w@rea =nfed @« (T,) = ?
e foregarad o s @ (T))
i =FIHeTHT HTie faegarsT @ @ (R))

e, 1 b= 10 [ A= 1x1)

AIET, 4x X 2x = 128

3]_&[\ \QO\\ (A1)=

a9g4ar, 8x =128

5 128
qgAqT, X2 = o
8
qIgar, x2 =16 qqar, x =4

. IS I8 (h) =4 m

STl e (h)=2xm =2x4m =8m

FETH TS ()=4xm =4x4m=16m

e, =R {7 faferger &awe (A)) =2k (I+b) + b
—2x4(16+8)+16x8
=8 %x24+128
=320 m?

e SRATA ¥ T aATeeh TRIA ¥ fafergerl &hed (A,) =320—5=315m?

=R ol ¥ fafdear 29 ovmgar @ s @i (T,) = A, x R,
=% 90 x315=% 28,350

o =R faar 7 fafagwr T2 s sH T %, 28,350 @9 9Rg |

P (993




N e s

1.

TG T TATSTE HAM: 12 ft7 11 ft TR BTl AT &, 130 T a7 Bl a2
FTIe fTgarsar STFT Hid @9 aFg, 991 TS He |

TICT HISTh! (AT AFTg, ASTs T 3918 7w 15fhe, 12fFe 7 8t & | S
BISTHT 6 ft X 4 ft 6 inch &1 AT AT T 3 ft x 6 ft 6 inch FT TIT Tl
B | T BISTH (FRATA, @l ¥ fafegares) ar faamr gfq avifteeesr €. 125
FT Tl IS ATIAT STHAT I ThH ATMETAl, TAT STl |

U3l AHR ISR dFMe 15 ft T I3 8 ft 79U AT HSMHI s, =W 90
v fafagar 9fq & ®e & 120 F T W TH H{q IHH AMETAT, T4l
TSR |

TIaT AT ZThT g, AQTE T Ia1E A 32 fee, 32 fee v 4 fee o | S
HETHT 2.5 m X 1.8 m FT 6 ST IR T 4 m X 3 m FT AT GIHT B ¥,

F) I qATH s T [Alagdl STHT %R Il dMSHad |
@) AT T Gl STFHT &Fhe Il a3 ay |
)
)

M) AT ¥ AHEARE AR AR &R TaT AR |

o) EAT Ul 2 FRIHTHT UG F&T e Aoy 99 Sad WATHT GG Tk
ATESTHT HIAATIT FHE® TE (Heg, ?

(¥) Wiq aFTiHazel . 350 F1 al ARHAS FIATHT WA IT&T STFAT Bl ThH
ATAYTF e, T AS AR |

fareeepT SRHT STUHT FTSTEEHE FeITwaT FeAl PISTHl bl &Ah 500 ft2 TUHT

qTEAT | IFT BT 6 ft x 5 ft ® 3 a1 waAma ¥ 3 ft x 6.5 ft F TIA

TIHT B | qla AT HISTH aFars 25 ft T =12 9 ft & | ST FISH (WA,

TR ¥ faideaTad) IR MATHT 91q a¥Theadl & 300 HI 33l 7§ ATMTIaT STHAT Bl

THH AT TAl, I MGl |

(
(
(
(

U3l SR FISThl 3915 8 fthe & | Iad HISTHT Uiq a¥ithe 5. 200 HT a7
FTUe fagars & 39,200 @RS | T FISTeT o faarar 9fd adwesr & 250 &
T TS ASA SAFAT H( THH AN, B, Tl ASard |

T3l AT ATRAT RT&TF TaH FHAR! a& aMHR HIOTHT HUS [TGATSal
gt aEiHeY & 144 1 X STHT %, 7,056 Fa=IT | FeT FIaTeh! SRaTd T erhrares®
TR AT FETA T ATATEEd &, 400 9ia aviAeeRT &% wFr &, 30,000
AT | TS YRITA ¥ QI STFAT & Thd 9 m?§ 99 I& HISThl 3918 Il
AR |

11¥ ) T, FET €




10.

<

1.

[THTRT SRAT USRI TIT HIETH] qFTS ATSISH arear ¥ 3975 2.8 e g | I
FISTHT FHATA, T ¥ [afagares = AT = &9 €. 900 9fq aFitHed! a8l
¥ 54,000 AWG | AT HATA T SRR 6 7.2 AHIT AT TT FISTH AT
i aITHER %200 T 33 A AT I STFAT F(q @ AT, I AMSARI |

T3aT [TaTeaehr TAT BeAh] AT ATSTZeh! alea? qIT =g IJAZHl AR G |

JFT FHISTHN WA ¥ rbied IR (AT T8 arae €. 225 Gfd auitiaa el

fermmeraer . 43,200 fa=a1 99 &1 gl AT A9 fagarsd v 250 gfd avitiey

& T [aETAT FHd [T, T AR |

TIET WIS AT TLHT Trshehl 717 50 f2T x 40 freT &)\ 1 arr 20 &6

TFATE WU ETRT FHRE FULT foramaaT,

(%) STFT HITATET TIREE =AM 7 Il dSerd |

(@) AT TIT AR [TGATST &, 225 Ty 9 I&d IebAT AR [gaqTS bl ATRT
STFAT (T AT A1, 2 9T A3 eld |

(M) el FUYls AT GTeb qTHT ATRT STHT RRATNARTS AFTg T ATST HHT:
15m ¥ 10 m @3 [HeT =T | T¢hT &ARAHT Flel qrIg TUHT avIbR
FATH AT [TGATIT HIAATE T TTE T el a3 Hid ThH ARG, I
TSR |

IUIET TG T AUTEEES HeuTA TRIEH fEemR wemer av a6

TR FIGTH TZ, A T JAEH T AT T ST allg T a8 AR

T feTuaT Terent SHEAT GHTI @ieil (e T TEdd TE

F) W3 ¥ fafas®l &awd Hid Hq gy, T dTMsIerd |

g) =R (9Ael 896 91 TS Herd |

M) AT rhEed IR [HATR &Thd Il TRSHerd |

) BT FTIH e SXATAR =R e, fafag T qEer wiwer T e
FT @ ATALIF TAl, I AN T8 |

(3) ATHAT TS AT FETHT BT ATAATTHT RATAR AR for 7 fafergan
T TATIA STHAT Hid @ AT, Tl A3 TR |

qUTSehT faaTeATeHT AT FET FT FEATHISTH TATHT 7§ AT I 3 | faameraer

TUTEATe I FEATHISTHT I§ TMSH @Rl AN IAHT qAR T 0T |

qUIE FEATHISHT T§ AMSAHT AT AR AT @l [AbTedard T Ferr

I THETE |

T, T S C 194




— A

1. ¥ 17160 2. % 44812.5 3. % 1,11,600

4. (%) 2048 m? @) 51 m? (M) 461 m> (&) 512 ar
(3% 1,61,350  5.% 2,10,150 6.% 1,12,000

7. 3m 8. %. 5,400 9. % 32,000

10. (&) 50,000 @) ¥ 1,12,50,000 (T 31,250, & 70,31,250

5.4 PSSR T IQsTeR STWMH &F%« (Area of triangular and
quadrilateral shaped land )

BT

AYTHT Faferd U Ry Isarad T 4. . 2014 ATrdT AT47 fG9RT @S U
Sfawg | dfed 9fF ATdr faamT st feamardr, Rsitesd ard qar e faega
YT HYag ARFTAE [ahrd 95 STAT ATIITF [afa~T AT oo Tgqebeb! & | O
faSUeT FTEAT AT T ¥ qUMe TAETH TS & ST SAATH] AT THT
F FEY TS, BARA T -

1. SEHHTIRT Tl ¥R qeTS! (et 9e
| IR 3 AT @, 1 JIAT qTET ATy,
8 ATHT 3 TAT &% AUh THITHT X
JAT TR =eAeb] AWM G AT AA qSF
ATSTAT 4 AT &R AR AATHR
T 9t |

2. YfadArerel T BX GRS 9E | I
R Teh SAH=R g | I 3 feram
gd, 1 faar 3 ®aer amr, 1 &g 2
3‘3 AT HUR[ STHITHT ¥T dIgT W
==leh] ST & W 7 TS ATSAH] 4 F3T
EAHRA WUH AqHIHR TS 90 F |

9s ) M-




3. fWaeER UF AT g | I S
ATHTRHT TTRT STRT giT ATIT FFHTTer
ST TRl HIIRUSHAET  AAhd
Tear | T8t TSl FqHHR TS
T2 FASTEEHT TR ATl &Th
feTert T WAWT TRT g9 PIoTehT &t
TAT TS AHH! ANTRASE AR
ST &R [Tehled @ITTUH 3 |

( )
ST q9T ATHART Adees [aide ATEREFT g | Td IISHT BTHI ISR T
TAHSTHR TR AR TAT ANTS (A0 HAAT T | TR HRIEAR ITaT
TEF AR HIIF AT gwg | aXihe a1 av(Aax ST ATITR FIATd TS

2l | TR TAATIAR ATAAD AR AT AR AT ThIE Fih Hieh g7 qH, |

1. fEHTe q9T JBTSr SRTHT A9, AT, YT, ST TS WeRTSHT WO IS |
2. A% ST faem, wagr, @R anfe Tt HAA RS |

|| 2

faguerr arfereprert ATaRHT faegeaTdl FEHT THE (AR a7 d¥((HaY) I &Y=
TR S AT TSl SFRA hid g8 a7 HAT AN, T GERA Al | qTE
FHMEATE TS GFTAT STH SAAAD] AR HIT TF FA FHA THEH FART ITH
TRUH B FARA THRE T I [FY FeATRISHT J&laq Tl |

P (199



RO S THY FMhE | TETET ST geewer | fee, fRe T
T CHF GEEAT | T CaERE
e AL qraY
Ilm=
1 ferem 20 %31 | 6772.63 | 72900 | 13.31 o 3.2808 fi
1 w51 20 == [338.63 | 3645 | 10.65 1 m=3937
_ N inches
S 16.93 | 18225 | 2.13 ¥
5 AE AT
T TET YEATHT TEhRT
&k THTZHT TATAL
1 foot =
1 ATy 16 9T | 508.72 | 5476 | 1.5023 @3 03048 m
1 @maT 4 Tar | 31.79 34225 | 1.8777 a® 1 foot = 12
> inches
1 T 4 T 7.95 85.56
1 sH 1.99 21.39

ST SAFHART AT TTeT THT TR U TEaele™ TahsTeh AT T

BTN

TATHATI BTdTel TadATATHT 8 F&ST 3 &R W1 @i¥g TLhl @G | AT STITehT

THTETE

ST &A% = 8 831 3 4

338.63 x 8 ANTHIT + 16.93% 3 FEITHY

[+ 1 %&ST = 338.63 aifHex ¥ 1 &% = 16.93 atHeR ]
2709.04 TR + 50.79 aTTHET
2759.83 aHaR

AIHATIS @XE TN 8 F3T 3 g¥ STMHAT 2759.83 FTHR &R L, |

Ms )

T, e €




BEEEEEE

fESU® &R AUHT STAMATS AT THSHT BT T4
(@) 2 91 3 AT (@) 3 &S 9 g
QHT
(@) 2 ATAT 3 AT = 16 x 2 AT + 3 AT
=32 ATET + 3 ATAT
=35 3T
(@) 3 HEST 9 &7 = 338.63 x 3 AWHAT + 16.93x 9 FA((HX
[- 1 F&ST = 338.63 ATHER T 1 8% = 16.93 a((HeX ]
=1015.89 aitHer + 152.37 avitaex

= 1168.26 aAtHeT

_ 1168.26
31.79
=36.75 ST

BEEEEEE

TIAT SWMHl GARA 1560 a¥he G | TJH SAWMH STRAAS [MEAATAR BT
THE |

() fedTell qoT TeTST STHT Y=I=HT TEahl THIges ey T+, AT, T@7 T THHT

AT [0 1 AT = 31.79 FRITAER]

(@) RIS HITAT ToATH] IEH THEE® AqET [o6l, FEIT T g

THTEE ¢

(®) faSUH TETH GARA = 1560 A
=%ﬁﬂ?ﬁ [ - 1 39T = 5476 =iithe |
= 0.28489 T
=0.28489 x 16 &TAT [ - 1 9T = 16 AT |
=4.55824 @ra
= (4 + 0.55824) =
= 4 971 T 0.55824 x 4 TET [ - 1 AT = 4 ¥
= 4 94T ¥ 2.23296 T

P (' 919%




= 4 ¥ T (2 +0.23296 ) T
=4 9T, 2 T4 7 (0.23296 x 4 ) 37 [+ 1 T4 = 4 797]
=4 3T, 2 ¥, 0.93 7

TFATE AT - AT - TAT - THATEAR 0 - 4 - 2 - 0.93 @17 wAfiges |

AH(eTD qTH
faguer ST &% d = 1560 FHe

1560 _ )
= 5476 AT [0 1 A9AT = 5476 AT |
= (.28489 9=

9 (.28489 JIATATE ATHATAT TAT=AY TTaT,
0.28489 9= = (0.28489 x 16 &ATAT [ 1 A= = 16 AT ]
=4.55824 A1

= (4+ 0.55824 ) @
we 0.55824 ATATATS IHTHT FIT=R T,

=0.55824 x 4. T4 [+ 1 ¥T = 4 Ta]

=2.23296 4T

=(2+0.23296 ) T=1
o9 (.23296 TATATE STHAT T AT,

=0.23296 x 4 T\ [+ 1 Tq1= 4 =1H]

= 0.93 3H
TId, SR &6 = 15606!‘4?1%—6 = 0 9T, 4 AT 2 T4, 0.93 TH B WS |
7T 0 - 4 -2 - 0.93 91 wfEs, |

@) fegusl SRl &R = 1560 TR
1560
=0.021399 ﬁcT'EIT
#@  0.021399 faarars FESMT =R AT,
0. 021399 ferem = 0. 021399 x 20 ®&ar [ - 1 ferem = 20 ez |

930 ) PR




= 0.42798 F&3T
= (0+ 0.42798) F33T
79 0.42798 HEBTS GTHT FATIR T,
=0.42798 x 20 &R [ - 1 F&3T =20 &3]
=8.5596 &¥
=8.56 9%
TG, STl &TRA = 1560 ahRe = 0 foram, 0 F327, 8.56 &R = 8.56 &R T |
JEaArs faer - #3237 - g7 - 0cTAR 0-0-8.56-0 (farem) wifEg |

BRI

fepr feramar SRl | HIETRT fofaw a1 | emmer/a.f. | #teaa | gEiire e
q./ (8RR, HATATAT, ZAT(E) Epatal ATH 97 En TEIEd
gug .
gee/ | 0-9-94-o (ferEm)
R¥Y | e aq (0-30-30-¥)
o Yar Pl TTH LRUR
e g /@d | 0-9-9%-o (ferem)
Y9 (0-30-30-%)
o |w@ fash araH YRR
ST & 995Y4.0¥ FIHIY

AT ST TIAT [haT 7. 244 P STWMMHN AFA TF FET T g7 AT 592.52
AR T@IZTHT G | M TSAT (G0l GAF BATR AP TART T GIE0T
THET |
AT
faguep! Mg OoIHT fohar 7. 244 7 &% = 1 &1 15 9

=208 + 1547 [ 1 %83 =20 7]

=359

=16.93x 35 FWHET [ 1 &R = 16.93 a((HeR]

= 592.55 F(tHeX

A —— C



g, |Fer 9 Fww | fEar A faarr (eR, | Sa® g% | gt Aw | ftaw ar SR IS / 9T
qar fae Eicic fem I En femmeT /( q
LIS AR
7? 3 Q03 TaTar T adq 0-0-90-0 35
3 (@) Yz st SRR 95 R 90533
STEAT &rhet (7.9, 9§%.3%

AITaehT ST G fobar 7. 2731 &1 Sl & ha 0-0-10-0 (faram) srarq 169.32
TR T@ISUH G | AMe ToSHT [GSUHI &Ahd B dATAH] TANT T GRI&0
AT |
HHTEH
[ESUe! ST ISAHT FhaT 7. 244 HT & %ha = 0 faem 0 #5231 10 & 0 FHAar
=10 &%
=10 x 16.93 ez [ 1497 =16.93 FWfAET]
=169.30 aFitHe

mobile AT NaaPI apps install TR¥ Area Conversion option T3 T af T3ar

THEATE q UHSHT &Y 9 dlhbg | Plotter option TART I & aATS
¥ Primary and Secondary Unit tool YaRT < Ucdeh [hARIHl @¥alg il 0
A [ebTed Flheg; |

AT T ISR SR ST

BTN

TRl (AT FISHATSIHT FA Th STShl AT e a5l @ | #ef fafqe sTepre
ST Tehle® a&d Albrg | AT Tl e 1 : 500 1 TheTHT 2 TRUB! G | TH HEeh
HET AT qorehl (=aHT [gUeHl 3 |

QR ) T, wET <




TR fueaeshl I ANTHT {61 7. 559 1 ST ST SrehRe

T | I TR [BARTEE R dATedias qvTgehl AT @ TR
e FeTEE W fasuar B )

(%) TG THT STRMH] &R IdT A3 |

(@) AT - AT - T - ITHATAR SR I SR |

T, FET €

11.5m

A
13.5m B

( qz3




AT
(@) faguasr Brser Sme,
fFART AB &1 @13 (c) = 13.5m
feFART BC %1 @¥a1g (a) = 16 m
FFTT CA %1 @2 ()= 11.5m
aRkfald (p)=a+b+c=13.5+16+11.5=4lm

a&?tri%ﬁﬁa(s)zgz 2= 205m
AR (A) =72
ETHIATS ATeT 3,

A= ss—a)(s—b)(s—c)
—~[20.5(20.5 - 16) (20.5 — 11.5) (20.5 — 13.5)
= 420.5x45%x9x7
— ~[5811.75
= 76.23 m?
». KT SATHT EARE 76.23 AT(HY T2, |
(@) IT STl AR AAATAT HH TR ATATHAT Taeal,

76.23

76.23 m* = 31 79 AT [ 131 =31.79 m?]
=2.3979 AT
=(2+0.3979) AT
=2 ¥ T 0.3979 x 4 Y1 [+ 1 AT =4 T ]

=2 9T T 1.5916 Tar

=2 M 19T T 0.5916 x 438 [+ 1 T@T =473H |
=2 9T 1 991 2.37 |

=0-2—1-2.37 (I9)

| s

T ISTEX0T 4 A7 feguerr o fyeeur fhar 7. 278 &1 SIThl ardias AT @R TAR]
ferrar ToRTEET T fagua I | b 16 m

C
(@) & STAMMH &ARA AR |
1075m | 9P 11 m
@) faEr - FEI- O7 - 0 AAAR FARS I
ERICE R A B

15m

¥ ) T, FET €



AT

(P)

fegUh! ST T ForT =l ATHRFT G | s 1:500 FT FTAATHT FTATSUH]

3 | faul AC fa=r gEaiter fvsewsr favrse aiuer g |
A ABC &I &R ferear,

AT BC &1 &¥12 (a) = 11 m

a1 AC 1 =18 (b)) = 19 m

9 AB & E=1E (¢)=15m

AABC#1 wivfefaf (5= 220 te- L DT 13 -9 5m

A ABC &1 &T%d (A) =+/s(s —a) (s—b) (s —¢)
_ 225225 _11) (22.5 —19) (22.5 _ 15)

= ~/22.5x11.5x3.5%x 75

— A[6792.1875

= 82.41 m?

A DAC #1 &a%d faeprear,

9T DC #1718 (d) = 16 m

T AC &1 @F12 (b)) =19 m

AT DA &1 @013 () = 10.75 m

ADAC #1 aufefufay ()= drbte - 1621941075 — 5y g5 1y
5 .

A DAC & &F%d (A) =+/5'(s'—a) (s'— b) (s'—¢)

_+[22.88 (22.88 _16) (22.88 — 19) (22.88 — 10.75)

— 4/22.88 x 6.88 x 3.88 x 12.13

/7408.6142

= 86.07 m*

79 FTqHT ABCD #1 &hel = A ABC &l &A% + A DAC &I &Fhel

=82.41 m? + 86.07 m?
=168.48 m?
TIT I STHTHT TR 168.48 m? B |

T, FET €
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(@) SRl gThRd = 168.48 m?
7et fagudl TOMH EARA | FEIT AATA 338.63 AMHIA=T FH B AIA
ST &A% d = 168.48 m?
:%-9438@ [+ 187 = 16.93 F0ifex |
= 99593

Jad TR &R 0-0-9.95-0 (ferem) T2 |

. Eoueey |
1. SIS TSHT Td S T ATAHRTRT SATEMTHT T TIAEEHT SaTh G :
(%) TITETAT ST SATHAHT AT THT T ARFTATAR [EHAT TAT TaTST SITAT HA
ARBTATAR AT T 7
(@) qUIE TEETT T AT ST AT T FF ARHATIR AT T 7
() T AIAMET Hid R TTFT g7 7
(%) Te JAAATHT Hi ATAT e T Ueh ATATHT FI AT(he TR g, 7
(3) TH faamdr #iq avifqer da%hd g7 7
(%) U [TarHT Hiq F33T 873 T T HESTHT Hid av(the A% 8 7
(@) UF AT T U HEST A FHA THGHT Bl ai(THeT AR qel g7 7
(3 37 ffe =TeTE UH USeT ATAAHR ST &aFd U AT 76d 9 Al
SR TS H(d (e B ?
(¥F) TARTEHT Tk SATHRH 10 foram S @ | A9AT THREATER feare T af
A B! B AT T Fog, ?
2. [ SAwA WOERT SR SRR TRIEATs av(the TRIGHT TUTAY AR -

(%) 2 FE3T @) 4 AT (M 8 &’
(%) 5 ST (%) 6 AT 3 T4 (@) 4F31 10 R
3. T S WU ST SRR THTEATE aNiHE Y TRIGHT TR TR
(@®) 2309 @) 1faer (@ 169X (&) 3 H33l (3) 5 %53 10 &R
4. [ GIReT WOHT TR SRR THIZATS AT TRTSHT TAAL TR -
(®) 16 &7 (@) 4 FE3 (A1) 3 FEST 2 7
(*) 6 F&ST 10 9 (Z) 2 TraAr (=) 1 faem

9% ) T, wET <




5. [ SAwA WOEHRT TR SRR TRIEATS g THRIGHT T TR
(&) 3 AT (@) 6 AT 3 T4 () 16 F33T 5 9
(=) 1 ferem 4 waar (3) 2 feraw
6. SATZAATHH! TF A9AT &TFd AUH TIAT 9w 20 fFa e \ERr ™ w9 |
ST ATATHT ATSUdTadh! [FARTR dFaTs 148 fhe W | Iad AWMATs AR
RTER ATRHA AUH TSUEEH T T TaT TIaT TSR &R Hid g1 ATIS, 7
Y TSI AFATS T ASTS T il he &va
7. A SRR SEweers EeEE ST TR
(&) IAAT-ATT-AT-3H (R-A-P-D)
@) foar-#5sr-a3 (B-K-Dh)
(1) 3056 FiTRe (3T) 1426.85 =FitHaz (%) 5026.80 =FiTthe
(%)2167.24 =HeT  (I) 80736.75 F[(The

8. TR TG TSI [GSUHT SAWMMH &R 0-5-3-0 feram sraiq 1743.70 FiiHET
AL B | NS TS [GSUHN &R BT ATNAHT TART T IRIET0 THEI

q% . /7 | fear 7./ faraor STMEHTRT | HIEreT A fepfarer ar &R /.. HRA
e 7. gug 7. (OX, ¥TATeY, gkl 1 ERll
Zote)
Y 98% EICiE ezl gVEY /Qd 0-4-3-0
faem (0-30-30-¥)
keZdEEl STERT 99¥3.90

ST SR 9¥3 90 aFIfhe

9. SR SEEHT THATHT RZTTHT SRR E5TH 677.26 FHIT TETLTH © | T FFAT
TR SR VAT | [gUat © | ST TS fgust eThe T qiierant
TIRT TR S T SR -

(%) TS JUTATSTER AT - HATAT-TAT-TH gr=TAT
(@) RIS JOTATHATAR [TeT-F31-27 gr=mar
() TR

S ( 93y




e, / fear 1. feramor (e, SR | SR | AEeer | fEam ar et | dEher, | atead
T A /GUg . HTATET, FATME) Feane] gHEwr | AW 9w .M.
.
¥ 33¥ EIEiE Leaairis gTex /&q / | 0-0-0-0
XE EEYY kcaduEil ERE §99.3%
o STFAT &R §99 3§ aFIiHaT
10. I e aedE wwET SwRaETE

11.

TR AT IE@ETH B | Tw TS

SR T TET-THATETR gt 5 |
) ued A.01,2,6, 8% 9 HB EARART
THGATS  aVTHeX  THGAT &A=
TR |

) TS . 4,18,20F 22 FI AARART

(M) TS F. 9T 22 FI AARAR! THGATS
THE |

0-4-2-0 | 0-4-2-0

0323

Ut A ATEH TEEH AR T SR

o) I~ SATAT-TT-3T9 TS eaR

a0 %raT-CbQG)I-"d;{ REJESENIN

(R) )
0T
%
< . Y Y/ e
_________ 34 1t
B e 20 ft <irer am@l

T, e €



90 ft
N b~ E
= 7
=
=
75 ft

4m =TST Tray

12. UGl FHHSITR ST IRIATT 160 R 78w | afe o ST Aol Fard
5:7:8 TG A GARA Hd &R oG, Tl AMSTa |

(93¢
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1. & U faandiane Iugad FHeHT [HTSTH e ld (Teh FHEHT HRITHT
5 STHT 9 L) | GHE R Teieh SATaqeedl AN (Serarel faersi e (R
2 fAU |IY= 9 2 ST, AT & 1 ST, feute T 1 S, e raiest fAereror
T 1 S0 | YT SFHERIATER dEaedsd Jradn (T 20, &y, (9areaq
ofe) Afed ® I3 THEA AT-ATRAT qRPETE (TATATHT G HITTR
M= AW (PSR 97 IAEsTeR 9N & fhaRTer 9 fau
SR (e | I8 T ol ¢ g5 AUl [aaTeadiae Ehl &
TEAAE WA (Afay IRER, 9%, o HSH, Gl T a1 faareds o
GAT T ANS) BT GAT TR AR [Tbledald | THL TRTRT BIART
T FeAdfed aAhd Moy FEATHSHT T&dd THed | d® 35 qHed
T THT TS TIAPT AARATTT o i GHAT ATAT AT T 2
fRTeTFeFT TEARTHI FEl [aeheashl grle e |

2. YU faEmdiel ATSTRAT AR ATHHT Tgeh! ST AT & Bl @ ? TTqHT
THTOTRROTRT AT STl TS| &R d Fadl T H(q AEUH G 7 &
A ¢ Al ST (AT AT Hiedl, HATE T HAL TR (94T 7 ATRAT
AT D, THTSTHT IS AT FFI(wddl AfkTehl TSANTHT STAHBRT ASHAT
TR T FEATHISTHT J&qd THed |

—

1. Rrerpars I@rsard |

2. (%) 7290 TiftRe (@) 1369 it (1) 1458 a iR
(@) 171125 &R (3)2310.18 a¥Ifthe () 16402.5 a¥Iihe
3. (®) 1017443 MRe (@) 6772.63 [MRa (M) 270.88 IR
() 1015.89 TR (¥) 1862.45 aiftha
4. (%) 8.52 (@) 42.60 T (1) 33.02 &
(%) 69.24 AT (3) 32 A () 212.96 #TAT
5. (F)5.63F @) 12.67 ® (M) 325 9¥
(%) 480 &} () 800 I}
120 ) T, FET €




6.

10.

I1.

1.

1369 aifthe, @wars 37 fRe, =ierg 37 fh
()-(%) 0-8-3-2.87 (A4T)
(31)-(%F) 2-12-3-2.02 (RT9=T
(3)-(%) 0-14-2-3 @9
(%)-(%) 4-4-0-2.6 (TI=)

(@) 0-0-16.77 (ferem)
(@) 0-4-4.2 (far=m)
(@) 0-1-7.58 (feram)
(@) 0-6-7.99 (far=m)

(3)-(%) 14-11-3-2.39 @) (@) 1-2-3 (fe=m)
(@) 1-5-1-0.8 F@AN) (@) 0-2-0 (f&r=m) (1) 7289.96 =R

(@) T 7. (1) 0-3-2-3 / 117.24 =itz
TS . (2) 0-4-0-2 / 143.06 a¥THeR
T4 7. (6) 0-4-0-0 / 127.16 FTHET
TS 4. (8) 0-3-1-0 / 103.32 &R
T4 7. (9) 0-5-1-3 / 172.87 &t

@) g 4. (4) 0-4-2-0 / 1540.12 =iH
e . (18) 0-3-2-2 / 1240.65 FRhe
T4 7. (20) 0-4-0-0 / 1433.17 FFifRe
T4 9. (22) 0-7-0-0 / 2395.75 FiTRe

@M =S A (9) 0-0-10.2 (Farem)
T A, (22) 0-0-13.14 (faem)

() 184.89 aditqex  (31) 0-5-3-1.04 R4
(@) 2187.22 FWMHT  (31) 0-6-1-2.25 (A
(1) 2746.54 3@ the () 0-8-0-0.3 9
() 6565.80 aMhe (31 1-3-0-2.9 R4
(3) 530.18 F(THT () 1-0-2-2.79 R+

(%v) 1108.51, 6.082 g%

(3T) 0-0-10.91 (ferem)
(31 0-0-12 (ferem)

(M) 0-0-15.07 (ferem)
(M) 0-1-16.02 (ferem)
(3 0-1-11.31 (farem)

T, FET €
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f05a (Prism)

6.0 YARE«®T (Review)
faguet o #TIMAT aATSTerd T dAdaled qa7 THeHT SAhd TR0 [GgUHl TR IR
FHETHT J&qd T

A p S

B C QLI R
%) faguer arsfaar wfaerer qemes (@R 37 7
) feguesr arwfaar awaea aqeewer aRkfafa wed q=r avrsT Afg, 7
) TESUHT ATHTHT THAAD TACEEH] &R HAL I AMSH Alhg, 7
() FTSATe TR U AT T ATRRFT T& THAGT ATHPREE TR =TS
TR AMGAT I FET AR 75, ara 7
(Z) HUTHT IEATATS =TS TATIY AGFH TETHTH T 7

6.1 fr=®a 9= (Introduction to prism)

BECETED

IIFT TEEITH THEHT TUT T [GZUHT T&I Tk THAI I a] [ATerd | SFT 3
TEIH AAATHA TR TAHT TIAEEHT SARA THRH T HEATHT I&qd THad -

A D

(i1) (111)

@A o

(iv) (vi)

3R ) T, wET <




(vii) EEESssssssssnnE (Vi) CEEE

(ix) x) (xi)

(%) [aSU® I ATHTE®H A & [FAH] FHE Fdges AqET T AR
7

(@) fegusr 3 ATRITHT Fqeiar faqar Rt S 7

(M) fegusr 3@ ATHAHT TET T FHMTR 33 [auRd ag¥eie® & STHRa
7

(&) fegusr 39 ArRiqAT Fqarer fifages & 7

e

T2 [AIRIT Ig9se® FHMIR T A% UH o9 AATHAS (three dimensional)
3 FEAATs [UsH (prism) A= |

6.2 FHE FF IR ATFA (Cross-section area of prism)

| 2

IIIFT THEHT

€ T TUF GHEd U UHAST ATIATHR a1 AR AT (TIThR

ﬁ

s, frererg feer Saree weq T faafareTe FTeAER | THRT HaEr FET Adgew
UTT gl ATATHRAT FHEHT BA®S T HEITHT T&d T84 |

ST JET GHEFR! GHE H AEAER @A | A v K
FTIST ST AU ST TS A AFETS AT SATSH] A+ &
o N B e N B
TR PSR FAET AHTATR & T HIeal e Jae [A5sT
MNO FT SAFAATE 7 T PAHTHIR AT TUHT [T5HPT e C 0 C

= NN g}l_ |
(AABC = AMNO = AA'B'C")

P ( 9s3




et g

FAET T FHATR T3 (G991 TgHoe® gra, STl [TsHH ATgR A= |
AR ST AUHT o8 (AR [UoH), dar arard Ul US| (Aarer
forsw) @i |

HTIREEINT AT g TR for=ehl & 9fq 9T #rear " adedrs
fusHer 9 G99 (Cross section) W73 T THA Ihl Hd YA ATIRET
ITET 575 |

frsHe® GE# (Oblique) T FHFTT (Right) T 35 THRET 5 | T HEATHT
BTHT HHBIUT [ToH (STEHT ATAREE SAEhepl AT TAeas ATARAT ¥l greirl)
LA AT AAAT T |

fUsHe#T ATaRe® ARHF AT Adeewdls [oHE Ggh (TYEadl) daad
g7hd (Lateral Surface Area) wfi=g |

fusHeT AraReE® for=rel qFegie UsH® 31 a1 TrIeds JTaSs |
frsHer araad (V) = ATaRS &a9%d (A) x 3918 (h) &8 |

| s
& ETHT IS aid fUsH 27 ? &1 9 &l [UH &l | feparael afedr qrar, fa=repr o
T ATH AT AR AARA OAT s JAAT Tl | [harael g qrerel fasee

FATg TS G 7

PreITeR fUsHaT e fahe

(F) WHATE (AR GRS (A)=3§a2

N _b

(@) FHgETg FSH &A% (A) = T (422 — b2

@M fawerg st &R (A) =+s(s —a) (s b) (s —¢)
STl s = —a+g+c

(%) W%WW(A)z%prb

(@) WW@%WW(AF%;#
:ﬁeron,%w

(F)  ATIATER THET ATIRET TR (A)= [ x b

(@ AER HSHHT IS TR d (A) = 2

13% ) T, e €




6.3 Rrower qaadl (@) daes aawd (Lateral surface area of

prism)

BECETED

THEHT UF UHATET Tk F¥eh ATAT a1 a0 a7 (Aol ATaR TUH I a& (el |
SH 3 FEIATS FUMHT &8 T |

F G
C ~ C h
I TSHETHR {Usw fog ageFT o g, AT T IaTeds l
FEM L, b T h A SACHE B | AR AR T AARET DS <
FHTATR g FdgdTedhel A qAg THAYHRR T8kl G by ————8B

ABHE, DCGF, ADFE ¥ BCGH
A T FALEE ATAT ATHRBT T T AT AAGHT SR AR B -
7z ABHE #1 &eet (A)=1x h=1lh
gag DCGF @1 W(A2)=lxh=lh
wde ADFE #1 877 (A,)=b x h= bh
wag BCGH #1 8% (A)=b x h=bh
AT AATE TAGH! TRART TR
=A +A TA A,
=1Ilh+1lh+ bh+ bh
=2lh + 2bh -
=2h(+b)=2(+b)xh=Pxh a_ﬁ,szWWE]
TH JFT THE SATHA T AR T ATIRIT AR 8 AdedTadhe] AT =ARATT

qAee®dl SARAH] ANTRA o SHB qreaad] qdehl amd al To97 ehy [qehrell
HETHT T&T T |

fromer I adesr aa%hd (LSA) =24 (I + b)
UsH®! B qdedl &a7a%hd (LSA) =P x 4 99 &3 |

T, T S ( 934




BTN

Tzt Bow e SFEART SThel T TEEEd] GERl SRS T SR -

@) @) 4 cm
9 cm 4 cm
8 cm
6 cm 8 cm
6 cm 6 cm
16 cm

THTI
e,
(@) fagusr frewwr

v (/)= 6 cm, =g (b)) =6 cm T 3915 (h) =9 cm

ETHITE 97T B,

[USH®T HF AR dTRd = [THHT ATIRET dTHA
=[xbhb=6x6 =36 cm?

T fUsHeET 9 FFTHT GTFHT = 36 cm?

%Y frsHer e aifafa (P)=(6+ 6+ 6+ 6) cm=24 cm

freHepT areaadl qaedl aa%hd =P xh=24cm x 9 cm =216 cm?

@) fegua e CD ardrs G a% a@rst | Jad ABCG &1 &% (A)

= AB x BC
=16 x4 F 8cm E 4 cm
=64 cm? 4 cm
T DEFG 1 8% (A,) 4°i} ___________ §em ¢/ [4em
=DE x EF =4 x 8 b 4cm
=32 cm? dom 6 cm
a7 oW F G AT A+ leem B
A, =64+32
=96 cm?
®i fusHer g afifata (P)
=AB +BC + CD + DE + EF + FA
=16 +4 +8+4+8+38
=48 cm

93% ) T, wET <




frswept @¥mg ()= 6 cm

fyswe! aredadl dqedl aahd = P x [
=48 X6

= 288 cm?

6.4 TrsH®H R qagd &% (Total surface area of prism)

BT

YHEAT U THHTT UATHR =eh a1 HAMH! el T ATIS HATIR AR
ITIAHT AT TATGH T2aT [ATRTE | T2aT AT FIEAATS (e @Y
g F TR ¥ qAHT TYAEHT FARA T HETHT T

THETH

(%) HE AR o7 7

(@) fIAEEAT FTAE ATET a1 ATET A5 ddee® el G 7

(TT) HIEST GITATHT TATHR ¥ ATAATHR ATIR T TEAATE [ HISHE, & TTEeATeT
T ATH(TET T !

(@) AT TAIPR T AIATER ATIR TUHT IE ATAeEHl qo TAeH AR (ATl
SITSAEE | TR ATYRHT BATPR T ATIATPR ATHR AUHT ST G&lembl T
HAEH! & I ST G Il ST |

TRl TIITHT STFAT 6 1T HIZST A | AT Tl THATER B | TS Y Jag ahR
B | TS TTEHT &TAHA TR grgr | USaT TR qaeehl owalg [ 9T &R 2 &7 |
6 HTd AT TAEH! TR = 62 T ThTg

AR TSHH gl el &a%hd = LT
TATRR TS I TdeH 8796 (A) = 61573 |

P (930




AL GATSHT TIETHT THAT 6 12T HIESTE® B | AT T22T TSHET ATHRPT T | STHT 6
T AAEEEH 3 WSl Ideew IET S | 99 qaee®d! Gahd JSuis T Taeh
SR IdT VTS Aieheg, |

6 dTd TACE®H ARAB ANTHA F AIAATHR AR TR {FoHPT IR0
TAgHl AR &l |

HTAATHR AR AUH! [UsHb! T el &a%hd (TSA) = 2(Ib + bh + hl)
a4, TSA=2A+p x h
STEl, A = ARGl &Thd
P = amgepr afefafq

BEEE

fagut frswat qT aaEHt SThe O TSR
FHTE

3cm

et aqTeR fs"ar aw=rg (/) =3 cm
T FAEH SAFA = 6P = 6 x (3 cm) = 54 cm? 3 em

3cm
REEEEED

T3 fermerms TRAT fermefiend awt @ s T faaot e Al e e S
HTIATRTY ST HUHT TATHT FRI0T T, StEh srwag 12 ft, =etg 10 ft T 7fwg 6 ft
TEH B | IFA TATGHIRT I TAGHT &R T AMSTR

HHTE
Y 6 ft
REIN
aATgHIR qwrg () =12 ft
10 ft
=rerg (b) = 10 ft 12 ft
ST (h) = 6 ft
AT,

AT RN Fdgh! &TRA (A) = 2(Ib + bh + hi)
=2(12x10+10% 6+ 6 x 12) 2

135 ) T, FEIT <




=2 (120 + 60 + 72) 2
=2 x252
=504 ft?

;. 91 TATGHR T Fdeahl gahd = 504 f?

Febfeqs i
TATSHIHT ATIRF! &Thd (A) =[x b
=12 x10
=120 ft*
AqTaReRT aRfafa (P)=2(/+ b)
=2(12 + 10)
=44 ft
TATGHIH R Fded! &ahd (TSA) =2A+pxh
=2x120+44 %6
=240 + 264
=504 ft

BTN

faguat Rt fUswT a3 St e O SR

e B

THTET

7gt fusae! AR AABC T,
AB (c)=5cm
BC (a¢)=7cm
CA (b)=8 cm

T, FET €

(93¢




efafefata (s) = “”2”‘“: 7+§+5 —10cm

ATaRH AABC #1 & R (A)  =4/s(s—a) (s—b) (s—c¢)
=+/10(10—7) (10— 8) (10— 5)
—\10x3%x2x5
=300
=17.32 cm?

ARl IRfAfqa (P)=a+b+c
=7+8+5

=20 cm
fusHep e (1) =10 cm
Ao UsHe! R Adesw! dahd (TSA)=2A+p x [
=2x17.72+20x 10
=34.64 + 200
=234.64 cm’

6.5 =" sas (Volume of prism)

| s

HATAATHR ATIR AUHT I &bl ATIAAT HAL TAT AMMGA Alheg, 7 ATTATHR AT
AUHT S &R AT T NS GAHT ATIRAT FARA T A [UsHeb! A= ar
AT T TAT AT Mg HeATH J&Ad 9 AR

sl A (V) = STaREN 76 X =% =A X h

ey, o Ifvafaer T o9 favar @,

1000 cm® =171 m?*=1000 /

1¥o ) T, FET €




BT

fezuat fswt QT aagdt e T Jad T SR

ED EC|

) @ “

£

cm| 2C
2cm 2 cm
3cm 3em r

5&\
THII g

(@)  TeEuwt fUsw guigag Biw smaw wot W )
S9HT BC=AC=(a)=10cm
AEIR (AB) = (b) =8 cm

8
Fream fowwat smam dawe (A) = 7 V4a’ — b)
8
= VA< (107 - @
3 Vao—ea

4
=821 =36.66 cm?
AT AR (P)=a+a+b=(10+10+8)=28 cm
fUsHe! I=mg a1 @ (h) = 16 cm
frsHep! areaadl daesdl % (LSA) =P x h=28 x 16.
=448 cm?
RIS T FAEET 4AFT (TSA) =2 x A+ LSA
=2 % 36.66
— 73.32 + 448
=521.32 cm?
R AT (V)= A x b= 8V21 x 16 cm?

=128 V21 cm?

P (99




(@) faemT I T Laat C T F e siet |
g 11 [JKL T &%t

(A)=(@2cm?=4cm’ H Cm3cm
FPTT ABGH #1 87 (A) Ly A
=(B+2+3)cm x3cm 2em Eb em
=8 x 3 cm? =24 cm? K L C'3 —
a7 CDEF &1 &% (A,) = (2 cm)’ = 4 cm’? 3cm S em
fUsHe! 9 TR &ARA (A) =A, A, + A, A3em B
=4 +24+4)cm’
=32 cm?
qTaRee! aRFATT (P)

=AB+BC+CD+DE+EF+FG+GH+HI+1J+JK+KL+LA
—(3+3+2+2+2+43+3+3+2+2+42+3)cm
=30 cm

I (h) =15 cm

areEadr gagdl aamd (LSA) =P x 7=30 x5 cm? = 150 cm?

T FAEE AAE (TSA) =2 x A + LSA

=2x32+150
=64+ 150
=214 cm?
frsHer smaad (V) =A% h
=32x5
=160 cm®

B o I

1. &9 AR &@TRd 35 cm? ¥ 9918 10 cm HUH! [USHS! dAFaq Ha g 7

2. ATIREr URfAEfT 36 cm T S 8 cm WURT UsHeb! qeaadl Iaghl arahd Il
SR |

3. %9 YHGTHl GFARd T UIeaadl gl aAhd FHHT 40 cm? T 175 cm? WU
T3el [UsHe! R AqEH &AHA TdqT TSR |

1¥% ) T, FET €




4, fEuF oHees! Fd G909 &A%A, TIaadi gdghl &ohd, T adghl e T
YA T AR

() (o)
8 cm 5 cm
Jep H e
6 cm
10 cm
4 cm. 4 cm
() 4 cm (=) 4 cm
3cm 3 em 3cm
9cm 3cm 3 cm
4c
8 cm
3 cm % cm 4 cm
4 cm
<
&) 3cem cm (&) 10cm D < 10 cm
6 c 10 cm 10 cm
6 cm
10 cm 10 em
4em T e
10 cm
30 cm

5. @ E 6cm, ASE 5 cm ¥ S9E § cm WUH USST NSHETRY fTsHat

(F) FHY JFAAH GARA B g 7
(@) 9Tl qagh! dARd Hid geg, Il dAMSTerd |
(M) ATAAT HA §, ?

6. TIAT ATIATHR TATSHIH oFTg 2 m, AeE 1.5m T 398 1lm § | 5ad
SATSHHT STHAT F(d fe? 9Tl AT 7 Il S e |

7. SRl FEITS 20 cm HUH FATHR FISEH AhATs AR ATHRH § ATl TATHR
THTHT FNCTHT T T TUF THhT FISH ASATH AFIS HId g ? Tl AR |

P ( q¥3




10.

11.

12.

13.

fezuaT fUsHsht o0 QoA %A, TIaadi Gaghl &Fhd, TXT Adghl Sohd T
A I AL |

8¢
12 cm
o o

<~ 16 cm——>

AR FHHON IS ATHT Tl [GoHbl daad 864 cm® & | AT FHHON
FAISTepT THHOT TS Tolleeehl q¥ s 8 cm ¥ 9 cm WU &1 fysHa! 3=1g T
SR |

HATIRHT FHHU AUHT T3l FAsTebR fUsael 3=1g 30 cm & | Aie & FAISTehT
THEH FATG HSIeweh! dFE 4 cm T 3 cm W Al {FHE! ATTATHR TdeeEH!
AR [T Terd |

T3l SR [UsHe! TR qagH! &9%d 660 cm? T THH! ATIR FHRBT Freqst
B | TGH TSTE®H! AT FHHLT: AR AT 12 cm T FHO AT 13 cm S A 4T
forswept vaTg Hid BT Ol SR |

73T e fiswat e 480 em® © | afe |1 s fuswet =g / em X
THRT ATYTLHRT HleE hA9: 4 cm, 13 cm T 15 cm W

(®F) TUSHE! TFTE (/) TA1 AMSTEE |

(o) ATTATRIY Hdega®ehl &A%l Idl t’I‘IId‘jﬁI%LI

(M) R FAGH AR I TS84 |

TS BT R WoET fUsaar og@ aqgs ama 2160 cm? © | TE9®T
AT afefafa 54 cm T 9 AR SR 126 cm? WU IF {ToHHT

() AR Il 134

S\
(@) AT Il M3 -;ls? |

%% ) T, FET €




14.

15.

T, FET €

A 917 WUSRU TRl ATNT heba YTATeRl YANT [ el [oTAT I@TSTHT
T FH Tk JebIRE! TIST TATS ATTAT TATIHT eS| qf [G3UHT ATSTEEH
FA AISTHT el 919 ATSS T AMSAed | e =e el AT T i F7
qRHTIHT Feba AT @ &7, 7 Il ATSHard |

=
00

\

D [

-
w2
\
VR
\
\
\
\
\
\
\
\
\
\
"

-
~
~~

1
U

R ft—

o
N
< v

 ——ISft—— < 6ft—>
Tt gewAl ST TR AT fermem afea fosmn FEETE sw ueer e
famtor IO o | AT T ST qAT TR (ST TefraE) q¥ ger Tt
JATMERT TG AT HUHRT B |
(@) 79 fefawsr a2 FHMT THEr 0T Hfq FUSTH AEITE TP ¢ Ul

TSR |

(@) TEAT ATSATSHHT AT Hi FTHA HUFT FTAdh! ATTIARAT Teg 7 Tl
RAUERGIES

() TIAT TR FeT TR AT 7 m? SIS ATAITHAT Te AT Iokd TIeTHT
FAT HIAATSTAFA JILHT F&T e Alehrag, 7 TAT TSR |

«3m—
AN
AN
AN
AN
AN
S
1
1
1
1
1
1
1
1
1
1
1
1
1
1

( 9wy




16.

G T (AGHAT ) BT AT TIAT THbI ATGH HHOT TRA AU | T
feguerr fereear fagusr ATEEHE F UF g 7 & | T AITS &THATH
ATIAT T (AATOreRT AT WRINT g9 ATHAT GIATOTRT SATIRAT qeHe FA =l
ATATARDN AT (TR T ITIAT & ¢ Tl TS Lo |

8 ft

FT / ' 16 ft 4
Rt
Ne)

ATRAT HITTHT AUHT Uo7 ATHRET aE(aed] A9 ASHAT Tad | TATH

ETAAT [arTeEH F g5 qLAHT AT (78 TeTehl JITEwehl LA HETHT

TR TR -

(%) IHT TEH i HRAH AR I AAITR |

(@) TR HAGH! &Th Ol ST |

() ATAAA T ST |

qre AT ATl GHE (0 e | T THed BRTS], H18, T ar Harar

ATl TART TR0 fATq= AT9epr s fsd e T | 9o® sHeEr

o AT AT fag

(%) T D AR Il AMITEH |

(@) TSh AGH! &Thd Il ST |

(M) Bk TACH &ARA Fd YFATR] ATRAART Hi FAT F&l G 7 Tl
TSR |

5 )

T, e €
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1. 350cm’ 2. 288 cm? 3.255 cm?
4. (&%) 80 cm?, 216 cm?, 376 cm?, 480 cm?
@) 25 cm?, 100 cm?, 150 cm?, 125 cm?
(M) 48 cm?, 204 cm?, 300 cm?, 288 cm?
(") 62 cm?, 336 cm?, 460 cm?, 496 cm’®
@ 24+2V5 cm?, 220 cm?, 276.94 em?, 284.72 cm?
(=N 600 cm?, 3600 cm?, 4800 cm?, 18000 ¢m?
5. (%) 48 cm? (@) 140 cm? (M) 240 cm?
6. 3000/
7. 10 cm
8.  (F) 6cm? 144 cm?, 156 cm?, 72 cm?
@) gn/3 cm, 270 cm?, 301.16 cm?, 13543 cm?’
(M) g5 em?, 260 cm?, 295.77 cm?, 10445 cm?
(71) 39.69 cm?, 480 cm?, 559.38 cm?, 634.98 cm?
9. 24cm, 10.360cm? 11.20 cm
12. (%) 20 cm @) 640 cm? (M) 688 cm?
13. (%) 40 cm @) 5040 cm?
14 -16. Rrerepers T@TSTEH |

T, FET €
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dcToll X el
s 7 (Cylinder and Sphere)

7.0 qEAET (Review)

IIFT TSI THEHT T [GZUHT &l T UHATAT AR [ATErE | IHT AR Teem]
HTATHA TR T TABT JIAEEHT FARA T HETHT J&AT THR

(@) fegus ATRfdesaT Hqsier T FE TRAAT TAg B, TUET THerd ¥ ATl |
@) fegusr ArEideEAT Hqarer g ar &A1 g 7 T T |
(M feSUH ATHidewdr Hiasrer faar fFaRT S 7 TUET T |

Odw o

iv \%

i. dfedl ATETHT TSl AIATRR Fd8 & | THAT =ARATET AT T =ARATET (90
[T B | AT T3aT ATAT & |

ii. G ATHTHT TSI JATFR A€ [GSUHN B | TIAT FHT FAT I |

iil. ET ATEITAT TLHTAT qATFR TAE G | TGHT F G FHAT S T TS AR

qqE G |

iv. T TR AT ATHT AFATRT & B G AHAAT AR, HAT T fRART
EuEl

v. OrEl ATEqers gdl TSl aHdEd de ¥ USaT 9% Ade @ | AGET H 91
FAT G|

7.1 S« (Cylinder)
AT Hageh! &5%d (Surface area of the cylinder)

BT

FHEHT Uk THATET Fh H¥eh ATl I ATHRE IH q&e® (TITare aArgUHl)
fTer |

1%z ) T, FEIT <




<—d4>

SHT TAATATS (LT STST ATy oW1 F@IY &t T FEAR |

!

h

l

<>

Fifaaddts aae! aRiue dEaH awErg ¥ A9E AT (h) T ATATH ASTATS
TS LT AT @I S T U AT TSR |

L
l
o O

qq TAH] AT T dlecddbl TAATATS AAATHRT T TAHR] TIAeEHT AR THeE T

FEATHT YT T |

(®F)  FAB GRIIH TFITS B g7 ? AeTald |

@) e ¥ ATSTg ARl HEARATHT AT SARA F AT TAN T I A S
i, 7

() ATTR &TFHAA  AATR FH AT ( r)

HAFAATS TASS, 7 ACTeld —
—

FARAAE  [AFAAIRET FY  9q7  TmaA
IR TR AFITE AT AGHT TRTATT AT Ao | e,
gl qifa = afifaesr awrg = 2nr
TR ATATHT SR I ST I [ x b &7 |

~

>

el ATTTHT STHAA TAATH T JAgH! SARAATS TATIS, | T,
AR Ao AAGH! AR = AR &aARA = [ X b =277 X h = 2xrh 3 THE TG |

~

hIY TAATH qh AACH! ATRAAT TAATH] TSR HT ABI AR SATSARIE | & STAATHI

N

nfore, ¢ ( q¥e




o

Q
EEl

T ITTh] & aRTeR gy 7 &1, Al Jae%® UHATIGHT F%T grar |

HA TAATH] [T AAZH] &ABA = AAATD qgh AABH] SAR + TZATET Bl &R

=2 nrh + 2m? [ UZET Il &% = n7?]

=2nr(h+r)

TEATE FAMICR JAPR qdee® T UFel a9 Has HUH & ATH(qars aall

(Cylinder) s+ |

AATH
- HATIRHI AR (A) = 172

_________________

__________

_________________

__________

- % gag®dl &A% (Curved Surface Area) = 2mrh

- I Fagh! &ah (Total Surface Area)

BEEETD

=2nr(r + h)
=C(r+h) 5&l, C=2nrg

fazua ST T TAE T T qAgH! SR 0T ST

HTEH

I (d) =14 cm

=g (h) =12 cm

SAATH] doh TAgehl &Thd = ?

W FAGH &R = ?

EPEn) (r)=%=¥cm=7cm.
AT,

ARl qoh ddadl &Ahd (CSA)

Sl T gkl & hd (TSA)

o )

¢
lzcm
v

14 cm

=2nrh

=2x%x7x12

=528 cm?

=2nr(r+h)

_ 22 2
—2><7— xT7(7+12)cm
=44 x 19 cm?

=836 cm’

T, e €
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TIAT JAATHIY FaaThT Tk Tagh! &hd 1232 cm? © | TT&R! ATIRH HHTE T IAR
TER B A AR JATH AAEEERT SR T IXT TALHT SR T AMSTRE | &
Ik Fdgh! AAHA T TR Adggehl SABAATE TAT TR |

AT

9

el

AR qoh Fdghl aahd (CSA) = 1232 cm?

qdeaTE (r) = 5918 (h)

IR Hdgeedl dahd = ?
W FABH &R = ?
EHIATE 4TeT 3,

dAATRl doh ekl &ARA = 27rh

FoaT, 1232 =2 % 22 % px r [ r=h]

1232 x7
2 %22 =7
gqar, 196 = 2

e,

TG, r=4/196 = 14

. AIAE (1) = 14 cm

TIATER, AIATE (1) =398 (h) =14 cm

ATl FATHR Hagawad aahd = 2772
=222 X (14 cmy
=1232 cm?

B,

W Fqghl &ARA (TSA) = dqeh TABH AR + JATHR HAgaEed SAh
— (1232 + 1232) cm?
= 2464 cm’
Tl AATH qoh TAEH! SR T JAATH JATHR AACE®H &ThHd SRE B, |

7T, T < ( 949




BEEEE

TI2T AT IXT AAEHT &AEA 2992 cm? B | AT T IATZH TRRA 34 cm T WA IFd
AR
(%) ATIRB! AIATH I AR |
(@) ATIRB] SR T AT |
(M) =eh ABHl & Tl AMSeld |
AT
Tl TRl TR Fqehl &ahe (TSA)  =2992 cm?
qIAT T IATSH! ANHRA (r+ h) =34 cm
(%) HATIRH ATATH (1) = ?

AT
ATl TR FAghl &ahd (TSA) = 2nur(r + h)

e, 2992=2x%><r><34

2992x7 _
© 2 x22x34
A4, r=14 cm
(@) ATIRB TR (A) = mr?
22

=== x (147

=616 cm?

(M) TR Fdedl d9hd = 2nrh
:2x%><14x(34—r) [ r+h=34cm]
=3 5 14 % (34— 14)

7
= 1760 cm?

TRt A (Volume of cylinder)

BT

FEATHT ITIHT FHE aTs aEAeld T ToUF THEHT Jaqrhr qal ar
TRT FIEA AlhT TATFPR 3@ & (g TGP AgeAE T IAE
AT |

IH TAATER HAT AT GAS FIEA Giebd TAATRR € TEATS
fera T FEIT & TR AR Thewdrs (AT TgHEr aHrsed |

EREI

Q4R ) T, wET <




o G ¥ TEHE! A T TSHETR T, nr
TETE T A5 I SR | AT, TSHETH
AT 9l NS 1eld |
A8 TSHETR! T = 7
- gg =r

TSHETH AT =h

TSHETH! AATT =[x bx h=mr x rx h = nr*h
FET ARl AAAT = TSHETH AT

=7r’h

=nr’xh

=A X h [IAATH] AR I §A AUHTA ATIRP G5 (A) = nr’ &7 1]

FAATRT ATAAA (V) = nrh = A X h ST&T, A STl AT &R 2l |

BEETEN

Tl TIAT JATERT TR A 14 cm T I90E 20 cm T T A7 SR WA T=0
AR |
GHTE
TAATH] ATIRBT A (r) = 14 cm
TRl 391g (h) =20 cm
EATHT AT (V) = 2
AT,
JAATRT AT (V) = nr2h
= %x (14)? x 20 cm?
=% x 196 x 20 cm’

=12,320 cm?

P @KTE
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TIAT JAATRIE AT TG RN &THaT 539 [ B | Tf @ I8 1.4 m WU TR SR
Tl SR |

AT
gl erar (V) = 5391
_ 539 L m = 1000 ]
To00 ™ [ 1 m?=1000 /]
= 0.539m’
g=g (h) = 14m
HATIRH TR (A) =2
FAATHR,

TATSHIH &ar (V) =A x h
agar, 0.539a9 1. =Ax 1.4m
0.539
aqar, —2Z m? =A
14 "
ggar, A=0.385 m?

A=0.385x%x 100 x 100 cm? = 3850 cm?
Aq: TAATR ATARB &R (A) = 3850 cm?

AT ForHT T@IT ST ATRRBT BT ATSTERHT TIHTH 9T TR T=3+ | ST A
N TG 14379 T ST 6 37 B, | AT ATST B 1 A 3 379 T 9915 14 91
TR B | AR ¥ fA9Te TauT el JRATHT MU TAT RIST 9o 53 TTSTHT ATHTHHT
HIAT SRR T, A TAh He UI& gTS g | ¥ [a9Tered A9 g9 ATSTHT STTHTEET
AT SRTER &, T [arie®d] el aRTER O 95, | IrTewed! Al FArgare 5 ST
F T G T [, o1 RS AR |

4% ) T, FET €




AT

7Et ForarT T@IEUHT T3 WIEE® AT ATHRH S |

qier A AT T, ST B WU
HATIRHT AT (d) = 14 379 HIA (r) =3 T4
Tﬂ's’(h)—%%ﬁrm SHE (h) =143
a9 FIAH (r,) =3 =5 A =7%A - T B @ )
AT ATST A T AT (V)
=7’ h,
=nr’h, ”

22 =—><(3)2 1497 5=
=7 x(7yx6

PSR =396 5 374

SRR [aerddT wATe (5% © fHAled 9l A # dFad R § add

ATET A AT AMGURT AIHTHT He & T TIST B AT AU TIHIHT T

I ZAIS |
-mtmﬂrﬂ

UIAT ST G x cm I y em WT T TSI

(%) TR i (@) ATIRHT &R

(M) o FAeHl FARA (%) qRT AAEHT &AHA

(8) AIaA X cm
2. TR A x cm ¥ IS y cm AUl TIET TR FHAA ddeaedl &Ahd T

AT 9l M3l |

3. UIST JAATH! ATIRET Iifd C cm T 918 A ecm G | TR Gehqdedl T gl

o\\l
4,  UIAT IAATH] ATARB! &R A dithe T I915 /4 e & | TFHT AT a0
\D\\l
5. U3 TAATHl ATATE p UHE ¥ IAE h THE T 99 g« T
TMSAE h THTS
() ATITT (@) 9 FdH! AR l
(M) HHTA AABEED TR (9) GRT HAGH &Rl r ThTS

T, T S ( Qe




6. TIAT dAATHl ATUReB! IR C Thg ¥ ATATH T IATGH! ANTHA S THhlg WU
TR RN FASH &6 Tl TS84 |

7. RETH AETALEHT SRR TATRR AR SRS, qoh Gaghl T AWAA I
AMKPRH |
(@) FAIA™ (r) =7 cm T 3915 (h) =5 cm
@) FgAE (r)=3.5m T 3915 (h)=6m
M FdA™ (r) =2 ft T 3915 (h) =7 ft
8. fumT SR FUHT SAEA, TATHRTT TAgH! SR, qoh qag, T TAgh! SR

7 cm
] N —

12 cm 21 cm

A A
Q) § )]
14 cm 7em
L3 EEEEE TR [
0 0 28 cm| :
«—2lcm ——
OA=7cm
00'=14 cm
T YA T AMESR

9.  UIAT IAATH! ATIRHT Uifegerl dwmg 176 cm T 3915 30 cm WU JIh! I
AAEH &R T W gl 6 Il AAITerd |

10. TIET JAATERT ATELHT GRITRT TF1E 88 cm © | &7 JAATRT SATEMTHT HeTeq™ T
IR TRTRA 24 ¢cm WT T4 KSR ¢
(%) ATIRET TR (@) g qdeh! aAhd
(M) I FAEGHI AR (5) I

Q4% ) T, wET <




I1.

12.

13.

14.

15.

16.

17.

18.

19.

Ffq T SATH ATIRH ATATH T JATSH AMEHA 34 cm T T AAGH &THA
2992 cm? T I AAATRl ATTAT IAT TSR |

JATE T ATHR! AR 28 cm T % Tagd! aahd 462 cm? TUH! TIaT AT
W FAgH &R IdT AR |

T3aT AAATH AP AIATH T IATeh d91q 1 :3 T | [a-ewsdl IRTRT 56
.M. U FFH G TAeH AR T T FAeH AR I NS Terd |

UICT IAATHT d5h JAEH! AR A 924 cm? B, | TWH! ATARH! ATATY T JATSH
FAATT 1: 38 | Ik ATl ATARDT &AR T ATAAT T ANS R |

TIET SAATBI BISb] HETH! qoh FAh! STHe ATAh FAgeh! AR AT T[0M
T | IR HEH AIRF! AIATH T IATSH ARTRA 25 cm G HH TGH AT
ESICHICEEEN

fegusr JaATRR AiSE®dl ATIRET AT aikfg 9 21 ecm ¥ 14 cm & |
faE=al 39T 14 cm ¥ 21 cm @ W & AISHI Hd el Il AIASS 7
[TeH T 9T TSR |

21 cm

HAH el A(El JATs gt T Faeqdmdqr AT fa= ome wiRwsr faar
Jeeh FAH e ATSTeRT ATATTHRN AT 3 cm T ST 10.5 cm g9 | 18 I
giaeqarqr 35 A7 faandier T fdquer fqu a9 #fq a1 Ifefier wreare v
AT BTAT 7 O S0 |

F FAATAHT TIT RIS 7 cm AT TR JAATHR NTATHT TS T
far et 22 | afe |1 FerEer 6 cm SETEEE U WY faw iy w9 250 ST
ferTireTs | fa 9ol Ieqarad e<e fad Hid 9 TIR Il 7 907 aSHed |
HARAN A WUSRY b AT Il FhRI (HHT T TTA1 ST
B | S I TR =g 1.l m F1gT g 99 1.4 99 (7. = qUerRe I
FIT AT Tl T[T arell ?

T, FET < ( 149




B i
JUGHT GSEATH] GHEEEHT T | Todd FHed AThAl FHATHT HUH TAAIHR
fA-Te®dhl AIRF! AT T IATZ HAF TR FHAA Tdeh &Thd, TN Tagh!
EARA ¥ AT Il AN HETHSH] I&qd THe |

1-6. Rerershars I@ITRM |
7. (&) 308 cm?, 220 cm?, 770 cm?

@) 77 cm?, 132 cm?, 231 cm?
(M) 25.14 ft*, 88 ft?, 88 ft’

8. (%) 154 cm?, 308 cm?, 528 cm?, 836 cm?, 1848 cm?
(@) 154 cm?, 308 cm?, 924 cm?, 1232 cm?, 3234 cm?
(M) 154 cm?, 308 cm?, 616 cm?, 924 cm?, 2156 cm?

(%) 24.64 cm?, 49,28 cm?, 369.6 cm?, 418.88 cm?, 517.44 cm®
9. 5288 cm?, 10208 cm?

10. (%) 616 cm? (@) 880 cm? (M 2112 cm? (¥ 6160 cm?
11. 12320 cm? 12. 539 cm?ar 1155 cm?

13. 3696 cm?, 4928 cm? 14. 154 cm?, 3234 cm?
15.4714.28 cm® 16.0.1637 [

17.7919.9 cm? 18.57.751

19.4 m

145 ) arTT T <




7.2.1 TTERT gt &R (Surface area of sphere)

Tl Tl & & 7 % AT TIAT 90 Al &5 7 % JAATS Hrarar
qATST Aicbwg 7 B Tk Ui dqedTs HIIA] adrsd Aihesd, (bl
T U3l FHAA g oA @1 SEE gAw fagew M=
U3l fagare IR WA gad | Mi=a u3er famgars I
FE T SRR TAATs AGATT AMwS | I, T=al TG er g |

BT

faandieel JIgFT qHE s Yodd THed UHk UHARl &R ad
fAFE | ST TcTehl TAgehl F (O7GHT UFT U9 TMEAEE | el
frer ¥ TR FETIATETE AR G¥ AAEHT TRIRI TR &N e 2
IR TAATE AT QIR | 9 [aed1e Fad aiT Tefale (HepTee i |
[T &I a7 =T o AT TR HIGT arir a7 S[Ehl STl T
ST AT T I B 1]

TER bl ATH YT VSR | TIHT AT Jod SeTels (=TdT @0 A Freargeh!

>
o n

fer=raT TSR | 55 FTeaTSah (AT g T Tl AT &v, | ATHHT AT AT

%*

g7 | el AT fas AR 99 a1 adqdrs diUH gRl HHQX Al FRATE JAA]
IR A€ @lieh TR TEAET |
TET &I & qISTHAT 7 THEHT FATRA TR HETHT J&Ad THR |

>

NN X N c

TRl TAATE BT T IS AR JAHT G FTRAATS g Tl Tt Ieush aeel
HIAT TABT ATATIET aTAT S |

I AR TAEHT AR = FARATET IR FAhT TR
=nr’ + o + P+
= 4mr?

Tl FAgehl TR (A) = 42, &l 7 WATHl AIATH &l |

A —— ( que




7.2.2 ST GAght &= (Surface area of hemisphere)

| oo

feredier] TERAATAR ATILAE HHE 15 THEAT TEIRME T Yodh THEd T UHHAIE]
FATAT fAE | 0 qded ATaTs (6 ST ATl g T TTH degald HIEARE
¥ TR JEAEEH] FATA TR -

(%) FICUH & ANTATS & =g 7

(@) TWHT HAAR A8 o ?

() AIIATH T TAAEH &ARA & 55 7

(%) ALTTATRT T AAEHT TR & T, 7
T TMATeTs foF AT g T FIEET ATSH Joud ANTATs dAdirem (Hemi-sphere)

A= | ARTATHT TRl A8 grgrl | [qrilesdls aeh dds I GHAd qag di=g | &
ATl dqgh FABH &R ATkl AR &TARAR] AT g3 |

- 1
qh Al W=§X4nr2=2ﬂ:r2
I AIITATHT T TAGHT &R
= q%ﬂd‘écﬁ A% + HAA Hdéd;l dAh g7 |

=2mr? + T [ THAA FAGH GTARA Teihl bl &THd|
= 3mr?
STET 7 ALIATR AIATE B S MeATH] ATATHAT SRR B, |

- 1
T HABHl WZEXMW = 2mr?
FLTTEATRT T FAEHT AR = 3772

REETD

FHTE 3.2 cm WUH TIAT AT AAgh! SR Tl TSR

AT

Tet e AT () = 3.2 cm

ekl gkl &Ahel = ?
HAATIR,
AT FATH TR (A) = 47

=4x% x (3.2 cm?
=128.73 cm?

1%o ) T, FET €




RPN
T AT TATGHIRT ST ol TR 22 ft © WA I TATSHIH! Tdgh! QA®KA a2l
e (n 22 )
AT
TEt el gasl akfa (C) =22 ft
ATl FAEH! dThd = ?
ETHIATS aTeT B,
(@) FAq®l 91T (C) =277

22ft=2x%><r

gzx—xz; ft=r
dgar, r=3.5 ft =3 ft 6 inch
(@) FAATIAR AR TAH &THA (A)
—4mP=4x % x (3.5)2
=154 ft?
AT ATATH Aghl AR (A) = 154 2

BT

= 28 cm WUHT AERNATR THAA AAZHT SARA, qoh AAGH! &FThSA T LT TdAgh! &AHRA
T TSR :

HTE

Tl ARl 21 (d) = 28 cm
HAATRT AT () = 14 cm
FHAT TAGH! &ATRA = ?
qoh FAgHl &dTRA = ?
T FAGH &R = ?
AR,
(F) FHTA FABH AR = 2 = % (14 cm)* =616 cm?
@) T GAEE S (CSA) = 27 = 2 % % x (14 cm?)?= 1232 cm?

@) O AR A (TSA) = 32 = 3 x % X (14 cm)?= 1848 cm?

SRCIN

P (9%




7.2.3 MRt @A (Volume of sphere)

| s

faamdi smavad Gg@THT GHEHl TR | YAF FHEd addTRl ATIRE AT T
TATR SATH TR B I Ueh ThHATEl 3T a&] [Aqard | derepl Mg T I8 907
ARTER §AIS, | A TAATHT ITHT FHEE ¥ 99 qrrars A1 AT (Measuring cylinder)
A1 faa g aTserd T #id fAfafaey (m/) 9 8w fede THER |

d=h

IS TEATeTg ST foadT 3@ S&q T ACAEE | AT TISTHT &R arr

MATA e TAATHT AT T 4 IHrers aid 91 |iel (Measuring cylinder)
AT @R Hq s fadic THerd | 9d I8 Faede® aaqral e Tl T A=
AT qIRHTITRT TAAT TR ¥ HETHT J&qd el |

TET AT ARMGURT Grel TAATR] AT AT ATGTRT TAATHT Gearsal Uk [derg qrHr
AT HSTSS, T AT TN ATH SAISTHT F 7675 | TA T3 {q@rg oy et fawenfa e
fEws |

< - 2
WW(V)zg(W rIa)

=§ (AR ATIRT &THA X F=ATT)

2 2
=3 (w2 xh)= 3 (U xd) [-.d=h]
Zénr2 X 2r= gnﬂ

4 , :
Tﬁ?vrroﬁarraa—rr(V)=§nr3 g5 el r = Tl AIATH &l |

%R ) T, wET <




7.2.4 FeER S@as (Volume of hemisphere)

| e a

F FYATH] ATATT AR ATATAH] AT 75, 7 S FAhd T (apy g&qa

(N

NRGIS
HERTATHT ATATT TTATH] ATTTAAR] AT &7, |
ar%iﬂﬁammﬁ-rr(\/)z—;[gnﬁ]

= %mﬁ

REETED

= 21 cm WUHRT TATRT TEHRT AFAT T TSR

T
Tef =9 (d) =21 cm
el AT (V) =2
¥ qgAH (1) =g

21
= 5 cm

2

BEELUILS

>

TRl A (V) = %nﬂ

_ixgx(ﬁf 3
377 %) m

=4851 cm?
I Tqreresl A (V) = 4851 cm?

T, FET €
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TIT AR TATR 201€ 4.2 em B | T 1 em® = 8.9 gm WU Iad Mt fIUg (mass)
T FO, T AMSTR -
THTE
&l ATl 21 = 4.2 cm
1 cm® =8.9 gm

et fqug =2

‘ d
EERCPE IR (r)=§= 4—22 cm =2.1 cm

FAATER, Tl AT (V) = gnﬁ

4
=3 X % X (2.1)* cm?

3
=38.808 cm’
BTHIETE 9TeT 3,
I cm® =8.9 gm
38.808 cm® = 8.9 x 38.808 gm
=345.39 gm

A ATl U8 (mass) = 345.39 gm

BTN

TIaT AT ATHRTLHRT FARLTH AefA™ 3.5 cm © | I &7 FART g ATw © s
qTHTRT AR Fid &7, T ST
U
Tl ARl FGeA™ (1) = 3.5 cm
HLTATRT ATTAT = qTHTRT ATAAT

NEENEIES
FERTAT HUH TR AT
2
V) =3
2
= § X % X (3,5)3 Cm3= 89.8 Cm3

AT arrl Araad (V) = 89.8 cm?

1%¥ ) T, FET €




BEEETED

SR AL AGHT TAT T AR Srefeamage ww: r, T r, B | forefigenr stefeamesnt
AU Fid &, TAT WISR
TETE
WW?’TW=1”,
HLIATR AT = 7,
i

7, =7

BTHITS <Tel o,
TTeATeRT FAGHT &AB (A)) = 4nr
AR FAEH! GAH (A,) = 3mr,)?

TIATETR,
Al - AZ
2 — 2
4nr = 37r,
ERLCH) r_3n
" r? 4nm
2
r1

qFeE FAI: 1 cm, 6 cm ¥ 8 cm WURHT dMBNET AT WAL TSa MNAT aArdar "t
TMATRT AL Fd F7, TAT ST

8 cm | 6 cm 1 cm
THTI™

uEl dfgell el AdATE (1) =1 cm
ST Tkl 9= () = 6 cm

S (93




T TRl AT (r,) = 8 cm
A=t V,, V, V, SR JEeErer
AT TATEER! AT T V TAT TATHN AT S | A,

V=V, +V,+V,
T TR ATATIATS 7 AT

4 4

4 4
3t =gt gt g

4 4
g, g =3 (r} + )
T, 1= [(1 + (6 + (3] e
q7ar, 1 = (1 +216 + 512) cm’

a9, =729 cm?

aga, =729 cm
4T, =9 cm
AT AT TR ATATE () = 9 cm

____Eouwsy

1. UIET TR FEA™ x T WT O SRR

(%) ATl FASH STRA (@) TRl ATTAT
() JITATeRT ST garepr gfefyr (&) TATRl TAT IABT FTRA

2. USQl WA Al gAqHI HARA g A THE G | TR Jdedl AR Ol
TSR |

3. U3l TR aed da%hd 4y a0 THE G | S AATdTs (66 ATl g4 0
FTEaT g7 TIaT AT RN AAEH AR IdqT RMSTad |

4., U3 TATH Al AR GARA p A Tpls AT THH TN FAgh! &Thd ol
SR |
5. U3 AR &8 d cm WU T TSR :

(%) TATRT ST TRl TRIT (@) TTATRT Al bl &Thd
(A1) TTATRT AT (°) WA AABhl SARA

%% ) T, wET <




10.
11.
12.

13.

14.

15.

16.

17.

18.

AT (TPE Leather - Thermoplastic Elastomer Leather) Sra9de
U 7 Il SR | )
g = 10.5 cm

Kazakhastan % Noor Alam ¥&®I Kazakhastan Pavilion and Science 997 T
ATHR ATHRB S | T edT G 2017 a1 100 ATl 98wl GeATNTaraT {1
TSI ATHT 4T | T MeAThR gl =g 80 AR © | TIeh! dAife<r Ide fqare
URTHT B AT (ATl URTR AEH &% aAqT AS e |

faguant M T ST Gagat SRS T A T AMSTRY

() @) M )

<«14cm —>

TIEl AR TeAhl 2ATH 35 cm & A I oTefhl AABhl A T AIAT Il
TSR |

TR AT FAFl TR 44 cm T | THHT TN TAH &AFd AT AMITRH |
I AT TEH] W FATH &THd 2464 cm® AT TUET AT Hd &7 7

T3aT TATRR a&dHbl AFdq 38808 m® WU THH AIAH Hid g=g 7 Il
TSR |

(F) TSl AGAATH T FAH &F%Rd 24371 cm? 9C THH AFaT gl
SR |

(@) TI AR T&H] AT 23041 cm® & | THH! FAgh & Il
TSR

TZHTR! AT AT TR SATAH T AATE G A [qAIewad] TAZHT ATHAR]

AT Il SR |

FRF T, T ARSI |

T3l MATHR IqTATS BTdT A AGSATH 7 cmaTE 14 cm TATSET AR TAEH]
AR ATITT I AR |

HIATE HHM 2 cm, 12 cm T 16 cm STHT AT TATATS TR TIE el
FATS ST I TEATHl AT Hid gvs, T AR |

T3l ARMATHR T&IH T TAAeH &Ahd 2431 cm?® B | TG aRfaer T
T YA I NS |

ahre, e € ( 9s0




A

I.

TIaT ATl AT I (e ¥ 9 TAdTs (&% ATl g FlaAerd |
Al ATFAT BEISTATE HT Tl AT SRTATR] ATH AUH T ATH SRR IS
AUH Tl TAAT TATSHRIH | TS, AT FICTH! FAHT T AR TAATHT
GITITE | Hq JIHAT Iad ddq] ARwg, TA7 ASHe™ | I8 Fiharer
HATIRHAT IAATH] AT [HebTerd AP FANTEATE HALIAT FAT AT AT

[T 7 @rSil TR |

T3l TATHR FRTCT (AR | A FRIATATS (& SATET g Flederd | Ja
AT FGTATHT TANT T TATRT SAT I SRTEX T 4 3T I HIIrHT
o TRM | 9 FEAG! AR GIER IE JAeEHl e SR | a9
gfeRaTeTe & [Mhy [epTed dlchrg, 7 HeITHT J&qd Tl |

IIIFT ASEATHT THEe® (MHIT TR | ToUd qHee AThRAT [aarerdd T JUH
Fadd, AEhedd ¥ Aidad @ioiald | I4d Baad, aribaad I Alaeed R
TAeH! AR ¥ ATIAA IO Mg FEATHSTH] T&d T ATTHT HRlaars

~

JHA FHE TIAT Yiqaad Tar e |

— Ea

1-5. RreqepeTs IETSHE |

15. 8 3«1 16. 1: 4
17.36 cm 18.56.57 cm, 1527.43 cm?

1386 cm? 7. 20114.29 m?

(%) 616 cm?, 1437.34 cm? (@) 616 cm?, 1437.34 cm?
() 7392 cm?, 45994.67 cm? (1) 1848 cm?, 5749.34 cm®
3850 cm?, 22458.34 cm? 10. 462 cm? 11.28 cm
2l m 13. (%) 1527.43 cm?

(@) 1810.29 cm? At 576w cm? 14. 1:16

1%z ) T, FEIT <




fafaa s

1.

[CELEAREREEARSELE RS UIEE G
() (@) N
o 13 cm N 15 cm
V)
0
Z,
21 cm ‘90122

Teh ST SATATE ATHRAT TRebT T3l T5eh
FISTehT STEHT P HT T@TT Tt TIaT FaaT
FATCHT Gl | I 2l qAr3" Hlee
9cm, 12 cm ¥ 15 cm 9U&T 28 AaT
TSR arade® TANT TRUH @ | Jid
a1 A9 F 10 F T I famggrea

STHAT i @9 AT, T dSTerd | (
U3l 3 IAATH] deh Fdgehl A I
SAR el Tl I Faeehl g5 IO

HARAGT SRER @ | alg Jad TeAATHI
TJh FAeh! FTRA 616 cm? U TRl

AT ARITHI TFE T I9T8 IdT AR |

U3el Il X HABH &ARd T dh Hdghl &ahdhl H¥h 308 cm? & 9
THeH ATIRH AT T TRHT IAT AR |

U3l S IAThl HAA Al &A% 1232 cm? B | bl ATIRRT dedeanyg
T JETE &Y e A Hl dAATRl AT IT A3 |

9
2

2

TIET TEATHR GTeebl TN TABHT &GAHA 616 cm? & | Jod TATRT TAT Iebl ATH
ESIRCRICE P
Q\ \l

—5cm —

TS 12 m T =g 10 m TR HIEHT 2 m X 1.5 m &1 T3l bl T 1m x 1.5
m T FRATS I G | AT I FTHR %180 FT A =R (ATHT I8 ATMTS&T
% 30,060 TR T FISTH I=ATS Bl g 7

A —— ( 9se




4 cm

() 4 cm

4 cm

4 cm

4 cm 4 cm

9 cm

4 cm

fagus fswaT QX aaget St T Aad O SIS

10. feguar ®EH "1 fq & @fefiey ©180 F XA TR T@EHT I AMS

T FfT @ AWD ¢
=) @) <40 cm  —>
|
21 cm l 14 cm
<«—40cm —
1. (&) 126 cm? (@) 89.29 cm? 2.%. 15,120
3. 44 cm, 14 cm 4.14 cm, 44 cm 5.8624 cm?®
6. 14 cm 7. 7392 cm® 8. 4m
9. (&) 592 cm?, 720 cm? @) 132 cm?, 60 cm®
10. (%) &. 5,99,940 @) % 8,55,360
190 ) T, FET €




3fcichdl I Aol

s 8 (Sequence and series)

8.1 TAA«® (Review)

fegua Ty THEE SEERT T SR AGTRI

(&) TEgUeRT GI=THT AT TT Hid & 7
(a) 2,4,6,8, ...
(b) 1,4,9,16, ...

(@) U3 AZFAB TSUTH TRIGH TF15 1.5 m @ 94 I LU IdF Ieh
bl TTSET Pl Tk TEHAT TR T 4 O [GZTHT &, o ATAr ThAT IX T
T A BT ? 9T ARSI |
1.5m3m,45m,6m,7.5m,9m, ..

(@) JET ® 500 FiaaT 10% T 3l AR ST qTg 1T SgehHT STHT TR, A9
afger, 9T, TET T WG] qURT AT TG AT [G2UHT & | AAAT T qr=f T
Fat ATERN A=A qTSH AT T [SUHT SR ATIRHT IAT AR |
5. 50,%.100,%. 150, %. 200, ...
AR THATE AAT T Tl AUH TGEIT [o=ehl] TH7d 5 Taewiadh] Fid
7 fafy=ra fraeen © fF 87 Far gawa TR |

8.1.1 sf@®a 9= (Introduction to sequence)
@

® [ X
LJ o0 000
[ o0 000 0000
o 060 0090 0000 00000

AT Foraa T U3ar fammadest wear 9 & faendiel Ted T3 T=ales® [HATR ST
g ar |

(%) TchE = AUH [Tl ST Il A3 ad |

(@) Rl AT =T IR |

(@) & WG g=1 M= HAAT AR G, THEHAT FATA Tl |

F GEEIH THEATE Ugel Mfy=d af=rdr afeusr § 99 agars aqsy
(Sequence) A= |

P (99




AT FHATSURT Teaewd EFET d6g ggele® 1,3, 6, 10, 15, ... AHAF T3l
JATET &l |

AR TAT TaE® A= quAT fHfv=ra @M% ¥ (Finite Sequence) ¥ T5e® Afd F T 9T
q= qqibAaTs A= %A (Infinite Sequence) AH=E | AH TeEAT ATH T
AT TS Al A hAATS M= ATFHH T ATTH T8 IA7 AT (B ATHAATS
A= aH =g |

g8t 1,3,5,7,..., 15 fA=ra ss%¥ (Finite Sequence) & T 10, 20, 30, 40, . . .
A= AT H 8l |

BT

4,7,10,13, ... 91 9T T 2T 08 & ® W, T TSR |

U
et 4,7, 10, 13, ... 97 ST TSEATH HHA TIT ST TATSS, TAH! Ugedd] g ATeeedl
TEHwET 3 o FE1 @ | AAA T qeATST 98 FHAM 13+3=167 16+3 =19 g |

8.1.2 |rEaRY 9T (General Term)

BT

4,8,12, 16, ... T3l ATHH &1 | THHT ATIRHT TAFT JYTHT SAHA Tl -
IHT ATFHBT 25 AT IF BT & ?
IHT AAHTRT 99 I IT HieT &rer 7

| e
T fGUHT ATHIAT 1 FT A 1 F1C T aT n AT I (bl qARHT & &l 7 FAR
TR |

HTHH n Y TR G
1,3,5,7,9,11, ...
1,4,9, 16,25, ...
1,8,27, ..

e I AAHAAT 1 A TIHT AT ATFHFT TIEEbl AT AT T (Heprert
v, | IHT 0 o T8ATE ATFHTRT AR 98 (General Term) 9w, |

9% ) T, FET €




BEEEEEE

feET srsRHaET 1 3T UT O TSR
7,11, 15, 19, 23, ...

AT
7et fagURT ATHHAEFT Tafawerl BRpellg qeATT T :

7 11 15 19 23
4 4 4 4

TEl, TIEw [T U 3R 4 T | A 1 AF TG WeT 4p B FhATEE qF 75
| TEART GraTaTs FeaaT IR |

qleddl 92 (1)=7 =4x1+3 =7
afeet 9% (1) =11 =4x2+3 =11
qiedl 99 (,) =15 =4x3+3 =15
afeer 9% (1) =19 =4x4+3 =19
qiedl 99 (1) =23 =4x5+3 =23

nAIT ()= 4xn+3=4n+3
. fesuer g werae MRl p A 9T aa =4n + 3 @ |

BEEEEEE

af ATEMRUT 9T (¢,) = 2n—1 WU IFq ATERUT TEHT SMEMLHT TEAT 5 ST 98 T e
STHHAT AR | FET 7 A TTehids e S1NE |

THTE

gel t, = 2n—1

e p=17ET, =2%x1-1=2-1=1

n=2%&l £H,=2%x2-1=4-1=3

P ( qes




n=33@, ,=2%x3-1=6-1=5
n=43@, t,=2x4-1=8-1=7
n=5%@I (,=2x5-1=10-1=9

S 3HT qgeEhl AqhA 1,3,5,7, 98 |

L Eousse
1. = fgust Seamn 9u € 0@ A I SSTR

(@) 1,2,3,4, .. (b) 2,4,6,8, 10, ...
(¢) 5,10,15,20,25, ... d) 1,2,4,8,16, ..
(e) 22,20,18,16, 14, ... ) -8,-6,—4, ...
14710
(g) 27 57 97 147 207 (h) g’ g’ 7’ 9 > e
2. o= fofea sameest Aot @2 (1,) 1 SR ¢
(@) 4,6,8,10, .. (b) 7,11,15,19,23, ...
(c) 2,6,10,14, 18, ... (d) 25,22,19, 16, ...
14710 258 11
(e) §a §9 79 99 (f) 7: 85 93 103
24 6 8
(g) 40,38,36,34, ... ® 2% 17 14

3. a« fegudr aremuT TEEEHt aigd 5 UE T ASHR ¥ At UEATE SehHeEST TUHT
TRE | 'n’ A TH{TEH TGEIATAE AAED

(a) tn=2n+4 (b) tn=3n-1
(c) t,=3" (d) ti=n"-1

) ti=(C1)y.n ) tn=n’+2n+3
(g) t.=3m*-5

4. A feTUF I HLUUA TR A AT qF LT SASTRY T ATET 9T (¢,) T

) AN

TSR
(a) WANVAN

NN
NN

19¥ ) T, FET €




—

. (25,6 (b) 12,14  (¢)30,35  (d)32,64 (e) 12,10
) 13 16
H-20  (©27.35 (013

2. @2m+2  (b)4n+3  ()4n—-2  (d)28-3n (e);’:ﬁ
1

3n— 2n
=L @e-m m S

3. (a)6,8,10,12, 14, ... (b) 2,5,8,11, 14, ...
(€)3,9,27, 81,243, ... d) 0,3,8,15,24, ..
(e)-1,4,-9,16,-25, ... ) 6,11,18,27,28, ..

(g) _23 77 22, 43, 70,
4. RIEHATE TSR |

8.2 Syt 9= (Introduction to series)

TAHT JAATS THEAT FATA MBI -
(F) TR 9T (£,) =2n + | TTHT TAHAAT qeeT 5 AT Ie&ATs Sgal Hid arel 7
(@) & A5 G TGERATS £ + L+ L+ b4+ 15 T ATbs, 7 AFATS % A &rell 7

AAFHFT TGEEATs ANTHAHT IH] HFd TRCAT TAATS Fod ATH TG FrIfeeret
SO qi=g | T9ars 'Y (Sigma or Summation) FEANT TR U7 W@ |
& 7,11, 15, 19,23, ... TS AT &7 | TqAT Feetead HofT,
T+11+15+19+23 + .. &8 |

BT

e FATUROT 92 (t,) = 21 + 3 WOHRT JTHART

(@) dlEdl qrersiial 9ahl |9 9d] TSaerd |
(@) A G=EAE 9gh ARTEHA Il TS |
@ IE Aofrars 'Y R 9ART W dETa e |

P ( quy




U
(%) F&l IR 9T (£,) =2n + 3 | n FT AH FAMC 1,2, 3, 4, 5 7T,
Hh=2x1+3=2+3 =
HL=2%x2+3=4+3 =7
t,=2x3+3=6+3 =9
t=2x4+3 =8+3 =11
ts=2x5+3=10+3 =13
@) i+t ittt s
=5+7 +9+11 +13
=45

5
(M) W?ﬁﬂﬁﬂﬁyﬁﬁﬁmnﬁm;zn+3g@|

BT

HH T SR
26:(2"+1)
n=1
THEE
Y+l =QRADF@RH DA DA D) 25 F(20+ 1)
n=l =2+ +@+DH+@+DH+(16+1)+(B2+1)+(64+1)
=3+5+9+17+33+65
=132

1% ) T, FET €




B e s

(a) ATHHH TRATIT IeTEREET AeTald |
(b) | T Fuifa=r fa=rar s@rsed |
ae fezua aeh sew T Aoft 9 g1, SaaeTRE ¢

(a) 3,6,9,12,15, .. (b) 2+4+6+8+10+...
3

© 4215 1 @ % @n+1)
n=1

() 1+4+9+16+.. () 1

3. W UA SWGREE
4 6
(a) Z:O(zn—l) (b) 222(3114-2)

3 10
@ Y @+2n+1) (e Y 5n
n=1 n=1

8 5 /2n+1
@ 3 (7-2) ) z=1< 7 >

4. 7 faguw Auiee Y faew i T e

p—

5
(©) Zzl(n2 +1)

4
o 3 ()

(@) 5+7+9+11+..+21 (b) 2+4+6+8+10+12
(©) 30+25+20+..+5 d) 1+5+9+13+17+21
(e) 1+4+9+16 () a+ab'+ab®+ab*+ ab?
—
1 - 2. Rrerrarrs sETSTe 4 |
3. (a)l15 (b) 70 (c) 60 (e) 275
(0355  (g) 187 (h)%
9 6 6
4. (a)> (2n+3) (b) > 2n (c)> (35-5nm)
n=1 n=1 n=1
6 4 5
@ % @n-3) @Y DX @)

T, FET €
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8.3 ATHFAT ATHH T AW (Arithmetic sequence and series)

FATIH T [aSURT (TTe®mdh! Fremd AT Tl

el gien qeaaw TRTHUTS, FEAT HXAT FIT ATCHT B, SAH T Alehrag, | T

(F) AAEEATS ATHHAT FAU AT b, ?

(@) ATATEER TG FAT AT U G 7 FH (A AT AMSA Alhes;, 7

(M) o TS qeEE (e g9 9g) HEL Gl NI Alhuar ?

AT ARATT FTAT qUHT qTaAredrs wHT: 1, 4, 7, 10 99 T s, |
THATS AAHTAT JET 1, 4,7, 10§75 | T8 ATHHAAT JUH JS&IT a7 95 3 of TG TTH
B AT A AR 3 B | WK 10-7=3,7-4=3,4-1=3

g T FHe® 5, 10, 15, 20, 25 T 50, 45, 40, 35, 30 T FHT =T & Hid g,
ESICHIECEEN
T FH ATHHABT TAF IT Aeledd] TaqwaT M= g gga a7 Tde TTHT =T
HAFHAATS ASTHITATT ATHH A | ATHAAT g1 Aldedl Tavwal del a1 =l g
fafo=ra Teearars THE =R iy | T AgETT dE A 15, 25, 35, 45, 55 |
U A= 10 575 | FTFH 100, 90, 80, 70 T AT F=T —10 &7 |
HHATATA AR HAT T A=ARATS ‘(' T el T8, 6T Ig, J9T1 I%, ..., n o I8ars
FHM 1, 1, 1., { T TGS, |

AE 1, 1, by, b, { T TIAT ATEAAT ATHA 9T,

U R (d) =1, — 1, t,— 1,1, —1 &S|

S =t tt,tt, .. tt T

HIROAAT d =1, — 1, &5 |

19z ) T, FEIT <




8.3.1 ASTHIUAT ATHAB &R I

AE 1, 1, 1, byt 1 TS AR AAHH AT,
A A= (d)=1,—1, TB |
‘J%T*I\TW(tl)Za =a+(1-1)xd
WU (1) =a+d =a+(2-1)xd

dA G (r) =a+2d=a+(B-1)xd

n#uT (1) =at+t(n-1)xd
;. AGHIOAR AARHAB AERT 98 (L) =a+(n—1)d T3 |

BTN

Tl UF Y AT ST T et T T X0 (Feet A1) Fesi@r ©
3,6,9,12, 15,18, ...
IHT TTAATAT el ATSATHT TR T T 4T i g qg 7

QAT
9 FT 3,6,9, 12,15, 18, ... & | AT AHAONT FTFT 2T |
afedl 92 (1) =a =23
THA F7R (d)=t,~1,=6-3=3
9,
n#IT () =a+@n-1)xd
=3+(n—1)x3
=3+3n-3
=3n

TS AT U AT F IEATHT ST 3p0 fthe T IR T |

P ( qe?




8.4 SAMAA ATHA T A (Geometric sequence and series)
QaAYIH I [GZURT ATHHAB] ATAT TR -

2,4,8,16,32, 64, ...

2,6,18, 54, ...

27,9,3,1, %
TAFT TEAAT FABA THRE -

(@) ATHHEBHl T HIL T G ?

(@) ISP ATHAAT HHANT TIEwh d=d aReR @ {6 I ?

() IcdP ATHAAT FANT Taehl FTATT Hid Bl Bl ?
(%) U Ygald Aehl U ATIH (TH &% Bl ?
HITIHT AR TAT AN ®THT ATSH TIhT IvY SRER I | AIA A, HAN

qEE&H] AT (HebTeR B el |

2 4 8 1
6_18_54_ .. _,
2 6 18

TET TUF AR B HANT Taewed] JaTd U B | TEAT A Aars SATAAT JTHH
Awg, | STAATT TR T Frtegd Sufieearg At S wfqws |

TE, 2+4+8+16+32+64+ ...
afs st s eAEEr o @ 9% (1) T (n—1) I 9T t,-1 T FAW A t:: g |
Lh+tb+6+.. +t, TS SATRAR ST &1 | STGHT 1, b, ..., 1, SATHATT ATHTAT IS, |

8.4.1 SAMHAA ATHAB AR I

A i+ttt T, T3 SANHA AH 9T,

b tn
= (V) - F - tn—l

TGN 97 (1) = ar = ar*!

IJIT 98 (t,)=ar =ar

n ¥t ag (t) = ar'

. SATTHA AR AST AR 92 (¢,) = ar™' &5 |

150 ) T, FEIT <




BEEEEEE

e AR TTHAT T 200 THA T TRATG TAF THH Fqw 10% sur=Efea g
SgHAT THH AT et 3w avufis Ff gv staen ?

AT
TET F ATHT THHT &, 200 THH THAT TRATIT Tk qehT T 10% Srsiaied
g ATI ThAATS ATHAAT IERT (ArATdArgd qfeehrel e afeh,

[STFAT T 7oA =%, 200]
200, 220, 242, ...

. 20 242 11
FET AT AT (1) = 2007 = 220 ~ 10

I AT 39T TG TSHAT T TEAT &I 397 qUUMS g ATST THH,

to = 200 (1—;)10_1

=% 200(1.1)°
=% 200 x 2.36

=%.471.59

BEEEEEE

FETHT SIS AT SATHATT FHAAT B ? FIRUTEGA AT -
(a)4,7,10,13,...  (b)3,6,12,24, ...
AT
(a) 7T,
afeel 9T (1) =4
TN 9T (8,) =7
T 9T (1) = 10
Lh—th=T7-4=3
St —1,=10-7=3
TH ATHAF] FHART Tageehl AT TATT Tl AT AZHEAT AAHH 2l |

P (99




ASHUTAT T 2, 7, 12, ... BN FA T 62 D ?
T
(a) 72,
gieel 9% (¢,) =2
9T 9% (1) =7
Al o A 9T (2) = 62
Tg Ige (n) = ?
A 9 (d)=t,—t,=7-2=5
BTHIETE 41T 3,
ERYT 9 (¢,)=a+ (n—1)d
qIdl, 62=2+(n—1)x5
qd, 62-2=(n—1)x5

ERCIR 65—0=n—1

qger, 12=n-1
41, n=12+1=13

;. ATHEOTEE AR 2,7, 12, ... F 13 30 9% 62 &5 |

9aR )

T, e €



BT

T ST SIeRHaRT 6T 0 6 T TiEt U 162 WU IT SITRHEAT T6[ 08 TH1 ASTRW |

THII
T 9T (4,) =6
=t TE (1) = 162
=41 9% (o) =7
ETHIATS 9TeT 3,
HER 9T (¢, ) = ar*!

SoL=ar

QU (i) A% (i) o AW e,

ar' _ 162
ar 6

qgar, 2 =27

r=§/27

Sor=3
FHHI (1) AT 7 = 3 T,
6 =3a
La=2
ad,
9T I8 (ty) =ar
= 2.(3)9
=2 x 19683
=39,366

T, FET €
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. Eonexy

1. fouw smwd T Sufmed agwfun ar safeda &1 g1 ? wuERd

1

(a) 4,2,1,2,... (b) 4,10,16, ...
) a,ab,ab?, ... (d) 6+12+24+ ...
(c) 30+27+24+ ...
2. Ifg TIAT AGHIMTATT ST TUT Ug T 41 I A 9 ¥ 33 T 5T Fokd H0iTehT
qrE I8 9T TSR |
. ST WHH 2, 6, 10, 14, 18, ... 1 THE A== T I 9% 94T ST |
4. Afg uger ugHnTdr SRl ST 9 20 ¥ @At 9g 35 WU 9 9g O«
TSR |

5. x—1,x+2 ¥ 3x AZHOAT AAFHHAK! el AAARET IZ A4 99 x B A
fAepTelr dfedl 9% ¥ 9= 99 991 ATSHE |

6. HT AGHICATT i G qE 17 T AT UT 26 AT A WAME U7 44 &€ 7
7. AT dM@EH 12,6, 3, ... BT GEM AFITT T TET 9T 94T SR |

8.  fe UIar SHUMHATT SUiehl 219l T Ii=il I8 hHT: 6 ¥ 162 WU Fod Skl T4l q2
EIRCRICH N

9. z+46,2 Tz 3 AMHAT ATHHAFT el AFAET 9T AT z FI AT I qME
TN T T8 I SR |

1. (%) S (@) AGHIOTATT () ST

(&) ST (3) AGHIOTAT
2. t5:17 3d:4, to= 38 4. t10:50

5 3 27 _ ! 3
5. x—i, a—i, 15—7 6.n=14 7.1’—2,110—12—8
8. 13,122 9. 2=6,1,= 3

ic¥ ) T, FEIT <




A0S IhHIOI

(Factorization)

9.0 TRaA®T (Review)
IIIFT ASATHT THEHT a&ed | YU THed dadl (99 dddied THed | THeHT
BN Tl’?l’ A%l 9qdr t'l‘ll\'i’l‘c‘:l%l\? b dTHT & d { '_‘ig Q:L3

< a+b > A AT
«—Aad——><bh» T
N
T ach S )
a a a l (a—Db)? T a
l a? ab a+b A l
------------------- A b(a—b) Ib
M » | Y 31) - 6
¢ J <«—a—-b——> <«b>
<_a—><—b—> a i
T (a) = (b)
I 11
D a C D a
X x2 x|x |x
x+2
a a? —>a b 1 X 11111
b| b? 1 b 1{1]1
A B
A < x+3 >
= (¢) ot (d)

9.1 (a+b), (A+ b)), (a—b)PT(a— b)) &R ATHATHH
guetae (Factorization of the expression in the form of
(a+b)’, (a°+b%), (a—Db)’ and (a’— b?)

9.1.1 (a+ b)’ = SHTHATT FFERUT (Geometrical concept of (a + b))

BT

faamdies ITTET ASRATH THEHAT [T g | T THEd Uk THATAT e (Horl
TR A a7 90 & [qqerd | giedl (gan) o see seq T awrg, e
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T IEEATS a:b H AIITAT (8d TSR | A =8 aUH! r3ae HeAard |
FITATE FEAT FHEAT AT e IS, THEHT AR LI (TSR FHETHT TEd Tl

/ a
a b |b a
D
y ¢ bo1b
\
(a+b) . — a
A
i
4@
<—(a+b)—>/
a b a b a b 7 % b D
a a a
a a a

JIF ThTEwd PITPEc ATIdT TNl NTSHerd | Sl ATadd ¥ T IehTewmehl
AAAAH ANTHAH G¥a=d F&AT AT FHEHT FA®A T (TSR HETH] TEA Tl |

ST A A F F ETEr @

AP AIAT = G THEEH! ATATAR AR &7, |

AT (a+ b)Y =a>+ b+ aPb+ aPb + b + ab? + ab? + ab?
=a*+3a’b + 3ab® + b}
(i) (atb)y=da+3a’ +3ab*>+ b’

(i) (a+b) =a’+3ab (a+ b)+ b (FH T TH T4 3gb AT+RT fan)
(iii) (a+b)’=(a+b)x (a+b)x (a+Db)

9.1.2 (a—b)* & sarfhe sr@emun (Geometrical concept of (a — b)?)

BT

JIIHT TGEATHT [F2T4eh e [HH0T TR THeHT &2 | Yo% THed T3l ara a1
TATRR 31 & [Aerd | STl I (hARTH qw s ‘o’ [ e | 9% [ b’
ThTS FEg HLTQY M AT~Ed |
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IHT TATRR qEIATs [FFHT I@ISUHN J@ETE 8 ATl THTAT FIEARE | TAF ThTh]
AT PEATgEd TNl TSR | HHH ATAAT T A IhTehl ATATAR! ATTHAH]

TR FE AT THEAT FATA T AR HETHT e D e—
TR T | W A B A A rra e s o~ (b)) _>2%
o, I TR AT = T ThTHl ATATTHT TRTH a b1b /l
@ =(a—bP+ b+ (@—by b+ (a—brb+ \
(a—bYb + (a—b)b? + (a— b)b* + (a— b)b? a
= (a—b)y + b+ 3(a—byb + 3(a— b)b? I
= (a—b)y +b+3b(a*>—2ab+ b*)+3ab’>-3b* | — 5 4 bhe—1]| b”%

=(@—bY + b +3a% — 6ab’ +3b +3ab® —3b* T > 4
= (a— by +3a®h—3ab> + I’

q94d1, (a — b)’=a’ — 3a’b + 3ab* - b*

a-b b
a-b b

a—b) b

|

|

a—b b a—=b b a—b b

=a®—3ab(a—b)— b* (". TG T TAT IEAT 3gb ATHRT [ATHA)

(&) (a—b)=a*—3ab*+ 3ab*> - b*
@) (a—b)=d —3ab(a—b)— b’ } TR &9
@ (a—b) =(a—b)x(a—b)x(a—>b) g Gurea &1
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9.1.3 (a’ + b’)® ATt &1

BECEED

SIIH TSI 99 A0 THed | 9% T9ed (a + b)Y (a — b)) &1 SATHAE
FTIRUMTATS TART T (@ + b°) AT BTHT TEIHT AR T T&qd THard |

T2l, e C & J&qfaars Ggudl §
EICIEARI
(a+by=d>+b*+3ab (a+b)
a9dt, (a + by’ =3ab (a+b)tda*+ b
A4, (a + b) (a + b) — 3ab (a + b) = @ + b
q94T, (a + b) {(a+ b)>—3ab} =a* + b* [ " (a + b) TAAT AT ATHA]
9@, (a + b) (a*> + 2ab + b —3ab)=a* + b* [~ (a + b)* & T TINT TaI]
a9gdt, (a + b) (a>—ab + b*)=a* + b?

(1) a+b*=(a+b)y’—3ab(a+b)
(i) a®*+b*=(a+b)(a*>—ab+ b

9.1.4 (2°—b) M qelia &7
ETHIATS 9Tel B,
(a—b) =a*~b*—3ab (a—b)
a94T, (a — b)Y+ 3ab (a —b) = d® — b
a4l (a—b) (a—b)* +3ab (a—b)=a* - b
@ T, (a— b) {(a—b)*+3ab} =a*— b [+ (a — b) TIAT AIHT fefar]
g4, (a—b) (a*> —2ab + b* +3ab)=a* - b*
a9, (a — b) (@ + ab + b?) = a* — b}

(1) @-b=(a—b)+3ab(a—Db)
(i) @ -b*=(a—b)(a*+ab+ D
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BTN

A TART TR (x + 3) FT G99 TAT TSR ¢
AT
(x+3)® °q
=(x+3)
=(x)P+3-x2-3+3-x-32+3
=x3+9x*+27x + 27

BT

(X — 2) F1 &9 91 TSR -

QHT

el (x—2) & =
=(x -2y
:(x)3_3 .x2.2+3 .x.22_(2)3
=x’—6x>+ 12x -8

BEEEED
QUETHTUT TR :

(&) (Bx+5y)
T

9

gel,

Ea + by =a>+ 3@+ b+ b’ |

@— by =a* -3ab +3ab> - b |

@ (2x-"7y)

(@) (Bx + 5y)* = (3x + 5y) Bx + 5y) (3x + 5y)
@ 2x—=TyP=2x—Ty) 2x—Ty) 2x—Ty)

REEETED
@U@WT@'{:

33
(@) 8&x*+y* (@) £3 _ 4
T p
QHTIE

9

aet,
(@) 8x*+)y?
=@+ ()
= Qx ) {20 —2x -y + ()}
= (2x+y) (4 - 2xy +7)
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[ &+ b= (a+b)(a®—ab+ b?)]
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e
(29 { §J2+(%j2+1
D5 4]
G-
C-9)|(2+] vy}

|

B o

1.

A FART TR AR ATHASTHHT T T TSR -

(®) (x+1) @) (x—3)

M (x+4) (%) 2x-1)

@ Gyt @ (3]

aat feguan sifwersstaene faeaiva &0 deRE -

@) (2x+3y)P @ (5a-8by

et feguaT sfierswaae (a + b)? F1 ETH ACEH :

@) 274+ 108a’h + 144ab* + 64b°
@) 8x*+36x%y + 54x)* + 27}

7 fegua afrerswiaeg (¢ — b)® 1 TUHT ACEW :

() 64m> —48m*n + 12 mn* — n?
@) 125p* — 150p°q + 60pg* — 84¢°

20 )
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—

A

ad feguaT afverswaa! GugiaTuT TR

(&) &x*+27x @) X+ 8y (M) 1+ 125x°

(') 8x*+ % (3) (a+by+1 = X0+ 0

aa g sfierswwa gudteTor TR

(&) 250m*—2m @  xy—64* () 64p°q® — 125

(&) (a—b)—8(a+b)
T3aT x ft [FART AR TSN UATHR H1SH HEraTE 7 ft THIg AUl TAIHR Tl
FTX HTeIA(g IHT FISH HETHT I TAMRE H1S aAlehl 7@l ardl (x > 7 ft) 7

@) A3+ @ - +27x 27 (M +12x +48x + 64
@ 8 —12x%+6x—1 (3) 27y +54y°b + 36yb* + 8b°

153,73
) 8x—4x+2x—1

@) 8’ +36x°y+54x +27y @) 1254’ — 600a’h + 960ab’ — 512b°
@ (a+4b)’ @ 2x+3y)

@ (@dm-ny @ (5p-2¢)

@ x2+3) (@ -6x+9) @ (x+2) -2y +4)

| |
@M (1+5x) (1= 5x +25x%) () (2x + ;) (4x2 —2+ )7)

@ (a+b+1)(@+2ab+b —a-b+1)
@0+ (- Y

@) 2m (5Sm—1)25m* +5m + 1)

@) y(x —4y) (x2 +4xy + 16y2)

M (4p*q-5) (16p°¢* +20 p*q+25)
(@) —(a+3b)(7d"+ 6ab + 3b%)

(x* - 343) f
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9.2 a*+a’b?+ b* EEIHT ATHASTHH GUarhw (Factorization of

the expression in the form of a* + a?b? + b*)

BT

At afaersste a* + g?b? + b* ATE FHT GUSTHU TH Jibrs, AT qqT FARA

T

&l at+a?h + b
= (a®)* +2a*b* — a’b* + (b*)?
= (a* + b*)* — (ab)* [ (a+b)=a’+2ab+ b?]
=(a*+ b*+ ab) (a* + b* — ab) [ a*—b*=(a+b)(a—Db)]
=(@*+ab+b*) (a*—ab+b?)

a*+ a’b* + b* = (a* + ab + b*) (a> — ab + b?)

| a2

AqeT==F a* + a’b? + b* A1 TRATHATT 1 |7 TXAA TRUHI ARFTHRT (q qieehre
QUSRI T AThg 7 ARAT THEHT FARA THe | Th THEA Tl Bl qH
e TER =
a4+a2b2+b4

=(a2)2+(b2)2+a2b2

= (a* + b*)? - 2a*b* + a’b? [ a®+b*>=(a+ b)—2ab]

=(a2+b2)2—a2b2

= (a* + b*)* — (ab)?

= (a* + b* + ab) (a*> + b* — ab) [a®>—b*=(a+b)(a—Db)]

=(a*+ab+b?) (@*—ab + b?)
HITART JEATTHT ATATEF 4 AUH TGeedrs 91 @l @2 + b*H T (a + b)? — 2ab
AT TRTHT B |
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BEEETED

GUSHTT TR, : y* + 7 + 1

QHT
gel 2+ 1
~ PO
=0*+1)72-221+)? [ a®+b*>=(a+ b)—2ab]
~ (IR Y
=0 +1+y) 07+ 1-y) [ @ —b>=(a+tb)(a-Db)]

=Pty DH0OP-y+1)

REEEEED

P + 64 FT GULHT TR :

QHTA

?J%'fy4+64
= 07 + (8
—(P+82-2-)7-8
=(0*+8)Y-16)°
=07 +8) - (4y)’
=(*+8+4y)(1* +8—4y)
=(0*+4y+8)(*—4y+28)

REEEERD
GUEIHT Te : 494 — 154ah* + 9b*
THTE

T2t 49a* — 154a°b’ + 9b*
= (7a°)* + (3b?)* — 154a°D’
=(7a’ +3b%)?* -2 - 7a° - 3b° — 154a°F’
= (7a’ + 3b%)* — 42a°b* — 154a°b’
= (7a’ + 3b%)* — 1964°b’
= (7a’ + 3b%)* — (14ab)’
= (7a° + 3b° + 14ab) (7a° + 3b°> — 14ab)
= (7a’ + 14ab + 3b°) (7a° —14ab + 3b%)
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REEETED
GUSIHT T : p'—3p°+1
THTI
Tet p? —3p?+ 1

=@+ 1)y -3p’

:(p2_1)2+2.p2. 1_3p2

==y -p

=@ -1y -(@)
=@’-1+p)(p’-1-p)
=@’ tp-DH @ -p-1)

GUSHT TR §+f72 +1
FHTI
‘
}7+)7+1
2 2

[ a?+b? = (a— by + 2ab]
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BEEEETEN

x> — 10x + 24 + 6y — 9)* T GUIHIUT TR :
AT

x?—10x + 24 + 6y — 9’

= @)P-2-x-5+05)P-05) +24+6y—9”

(x—5)-25+24+6y—9)7
(x=572-1+6y—97
(x =5 =(1-6y+97)
(r=5y={(1)*=2-1-3y+ @3y}
(x=5)*=(1-3yy
x=5+1-3y)(x-5-1+3y)
x—3y—-4)(x+3y-106)

B o2

1. QUIHIUT TR
(&) x*+x%?+ 7 @) 16x*+7x’+1
([ 16x?+ 36x%)7° + 817 (] 4m*+ 35m*n* + 121n*
(@) 484’ + 10842 + 243b° @ 32"+ 720 + 1624°
2. QUSRI
(®) x'+4 @) 4x*+ 817
M 64de’ + f* ) mt+ 4n?
(3 8lx*+ 64y* (=) y*+ 324x*
3. feuat sfwerssaane @udiaoT TR
(&) x*—5x%7 + 47 @ x*—22x%7 + 9y
@M b 367+ 1 () 25x'— 34x)7 + 9y
(3) 49a*— 154a°b’ + 9b* (&)  25a’b —9a°b* + 16ab’

P @K




(% m—4+1+—4 4+L+1
) A 7 @) y y4
4 2 4 2
a’ Sa
M a-gr T4 (%) %+1+%
4 2
a Ta 1
() §+1—7 (=) x4+)7—7

5. feum sfverssaa udieor T

@ p’—10p+24+69g—-9¢*> @  p*—8p*—33—149g— ¢

M a’—12a—28 + 16b — b? (& x*+9-7x*+2xy—)*

@ 25497 +30x+70y— 16 () 4922+ 16)% — 642> + S6xy + 162 — |
6. afwerssT® x'0— 10x6 + 9x> I GUSIHIU TR UGS I A8 |

7. [eSUH AvEsSIEAE @USIH THE
x3

3
(@) y—3—z—3 <1a'>p3—pi3
1. @) & +xy+)?) & —xpy+)7) @) 4x’+x+1) dx?—x+1)

(M) (4x? +6xy + 9)7) (4x? — 6xy + 9)?)
(] 2m? + 3mn + 11n?) 2m? —3mn + 11n?)
@) 3(4a’ +6ab +9b%) (4a’ — 6ab + 9b?)
(=) 2(4p* +6pq +9q°) (4p’ — 6pq +9¢°)
2. (@) W+2x+2) X =2x+2) @) 2x7+ 6xy +9?) 2x7 - 6xy + 9?)
(M) (8e? Hdef + ) (8e? —def+ ) () (m?+2mn+ 2n?) (m? —2mn + 2n?)
() Ox? +12xy + 8)%) (9x? — 12xy + 8)7)
=) (7 +oxy + 18x%) (7 — 6xy + 18x%)
3. (%) &+ 3xy+2)°) & —3xy +2)7)
@) W +4xy—3))) P —4xy—3y") [ B*+b-1) B -b-1)
() (5x7 + 2xy — 3y?) (5x7 = 2xy — 3y”)
OR (5x7 + 8xy + 3)?) (5x% — 8xy + 3)?)
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() (74’ +14ab + 3b°) (74> — 14ab + 3b7)
=) ab (5a° +7ab + 4b%) (5a° — Tab + 4b)

m n\(m . o) (m n
. () +1+ it Sl [ [ Il B

n m
1 1 1
+1+— —-1+— o1+
(W) [y 1 yj (y 1 yj [y 1 32
a’> 3a a’> 3a P> p p> p
[ —S+—+2 || 5 ——+2 &N | —S5+=+1|| —5——+1
b* b b* b  q  q
2 2
(@ [az 3761 j(az—sa+1] (%r)[x2+3+2j[x2—3+2j

5. @& (p+3g—-6)(p—3g—4) @) [(p*+q+3) p*—q—11)]

(M (at+b—-14)(a—b +2)

(3 (5x—Ty+8) (5x+Ty—2)

@) (Tx+4y+8z—1)(Tx+4y—8z+ 1)
6. X2(°+3) X+ -3 E+1D)(x—1)

T @) G—f}(§+1+§) (3—1+§)

@) ( —Il))(p+%+1) (p+:-1)

(B (+x—y-3)—(x?—x+ty-3)

(929
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digtdl JAduddd I oTgad Jddmudcet

(Highest Common Factor and
s 10 Lowest Common Multiple)

10.0 qa«itea (Review)
FETHT BT TATET GAT T Il [GgUHT ST AT The] H.9 d97 .9, qdT
Q\ \2_ $ T \\;\ \;

2x? — 8y? T 2x* + 16x)°
el [agusr Aleassiddl A8 q97 4.9, 91 A9 AT ATTISTHR GUSTHIU
TS, | fagueT AfTer=sTehedTs @USIehvuT TaT,
afear Afqerssid = 2x2 — 8)”
=2(x* —4y7)
=24 = ()}
=2(x—2y) (x+2y)
T AFeIsTE = 2x (x° + 8y°)

=2x{(x)’ + (2)}
=2x(x + 2y) (x* — 2xy + 4)7)
JqT {9, = IRT TOFETS =2 x (x +2p) =2(x + 2y)
TH. = AT UEETE X (bl AU

=2x(x+2y)x(x—2p) xxx(x*—2xy +4y)7)
= 2x(x — 2y) (* + 8°)

10.1 Weaw qaMaa® (Highest Common Factor)

. TUAEve fafaar Fwaem

EAEA A dferssreE o0 — 47 o - 8 qW o i =

IR JITEEHT THEHT SAHA T (TFY I el -

e TR fa
(@) Tegusr afqersshe UMEUE & & B 7 o TS afiqerssEa
(@) [q-EsHT FRT UAEE & & a2 AT ST fedr
(W) T ATFRT [UAEUSATE B A 7 ™

e TGUSIHIT T
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DESH gfedr A= x2 — 4 F1 TGS (x +2) T (x —2) & 97
T AI=TF 1 — 8 FT TUHETS (x —2) T (W2 +2x +4) & |

ATHRT TUFEUE T o ATTASSTHHAT HUHT [UAGVE T JHATE, A T&T qThT

HETS (x—2) 3 |

A1 AT UHEUSTS F [GgUHT dfTeasThdl WedH THIIEAAE (H.9.) i |

Tet, (x—2) 7 9.9, & |

fagus AfHeI=sd! AT THEUSH UAhHAATs [dreed! 7.9, (HCF)

afvg |

BEEETD

A 0 AT : (32 - 9) T +27

QHTE

gfear sfwesai® = (x2 — 9)
=(x+3)(x-3)

4T AtsE = x° + 27
= (7 + Oy
=(x+3)(*-3x+9)

S W, = FIRT OHETE = (x + 3)

R
a« fagua stverssi@e! 7.9, (HCF) 11 ST ¢
®) 8P+ )3T l6xt +4x%” + )t

(
@ p-¢gIpt+q

(M Xy +yhxt+ a2y +yh 263 - 2x%y + 2x)?
(%)

o) 16a*—4a®> —4a -1, 16a* + 164> +4a*> -1, 16a* + 4a*> + 1
QAT
(@) ufear afTssEd = 8x° +)°

= (2% + ()’
=(2x +y) (4x* - 2xy +)7)

T, FET €
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A AISE = 16x* + a2 +
= (4x2)% + (P)* + 4xH?
= (4x2 +y2)2 _2- 4X2 . y2 + 4x2y2

= (4x2 +?)? — 4x%?
= (47 +)7) = 2wy’

= (4x? + )% + 2xy) (4x* +)? — 2xy)
= (47 + 2xp +)7) (47 = 2xy + p7)

qT 9= (4x2 — 2xy +)?)
@) ufeer At =pP - ¢

=p-q9Q @’ +pg+q)

A AfTE = pP g

=@+t @ -pg+q°)

T 1Y =1

[ a®+b? = (a+ b)* - 2ab]

[ a®>—b*=(a+b)(a—Db)]

Al . [TEUH ATT=THFT T GTHHT TIUTGUS THUHT H.F. =1 545 |

(M Tt afee At = 1’y +

=y +)%)
=y(x+y) (& —xy +)7)

T AT==F = 1 + xH2 + )
= ()P + (2 +x)?
= (7 + )7 = 20 + Xy
= ()7 - xy?
= () = ()
= ()2 +xp) (o + )2 —xy)
= Txy+)?) (6 —xy +)7)

A9 AtTTsSE = 2x° — 207 + 2x)°
=2x (& —xy+)?)

qT qI. = (2 —xy +)?)

200 )

[+ a®+ b= (a+ b)—2ab]

[ a®>—b*=(a+b)(a—Db)]
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() g&t qiedr Aemsa® = 16a* — 4a*> —4a—1
=16a*— (4a’> +4a + 1)

=16a*— {(2a)’ +2.2a.1 + (1)*}

— (4a?) — a + 1)

=@a*+2a+1)(4a*-2a-1)
T4l AfersS® = 164" + 16a° + 4a> — |

=4a*)?+2-4a* 2a+ (2a) -1

= (4a*+2a)* — (1)?

=@a*+2a+1)(4a*+2a-1)
A9 AfmsSE = 160 +4a2 + 1

= (4a?)*+ (1)’ + 4a?

=@a*+ 1) -2-4d* -1 +4a?

=(4a*+ 1) 4a?

= (4a* + 1) - (2a)’

=(4a*+ 1+ 2a) (4a*+1-2a)

=@4a*+2a+1)@a*—-2a+1)

gd:. "I =4a*+2a+1

BEEE
qd [eSUHT ATTI=STHE §.9. I01 ARSI ¢
(%) 5m’—-20m, m*—-3m?— 10m, m*> - m?—-2m + 8
@) (a—b)*+4ab,(a+b)’—3ab(a+b),a*+ (2a+b)b
AT
() dlesl AHTSTE = 5m’ —20m
= Sm (>~ 4)
= Sm {(m) - (27}
=5m(m+2)(m-2)

T, FET €
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A AFEETE S =m® - 3m?— 10m
=m(m*—3m — 10)
=m{m*—(5-2)m— 10}
=m (m*—5m + 2m — 10)
=m{m(m—15)+2(m—-15)}
=m(@m-5)(m+2)

e e O =m’—m*—2m+8
=m’+8—m’—2m
=(m)*+ (2)’ —m(m + 2)
=m+2)(m*-2m+4)—m(m+2)
=(m+2)(m*-2m+4—m)
=(m+2)(m*-3m+4)

AT HEA =(m+2)

ufger atveassi® = (a — b)* + 4ab
=a’—2ab+ b*+ 4ab
=a’+2ab + b?
=(a+ by
=(a+b)(a+b)

qAr aTssE = (a+b)—3ab (a+ b)
=(a+b) {(a+b)—3ab}
=(a+b) (a*+2ab + b*>—3ab)
=(a+b)(@—ab+b?

A AfreSTE =a>+ (2a + b)b
=a*+2ab + b?
=(a+b)’
=(a+b)(atb)

I HA = (a + b)
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B e 0.1

1.

(@) ST AT Theed] H.H, T & qheg 7

(@) HE AALATAT ST AT HT=Tbd H.F. 1 g7 7

M) AlTI=SERE® 4’y T 323 Bl HIHRT TUAEUSH] AR Hid g3 7 deTald |
aw fegua sifverswaa! Aega® aHmad® (F.9.) T AeTR
(®) (x+pPT(x+y) (x-y)

@) (x—y) (Z+xy+ )T +xy+)?) (@ —xy+)7P)

([ (2x—3y) (4x* + 6xy + 9?) T4xy (2x — 3y) 2x + 3y)
(] 4a*b(a—b)(a+b—1)T 16a*h* (a+2b)(a+b—1)
aat feguan it sfwersstaant 7.4, O SR

(@) a*—ab¥ a’b—a*h? @) 3x*+9x T Tx+21
M ad@+13a*+a*+1 (=) 8x*+ 27T 16x* + 36x%” + 81*
@ m*+1+2m*+2mI m*—1

(=) 8(bx* — x> —2x?) T 12 (2x° + 3x° + x*%)

(B) a*+4ab+4b*—c*Ta’> —4b* + ac — 2bc

() x*+4y*T2x% + 4x)° + 4xH?

(W) x*—10x +24 + 6y — 9T x> + 3xy — 6x

G (1-x)(1-y)+4dxyT 1 -2x+y—x}y+x?

@ 8a*+1316a*—4a>+4a—1

&) 28 -a*+a-23ad*—-a*+a-1

aa fagua dishiy sfwerssaa 7.4, 1= AeTR

(®) @+ b a®—a*b+ab*T a* + a*b* + b*

@) F+2°2+2x+ 1L, X 1T+ X2+ 1

(M x*—4x, 4x° — 10x? + 4x T 3x* — 8x* + 4x?

() y*+2y—-8,y*—Sy+63y*+S5y—14

(T X2+2x+1,x>+5x+6372x>-5x+2

(=N 2 +2x—8,x*—2x—-24¥x*+5x+4

PSR ( zo3




@) X +22+ 4, x* +4x*+ 167 X3 -8

() 8x*+ 27y, 16x* + 36xH” + 81)* T 4x* — 6x%y + 9x)?
(W) 2x* —54,24x* + 18x* + 162 T 2x* + 6x + 18

(3T 9x?*—4y? — 8yz — 422, 422 — 4y — Ox* — 12xy T Ox? + 12xz + 422 — 4y?

(@) 2ax*+2ax—12a, 3a°x* — Ta*x — 6a°T a’x* + 4a’x — 21a°

(T) X+ 64y, x* + 16x%* + 256)* T 4x* — 16x%y + 64y°x

() (a+b)—3ab(a+b),a+ab*+b*Ta*—a’b+ ab® - b*

ATHATST ATTATER FISE®H AR HAM (x +3) (x + 6), (2 + 8x + 15) <

(x> + 7x + 12) a0 THE S | IFT HBEwH =S8 AT NS |

—

2. (®x+y
(M (2x —3y)
3. (%) a(a-b)
(@ (a*—a+1)
@ (m*+m+1)
&) (a+2b+c)
(W) (x + 3y —6)
@) (4a*>-2a+1)
4.  (®)(a®>—ab + b?)
[Mx(x—2)
) 1
@) (2 + 2x + 4)

@) (x2 +xy +)?)

(%0 4a*b(a+b—1)
@) (x +3)

(%) (4x* — 6xy + 9?)
(7 4x> 2x + 1)

() (x? + 2xy + 2)?)
N (1-x+y+xp)
B a-1

@ x*+x+1

(=) (y—2)

=) (x +4)

() (4x* — 6xy + 9?)

(Vh) 2 (3T) (3x + 2y + 22)
@) a (3) (x* — 4xy + 16y?)
(8) a>—ab + b?
5 (x+3) Teprg
0¥ ) T, FET €




10.2 sgaw FAgad (Lowest Common Multiple)

BT

gk faandier 33 geeiter faoig afverssrs S x° — 12537 x4 — 15022 + 25y
faar | AT AfHea=SIehdTs @IS TTHEIE | THH UGS AqATh THaE T JeAH
JITEEH] GATR T FHEHT IR @IoTald

(®) [aguR ATqASSRHT AT TUAEIE & & S, delald |
@) feguwr afqeassihedr ATHRTETREH TUHETE & & B, I ANSTEE |

() FT¥RT UHGUE ¥ dlhl TUHEUS I & I g Afqeirers & AiHws 7

(&) el ArSid ARl [UAHA 9T AT AT bH A& T H.H.F [OAHA
T S AT THerg T % ATl 74T, F&qd Terd |

FEl afedl JOTHT AI9RT TUFEUE I a3 [SSURT ATHI=SThed! GUSIHIU THIE, |
afedr Afqerssie =x’ - 125)°
= @)’ = (5y)
= (x— 57) (2 + Sy + 25)7)
T A afTEEE = xt 4 25607 + 625)°
= (xH)? + (25)%)* + 25xH?
= (x* + 25y%)? — 2:x>25)% + 25x%?
= (x* + 25)%)? — 25x%”
= (25077 = Sy
= (x* + 25)% + 5xp) (x* + 25y* — Sxy)
= (x* + 5xy + 25)%) (x* — Sxy + 25)%)

a1 faguswT gRarer AfqIsSTheT UAEUE Aaddd el

JIHT UAETE = x? + Sxy + 25)?

T JEAATHAR AIFHTATEHHRT TGS (x —5)) T (% — Sxy + 25)%) S |
TG TEAATAR FIRT TUEUE T I8l [UH@UShl TUAhH

nfore, ¢ ( =oy




= (x* + Sxy + 25)%) X (x — 5y) x (x* — 5xpy + 25)?)
= (x—5y) (> + 5xy + 25)%) (x* — 5xy + 25)%)
= (x* = 125)%) (x* — 5xy + 25)%)

ATHRT UGS ¥ Fiehl [UAEUSATS U TN GT g AfqoTedrs .9, A= |

fagust Afnerssieesdl IR TUFEUE T Al UAEUSH [UAHAATS LA
FaTad (Lowest Common Multiple) 9= | a8ars @edwaar @.9. (L.C.M.)
afEg |

g (- 1251%) T (x* + 25x%* + 625y%) BT H.E.= x2 + Sxy + 25)?
®IE (0} — 125)%) T (x* + 25x%2 + 625y%) BT A F.= (x° — 125°) (x> — Sxy + 25)7)
(¢ = 125)%) T (x* + 25x%% + 625y*) HT H.E. T A9, Hl [UAHA
= (x* = 125)°) (x* — 5xy + 25)°) (x* + 5xy + 25)%)
= (x* — 125)°) (x* + 25x%* + 625)%)
(o = 125y%) T (x* + 2557 + 625 BT AR = (x° — 125)°) (x? - Sxy + 25)7)

afs gEeeT AfHTSTFe® HTA W,
7.9 X 9.9, = qeel AfHaTsae x 9T AfqTq=1®

R0% ) T, FET €




BECETED

ok faandier dmsier fasia atqerssides 9= @ (x — p)> + 4xy, (x + )} — 3xp
(x+y) Tx2+ 2xy + Y A | S ATHT=STheedle THAH FHTEE Tl A5
THEHT (Y FETHT T THE | ST U THEA T Tl 1 a9 TR 3 -

afedll afqerssed = (x — y)2 + 4xy
=x?—2xy +y*+4dxy
=x?+ 2xy +)7?
=P = D) )

TN ATI=TE = (x + )} — 3xp (x +y)
=@ +y) {x+y)7-3xy}
=(x+y) (& +2xy +* = 3xp)
=@ +y) (@ —xy+)?)

I A=TE = X2 + 2xp + )2

= +y)
=@ty (x+y)
qTRT EEE = (x +y) (x + )
AT TIAETS = (5 —xp +)7)
A, = AT UEETE X FAFN MHEIE = (x + ) (x + ) (2 —xy +)?)

FMATE AT T T AT ARSET FA TR ATHASTEAT HIA FTIHT
MUHEUE AT i AT AT O &7 |

BEEETD

aw fegua sfvarsasare qgaw T UEd (A.9.) 797 TSR ¢
@®) @ —yTa*+ay*+)*
@) xX*—yP=2p—13x2—1+2xp+)?
(M x*—8x)*T 3x2 — 5xy — 2y?

T, FET € ( X0V




HTI

9

Tel,
(@) afge afwersst® =4’ — y°
=@’ -@r=(a-y) (@ +ay+)’)

T A= = at + a?y? +
— (a2)2 + (y2)2 + a2y2
:(aZ +y2)2_2a2y2+a2y2
=(a* +y*) —a*?
=(@+y) —(ay)
=(@+y tay)(@+)y —ay)
= (@ tay+)) (@ —ay+)’)

JIFHT TOHETE = (a*+ ay +)?)

AHT G = (a—y) (@’ — ay +)7)

A TIAH FHIAA (A.9.) = FTHT [OFEUE X bl TOFEvS
=(@+tay+)y)x(a—-y)*(a’—ay+)’)
=(a-y)(@+ay+)’)(@®—ay+)?)

(@) g sfwerss® =x2 — )2 -2y — 1
=x’—(+2y+1)
=@)?-(@+1y
=(xty+D(x-y-1)

T afersstd =x2— 1+ 2xy +)7?
= (@ 2xy+)?) -~ 1
=@ +yy -1y
=@+ty+tD@E+y-1

IHRT TUEETSs = (x +y+ 1)

il UAETE = (x—y—1) (x+y—1)

- = GIRT UAEEUS X (el [UHEUS
=(xty+tDxx-—y-Dxx+y-1)
=xty+DHx-y-Hx+y-1)

R0g )

arTT T <



(@  dfedr arqessTs = x*— 8x)°
= x(x* = 8y) = x{(x)’ - (2y)*}
=x(x —2y) (o + 2xy + 47%)

@ AT = 3x? — Sxy — 2)?

=3x*—(6—1)xy—2y?
=3x*— 6xy + xy — 2)*
=3x(x—2y) +y(x—2y)
=(x-2y)(Bx+y)

I¥HT OAETE = (x — 2y)
el MUAETE = x(x*+ 2xy + 47) (3x+y)
TH. = FI¥RT UEETE X il U

=(x—2y) xx x Bx +y) x (x* + 2xy + 4°)
=x(x—2y) Bx +y) (x* + 2xy + 4)°)

| s
I« fegua aferssiee! 4.9, 91 TSR :
(@F) (? +xy+)?), X -y Tt +xH? + )t
@) 8x*+125)° 4x* — 10x%y + 25xy?T 16x* + 100x%2 + 625)*
M 3y + 14)% — 5y, y* + 125y Ty° + 25)° + 625y
AT
REL
@) ufesr atersste = (22 +xy +)2)°
= (@ +xy +)%) (F +xpy +37) (A xy +)7)
G aveT=E =11 - )
=) =)
=(x—y) (& +xy+)7%)

T, FEIT § ( R0%




AW ArEmsS® = xt +xDP )
= ()P + () +x%?
=2+ —2x% +xH?
= ()7 —xy?
=+ = (o)
= (7 )2+ xp) ()2 —xy)
= (@ +xy +)7) (F —xy +)7)

qigel IHT EETE = (x2 + Xy +y?)
AET AT = (o xp +)7) (Fxp +)7) (x - p) (P =xp +)7)
TH. = IRl UEETE X bl [OAETE

= (7t xy+)7) X (x—p) X (F-xy +)7) X (F +Hxy +)7) < (F Hxy )
=(x—y) (o +xy+)?) (3 —xpy +)7)
@ ufeat sfersse = 8x° + 125)°
= (2x)’ + (5y)°
= (2x + 5y) (4x* — 10xy + 25y7)
TEr ATETE = 4o — 10x%y + 25x)7 = x(4x2 — 10xy + 25)?)
J9r AeEmsse = 16x* + 100632 + 625y
= (4x%)* + (25)%)* + 100x*?
= (4x? +25)%)* — 2 - 4x* - 25y* + 100x%?
= (4x? + 25)%)* — 100 x*?
= (4x* + 25)%)* — (10xy)?
= (4x? +25)% + 10xy) (4x* + 25)* — 10xy)
= (4x* + 10xy + 25)?) (4x* — 10xy + 25)?)
AH. = IRl UEETE X il [UAETe
= (4x* — 10xy + 25)%) x x x (2x + 5y) x (4x* + 10xy + 25)?)
= x(2x + 5y) (4x’— 10xy + 25y%) (4x> + 10xy + 25)%)
@ ufeet afvemssEd = 3)° + 1497 — Sy

<q° ) T, FET €




= (3% + 14y — 5)
=y{3y’+(15-1)y -5}
=y @By +15y-y-5)
=y83y(+5) -1y +5)}
=y(+5Q@y-1

A AfsTIE =)t + 125y
= (7 + 125)
=y{)’ +(5)}
=y(y +5) O* — 5y +25)

JGr aesSIE = )5 + 25)° + 625y = y(1* + 25)% + 625)
= {07 +(25)° + 25}
=y{(P+ 252 -2 y* - 25 +25)?}
=y{(* +25) =257}
= {07 257 = (50)%}
= y{(?+ 25+ 5y) (* + 25— 5p)}
=y()* + 5y +25) ()* — 5y + 25)

;. . = FI¥RT OHEUE X Al TGI8

=yx (=5 +25)x(y+5)x(CBy-1)(*+5y+25)
=y (+5)By—1) (P -5y +25) (* + 5y +25)

P (=




____Eoua(ey

1.

(%) AP qRATT TRl |

(@) Tl Afaeassie AT [QUHl Faeardr 7 35 AfHIssThaT H.9. T q.q.H
TF % g, el |

7« fegua sfversaaat Agod aRad (A4.49.) T9T1 ST

(@) 2x(x +2) (x —2)T4x* Bx+7) (x —2)

@) 3x% (x —p) (¢ + 3xp + 9?) T10x(x* +)7%) (x + ) (x —y)

[ 2x—y) (x> +xp +?) (x* —xy + 1) T25xp(2x — y)

N8 (a+b+1)(a—b+1)T5(a+b+1)(a+b+2)

T2ATaT ATTeT=sbal .9, T .9, ®AM (a + b)*T 3a? (a + b) (2a + b) T4T T4T

qqeT=sF 3a(a + b)> AT Tledl ATTa=Teh HIq BT, IAT ARl |

TEATAT ATT=TEF FHM (x + 5) T (x + 5) (62 — 5x + 25) TIT F.9. (x + 5) 9

AH. Gl AMSAE |

aa fegua sfversawaTe qgam aHUEd (A.9.) T TSR ¢

(®) xX*—x+1Tx*+x @) 4x+ 163 5x +20
(M) 3x+27 3 8+ 72x? & (x—py)PTxd—y?

@ (a+b)Ta’+b’ (=) x*+ 472 — 4x2 + 4x
(@) a*+a’+1¥a’—a+l ) x*+xHy?+ T a8 -3

(W) 1+4p+4p*—16p*T 1+ 2p—8p*— 16p*
N B+ +x+1T8-2+x-1
@ yW+Q2bP-a*)y*+b' Ty —ay* + by
4 4 3 3
(@) %+%+1z%+%

aa faguat afwerssaate JEam THUEad (A.9.) T ASTe
(F) X*+1L,x = +x2Tx83 -x>+x

@ d+l,a*+a*+13a*+a+1

M x2=3x+2,x>—5x+6Tx2—8+12

(") 2x3+16, x> +4x+47T x2+3x+2

@ x-1,x¥-13x+x2+1

(=) x0— 16x*, x>+ 6x*+ 837 x* + 8x3 + 1647

1) SPM—




@) x*+8x2+ 144, xX* + x(x + 12) + 3x?T x> + 12x + 4x?
(S x*—8x? + 196, x> + x(x + 14) + 5x*T 2x* + 12x + 28
(W) x*+10x% + 169, x* +4x2 + 13x TX* + x(x + 13) + 3x?
G (+3)-9-27,y =2y 15y y° — 13y + 36y.

7. ad fEua Afiersa®l .9, 01 SR

(%) m?>—10m + 24 + 6n — 9n?, m*> + 6mn + 9n> — 36 T m> + 3mn — 6m
@) x*—8x?—-33-14y— 1y, x* +2x%y -9 +)?T X  +xp + 3x
@M a*+bQRa’>-1)+b',a*-bla+1)(a—b)-bTa>—b(a—1)(a-b)-b’

P (=3




—

2. ®F 4P (x-2)(x+2)(Bx+7)
@) 30x% (x —y) (x +y) (2 +)?) (% + 3xy + NH?)
M 25xy (2x —y) (¢* +xy + %) (¢ —xy +)7?)
(7)) 40x? (a+b+1)(a—b+1)(a+b+2)
3. aRa+b)(a+b)
4, (x +5) (x*—5x +25)
5. @) x(x+1)(x*-x+1) @) 20 (x+4) (@ 24x* (x+9)
= (x—p)>} (x?+xy+)?) 3) (a+ b) (a®> —ab + b?)
(&) 2x (x*—2x+2) (x2+2x+2)
@) (@tat)(@—-a+l) D x—y)&*+xy+y)x*>—xy+y)?)
) (1+2p)(1-2p) (1 +2p+4p*) (1 +2p—4p?
G (x+D) -1 E*+1)
@ y(O*+ay+b*)(G*—ay+b?)

X X2 XZ 2
(3) (;+§)()7+1+§)(}7—1+%j

6. @@ xX*(x+t1)*—x+1)
@ (a+1)(@-a+1)(@+tat]l)
M x—-1)(x-2)(x—3)(x—06)
(B 2(x+2y (x+ 1) (2—2x+4)
@ -1 *+x2+1)
@) x* (x*—16) (x* + 6x + 8)
@) x(*+4x+12) (P —4x+12)
() 2x (x*+ 6x + 14) (x* — 6x + 14)
(W) x(x* +4x +13) (x> —4x + 13)
& =9 *-4 (-5 0r-6)
7. (&) mm+3n—-6)(m—-3n—4)(m+3n+06)
@ x(x*+y+3)P—y—11)(x*+ty-3)
M (a—b) (a>+ b*—Db) (a® + b>*+ D)

MY ) S




IdT JalipRor
T 11 (Linear Equation)

11.0 A« (Review)

BIEAH Ueh Gl HIGT @IAT @Al AT %.200 =iewg | ATTae ATHIT AUH THHAT
T 50 T I IAA U ST GG AT G GFS, | T AATSATS AT ATIHT ofedT,
x+3% 50=3% 200 =g 91 eAfafgd gede FHeHT Sahd T I [aqad ¢
(@) HITeRT AT ATRET A T AAA ARTE® HA HT & 7
(@) ATTTET FEAT HiT 2 7
() wITaeRT AT ATRIAT AT T ATt GEATS EH [(Fead ASH B 7
©) A O arRAT X # [ Hia g 2
AT TIAHI AHEF SARA T [AFATTARS! (TSR IqT TS Alhg,
qfedl TEAHET, TSl = ART (x) BT 949 T8 99 ARTe® 5. 507 %, 200 &7 |
TN TEAATAR AT FFAT AUHN TFH (x) =% 200 -F.50 =3, 150 &5 |
JET TEAATEAR AT 3 ATAT TeTATs aRTeR (=) e g g |
T TETHT, x 7 T 15 1 wifrer wfordrr are W@ g 8 |
A FHIE x +F. 50 =%. 200 BT & &l x =%.150 &7 |

11.1 g2 9«ga T QT THERT

(Simultaneous linear equations with two variables)

BT P

TRAET T5 TATHKT U (TR
Sx+2y=12, 3x+4y=10
T AHERUTATS FAGTTAAAT F&d THE
% 39 X@IEE & [T FeuE B ¢ R
WWWIﬁMW&ﬂ?X‘ X
ag fafgare 99 oar eRmeA Afeudr 7
FHEAT FAGA T |
FHIHIR d@Tf=rdTe g T fauae e
BTHTSN ANTeeAT HETTAT AT TG bepT y
I | e BTl rEEal 9 fafaETe FE ge T AeIa e T g |

7T, T < ( 94




gow fefrerT aeirezorars Y gHTeEer wfavg | g9 gaw fewfieT aTeweer Suwe
YTHHT Gl THIHIUS I3l @ favs |

FET I TSI FAEE x T p F AHE® g4 GHIEEATS A0 g3 919 x Ty
HIF T TTST 5 THIBIITH & &7 |

afs g3 THIERIEEHT Ferars Tgal M=rd I AT AT g ST It GHIehRurers
T TG FHIRO i |

TRI TG FHIHIUTHT T2l FAARMNT TR ol AHIFIATS 5 FAdFd IT9d
TG FHIHIT qf AT+ |

11.2 32 9«gF W FHEH &9 1 fatee® (Methods of solving

simultaneous linear equations with two variable)

BT

fer ¥ ATRTIETE 3 STaT e ATIaHT aiSH B, SHlewd Hid H(d IS, &<l
T, ATl (Aol 9T Il gg@il = x

AR TS TeTehl e =y
o ATARHT I&qA &,
X 312 |1
011 (2 |3

wifereer arferspra faer T arftrer aTgH AT S o AGEATHT 3 T |
aEE x+y=3 ., (i)
Ife THATET TUF TAR] TGEATATs 4 F U T 2 TS ATRTTRT HUHT e

1 ) SPM—




N

vy'
qa AIGH T3 AR x +y =33 y = 4x — 2 AT dq@I==A1 J&q Tl faeg (1, 2)
AT yiqeagad qUH g | 99 fa=g (1, 2) F 6w (i) T (i) 7 gt &1 | foafe favg

(1,2) AT g3 FHTHIOMET FIGITIT Tl AT &5 |

11.2.1 gfeam= fafa (Substitution method)
| frmmms

F T2 TATFT IS TG FHIH fATErE, S
Sx+2y=240........ (1)
3x+4y=200 ... (ii)

PSR C v




giqerae fafiare FHrEam T = ARTETR! A1 I4T TS THl AT e FIdTehl g9
YHEAT FATA THEE T o (aard

qF y B AT THIET (i) AT AT T,

(@) FHEW (i) AT x I AF y F ETAT HA &7, 7

(@) FHET (i) A2 y B AT x F BTH Hd g3, TAT AR |

FHIHI (i) T T x 1 AT FHIEI (ii) BT x T SISHT @I y bl AT HHA

AT TS Aleheg 7 HITIHT JITHT FA®A T [AFATTARST (ot aar o

qferg;,

FHIHI (i) AT x T AT p I /A I &,
S5x +2y =240

qgar,  Sx=240-2y
240 — 2y
5

D |
Y T FHE (1) I y FT /T x BT BIHAT ] TaT,
2y =240 - 5x
_ 240 —2x

T, 7 |

YOF () FT ATNT TABT FITERIN B2
T X B HIHAATS THIHT (ii) AT FqeTI= e,

240 -2y
3[T]+4y=200

e 65y 209 _ 500

F9aT, 720 + 14y = 200 x 5
F9@T, 14y = 1000 — 720

ag4a1, 14y =280

_ 280
14

~y=20

JIg4dl, y

y BT AT FHIEI (i) T (i) ST

A9@T, 3x + 4 x 20 =200

R4z )

gfqeaTIe &l 9 g, FiedrdT
T AT HITHT e g |

T, e €



#9491, 3x =200 — 80

Aqar, 3x =120
A4l x = %O
x =40

12 : x Ty I AIFATS FHET (i) T (ii) AT Fiqearas T&7 7T &7 |
TG TA & YT WUH x = 40 T y = 20 5 [GTUHT GHHTHT Grawarad W
afeel FHIEHIUHAT x T y H AT IER T TaT,
Sx + 2y =240

AT, 5 x40 +2 x 20 =240
AT, 200 + 40 = 240
79T, 240 = 240

Al q&7 = IAT 9&
TGN FHTHIHT x T p I A A@T GRAE0 T,

3x +4y =200
AT, 3 x40 +4 x 20 =200
dg4r, 120 + 80 =200
A9, 200 = 200
-, ATl 98 = 3T 94
T FHTATT &N UTT x T y 1 G AT g9 THIELHET AT G |

T2 a1 |IF=T F61 I @ THIHLITHT T3l THIFREATE T3l FAAb!
A IAT SVIUR S1AT FHEITHT AT TAeeeh] AT Il aiTg dieehlarg
gt fafg vt |

11.2.2 gzt fafar (Elimination method)
BT

fadeTer 4 SfTeT AT T 3 Sf1eT Sem wTder S Jea & 100 fafe, faere &1 5 sirar
AT T 2 ATET TAT FIYThT ST A & 90 [qRA w9 THEAT FARA T TABT TIAH
EALEG IR

(%) AITIRT TAATE TOTATT ATRIAT AT |

(@) YT THIZ AT T ZAT HTATH Ao FT3H [AgRT HHA Id1 A3 Hichreg, ?

A —— ( w9




M) fegusr ofeaes THTATATE AHHITET TR TRl T THIBLITH FH Tk
TRTIMNHT TUMGH T AHUHT UIE TATST Alhes 7 Bl |

(F) & FAqATs AR [dtd (Ffazaraw fafa) are af FHE T Fiegr 2

(3) % ¥ fafgare AW &M 9T q(GoTT TS ATSE, 7 HITHT TITHT AHES
TARA TR AHATERS! (Y o1 dTs T dihes,

afEelt TEATTATY,
HIHT AT FTATRT TR el YfAwTar & x ¥ &7 FI6Il aoiR {ed Jiaeiar .y @5
FHIHTH] TAH] T,
4x +3y =100 .... (i)
Sx+2y=90 ... (i) &8 |
FET y TS §ATTR X BT AT [HebTed THIE (1) T8 2 & T THH (i) AT5 3 o T el
[4x +3y=100] x 2

_ "o 3T THTHORT B AR
8x + 6y =200 ......... (111) 3 . E
UgHdTs M=d IS oA
T[5x+2y=90]x3 > s - N
_ T USE UTSH aATedddies Iad
15x + 6y =270 ........... (iv) ST w9 forE o N
T BIF TRk [FAdHl 9O Sirgd
| TS |
FHIHI (iv) e FHTHI (iii) HeTIaT,
15x + 66 = 270 R
8 + 6 = 200 o qd GHIERUHAT y B UTEH
o T3¢ IS 6 B ¥ favilewedl Hed
7x =70 9 B B, TAA y 8@ T x HIA
o, ng ATl TE7 |
x=10
®IT  x BT AT FTHH (i) AT eI TaT,
Sx+2y=90

A9aT, 5% 10 + 2y = 90
A9, 2y =90 — 50
F9aT, 2y = 40

xR0 ) T, e €




_ 40
)
S y=20
o AT FTGIHT T GfAwrar & 10 98 97 ZAT HTdrehr iawirer e . 20 I8 |
JITE el fate (i faf) e afq gumems 19 atds |
T fafaare quTEm TR 9fH x T y B A TS ASS, |

garaH fafaare TWIeHuE® aef Tal, x §ara & 99 o THIHIITHT x T TNSH
T3 IS ¥ y TS &1 99 4 THIHIITHT p &l 0Ngh TS TATSAIS, |
I Id IS &1 AAH! UEH Ugd aAUdlg favileedl fOed qf ®eE
ERICREEN

T% AT AT FET I @I UG T3l TAATs 8alUX H TART HH
OT TS AT 2ars fatg (Elimination method) \fHws; |

BT

aa feguat gt ot gaTen fafugm g T AR
lIx+17y—-67=0T 17x + 11ly—-73=0

T

Tt feguesr T
Nx+17y=67=0 eooeen..... (i)
17x+11y—73=0.......... (i1)

THIE (1) A5 11 of FTHERT (i) A5 17 o IO T FHE0 (1) a1 (i) TersaT,
121x + 1§7y— 737 =0

289x + 187y — 1241 =0
- - +

—168x + 504 =0

q9aT, — 168x = — 504
~504 _,

Foar, x = 2o+
T 768

Sox=3

HT x BT ATH FHIE (i) AT JTqedma= TaT,
IIx+17y—-67=0
Faar, 11x3+17y-67=0

A —— (=




q9ar, 33+ 17y =67
41, 17y ;467 -33
3T?17=|T,y=1—7
Sooy=2
qq x =37 y=2 @l A= &
FHET (1) ATe,
Ix+17y-67=0
AYAT, 11 x3+17%x2-67=0
AT, 33+ 34— 67=0
79T, 67 - 67=0
qgar, 0=0
AT 947 =31 9
T FEER (ii) A,
17x+11y—-73=0
HqIar, 17x3+11x2-73=0
FUET, 51+22-73=0
a1, 73-73=0
0=0
R e
X y AV 39 THHUES AT g7, 9l x ¥ p bl A1 (5 3 |

BN swe 111 ——
1. a« feguar ser e i aHwToTens gfhems fafigmn g e

() 3x+5y=31T2x—-y=12

@) Sx+6y=273x+4y=17

@M 3x-2y=11Tx+3y=11

(") 3x—2y=8Tx+2y=8§

(B 4x-3y+1=0¥3x+2y—-12=0

= Sx—y+1=0¥2x-5y+51=0

@) Ix—-8y=12¥ 2x+3y=17

(S) y=5x—-23¥3x-2y=4

(W) 2x—y=T¥Tx+y=5

R ) SPM—




() 3x+2y=15T5x-3y-25=0
aa feguat Set e I aHiwRuTeTE gaten fafugi g T AR

(®) x+y=16 @) 3x-2y=4
X—y=— Sx—y=23

(M S5x—-2y=2 (& 2x+5y+7=0
2x + 3y =16 2x-2y=14

(8 9x—-8y=12 = 3x+4y=17
2x+3y=17 Sx+6y=27

@ Tx+8y=-1 () 4x—-16=3y
10x + 15y =-5 Sy=12-3x

(W) 3x—-3y+6=0 =) 3x=4y+18
4y—-2-2x=0 Sx="7y+3l1

e Rgust Siet g (@ GRS & TR

(%) 3x+4y=2 @) 2x+5y=120

5x+3y+4=0 8x—9y+100=0
(1) %4—75—);:1 (¥1) %+%=6
%+83—y=2 3§x+1:23_y
— e

1. &) x=7,y=2 @) x=3,2,y=2 (M x=5,y=2
& x=4,y=2 @ x=2,y=3 =N x=2,y=11
@ x=4,y=3 (S x=6,y=17 (W) x=4,y=1
=) x=5,y=0

2. (&) x=6,y=10 @) x=6,y=7 M x=2,y=4
(&) x=4,y=-3 ) x=4,y=3 = x=3,y=2
@ x=1,y=-1 ) x=4,y=0 (W) x=-3,y=-1
N x=2,y=-3

3. &) x=-2,y=2 @) x=10,y=20 [ x=2,y=-1
(& x=8,y=6

e, 7 < @S




11.2.3 9 [T FHEOEHT misssd q/@r (Word problems

related to simultaneous equation)

BT

ek STAT 78T T Ueh A7 [aanefiepl Afeeiehl SHIH! ANTHRA 36 a9 T | [UTeTehert Afgeierr

IHT faTeiert IHTET A UM & T IAewmehl BTl IHY Hid B & ? THEAT SAHA

T g el hd HETHT I&qd e |

U3l FHEd T el (ohy J99ar g

X <~— faarflar 3T

X X

36 a9

< Rrerar F0T

4x =36

x:ﬁ
4

x=9

8o faamdier U (x) =9 a9
Rrerper IHX (3x) =3 x9=27a9
aa:  Rrerwdr BTEH IR =27 a9
feramdier gTasr IHY = 9 a9
T THEA TR TP (Tshy (37ept afean)
AT forerehepr atfeeepl SHY = x a9
faramdier sifeerar SR =y ay
afedl FAATER,
x+y=36

FHET (1) T (ii) a1
36 —y=3y
q94d1, 36 =4y

Y )

T, e €



WE!T,yZT
Soy=9
y I AT THIE (i) AT FfTema= e,
x=3x9=27
o Rrereper stfeeter IHY =27 a9
farmdiert afeciel W = 9 a9

T qUES T Tl (T
Al foramedTeer gl IHR = x a9
fTeTeReT BTl IHY =3x a9
EEEELIE
x+3x=236
7o, 4x = 36

HW,xZ%?
x=9
uq: faamdier sfeeter WX =9 a9

Rrereperr Afgetdl THX =3 x 999 =27 99

BTN

TIET FAAHSAT Fl g5 TFIE HIUTERT A0 150° T frefigest wLF 48° © 79 HIUTHT AW T2
AMRPREE :

HHTA

FEt Al GEE BT x ¥y G | (e gEmTeTe) D
o A </
afedl IqaTER, x +y=150°
x=150°—y........ (1)
)
T FAATATR, B C

x—y=48° ... (ii) [ x>y AUHl ATEITH)
FHIER (i) AT x T A THIET (i) AT fq=ama= Taf,
150°—y — y = 48°
A9, 150° — 2 = 48°

A —— @k




dI4r, 150° —48° =2y
eraT, 102° =2y
_ 102202510
y I AT FHIE (1) AT ITERT,
x=150°-51°=99°
qd: AT BIUEE 99° T 51° 8 |

Fpleqeh qf

TATAT HITH F¥h 48° T AIHl AT TIT HIU APl HIU =T 48° FEl G |
7T, x + 48 +x = 150
79T, 2x = 150 — 48
7o, x = 51°

THA TIl H =x = 51°

Al BT = x + 48 = 51+ 48 = 99°

RPN

Aty T Hmr w0 9 F AT IA T I&d FUT TG AT foheiept fIT | eTr 9 qRT et
Aty T W s 25 T 31 0aT wt faenrdar AfAuE St Wt e aewet ST
W:

> ~

x—-25=2(y-31)
4T, x — 25 =2y — 62
dqIAl, x =2y — 62 + 25

R ) SPM—




FHHW (i) aTe x 1 A FTHHI (ii) AT Gfq=ama+ Taf,
y=2y-37
qq4r, 37=2y—y
Aqgar, y =137
y I /T THIEI (1) AT ITEET,
x=37
AT ATHTET AT AUHT HUT FF@T = 37
ATTTET AT AU T FgedT = 37

x+25=31

qgar, x=31-25

A4, x=06

A HTATERT FEHT AU BN ST x + 31 =6 + 31 = 37 #ar
AR AT AUHT BUT GL&AT = 37 3A1al

T qra
A AT T AT qEAT AU F qge = | x |

Jrarer 25 AraT T wiHTS 31 #TeT w7 @9 TRATSET ST, X
lx-31| 31 |

a9 2(x—31)=x-25
AT, 2x — 62 = x — 25 | x-25 | 25 |
AT, 2x —x =62 — 25
A9, x = 37

. ArHT T AIYET AT AUHT FHTAhI Tg&T = 37 &iar

ahre, e € @K




BEEEEEE

AR AR IAT BRI IATHT 3 TOT B | 12 aufes STATRT IAT BT AT g2

TUTIHT | & FH &0 WA SHIEEH! Afgeiahl IHT T TSR
THTE
TET HIHT ATATHT Afgeiehl U = x T

BRTH! Al IHY = p a9

RIECIREC I

x+12=2(y+12)-1
qoan, x + 12=2y+ 24— 1
AT, x =2y +23 — 12
Fem, x =2y + 11 ..... (ii)
FHTEIT (i) AT x T AT FHTHIW (ii) AT A=A AT,

3y=2y+11
q9gar, 3y -2y =11
ny=11

T y BT AT FHHI (i) 7 AT,
x=3y=3x11=33

qq:  ATHTR! Afeddl ST (x) =33 99
BRIH! Afeetsl IAT (y) = 11 a9

AP(eud qTCHT
FRTH FHT = x a9
ATHTHT IHT = 3x 99

TGN TAATAR

{(r+12)x 2}~ 1=3x+12
AI4T, 2x +23=3x+ 12
sx =11
BRTH I = 11 a9
ATHTHT IAY =33 a9

e )

arTT T <



Fepleqeh afe

sfeet
X |~ g e
x x X | <— T FET
12 ¥ gfey
X 12 99 |<— grrar 397
X X X 12 ag |1
STAT®T FHT

TEAAT 12 FYARG ATHTRT IHR BRTHT IHIH! T3 TOMHRT | o FH g7 Al
HTHTRT JHIAT 1 I T3 07§78 |
A2 (x+12)=3x+12+1
AT, 2x + 24 =3x+ 13
Aqg4r, x =11
A YRIE! Aleelbl I =x = 11 a9
ATATET AlgeTl AT =3x =3 x 11 =33 79

BEETEN

TSAT FWFT SITTATE 4 & U KT EXETE 2 HaTSeT AfS 2 & | afE &Y faeat sivmn 15
Waﬁmzmwﬁaﬁm%@,wﬁmfwwm@q:

HHT

Tt WA arAvad e % T, et x =T ofeT &7 9 pE% A |
qfedl FAATER,

x x4

y—2

AIAT, 4x = 2(y —2)

_2)

AL4T, x = 2(y_
4
2

=2

A —— @k




TN TAATAR,
x+15 9

-2 7
qaar, 7(x + 15) = 92y — 2)
Faar, Tx+105=18y— 18
q9@T, Tx =18y — 18 — 105

FeaT, 7x = 18y — 123
x=18-123 (i)

Wﬂ(i)aﬁxaﬁ%m(ii)mww,
y-2  18y-123
2 7
FeET, 7y — 14 =36y — 246
41, 246 — 14 =36y — Ty
F9T, 232 =29y

qgar, y= 232 _g
29
y T HIT FHIHI (i) T T,
o Y-2_8-2_6
2 2 2

o ATAITE ==§

| sTwws

T2 ATHA TR UIT ACCATT Theh! EATHHT Tah! STSH TUHT EATAT Tgahl Agehent 3 IO
B | IFT TSEATH AR T T3cdT a1 AT T TEoh! ASEUTHRT TRTHA 88 © WA T&eh!
ST i &0, T AMSR

HHTIE

S

PN

AT g5 AShel ThT AgET = 10x + y T Tel x T y FHHI: FIHN T T Tehebl TITAAT
TEH AGH & |

afedl qeeamn,

R0 ) T, e €




T AAATAR,
(10x +y) + (10y + x) = 88
HIar, 10x +y + 10y +x =88
agar, 11x + 11y =88
a9ar, 11(x +y) =88

FHIER (i) AT x P A FHET (i) AT fq=ama= Taf,
qg4r, x +3x=38
Aqal, 4x =28
EREIR x=%=2
x 0 | FHIEOT (i) AT T
y=3x=3x2=6
T FEhl g1 = 10x +y=10x2+6=2658= |

IHfeqep qiear

HEh FIEIT T ASHH] T T3ca] av S&Thl ANTHA 88 T |

T ggEIes, 173 71,26 T 62, 353 53 q4T 44 T 44 7 qF3A |
afedl TAATATR,

Teheh! TITTHT TEhl ASH IUMH TATTHT LI AGHHT 3 0T &5 AT 26 Tk A17 [6F
faepeT g |

IS ATAYTF TR = 26 &7 |

BT

6 kg &3 T 5 kg ATTRT SFHT HeT ©. 560 U6 | & T 9 kg &< T 7 kg ATTRT ST Tell
% 820 U5 | 1 kg #IS T 1 kg 3T GaaTaad e Hid 6, T0T SSTE :

HHTET

gel,

1 kg TSH T & x T 1 kg ATIH T &,y AT,

A —— @




afedl FqATET,

6x + 5y =560 ........... (1)
TN TAATATR,
9x +7y=2820 ......... (i1)

FHIRI (i) A5 3 o T FHIEIW (i) AT 2 A O WA (i) a1e (i) Ters T,
18x + 15y =1680
18x + 14y = 1640

y=40

®Y y ®T AT FHIET (i) T €T,
6x + 5y = 560
4T, 6x + 5 x40 =560
4T, 6x = 560 — 200
360

AT, X =~ =60

I | kg DTSH T . 603 1 kg ATTH T & 40 T |

BEEETED

g3eT fermemr fary gfrifiamn 48 ageamn fasars sifta af@ fom saegeR o )
T FEATETET 63 AR GEHTRET Wt © | I e iam™n 7 fasa € 100 T
WA EATI Tlwa & 25 9 T | faaeor tivgst w9 T = 3000 & s ST fasiar T
HEWRIT AT gl AT il TSR -

THTHT

)

RE
STERT faTaTeh! Tg@m x ¥ WA AT gl gl y |t
afedl FAATAR,

xX+y=063

NN c

100x + 25y = 3000 .. (iii)

] ) SPM—




FHIER (i) AT x 1 HIF FHET (i) AT Gfq=ama= Taf,
100 (63 — y) + 25y = 3000
79T, 6300 — 100y + 25y = 3000
7941, 6300 — 3000 = 75y
A9, 3300 = 75y
3300
Y="775  ~
y BT | FHIEI (i) /T IERT,
x=63-44=19
A STFAT fasTare! IS @ 19 ¥ Fedril AT gl 93@l 44 573 |

aepfes qfier
63
| 63 —x | X |
x25 x100 =% 3,000

25(63 —x) + 100x = 3,000

AT, 1575 —25x + 100x = 3,000

A4, 75x = 3,000 — 1,575

AT, 75x = 1,425

941, x = 19

qT STHEAT fasTaredl 98 =x = 19
WWWWWZ&—)C: 63-19=44

T, FET €

REE!




B s 2

1. (%) 35 gATCHS TS x T y & JETHRAH 3 OO | o Grars Fad

g 7

(@) A ¥ AT TR SHR x a9 T y a9 9O 10 qudlg farewdl IHY Ha
HicT BT, TeTerd |

() Tx ISTATSH Aleddl IHY 150 T 11 a9 G | 'm' a9 diedl [dreemdl IH
Hiq Hq T, TeTerd |

() y I x FAM TH E T T AT AUH Tz ASHH AS@TATs el
TSR 7 AT I ASEATH (AT gg@r 9fd JeEd |

~

2. TR gATCHS IR AMEHA 128 T [q-esa! w2 16 B A= AT Fgen ol
Q\ \l

3. UIAT ASET Abl AS@TH 5 IO G | [dHewdl AR 72 A o Gg&r Il
Q\\l
4., U3l [ASTHT AURT TEATET AAFEED TETHA 105° T ®F 15°@ A7 Al
BIUTRT HI O AR |

5. foomer T QfEdTer TSE HeT 99 aRTEOR AGEITHT FHA (BT [T | THEA qfs
foerrer T FiAATSr FHHM 5T 12 ATl Fhold @IS, [FTAGT TR TTH
eiae TgE GIAATET Sk el ATl 2 VAT 2 o BH g | GEHT
IAEEHT F(q HA FAhele (9T, I0T TSI |

6. U= FAYATY FATH IHT BRIH IHIH 5 M {97 | aAfeed a1 T BRIH IH
SITEET 46 9 B 9= o T SRIH! Aleciel IHT AT AMSTRH |

7. 15 AU FaTHl IHR IR GRIHT IHH =R T for | Afe 5 awdtg garer
IHY GRIBT JHIH! 2 T[0T g @ 9 [q-emedh! el IHY Il TSerd |

8.  UF AUUMS ATHIH IHY IHH GRTHN IHLHT =R 0T &7 @ | T3 a9 AT ATHTERT
IHY BRIP4 qUUTG g IHIH! A UM 1947 99 [q-e®dl eTesdl IHT Hid
Hid g, I MG |

9. & avuta TH T AHHET IHH dqUT 4:3 faar | = avufy fadrewe
JHIFR! ATATT 11:9 B B A9 [q-e®mdl Tl IHY IaT A3 erd |

<3¥ ) T, FET €




10.

I1.

12.

13.

14.

15.

16.

17.

18.

10 Fvafer Famesr IHR T GRIPT SHIHT AT 11:3 faar | 5 avafg gemesr IR
BRI JHTH! 2 TUIHRT 10 T T g & | GRTBT IH Bl aUAT Algelahl LaThl
JHY SRTeR g4 @, 9T A3 ey |

T3l [Tl 9T ¥ EXahl ANTh e<ehl 2 UTHT 3 o %H @ | I4 A T gXale
1 SIETIAT 9T BTRT ATAT &g A &l [H= o1 S84 |

TZ ASHBN F T AFHT AZhE! ANTHAS! A UM B | T(E AT TEEITHT 45
ST A AZHeh T Ta(dwg, A bl AT T MSTa |

T2 AGHFI T3 IgCT B | Afd ASHH T dTQl g+ qgell o ASeITH
SITEaT IRTHRA 121 g ¥ HIel gl "Uarsal 27 aihl grg 9 I dgedr aal
ERIEEEEE

10 T 100 &7 fa=r¥1 99 T3 IGEATHT A ANRS 9 T | AT I TgeATals
7S UM REAT A ASHB] WH AGR] g GGEATH AR 0T g | 9Ad
ASATHT ASF FTATHT TAAT TRl |

5 kg @ ¥ 7 kg Ferirent ST 7 %, 810 U | AfE 5 kg AT HeA aTeR
2 kg FoAldr He0 B 99 1 kg @1 T 1 kg o6l e 907 ASARM |

TSl MSUARIA BN ANMETE [qRTAAH] AT ATIAATHR ST GEATTH B, |
AT ST AFTg ¥ ASTgh! 91T 11:4 B | IHT TR ARTAY TR Tk el
TS T THeTahl & 100 FT I MSAARIH STFT . 75,000 @ g7 | 4T
“‘l“llcb\l A g ¥ dAlslg 9dl ¢'|‘||\3'15|%L|

F faaTeraerT GerHETTRl AeTg dFTEHl UF faerg g | afe IH JIarer gd
Harerl qRTATT 32 fAex 9T & GefET=H @ g ¥ A@eg Il a s ery |

Tgfger ¥ 2,000 F1 %. 50 T F. 100 T 7T A1 TZET TH T AT TZHAT T3 |
SIgeheT STHAT 25 STaT ATa {641 99 &, 50 % %. 100 =T H{q Hiqarer dre e o,
ESIRCRICE

A —— (=3




— R

HTRHT BURATE ATTHR] THAHT TS H TLATQT 6 STANT ATHTAHT ATIT T AT
T T AT Ueh T (FRT) T Tehval Hedl iy T AEAR T | ST HedehT HATERHAT IR
TG GHIH FATE AT ATHIHT TebTg Hedl I ARSHEr | AT 9 T fehearept
THTE HA T Tl AT AT A94T, 1 kg ATHI [heebl AaTaTH Hed Al & Hd Tk
TS 7 9 ATIRAT Ifqaed TR qerd |

— A

1. (@ 3(x+y)+1 (b) (x+10) ad T (y + 10) aw

(¢) (15—m) a¥ T (11 —m) T« (d) 10x+y, 10y +x
2. 72,56 3. 12,60 4. 60, 45
5. 21,21 6. 3539, 11 ay 7. 55 a9, 25 a9
8. 47 @9, 11 a9 9. 19 a9, 15 a9 10. 40 a9
1.3 12,27 13. 74

14. 100 % &t a1 50% 91T
15. = & 36 9fd kg F=+r & 90 9id kg

16. 275 m, 100 m
17.12m, 4 m

18. % 50 &1 10 T %. 100 &7 15 3rer

¥k ) SPM—



13 12 ararse (Indices)

12.0 qRas®A (Review)

T 7 AT 79 FRA 1,49,60,00,00,000 km B | T T FaBTLTET AT 30,00,00,000
e/ adve & | A THFT AGRAT T FIITH TITAT FAhA TR ¥ (Aebuarg
FEATHT YT THe

(&) AT T FATT=HT TS Blal BTAT FIA A, ?

(@) TR TAATE BIET BAHT FEL Fad T, ?

(M) BTl BIAT A& TGRATH FA SATH Afgws, 7

12.1 =g (Indices)

BT

SUIFT ASTH FHE (A a _
T | Yo% FHed TIal

IAMHR FISATS T TATHR a&]
[TMe| T da Agusr geaqr  a a d
THEAT TA®RA T AT

(F) AHR FTSalSH AR Hd &g 7
(@) FATPR &R AT FA &g 7 HIA (T, ?

(M) (F) T (@) AT I AR T ATATTHT AT T UTATS S %gd\qld'iﬁ\lﬂ\l

FAHR FISASH &AFA =g X g = A>&S | T&l g @5 AR (base) ¥ 2 ATs ATATSH
(Index) 9w | & T BATHR &b AAATT=d x d x d=d° &S | Tl d IR
(base) 2 W+ 3 @1are® (Index) &l |

TId TSN AT TAE AIel ST a1 IeAl g5 aT AT a7 qaeh U el
IHT UHATS GIEHHT BIATSHHT TAN THwg, | AF TR g ATs n TEHAH
O e,

axaxax..(n9eh)=a"T3 |

ahre, e € (=30




12.2 wrargs®et | (Laws of indices)
(®)  oaTeE® U @® (Multiplication Law of indices)
a"xa'=a"t "SI mI n

(@  amrgsRe W W (Division law of Indices)

Q: |Q§

=q" " & m>n

1 B
a’"+a"=an,m5|§ n>m

(M  oraresRet i aare® Faw (Power law of indices)
am

m
Xn m — mpm Q _
@y =ave, @by =am (4] =4

() UM oargwa | (Law of Negative Indices)

1 1
a""=a—m EREN a’"zafm

() w9 o 7 (Law of zero index)
a°=1b°=1,x°=1,(abx)° =158 a#0,b#0,x#0

@)  argwe g9 | (Root law of indices)

m

n m
\W =a”
12.3 iS4l THETH FIAH (Simplification of problems

related to indices)

BT

T TR JETHAT FATRA T TR J&IT T

() 104?10X10i10”0 AT &b WP G 7

@) F (6)° T(6)° T AT TId &5 7
M F 364 T 64 F Use WA fawm ¢
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(Relation among sides and angles of triangle)

| e
IIIFT THEHT TSR | TdH THed AT ATTaATar [l ghad Teld | Iad drTaier
feavrTerT B9 SISy MR ARl aATSard |
F I THEH! ATE( AT a7 7 ATG AT AT FHEAT ST T TATH! AT fbA TAT 7
THEHT GARA T (AR qqT NSl |
SAEE ATIHT AT favehT e BIsT g | faeepiehT S¥aTgert STaRHAT R
Feh [piaHeT st aws |

(@) PISTSTeT g8 O TS AR T AV T FgH! 574 (Relation

between the sum of two sides and the third side of the Triangle)

| e 2

F AT ISR TE TSR ATEHT ARTRS J&T TATHN AHTGHT qd TEl gvg, T

TARTCHE TRIAVERT qite THard

(F) AT FHEAT TEEI |

(@) EF THEH YF eI O [GgUsHl & H¥eh Hi¥eh TR T ATIH T THATET
st fa=ter

A A
B C
B
e () e @)

(M) YAF ISR T AR T FeaAlal oIl ARTh afd el | 9T
TS T fTZURT ANABTAT TR -
Bt | AB | BC | AC |AB+AC |AB+BC|BC+AC| dfast

(<P)

)
(iv)  ®IfaeRr arfderare & ke Mierdr, IHedr gaswa T JEed |

A —— ( =3




frspd © % af PIeler 3 9Ol AvETgH ARTRS 9T TRl AvETSHE]
qd T T |

afg & PISTRT T2 TRl ATEZHT TRTHA TG TR AT STEY AT HH
AUHT & greg Bl 7

(@) PASTHT ST T BT TF (Relation between the sides and angles of a
triangle)

BT

AT ATHI TSIl TFH@ B0 Sl geg A Sel TSIl @ B0 qM[ §eg, Tl
TANTCHE TRIEERT It T |

@) #AFF T T W
J® FHE HPMI [Tl TIRT T Ugel 9 ABC aH8+ed ¢

A4 A

WFJWQWWA?BWWWCWWWWW
qre AR |

®it IH faeg C T Faaen anorer g@reer Jtafar feemar aeee |

J® FFEHT LCAB Y 95 BC &1 @wrg fedie THa™ T aad! qifadd 99ed

&7 | aB | Ac | BC | zcap | BETLCABE | o o
qEeT

()

(o)

(M)

AT dfcAepTae STl TIaT B0 3 I HIUTH] AFHE TSI F¥ed @loeld |

%Y ) T, FET €




(IT) ST Q9T P07 AT
PIUTR] ATITRHT A FBRBT (TS (FAAHI, TABT T ATgereproll) f@=Tard |

/A\ /A A
B C B C B C
== (%) o= @) o

(M)
FeTd PISTeT T 10T JoAT TEE TATHT ATT TART ATABTHT TR |

CEI AB | ZACB | BC ZBAC AC ZABC st

Py : FYSTepT ATHT STl TFH@HRT B0 Al gre He BIel Tolehl TFE B
Al &7 |

BEETEE

AABC At afs /BAC =50° 3T ZABC = 60° WT e/5TT ATHT ST C
T AW BIET WAT [ AT, Ol FISTR
THTEI
7@l ZBAC = 50°, ZABC = 60°
FTHIATE aTeT ¥, /BAC + ZABC +/ACB = 180° PoreraRT deiTer o
F9ET, 50° + 60° + LACB = 180° [Eﬁmﬁ AT 180° & |
F9a1, 110° + ZACB = 180°
a9a1, ZACB=180° - 110°
9941, LACB=70°

TS gaTwRT AHT G 70° FT GEHE 99 AB, ¥ FeHRT el 99 50° F TEHE
1 BC &85 |

30 60°  50°\

A —— ( =y




| ESGREE

1.

—

1-
3.
4.
5-

A
fagual st AABC HT STl A9 fA=a & T aHeH
HATITCHT FeTwaT FAT 10T T AT FTAT HI0T IAT VTSR
B C

A
faguar st AABC #T &iurehl 919 faqzrg ?
AT ATIRAT AT ATHI T T FIA=T Fral
T T SR C

B

73T P diwsiieT TRt R g I 5 em, 6 cm ¥ x cm B | I x cm
AAHET AT TR TS WIAT x T AW Tt A F {5 g ?

(%) 11 cm @) <11 cm (M >11 cm (" <11 cm

U3l FHiGATE PSRl ATEaRE d¥&rE 24 cm ¥ &F%RA 60 cm? HUAT I
PITSTeRT o= STl dFaTg 9T RS el | C

fagu=t fesmn afe LABC > ZDBC Wt AC > BC & WAt

JRITUTE TR |
A B D
Q R
fazuar @ PQ + QR + RS > SP &5 Wi yafuTa
T |
(hints: P T R STET@™ 1) P S

2. RrershaTs TETSTe |
@) <11
13 cm

6. RTEHATE TEISTRE |

kL) SPM—




13.4 q9&Y BT (Similar triangles)

BT

TAHT TR AT TAT ATATRA TR [GSUFT TTHT FA®RA TR

VAVAN

(%) HITIeRT erAe®HT AU STST ATHIA HEAT HEAT BT 7
(@) YT STST HATHITHT TR AFITE TR G (e ST 7
(TT) TS GEafere BIOTRl AT SRTeR G fF e ?
fTUaT SET ATHT F31 ST AT HIeh ATIH Bl | TXAT ATH(TATs FHET ATRIT AT |

I ATHTIHT SATHA AR TewmeTs GHET AT (similar figures) A |
qUEY PISTHT aRTaR HI0ATE G B0 9w T aRTaR HI0hT GEqE ATelTs
TS AT A |

A
feguar 32 Bst ABC ¥ DEF 985%9 D
st 8 ¥ ®or LA, /B T £C
FHHT: BT /D, /E T LF &1
AR GA A9 BT LA, /BX
ZC Fu ®0 /D, LET LF 4 CE F

FT T B0 &4 | 91 AB, BC ¥ AC FHe 911 DE, EF ¥ DF &l F=1id
ST & |

ahre, e € ( zz0




| a2

Fera T SETTSTE qEHTaT Pt FrearSHT fa=erd |

A
fariTe®dTg FHrer HTax TSR AR TATT | p
o ga TR FHHM ATTFGAT GEATIET (5
fre S a1 SA9, A9diehT TR | FEd
aer ofrepror sueHr o faed 1 @fer a9
B CQ R

fTeTe%ehT I SRTER B | o HI0T ST TR
AT BT AT FHET ST 8 |

TG A A ITSTeRT SIS P10 37ebT FIotept SIS FIOTT AT aRTER STUAT AT
T2 Mvs FHET g | "geRr frast ABC ? PQR AT ZA ¥ /P, /B £Q, /C X
ZR TS HIT & |

i ATl MI9STeRT TSI HIOT SR ATHT Al (9 TART E75A |

qREY TRt agTid WS vy

BT

T3er sl ABC @ e | ¢ @@l TN W BC |7 A
FHTIR g T Y@r@ve EF =g | e st geser

st ABC 7 195t AEF 2f@wgq | & 199 AEF ¥ ABC
THET B 79 AT g5 (A9 91 AB, BC, AC a1 AE,
EF, AF &1 9¥1g AT+ | E F

... AE EF AF N
WW&AB’BC?AC AT GBI T AT Frlmdehl

AT FEATHT FATRA T JEIA Tl | 5
afg TEATET IS THET G 99 G JSTH! ST AR 873, |

. AE EF  AF . AB_BC AC _ .
WWAB—BC = AC &8 | AWETE = —AFW&IWW|

AE EF

Y

&5 ) T, FEIT <




A

fawem € | A

)

gel,
oTeT fegusl st ABC AT BC €7 HHMATR &4

e faferuer v@r XY  AB? AC &% S

- - X > Y
E TF AT &®1dH & |
et s . AE_ AF
=" EB  FC .
B 7 C
JHTOT
qag b7
1. | AABC ¥ AAEF @1 1.
() | ZABC = ZAEF (@) () | =g o swuEr (XY || BC)
(i) | /ACB = ZAFE (#I.) (1) | FgaTa o7 qUETr (XY || BC)
(ii)) | /\BAC = ZEAF (&T.) (1i1) | FreRT HroT
2. | AABC ~ AAEF 2. | ggeirer Pt AT BT AT
AT AT
3. | AB_AC 3. | wwesy PrvsteRT ST ASE! AT
AE AF
AE+EB _ AF +FC
" AE AF
AE . EB AF ., FC
T AE T AE  AF | AF
EB_  FC
JI4T, 1+AE—1+AF
EB _FC
A9, AE = NG
AE _ AF
T ER T FC
g ST |

SR (=%




BTN

feguat fa=mr st PQR T PST a&&q fsst &7\ s@Hn
PQ=8cm,PR=6cm T PT=4cm ¥T

(®) PS & &g 9l d3erd |

@) Ife ST=6cm 9T QR &H THETT Hd g 7

HHTE

72t frqst PQR ¥ PST H#&Y 19T & |

aad,
PQ_ PR _QR
PS _ PT _ sT 2!
8 cm 6 cm QR
4L pPS T 4em T 6cm
(%) dfedl g5 AquTaars fear,

8 cm 6 cm

PS ~ 4cm
T, PS=—8 om X 4 cm =534 cm
6 cm
(@) Hi¢ -7 T ATTH AITAATS fefaT,
6 cm QR
4cm  6cm
p— R_6cm><6cm _9
Q 4 cm om

Q90 )

T, e €



BEEEEE ;

gt T XY||QR, PX T XQ ®#T U@ 5: 4T PR=7.2 cm
W7 PY 1 | fa & ?

QHT

Tet s AR, XY||QRY PX:XQ=5:4,PR=72cm & |

a7 PY =2

A PY = x cm 999 Q g R
YR=72cm-xcm EEa e tea)
. PX PY
B el XQ ~ YR DX 0 ApxY T AP R THEY AP
5 . PQ _PR [ N Q ]
3T2T5|T, - = 5 PY
4 7.2 — 2 _ Y
o 6 54 o 9 g = 7
T, 36 — 5x = dx sraT, 9PY = 36
JIdT, 9x = 36 9 PY = 36
L x=PY=4cm e, B

A94T, PY =4 cm

BEEEE p

fiftht 3=E 1.2 feX © | 9 3.9 feT st W st C
It o | ST T GETR TR 6.5 faY Wt aHgE 3.9m
SIS ST BT Fie A 70, T G | L.am
qHTE E—7?—D B
At o AB STl @Rt 9=, CD Sifyerdr 3915, 6.5m
BE @I STATH! @813 ¥ ED SIehThl SraTehl dw=Ts S |
AR,
AB=39m BE=65m,CD=12m, ED=7?
ACDE T AABE ¥H%=T & |

[ T RPN PO & T LE g301 |11 HI07 U]

AB  BE

T, 55 < DE [ oH=T ST I SISTTehl AaTa AU d |
39 65
T2 T DE

g9a1, 39 DE=6.5 X 1.2

7T, T < ( R\




s9aT, DE =

6.5x1.2 _
3.9

2m

I T FHAAT SRR AT avErs 2 fHaw g

BN e 134 [

1.

fst ABC #1 gfe BC || DE, AD:BD=2:37 EC=12cm 9T AE & #9
HicT e 7
st XYZ®1 afe YZ||PQ, XQ:QZ=3:5¥ PY=7.5cm 9T XY & #F
Hi & 7 A
fagu! fomame x 1 AW o e

E

1.8 ey

B— 524 cme—C—» 12 cme—D

Z9 WSS FWRITT SRTOERT 0T aXER O | e
feraT AT waTE Rt FRETE T A1, O SR

< Tt — e 14— >

) UIAT 20 m 3 TEWH TATR! TFE 30 m §&7 TEWR TERT TR DTt

TEE 7.5 M &G A @R IS Hi 2T, T01 TSR |

Q9% ) Tl Fer




6. U fqaeoms Goie T foemT QAT TR QAT ST R €@ T AT
ToTTE &S | 31 ST AGEATHT TGH! IATE FELN TA AN Alehe, THEHT TARA T
AT |

— R

foramdies ST ASEITHT THEHT TR | TUIEH! IA1g T TUTEH] STATHN A1T FHel
qriTeTs fad ASHEd | AET THANT TUEHT [qATATRT GAHGTAR =T &
ATeTereT HTdehl Bl TSl GETHl FATH AT fAqer | AT S ATTHT AT e
TR GHETH 918 I AMSHerd ¥ Gieharated H&Tar J&qd T el |

—

1. 8 cm 2.12 cm 3.54cm 4.24 ft
5. @ 10ft (@) 5m 6 . RreraTs TETSTe |

nfore, ¢ ( ze3




aqefst
s 14 (Quadrilateral)

14.0 qza=ie (Review)

BT

(@) FHETHT faadie® SUEd THEEEAT TR |
(@) YAF THEA HITHTSH! TAN T TIT FHMR FqHS TR THR |
M) T faeare FEEET e 3 IR FEAE |

[ o~ L/

ferr (i) e \ ferr (ii)

e

fort (i) fot (iv)
(&) A1 g TehraTs AIART A (1i) AT I@IC AT T AR | BT A 9w,
THEAT AT TR0 [qrEeebl TSl qAT B0 AHT (Y a1 TSR |
(¥  hiv mifgerr fa (i) 1 T@TATs oA (iv) AT IEIET SR TR @ersHe e
(i) T PIH FFe FEAT AMITAAT ? FHEAT (FFY AT ST |

14.1 FHARR ATHAHT UESH qA&0 (Verification of properties
of parallelogram)

| a2

FEATPEd AR | Ugd TwerAT T ATHhT THee ITearal 9 gad (o saeie
TR | I (oAbl ATH, ST T BV ATTehl FFvaehl a<Ar sy ATATRAT HUAT
TETErd | T fafesd & % @I @IoTl S, ATATRAT THEHT TA®A T Ferrated
FTITAT FEATT BT ACTETE T HEATHT T TRl |

3\9¥ ) T, e €




¥

A4

TEANET TEY T UMY JETEUSHT TR B9 Baowl fog sign Y@mevg iy

aER T AT | &6 |

et fega, A > __B
AB= CD Y AB//CD &1 | 9% 3 A ¥ C qoT -7
B 7 D ufq Sifeuat &+ | -7
TR T, 7
AC=BD7ZAC//BD C&= > D
9 fag B T C eS|
AT

T PRI
.| AABC 7 ABCD #T L.
@ [AB=CD (1) () | =mer fegusr
(i) |£ABC=2BCD @ | () | AB//CD W TH= 0T
. |BC=BC ) (iii) | FrepT =1
(iii)
2. | AABC = ABCD 2. |9 ® 9 TAATEAR
3. |AC=BD 3. | o=y st i S SRTER g |
4. | ZACB = ZCBD 4. | & PASTRT TSI B0 aRTER gea |
5. | AC//BD S | USRI HIT aRTER. HUHT
6. |AC=BD?ZAC// BD 6. |Fe7 376 ae

JHTTOTT ST |

T, FET < ( XY




(s Y

FEY T WY REravgdl faudafia ssvew fog dign JemavsgE SmwEHt
ARG &7 | Q

o feg,
PQ=RS T PQ//RS & | SIGHT [aq=Id &3 FHM:

PZ S @ar Q T R SIfSU& A | T@r@vg

S
PS ¥ QR fa= O HAT Ffaua® A | R
YT T,
PO = 0S ¥ QO = OR #41d, PS ¥ QR ATIHHT THIFHATSH g7 |
TR
a PRI
I | APOQ 7 AROS #1 L.
@ | ZOPQ = ZOSR (@0 () | PQ//RS HT aI+ehT TehTvelR HITT
(i) | PQ=RS () (i) | erer faguet
(iii)
Z/PQO = /SRO (&) (iii) | PQ//RS HT TTehT TR I
2. | APOQ = AROS 2. |1 9. F. JHATEAR
3. | PO= 0S, QO =0OR 3. | e BT eI STel
TR F7 |
THIT HAT |
AT AJHAHRT TG HAT T FFHE@ HI0T JIEL oA |
e fegua,
FHATR FqHsT ABCD & S/9H1 AB//DC ¥ AD//BC 3§ | s
A >
YA T, 7
1.AB=DC, AD=BC T
2. /ABC = Z/ADC, ~DAB = /BCD D > C

AT fag B ¥ D SIe |

R ) T, FET €




T HI
.| AABD 7 ABCD #1 L.
. | ZABD = #BDC (#T.) (i) | AB/DC AT e TH= 07
(i) | BD=BD (.) (i1) | =TT Sy
M1 ADB =/DBC @) WD) | ApyBC 1 7o TR
2. | AABD = ABCD 2. | F1 9 F THAATER
3. |AB=DCZAD=BC 3. | T PISISTeRT FEAfT SOl aRTeR &7a |
4. | ZDAB = ZBCD 4. | AT ST FEATT I aRTER g7 |
ZABD = ZBDC
ZADB = ZDBC
5. | ZABD + /DBC = 5. |aRTER HTOTHT SRTER FV W€ ARTER A
Z/BDC + ZADB T |
6. | ZABC = ZADC 6. |go5 5 Tt
7. |AB=DC,AD= BCz ZABC 7. |a= 3,43 6 dre
= Z/ADC, /DAB = /BCD
TR HAT |
qTeq 4
TEHE ST A AT TS T A F70 | ! B
< L}
et g, R
=IqHsT ABCD & @A AB=CD ¥ AD=BC & | S
YIRS T, N
D H C

ABCD U3el FHMRR AqH &l |
watd AB // CD, AD // BC
= favg A T C RN

T, FET € C X9e



T HTT
I. [ AABC ¥ AACD #1 L

M 1 AB=CD () ()| arer fagusr

() | Ap =BC (+7.) () | orzy faguan

)1 Ac=AC () D | vt o

2. | AABC=AACD

. H ¥H JIATIR

3. | ZACB = ZDAC
/BAC=ZACD

e ISRl TS P07 SRR g |

4. [AB//CD,AD//BC

TehTrd¥ I ST AU |

TR ST |
T O AT A S T T 7D A g
LI CECE TR
=5 ABCD a1 ZABC = ZADC % ZDAB=/BCD % | [ ]
THIROT 3T, D C
ABCD USel FHMIR FAqH &l |
T
g BT
1. | ZABC + ZBCD + ZCDA 1. | =resisar fordt rorr drmee 360°
+ /DAB = 360° g |

2. | ZABC + £BCD
+/ZABC + ZBCD = 360°

gaar, 2/ABC +2/BCD = 360°
aga1, Z/ABC + ZBCD = 180°

2. | ZABC = Z/CDA<
/DAB = /BCD 4U&Te

3. |[AB//CD

3. | wmumTa fATROTRT ATR e 180°
AT

4. | =& T /BCD + ZCDA = 180°

4. | FRor 1, 2,3 T

BC // AD FHANTT (94T HOrRr TRTHRA 180°
AT
AB // CD, BC//AD qyg 37549

ABCD U3al F9M=R Iq4s el || 7. | de7 6 are

R8g )

JHTTOTT 2T |

T, e €



qreq 6

T AIHART [TRUT STTEAT FRIGHTA 7o |

T fag, P 5 Q
PQRS U3al HHMIR FdA¥s &l SqAr faao
PR 7 QS fa= O #T 9ld=esd FUH A |

0)
TATTUTE T,
PO =OR 7 SO =0Q S » R
THTT
a=a BT
1. | APOQ ¥ AROS HT L.
(1) | zOPQ = ~ORS @) | (1) | PQ// SR W TR I
(i) [ PQ=RS (1) (i) | FHTATRR SqSTT qFE
2. | APOQ = AROS 2. | #1 9 N TATTER
3. |[PO=0R,Q0=0S8 | 3. | =" Aeieht qSNIq T RTaOR g |
TR HAT |
a1e 7 (AreA 6 Y )
RIRCELEDS y ¢
=TT ABCD AT AO = OC ¥ DO = OB A |
JRTTUTE T, )
ABCD U3el FHMR I+ &l |
A B

T, FET < ( RAA




T FRI

1. |AAOB 7 ADOC #T 1.
(i) |AO=0C (1) (i) | arer faguer
(i) | LAOB = ,COD )| (i) | TS F
Gi) | . (i | T T

OB = 0D (+.)
2. |AAOB = ADOC 2. |9 # 9 THAER
3. |AB =DC 3. W%TWWWWW'
4. |ZOBA=Z0DC | 4. |&q&q Ao IEideol avier g |
5. |AB//DC 5. | UHT=AR IO SRTER TR
6. |AD//BC,AD=BC 6. | AB// DC/AB = DC 9T
7. |ABCDUSer 9.9 & || 7. |&F@ qs1 sRaR T AR AUH |

JHTOTT AT |

BTN

A E\\ 1 D
fazu fommT x T y W AW o= e 116 \y
AT
ETHIATS 9TeT 3,
B > X Ve

(i) /BAE + ZEDC =180°

[*AB // CD 9T AT At T |

Aaga1, Z/ZEDC =180° - ZBAE = 180° — 116° = 64°
Z/DCE = /DEC=y [+ DE =DC %U#™]

(ii) ZDEC + ZECD + ZEDC =180°  [~» ACDE &T 3l &IUTe[ IR |
#9a1, y+ ZECD + 64° = 180°
4T, y+y=180° — 64° [* CD = DE WU&[|
Foar, 2y = 116°
THHRI y = 58°
ZBCD = ZBAD [ @9 ABCD & TF@ %]
&Y x+y=116°
T, x=116°—y=116°—58°=58°

X590 ) T, FEIT <




BEEEEE Q

R GHATE TS PQRS AT /PSR H1 AT T=A7 FSTER : <
P

o \/
78l ZQPR = ZQRP=37° [+ PQRS #aTE I PR=RQ &g| 4

ZQPR + ZQRP + ZPQR = 180°  [~*APQR & [¥41 H[0&! TTh |
#aaT, 37° +37°+ Z/PQR = 180°

#gar, /PQR = 180° — 74° = 106°

®K /PSR =/PQR=106° [ @HaTg Iqusl PQRS & aF{@ |
#a@ /PSR =106°

B e 14

1. @« feguan o TR s gt AT x T p &1 AW Hid g, T ISR
() -> ) > (M)
2x x X
1189
> y

tc)
(*1) () (=)
/\ 1
3x— 11\ x+5

3x+5 x+5

R

2. feuaw fEmix Ty 1AW 0O SIS

() ()
A D B C
1200 540 77
Bl—>—A" v
> 68°% . ¥
¢ E D

7T, T < ( R59




3. @i fox aweng =9 €| 3R ZDAC = 34° sU, /DAB,
ZABC, ZBCA T ZCDA ® THT FSTRH | v

rA
A B
4, af oS FAFFART AqHAH TF stgt faudia #or s\ (63 — 3x)° T (4x — 7)°
WOHT FEHT T FUTH HH T TSR |

5. & ot MN = OP T PM = ON © s MNOP P i 0
M/ i /1\{

AT A 81 HAT TAOTT TR |

6. PQRS TST &HHFY S &1| X T Y T@m@vg PQ T RS

S Y R
1 WeAfarg §1 9 PXRY SHWFR s &1 S Jeive
T |

P X Q

F

7. fezu= == AD = EF, AD // EF, EF=BC / EF //
BC % 9 ABCD &Y Fq3« &1 Wl 7ot | D C

A B

8. TUSel WaWst SLOW 3 s@@ SL =10 = OW = SW 8 s 3ad ={weTs
FHATR TAHS &l T THI Tl |

9. u3al Iqqsl MOAT 7 wr&H fa MA o OT o fasg R 1 #aahl g <
MR =RA ¥ TR =OR @ 9 I& FqHA AR FIqHS & A1 THIOTT
THETH |

X5 ) T, FEIT <




—EREIEE

ITIFT ALEITHT faandies THeAT TEAerd | o A7 [Tariasl Gasard S |
TUF FHEA SRR FedNTaTe HMAR IdHsl I I9H [qh0 aarsderd | a9

TFE ST ¥ [Iehuiehl Fverd @ISl T HelTH 9%dd T |

T FThl THTATR T»i(l‘i*lfbl FTATHA T TAT AT [T oA FHATR T»l('\lji\ﬂﬁhl

—

I. @ 60° (@) x=56°y=062° (M x=12°,y=140°
(& x=1 () x=8 ("M x=06 2. (® 60
@) x =58 y=>54° 3. 68°,112°,34°, 112°

4.33°% 147° 5-9. Rrershars @ISR |

T, FET €

( ze3




Xdoll
as 15 (Construction)

15.0 gRawi® (Review)

FAHT famndiers & /% SATH GHEAT [GEeT THeM | Td GHEd deeEdls
1,2,3,4,5 3 6 ATHEI THEIE | IUF THEHT [RTETFaTE YT qAHT [aaeHed AT
ATHHIUT ATAREHT ATHSTH! (97 (AR |

2] /s
BROEN

99 T THEH TI¢ AHR HUH G5 U3l GHeH TEAad | & T el | g%
T3Sl THEH], 2 &% bl AHEHT aEAerd | Sad FdT THEHT ATHATE Tl A HAb]
HATA T AT J9TH IR GIoTad | THEHT Gaha T FIHRT 5y Jar
THE

> ~

(%) JeUF ATHSTH A9 & & ?
(@) FTIHSTH [FATAEE & b G ?

T HEHT hY AR qRAHUlE qF: RIAT THEHT WY ATHA [Febebl HrTeATE
Tl YRdd e 3 o TqHsTewd! aeHT THeh (Mehy qar THer | AvcaT
FEATHISTHT THHETT ®IAT I&d THR |

X5¥ ) T, FEIT <




15.1 fawsag =it T=AT (Construction of scalene quadrilateral)
(F) TR TN T CIeT faapuiaht 9 feguept @@ (When the measure

of four sides and a diagonal are given)

AB=48cm,BC=43cm,CD=3.6cm,AD=4.2cm D 3.6 cm c
¥ fq@el AC = 6 cm. 9UHT ATHSTH =1 THEE |

5 &
SRIBIE] ~ 6 g
[d ~ ~ c = ~ !
Fagad fagUHr AT qUH qHATE TANSTEH THAT G <
TAR TR ATHHI TR |
A 4.8 cm B
i g et

1. fggr@Er AB = 4.8 cm f@=12d |
2. AFE6cm TERH qgAH (@R =17 fa=Terd |

3. BaE4.3 cm IRTERE AGATH AR =9 fg=1e 4 |
qfgeel ATTdTs FliaUH [agars C ¥ faTard | ,2/

4, BICHAM ATCSETeH |

5. &Rt A 9 4.2 cm TERB! ATAY a0z AT
fer=eTd |

6. Care 3.6 cm gAY faux =AM fg=erg ¥ 9fed 0
1 ATIATS FIEH fagare D ATH f&Ta4 | AL
7. fag AT D, C 3D Sgae |
AFeTE TqHT ABCD TaR 94T |

4.8 cm

(@) TEIN AT &0 T AAreT B fGguat Fa@mHr (When two adjacent

sides and three angles are given)

PQ = 4.5 cm, ZPQR = 120°, QR = 3.8 cm, ZQRS = 105° T ZQPS = 60° HUhI
T3l A PQRS &I THAT T |

nfore, ¢ @@=




JqHE
FEAYIH faSURT ATT AU ATHSAH! THAT @I TR T ATHH THa |

1.  QR=3.8 cm ¥UH @@TS fg=Aaq |

2. fo Q 1 HHES FEerIar L/RQX =
120° &I 10T fg=1Er |

3. fa Q @rE &= HMT 4.5 cm & AGATH
feruz =19 fg=erd ¥ P AmH feqed |

4. g R AT HFEH TART T 105° &
ZQRY @@=z |

5. fa= P AT ®HMEH gerEdd LQPZ =
60° f@=ierd, el RY T PZ fa=g S #T
S Q7 38em R

AraeT%F AqHS PQRS TIR w7 |

4.5 cm

@) AT S T gRArer H TP AqEAT (When three sides and two

angles are given)

QR=6 cm, RS=5cm, PS=5.7cm £ZS=105°, /R = 120° qUeT a@%iGrPQRS Cl
T TR |

Q P
HETH
. - N 6 cm 5.7
TATIH fEgUH AT TR ATHSTR 120° 10se] >
THAT @Il TAR T ATHF Tl | X R 5 Y
\ /
I. RS =5 cm WU& ¥@@Ewe A Q p B
fa=Tem | e

2. HHMER GAN W g R TS

6 cm
[T FHT 120° T 105° &7 HI07
Rer=eTe |

3. fa= R @5 &= AR 6 cm &I R 5em g
FageTe fquR =19 fe=Ee, 9
fag Q w1 Ffews |

R5% ) T, FEIT <




4. fag S @M% &= AR 5.7 cm R AGATY [0 fa=g P AT =T HTEARH |
5. fag P ¥ Q ars JEAeM |
;. ATFYIE FAqHS PQRS TAR wAT |

. _Eugksy
faguaT srEeaTT IR T TR
1. =@ds ABCD S&d 1 AB=AD=3cm,BC=2.5cm,AC=4cm?BD=5cm

2. =qIT MNOP S@HT MO = MP = 6 cm, NO = 7.5 ¢cm, OP = 5 cm ¥ NP
=10 cm

3. =q9s PQRS S@AT PQ =3.5cm, QR =2.5cm , RS =4 cm, ZQ =75°% /R
=120°

4.  =FqIST ABCD &A1 AB =3.6 cm, BC = 3.3 cm, AD = 2.7 cm, &% AC =
4.6 cm BD =4 cm

5. =Iq9st PQRS SIHT PQ =5 cm, QR = 6.5 cm, ZP = ZR = 100° 7£S = 75°
6. ﬂ?ﬁiﬁ ABCD sgda1 AB = 3.8 cm, BC = 3.4 cm, CD = 4.5 cm, AD
=5cmT LB =60°

—

=T TR Rrerepdrs d@rgTey |

15.2 quaF sl A1 (Construction of trapezium)
(@) AT S T TS FIUH A9 f&FTAT (When length of three sides and

measurement of an angle are given)

AB||CD,AB=8cm,BC=6cm,CD=4cm?< D 4 cm
ZABC = 60° SUH! THAF THTb! THAT Tl | C
|qHE
. N N 6 cm

FATIH [GSUHT AR THAFT ATHSTH! THAT @I TAR
T AT et |

A

B

A 8 cm

T, FET < ( X5\




X

1. AB=8cm %&Tg WUH 4cml \

rarEve fg=TE | Yo7 717 0o C
2. fa= B W1 ZABX = 60° &0 f@=i,

6 cm H FgATE f@=Aed oA fog

C 91 Fifag |
3. fag C are ZBCY = 120° &0

f=Tera | 60" Ny

c < E

4. F A= 4 om N ademd fa A 8 cm

= fEg=Aerd S D Al #ilees |
5. fa= AT D SISTEH |
;. AALTF THAH TSt ABCD TR 93T |

(@) =R o T T HATRR o AFTH ATITHT

(When all the four sides are given and the parallel sides are marked)

AB =7 cm, BC=CD =4 cm, DA = 5 cm ¥ p, 4em c
AB || CD WU FHeH FqHTH! THAT TR - 5

cm
HHEA 4 em

[agUe! ATIHT THAT FHAH Tt ABCD fa=1er |

=T

1. 7 cm 9FITE AU W@@ETE AB f@=84 |
2. AE=DC=4cm g1 T AB ¥l 4 cm #1

fag E ¥R T | .'C“
3. g E g #wsfavg 9% 5 cm 1 dd=arq

WWWI 4 cm
4. R B ®@e 4 cm F qgAH fq@R dfedr '

I(IATSs FEAeE ¥ HlfeUal fagars C A §- B

5 E

HTF[FG_"IQ?'I?C[I ' 7 cm |
5. C @€ %% AT 4 cm & dgaa9 fauw

=17 fg=1e |

6. A F=are 5cm FH AIAE R C Hgiag [duZ HTEF ATIATS FIEAeE T D
ATHEHT THEE |

7. @R BIC,CIDTIA DI A ST |
AraegF FTqHST ABCD TR 9T |

&5 ) T, FEIT <




@) WA T T I faapel feguat Sa=m™r (When three sides and one

diagonal are given)

B B B B D 6cm\ c
AB=10cm, BC=5cm,AC=8cm,CD=6m?< 7
AB || CD WU&! IR =qqs fa=1ard | °
qHEE ®° 5cm
feguer ATYer THAT HARE FqHT ABCD fa=1er |
A 10 cm B

=
1.  AB=10cm g AUH W@EUE [@=aY |
2. fog AY B@TE &= AT FHAMW 8 cm T

5 cm gAY fquR =AMq

fersere T #rfausn fogers Y

C 9 feqer | 6 cm L

3. fag ArCamBICaE X
SrEAed |
4, B WETFRT T /BAC

&1 AT =RTeRHT B0 LACX 10 om
fg=Te |
5. fa= Cae 6 cm & dgea™ @R =19 fa=1ed, 99 fag D a1 #1iecs |
fog D T A SR |
;. ATAYTF FHAR TN ABCD TR 9747 |

(&) FESNET ST T Feaner Hor fEguapr s@emr (When two sides and two

angles are given)

AB=7cm, BC=6cm, ZBAD =90° ¥ ZABC = 75° SU&l THA AT
ToAT THETE |

D C
[qHEN
feguert ATIR! THAT qHAT FqHT ABCD f@=1e |
6 cm
750
A 7 cm B

nfore, ¢ ( 3s%




L EcEEp

AB = 7 cm @®=1g WUH Z
@ETe f@=e M |

fag A ¥ B ®1 ®FTHH
FHHM: 90° T 75° B B
ZBAX T ZABY f@=ed |
fg=g B @1€ 6 cm &1 AGATH
feraz =9 fa=ters, 97 fag
C 1 #Ffews | A
fag C e FFFHl TAN
TR 105° &1 I f@=Aad S foeg D AT Hlidg |

qFeTF HAHE FqHT ABCD TIR 5747 |

fagua sraeamT THER TS AT TR

l.

— e

TEAN R ReThars T@rs e |

ga9 ABCD ST9°91 AB=6cm, BC=4cm, CD =32 cm, LB =75°%
DC// AB

ga.". ABCD st@qT AB // DC, AB =7 cm, BC=5cm, AD=6.5cm?<
/B =60°

ga"9 ABCD S9HT AB // CD, AB=8 cm, BC=6cm, CD =4 cm <
ZC=120°

A=A PQRS SEAT Hohl @& Tg AT PQ = 10 cm, QR = 4 cm,
RS=6cm T SP=3 cm WU 59A1 PQ // SR

R0 ) T, wET <




15.3 ¥HATg =St =0 (Construction of rhombus)
@) gasier fawoier ToEw fegUA sw@@U (When the Length of two

diagonals are given)

fa®l AC = 8.6 cm ¥ BD = 6.2 cm
HUF! TIal FHATE IS ABCD &
AT TR |

QYT =0

TIGIH FEZUHT AT ATURAT THEATE
AR THAT G TAR T ATHET
TR |

TG ATHAHT TAATRT FXIT

T3el fgegr@Er AC = 8.6 cm f@=iad |
2. HHEH HIdd Iad AC I@rhl >P

THEEE PQ H TEAI TR |
qEgE PQ ¥ @l AC HICUHT D
favget O ATHEHI THE |
3. fag O &% F=as  aArsHd £
#gamE 3.1 cm &1 I (BD &# é))
\O
@)

8.6 cm

a14n OP % D fag 2 0Q @ B
[T =T FEARE |

4, g AIBBIC CIDR
D ¥ A ¥Rl WAl Sead |

T ATTYAF FHATE, T ABCD B

FT TEAT T | >L

A —— (=29




@) TIA SO T TS Mol A9 fEguar @@ (When a side length

and an vertex angle are given)

TSI PQ = 5.3 cm ¥ SMTHERIUT PQR = 45° AUHI Tl FHATE =THST PQRS I
T THETH |

THe |
45°
P %
\5.3cm/Q
HAATE ATHART THATHT FLTT
1. Ugel f¥am@r PQ = 5.3 cm fa=aerd |
A
2. FHHEH HEAA fawg Q HT .
ZPQR = 45° R[0T R :
TR T | S | N
3.  FHHEH HIdd 5.3 cm !
a9 fag QA Y@ fag |
R T =T FTEAEH | I
4. ErEr g fag P T R @@ P 53em Q

N \_Q_OF [}
gfd=eged g4 T faeg S 91 RS He I |
5. @R PYSTA RIS FTRH ARMEAAT AT | T ATAYTF THATE, AHSA
PQRS &I =41 94T |

R ) T, BT <




@) SMER S T TS faspuiet @varg fEgus Fa®m™T (A side length and
length of a diagonal are given)

ST EF = 5.5 cm ¥ f4%9 EG = 7 cm WUH UIAl FHAG FqHS EFGH &I

AT TR |

a1 =

FATIH (GSUHT ATTHT ATARHT THATG ATHAH! H G
THAT G TR TR ATHER THE |

N

/

AATE ATHART THATHT FLUT EY——ss7——F

1. Ugel 9@ EG =7 cm @184 |

2.  FEE@E HEdw 94 EG >P
THETGF PQ FI @I T |

3. fa=g E a¢ &¥ME& Hegad 5.5 cm
#1 =T OP T 0Q 9% fa=ied ¥
% Yid=sfad famgems A HIF
ATHHI THE | 7 cm

4, @I EYF;FTG;GYH;THTE
FATR] HETIATd SISy |

H

T AT F THATE FqHst EFGH
I TFAT T4 |

A —— (=23




(&) STER S ¥ AR HSRAT fqepoiel SITepr 07 feguerl Saeam™n (A side

length and an angle between the side and diagonal are given)

TT AB = 4.7 cm T ZCAB = 60° 9UH TIAT THATE FqHT ABCD
TIET TR |

qqr = D \ C
FATIH [TTURT ATTHT ATIRHT THATE A Ab!

THAT @I TAR TR ATHHI Tl |

60°
’ B
A\4.7 cm —

HHATE ATHHT THATRT FLUT
1. U©3ar fgamEr AB=4.7 cm

=T | P
2. HHIESR HEqd fawg A AT C

- D
/PAB = 60° g8 # k |
TR TR |

3. HFMEH HEdd 4.7 cm
a9 fas B fa=ae AP
@A AT HEARE |

FlfeuH! famgars C ATHET
THET | 60°
4, IET A9 faw| A de !
wigads 7 fag C @ A 4.7 cm B

FATAH FFTAR AIAA THABET Fq=gad g1 W a5 D 9T aserd |
5. @RBIC;CIDTIATD TH FeIA SASAeH |

T ATAAF FHATE, T ABCD &1 T=A1 9747 |

%% ) T, e €




B = s
fguaT sraeamT TwaTE FaHEE A TR

1.

— A

=T TR Rretepdrs T@ISTRM |

(a) FHATE FIqHST PQRS STHHT {9 PR =94 cm T QS =7.2 cm
(b) THATE FITHT WXYZ THH [dh9T WY = 6.6 cm T XZ =4.8 cm
(c) THATE FIqHST ABCD ST fa& AC=5.9cm T BD=6.8 cm

(a) THATE FAHST EFGH ST&HT ST EF = 6.3 cm ¥ MU LE = 75°

(b) THATE TS ABCD STEHT 1T BC = 5.5 cm T 2THH0T £C = 60°
(c) THATE ATHST IJKL STHHT 91 1) = 5.1 cm ¥ 00T 21 = 105°

(d) THATE FTHT WXYZ STHHT ST WX = 6.2 cm ¥ 2THR0T LY = 45°
(a) THATE TAHST ABCD STHHT 9T AB =5.8 cm ¥ {989 BD =7.3 cm
(b) FHATE TAHST PQRS STHHT 9T QR =4.3 cm T {7 PR =6.5 cm

(c) THATE IIqHST EFGH ST&HT 911 EF = 5.1 cm ¥ f4%9 EG = 8.2 cm

(a) THATE AT ABCD ST&HT {11 AB =53 cm ¥ ZABD = 30°

(b) FHATE TAHST PQRS STHHT HST QR =6.1 cm? /PQR = 75°

(c) THATE FAHST EFGH ST&HT ST GH=4.6 cm ¥ ZGEF = 60°
(d) FHATE TAHT WXYZ STHHT T WX =5.6 cm ¥ LWXZ = 45°

nfore, ¢ ( =qy




16.0 qRadie (Review)
feguert axiept Fergeart ATaTTHT TATehT ATAET FASHT BAhe T A1 Forept fafae amr
afe=d THE T HETHT I&qd e ¢

E

. ‘ \\Y
Q /D B
\_/

Fow! fafie \wmr

(i) @w=fag (Center)

(i) @g=aT™ (Radius)

(iii) 9RfT (Circumference)
(iv) St (Chord)

(v) =rE (Diameter)

(vi) =9 (Arc)

(vii) #Tgga (Semi-circle)
(viii) &=% (Sector)

(ix) dd@ve (Segment)

16.1 Fadr AERAT Gt rex (Theorems related to chord of a

circle)

F aepl ATt gEeer favg ST t@rers S wiawg | g9 e 9t Uger Ssiar

21 | AT gaH=aT AT Srar 2 |

ferraT TS USer dfEs YR d9En, AT TREr O b WUH
WWWIWWABWWIWWWA A
@I TE T AR | AR GeASA T @ AB @ g N |
SRTER. STRTAT [ ATeie T a1 Tae A fquz 9 |

Re ) SPM—




i

IAB] FR(TEE H AT g AF W TS GHGAT T |

TANTICHS 0T
P
P /i\Q
O——E R (@]
Q
ferT () e @)

HqITT forodT TSI R e AU T FeRiaeg AUHT qeAl g9 (G@ee |
JHHHT Teh TehATEl Sral PQ Ma=Agrd ¥ o STarHl e SRTERHl TANT T s
O are &% OR f@=1a M |

o9 AT FAAT PR T RQ T o¥FaTg AT el ATABTHT TR

P PR RQ A
%

e}

fTspY © aepl FrafervgaTe F SarHT aq dwEe g Sarars GHgHTsE T8 |

g FH

oTaT fagueH,

oA O gl Fwsia T AB a1 @ 1 OC L AB 3 |
TR T,

AC=BC

T : AO T BO STl |

S (v




T

I

AOCA T AOCB H1

Z0CA=Z0CB #H.)

OC 1 AB Y9U&I® (Y& &0 90°

(i) | 0OA=OB @) (ii) )
(iii) | 0C = 0C (1) (i) | TSE TR A O
FIRT ST AUHTA
2. | AOCA = AOCB 2. | 9% TAATEAR
3. [AC= BC 3. | =T PasisteRt |Egfa S WUHTe

(s Y

AP Braferg T TR B AT AeAfTwg AN [T IFA AGTHT T g7 |
TARTICHS T80T

JHTOTE ST |

H-

WWWWWHMTWWEWWWI

YAFHT Teh Ueh ATel Sl AB fa=Aa & ¥ I S{Tard Feq2ebl AN 191 Heafereg C o

TS T deatarg O ¥ Sirarehl Feafa=s C SeAemd |
99 gEaTe A LOCAT LOCB @M WIgaevel AT Tl qIABIHT THER -

oy Z0OCA /0CB T
(%)
@)
fh : gTepl hraferg ¥ CAART el STaThl HeATTg ST QT IFT ATETHT oF &7, |

RS )

T, e €




Jarfwre o

et faguer,

Feafaeg O 9UH AT sirar CD &, ST@Ar CM =MD @ |

T T, CWD
OM 1 CD

A1 : OC T OD St |

PRIN)
T PRI
1. | AOMC ¥ AOMD =1 L.
(i) |oC=0D ) (1) | wsd I ST TUHT
(i) |OM=0M 1) (i) | ST¥RT ST ATHTer
(iii) | CM =DM (%) (iil) | grer feguate
2. | AOMC = AOMD 2. | g9 THae
3. | ZOMC = ZOMD 3. | wee PAI[oTehT | 0T WUTer
4. | ZOMC + ZOMD = 180° | 4. |fgur T@mT THaR a9 ama=
ZOMC + ZOMC = 180° B[Rl ANTHA AU
or, 2Z0MC = 180°
or, ZOMC = 90°
5. |OM LCD 5. |39 4 FAR LOMC = 90° U

gHIfOT ST |
| fm

Frearedle U3al JaThR ATHIT JArgTed |

AT AR ATHTATS (i) T [ aRTaR g5 AW & T Iaaqrserd |
AT BiY FoF (iii) T (iv) AT IEICH TCATIARE |
ARIHT TEATTHRT TS HFSTEE |

Y

() (i) (i) (iv) )

oo fora (v) ®1 S XY, AB ¥ CD @I MN &1 I%&7d & g ? XY, AB, CD &l

HeAfawg e v@ (MN) AT T fF 699 daeiie e ¥ (Hehd warar y&aqd
;\ \l

nfore, ¢ (=9




(s Y

FY A T8 AR AT PrfAgee R A T /\
|| frmm ) :

FerrHT FEToTt e favg O WO A ferer |
FEHT T3 aTeR @1 AB ¥ CD @S Te |
o9 IHT IAATs FlAX FeATSAed | sirar AB ¥ CD ¢ b

N €N

SATHT O favg Fratargare aRTEaR AT USA a1 q6A, §eld

LRI C AR

A Fora e SIS e B AT T O HeEaeg HUH AT g [@=Tard |
TR HT Haiargdld gaTaT I T Tk T el sxraR oar PQ = AB fa=1er |
IAHT braiergale Ikl SUATHT q¥ [@=ad |

~

A IR FRIAZATE o SAATIFHR] AT G FATDT AT ATHEE T TABT ATABTHT
AE

= oC OD -
®

g

fTspY © A AT TF ARTER SAET Frsiavgane aRTaR G TS |

300 ) T, FET €



qed 4 (@rex 3 v faew )

AR PRAAGAE AAAL GUAT IHT SAT A G |

AT FoMAT 3@IT & B F¥eh AGeATE T O Fraiorg AUH gealel a9 f@etery |
TUFHT HrRiaradle avTer AT ge3lel siar PQ ¥ AB f@=ied |

IAHT Braidrgale o AMETH] & SEEE FAN T FHHA a7+ OC L PQ ¥ OD L
AB f@=1grg, s&f, OC=0D 7 |

AT FARS IAPT T AATHT AT (AT TeABT AARHT AR
P PQ AB Fiast

sy : gl FraidrgaTe SRR AT TEHT SIaT axTer o |

BT

afg TSl gl dgATE 10 cm T TIT SHATH dF15 16 cm T defamg i@ I Sirar
FFAH I OT SR |

HHT,
ferAT O Fa® %= fovg | O @Te Siar AB /1 OM
wve fafergar & 1

T, FET €




1
AM=—AB=8cm [+ Fesfargane sfawn fafagsr s
? IFA SHaTTE FRIGHTT T AGH |
%7, AOMA AT, OA2 = OM? + AM? [TEATE qereae]

ggar, 102 =0M? + &
a1, 100 = OM?+ 64
ggar, 100 — 64 = OM?
gg4r, 36 = OM?
a9, /36 =OM
4T, OM =6 cm
;. Fealaeg 3@ SETIFHHl T = 6 cm

BEEEE

feguat fa=dT O Fsfag 9UHl ga&r siar AB ¥ AC & | af€ ZBAO = ZCAO T
AB = AC &8 91 JHIurd Ta 4 |

A\
oTeT fegUet © dwsiarg O W&l g1 AB T AC T3 BC

Star 81 | ZBAO = ZCAO B |

AB-AC &

=T : OF 1L AB7 OE LAC f@=it |

g
= HIRI
1. | AOFA ¥ AOEA 71 1.
(i) | OA=0A 1) (1) ||reRT O AT
(ii) | ZOAF = ZOAE (@) (ii) | omer fegusr are
(i) | ZAFO = ZAEO (@T.) (iil) | g3 o7 90° s
2. | AOFA = AOEA 2. | F H THATE

0% ) T, e €




3. | AF=AE 3. W%TWWWW
4. | AF=BF,AE=EC 4. | OF L ABTOE L AC 9T
2AF = 2AE 5. |aqex (3) % (4) &
41, AB=AC
TR 74T |

BEEEEEE

T3 Fiawg (O) AUH IS s F TIaT (quT 3@l A,B,C T D AT HTdahl G |
AB = CD &= 91 JH1ford THe9 |

e D
FAH Fx O B | fqar @ aaars fages A, B, ABM /D
C T D HT %1 3 | V
THIT T,

AB=CD

AT OM L AD f&=it |

FHTT
R2) BRI
1. | AM=DM L. | Fwsfargare Sfamn fafausr  awee
ATATATS FHIGATSTT T TR
2. |BM=CM 2. T (1) d99R
3. | AB=CD 3. | (1) are q= (2) "er3ar
JHTOTT AT |

nfore, ¢ ( 303




I. (P)

s 16 I

5 cm AIATH AUHI TAR! FalagAE 4 cm QT &l AR TAFIS Hicl
g7, Il TSy |

34 cm TE AUH T3 IAHT Faiagare § cm AT TIET ST [@regesl
B AT ST THETS Hid Bl 7

26 cm AIATH TUHT FAHT TSI @Rl arrg 20 cm AT I Fqh!
Frafeg T Sirar fa=rer g8 Hq arern ?

TSl FAHT AT 26 cm ¥ AT IAHN FA TIST AETHN AHTE 48 cm S, |
IAH! Frsiarqare o el Hid 2IeT ardl, Il ANITel |

TSl ISPl Hrafevgard 10 cm F1 TEHAT TEHN F @1 24 cm ATHT G T
SHT B! ATHH AHTS Hi a[dl, AT ARSI |

Frsiaeg O AT THAR T4 33 THMR W67 AB ¥ CD & oFTg FHT:
6cm? 12cm @ | € AB T CD & T 3cm 9T FAH AIAH Hiq
et ?

Ffarg O a1 FAfdR 99 g% FEMTAY Sirdl PQ T XY & o%alg HusT:
8cmzT 6 cm T | AT FAR ATATE 5 cm W¢ PQ T XY fa=rapt g8 *q
grer 7

2. Fwag O ¥ AIATE 4 cm HUH UFel I [=Aeld | TATHT 5 cm THITS TR
T3l Sar AB f@=1e€ | & qure fa<e® AY B @@ SH 2 cm HAIATEH I
JONY ;’ Y \l

3. fReumifemXTYaaw dsfag g XY LCD B <
CD & &% forg X Wt gaats fag M T N &1 aar XY A\
AL P AT FREH B, ANV TR "
i) CM=DN
i)

CN =DM
AN

4.  feguer feAr AB 7 BC F0a ST g1 | 99 f=raars
BTG ¢H TETE T Iqbl draielg Ol ST |

0% )

T, e €



— A

1. () 6 cm (@) 30 cm (M 24 cm
(") 10 cm () 31.24 cm = 3V5 cm
(&) 7 cm

2. fked, 9T qdear AB #1 THEITGH! (5 AT EIE |
3-4. Rreewdrs @SR |

T, FEIT § ( 0%




A2ATSH®! dIHBIOT I TRAdIDIOI

s 17 (Classification and Presentation of Data)

17.0 gAza=ie (Review)

S AR HIATHE faemaaer Har1 5 3G Hear 10 T¥HHr fqardier agearars aas
TR FordT SETeUal @ | a0 & (o qe0dq T ad AidUs TeH a3 (el :

sft SHfae Areatie foaea

FETT 5 g P 10 TV faamefier faaor
50
40
Ef 30
E 20
10

0= 6 7 8 9 10

0§ 9«q s A’

() FawaT 8¢ faandl &7 HETHT WA T B ST WA 7
(@) ForwaT FH (Tl & FLTHT W T Hiq ST S
(M) FA HA HEATHT (G2 TgAT IR e, 7

() e 5 3@ HeaT 10 TFH STEAT HicT ST (a2l s 7

30% ) T, FET €




17.1 qTEATE@® qEiaewr (Classification of data)

BT

FET 8 I ATTH TIEATHT 40 Fa=TETer g el T [aoaehl IreATes I Jebe qrear
73, 40, 65, 45, 53, 49, 40, 56, 45, 53,

75, 49, 63, 75, 45, 83, 73, 92, 48, 89,

65, 73, 73, 94, 75, 92, 82, 89, 45, 90,
48, 40, 82, 49, 73, 56, 63, 65, 60, 60

faguer TATSHST ATIRHAT TAk! aRFERAT e (Frequency distribution table) 9T

TN :

> =~

() eI 8 T fammeienr TG fasmreT ITTEsw ! STl qifdet

ELSISED

e e

FTETAT

40

45

48

49

Wl W

53

56

60

63

65

73

75

82

83

89

90

92

94

ST FE=T (N) =

T, FET €
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(@ X Ifeafed ITTEFATs Faad TTed 40 J1C & g1 T4 10/10 F1 Soft
¥ fAEU®T AT SFRAT affde! QU e
EISSIEES EEIGRCEG] FRETAT

40 -50 Sl 12
50 -60

60 -70

70 - 80

80-90
90 - 100

ST Fge (N) =
qE AP AT ANAFIHR ATIRHAT HFATARGT FTH I [GTad ¢

() & g ATemraTe STFAT faendl TR F gieade A ?

(@) ASHAT TATGHATS Hid AT T&d AT 7

~

() & AR QT A} 5/5 ®T 0T q=X (class interval) faaz qafq arferser fewior
T b, 7
(°)  HIfeRr aTfesr ‘@r T (40 - 50) aNTReRl aRFERAl HEel 12 94T 7

feguar a1 TSl TATSHRT AATHTE TUATE Tdh TATSHD TREAT
TTUET T AT TRTERT aRFERAT AifdereTs aeATgaha! @ved il (Discrete
series) A | = fagUHT a1 TSH{ad qeaTEHaTS MRv=d ¥ ¥=% (Class
interval) ¥ I A=A ARFERATAET (0T TRUFT ATfAsrars Teamgmea
Afafeg / 2=z #ir (Continuous series) A |

BT
30 s famdier e TR feed g

45, 25, 51, 35, 42, 37, 40, 35, 51, 42, 42, 42, 37, 40, 35, 37, 42, 40, 37,
35, 37, 42, 51, 25, 42, 40, 45, 37, 40, 42

feguer qeaTEHars @ived ST I&ad THed ¢

0% ) T, e €



HTE

TS ® e fagT (Tally Marks) | SFaar (Frequency)
25 I 2
35 Il 4
37 g 6
40 M 5
42 Ml 8
45 I 2
ST Fg@n (N) = 30

| a2

AT FATAT HIATHE [TATATHT AT FeqT 5 31 FeTm 9 TFaehT faamefiel SHRar
1 T TR T

i 3| | 10 11 12 13 14 15
ot @z | 40 30 33 48 37 42

faguerr qrfersr e T e gede T faTerd

(F) TATGHATE FA AT JXIA TRTH G ?

(@) ATl qrderare 10 a9, 11 a9 T qrg=eT &H, 12 99 ¥ qraw=r &9, 13 a9
T IIIWRT FH, 14 99 T G199l FH, 15 a9 ¥ ravaT FH SHLHT faandl ageirer
Tt ATl |

(M Tl (@) 9T Sl dARTars el araedl A, & 7

AP FARAATE,
(%) TATSHATS Givgd HOTHT J&aq TRUH 3 |

nfore, ¢ (309




@) S (@A) | ITEERAT (Frequency) qfs=a T
(Cumulative frequency)

10 40 40

11 30 40+30=70
12 33 70+33 =103
13 48 103 +48 =151
14 37 151 +37=188
15 42 188 +42 =230

ST FE@r (N) = 230

(@ AT FEr AT Aisead aREERar drd@r (Cumulative frequency table)

afeg |

B

faguat quargwaTe afsaa arar aifae femioT TR

STAT (&, HT) 50 55 60 65 70 75
FHR qger | 4 8 7 6 9 6
THTE

AT (5. HI) FTHIR ASET afsad sl
50 4 4
55 8 4+8=12
60 7 12+7=19
65 6 19+6=25
70 9 25+9=34
75 6 34+6=40

ST HS@T (N) =40

BT

[ESU® TATSH AFAT T TAFT JITH I [GAaq
PISIEED 0-10 [ 10-20(20-30]30-40]|40-50 1| 50-60

IRl e 6 13 22 17 7 5

30 ) T, FET €




(F) qTgHATS FF i faguar 5 7

@) 10 9T FH AgH YT T [q=ndl Hid b7 Eo 7

([ 0 a1 9T FqE AgH I T b A1 faandi ead 7

() a1 & Fiood TRERAr diidel Ha< (AT T9 Fibe, ?
() AT TGl Fisad IRERAT qlfeiel &gl 0 T b, ?

AT FATEAE,

TeATgHdTs Atatege /fMz=a% 9 (Continuous series) AT f&guar 3 |

10 =T FH YTAEH ATS fqandi 6 A1 e |

0 AT STvaT & YIS U I el 70 997 Tesd d4a7d ad faandi 9eq |
TR %Y Afsad ARFERAT MAETER FH T aieg,

4448

5

o

ELIEES Fis=q STt
10 91 9 (<10) 6
20 9T FH (<20) 6+13=19
30 91 FH (<30) 19 +22=41
40 W=aT FH (<40) 41+17=758
50 =T FH (<50) 58 +7=65
60 =T FH (<60) 65+5=170
(F) WT TG FsAq aRFERAl aiad! MEar a1 qieg, -
ELSIEES IS TRt
0 a1 Fra=aT Fel (>0) 70
10 =1 &1 = d1 (> 10) 70 - 6 =64
20 o1 =T =6l (> 20) 64 - 13 =51
30 a1 "SRt Fa@r (> 30) 51-22=29
40 =1 FreeaT Fel (> 40) 29-17=12
50 =1 "= "6 (>50) 12-7=5

WWWWWWW&MH TR ATATS
gfs=rq arFrRar (Cumulative frequency) Wi+ | Afs=q aRFERAT drfee
WWWWWW@W&TWWWW|
aﬁﬁaﬁr/ﬁw qerg® (Continuous data) #T Afsad TRFERAT ATARATS
Ol FH Alead TRERAT e T 971 T disad aR¥ERar arfeesl T
T% derare fAHmr T Afeeg, |

P (39




BEEEE

FEAT 9 T 35 S fammeAiar 60 quiier Mfvta fawarert O S aieTERT ratg s ad
ﬁg@@:

39, 50, 42, 34, 25, 35, 36, 46, 34,12, 44, 43, 24, 43, 40, 16, 45, 34,
42, 37, 35, 43, 58, 34, 35, 33,24, 40, 43, 52, 57, 33, 50, 38, 24

(%) AR GTATSHATs Aferege /A= SUHAT T&a THer, |
(@) HIIRT ACARIRT ATIRAT =T HH Fiooq arearar arnasr (Less than
cumulative frequency table) FHHIT THEM |
() AIHT AMARIRN ATIRAT H=T F&l qoad aReErdr arnda®l (More than
cumulative frequency table) — fHHIIT THEH |
HETI
(®) FET FAaw grargE 10 T wfuddw yrdg® 58 T o1 @der 10/10 #H A=
(Interval) fefar It F=a= (10 - 20) &=z, ST& 10 @Ts Tear AT (Lower
limit) ¥ 20 @Tg Wigedr AAT (Upper limit) 9= | T a¥Twae®T deal AT
AT ey, A WIfTedr ATHT FHTET ARG | WA "igedr HET (Upper
limit) 20 @1 (10 - 20) T FAFALHT TOAET AL JJAUSHT (20 - 30) &I
FRTICHT ITOAT T |
A=Y (Class interval) e ferge IRERAT (frequency)
10 - 20 [ 2
20-30 I 4
30-40 M 13
40 -50 Ty 11
50 - 60 I 5
ST wg @ (N) =35
(@) a1 ®H Afead aRERAT diadre A

ElisI e qfsard aRFERdl
20 9= HH (< 20) 2
30 w1 FH (< 30) 2+4=6
40 9T FH (< 40) 6+13=19
50 ST FH (< 50) 19+ 11 =30
60 =T FT (< 60) 30 +5=35

1N ) SPM—




()

a7 el Aloed IRFAAT JABTRT (FHIT :

ELSIESa RIECRIEIRESIEG Il
10 a1 Fra=_T F@r (> 10) 35
20 1 HI9w=T e (> 20) 35-2=33
30 & Fra=T Fer (> 30) 33-4=29
40 a1 FrA=aT FEl (> 40) 29-13=16
50 a7 &= @@l (> 50) 16-11=5

B e . -

1.

FeTr 9 1 famm ot 10 quiigwa g qier™n 30 ST ot arartes
TAYHIT q3aqT :

6, 8 10, 6, 2, 8, 4, 6, 8, 2,4, 6, 8, 6, 8,

6, 10, 2, 4, 6, 8, 4, 2, 4, 8, 6, 4, 6, 10, 6

) Wit St i fesuer qensdars afved ST awId THAE |
(@) |i>=d ARFERAT qlfeed (a0 THa |
ad fegu auTEE T STURAT 5/5 e afgat e (5 - 10) faur sifafeom/
frrmaT Sofrar geqa TR
19, 5, 14, 17, 20, 21, 35, 39, 30, 31, 6, 8, 14, 28, 27, 39,
30, 31, 32, 25, 26, 10, 11, 12, 15, 28, 30, 31, 24, 22
T 7. 2 & Afafeor Suftwr g@w 71 ey arfeer fmioT THEe
(%) HvaT FH Fioad aReERal aids
(@) =T el Fisad aRFEARAT AT
fazuat wfvga auagmere afsaa swEaTan atfaswr fFmtor TEw

STAT (3,100 A7) 10 20 30 40 50
FTHER TSET 3 7 10 8 7

ot feguat sfafeo/ e qemese faemdier afa g wifow fawar steem 7 @@
(VST RS |

TUaT 2-6 [6-10110-14]14-18|18-22
fam st agen 100 250 325 200 150

feguar TeTSHHT AGRAT (AFTTAR Afs=a arFrar aide AT T

Rereteprars TETSTRM |

() =T FH Froad qRERAT alferepl
) e T¢I Aleed aRFERAT dlfetehl

P (=3




17.2 qeTEpe! TR (Presentation of data)
| el

(®) qAR TATZFATE &# =7 (Bar Diagram) f@=12rd :
HeT 5 6 7 8 9 10
ot wge 37 | 40 | 35 45 40 | 43

@) AT TAEE T J9are MiHAd BEERHE] Je0aq TR0 ad Giaue! JeTE
I faqe M ¢
Titre faoerars e faemdier axrT #ia gvar sterae THH 9HY ST 1025 ST
farmm T iU seamaTe qEuEl TATSHATS MEMAR dtdteg ST g&qd
TR B,

AT (YT &) 2-6 | 6-10(10-14)14-18|18-22

fermdt agen 100 250 325 200 150

Y fe@wm™ (Histogram)

350

qUIEA (%) AT AATIAATH! (=7 T (@) A [G3UH! o1 & B¥eh 8,7 HeHl FAhd T
fepd a1 ATSHEM |

¥ ) T, FET €




TEHA TATGE AT [GSUH TATSHATS [ard= Fu =2 (Class Interval) ST
FRFSATAT AR TEIT TN X—H&THT Th T A=A SRTHT ATSTg T Y —AeTAT
IRFERAT FIEALE] IATGH ATATE® FHAM WS IATZTH s 7 femdromw
(Histogram) #ifv=g | @fted qeamg® (Discrete date) &1 TEAATHELITHT AT TFA
fer (Bar diagram) faoT Tiveg w9 #fafes~ q@me® (Continuous Data) &l
TR ATRT feedumH (Histogram) fHTor g, |

e (Histogram) fa=A =Ror/aft@r (Steps of constructing histogram)

(@) aTMEa &S (graph paper) AT X—3&7 T Y& f@=
@) X—AeH TSRS AR (class interval) @M T Y—AeH TRERATATE ITIAI
T (scale) T faaTsTd T
@M X—AeTHT fagUsl vy T Y—A&THT qRIiead ailrdiehl aR¥Rararsg AT ATl
FH: Tk bl SAS? ATTAE® IS (@ UTH (HH0r T

RECETED

fEua TugFaTe v faer|

Tag (fgaewn [20-25(125-30(30-35(35-40140-45]145-50
Hfawesr agern 3 7 11 8 5 2

THII

12

‘Y[ fe@wm™ (Histogram)

10

T, T S ( BN LS




17.2.2 aw@&Rar 9§49 (Frequency polygon)
oo

et arfder ¥ @ware [T arFrar g9« (Frequency polygon) STead T
T HITRT FTHT IR fERrd

ELSSIEES 10-20{20-30130-40140-50|50-60|60-70
faadt Tgen 5 12 15 22 14 4
% AT S99 (Frequency polygon)
30
[
E( 20
&
E 15
10
l 5
0 X
10 20 30 40 50 60 70 80
ElIECa
(@) dfedr an=ar (10 — 20) &1 HAHE Hd g7 7
@) WY fagUsHl dTdasare Yos avdl TaHE Hid Hid g, 7
(W) AT FET ARFAT FAUHT TR FH & 7
(&) T AR FATwET FH TRERAT G 7
(@  wifaer ST T faguer wfatege/ favear qegsaTe aREErar agd

(Frequency polygon) F&¥r AT T Afeheg; 7
fagueT a1 FgHida qeATSHaTe g% v (class interval) ® FeATa<TS
X—#ETHT T (e a=iRebl ARFERATs Y —HETHT (R fages (Refag,
FRFRAT) FHT: TALH] FETIATA SIS AATGUHT TITAAATS ATFERAT TgHT
(Frequency polygon) i |

N ) SPM—




FRIRAT TGS fg=t =T/ AR (Steps of constructing frequency polygon)

(@) aVISihd &S (graph paper) AT X-31&T ¥ Y-o1&7 fg=

@) XA, TAEFH a=awdl qAas (Middle point) g T Y& Fwaferd

TRl aRFERar (Frequency) @Ts 9T A9 (scale) AT faars= T4
M oo (gges (Wealaw, aREERdr) |9 HAM AHA 99 T Jodd [drgeedrg

AR HETIAT S

(])  SA=CHAT TEATSHE! AT AT ARl qTATTE(E T FeATRT GeAl aTTeARep
FATIE(E TR A=Y g T Teh /THATET AR (g o AT ATl
AAfawg FHHLT: ARFERAT 0/0 fad T IRAT 99 o7 1 fag af Sed | Tadts

BT ARFERAT TGAS T3 ABre |

|

fezHr auaTgFeTe aTRERAT dE9e fasr

— 10-20]20-30[30-40]40-50 [50-60]60-70
fe=mdt ager 10 15 20 22 15 10
T
e
GISH Heafawg FTFTRAT (weateg, gvatead
STCFITAT)
0-10 0+210 _s 0 (5, 0)
10+20 _
10 - 20 5 10 (15, 10)
20 - 30 15410 =25 15 (25, 15)
30 - 40 25+10 =35 20 (35, 20)
40 - 50 35+10 =45 22 (45, 22)
50 - 60 45 +10 =55 15 (55, 15)
60 - 70 55+10 = 65 10 (65, 10)
70 - 80 65+10 =75 0 (75, 0)
ST (N) = 92

T, FET €
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Y AT sg9S (Frequency polygon)

[\
9]

N

[}
e}

[a—
(9]

[a—
S

«—  fgndt gger ——

9]

07515 25 35 45 55 65 75 85

17.2.3 afs=aa arrar @@ (Cumulative frequency curve or ogive)

BT

TSl FEIATHT & FIAIRPT F Tk faepl qiiestoes fqa=or arferer 3 g@ame fAfda

i aRFERAT dlidel qa7 Afsad aRFERal 9% (ogive) & AATT Tl -

sgrar (w471 | 300 - 400 [ 400 - 500 [ 500 - 600 | 600 - 700 | 700 - 800

FTHIR TSI 12 14 8 6 10
ST (&, HT) Tfsad SRR
(Cumulative frequency)

400 a=sT FH (<400 ) 12

500 ST FH (<500) 12+ 14 =126
600 sT=T FH (<600) 26 +8=34
700 sT=T FH (<700) 34+6=40
800 sTw=T FHH (<800) 40 +10=50

s ) T, FEIT <




Y T HH Alaq SraRar a% (Less than ogive)

D
o

94
(e

N

N
(e

<«  FHHER qg@r ——>
(V%)
[e)

20
10
0 300 400 500 600 700 800 900 .
ST (. )
oAbl Feraere faefafad Jemer FF=gar geahd Ter
) AR a4 @Tars & Wi

X—H&TAT & T AGUHT G 7

Y—3&THT & FT AMGUH G 7

ST HTHARE®E H(d STl ES 7

FEAMT T, 500 T=_T FH SATAT IS HIHIR Bl TAT 8@ 7

%700 9T HH SATAT Hid STAT FHIREEA 13T TESH ?

w1ty fegusrr wfafes qeomgsmare AT TRusT 9=1 9 afsaq aRErRar a6
(Less than ogive) &1 T qwaT F&l Ffs=iq aew=Rar 9 (More than ogive)

Fe<l AT THER, 7

AR Aol a1 Tocl ATHTATE X—A&TH T FH AARebl dlad ARy
YT AGHA T I [ageedls &AThl FANT AR agh @ret sirgar (Freehand
drawing) 9T g aeh Y@TaTs Afsed aRFmrRal 9% (Cumulative frequency curve
or ogive) A= |

FARH] Aol GMHATATS X—ATAT ¥ FF a <kl afead  aReERdrdrs
Y—aerwT fawr famges (Aifedr T, Ifsed amwemRdT) dged T O fargeears
% v@Te =gt (Freehand drawing) 9T g9 940 Y@TATS Wl W Froad SRR
% (Less than cumulative frequency curve or ogive) AiH=g |

FNTRH ol ATHTETS X—HeTHT ¥ W awaal Afsaa aRearardrs Y —err
faue fages (qoar 4T, Ifsaq anRmERdan) dg6d T o [ageeds a6 @
SirgaT (Freehand drawing) 9T<i g9 a4 (@TATe Wl 960 Goad qR&ERAT %
(More than cumulative frequency curve or ogive) A= |

~

I [ Y R

A —— ( x99




AT FH oA TRARAT 9% fg=t =10r/qfRaT  (Steps of constructing less
than cumulative frequency curve or ogive)

=T FH Fisad aRFERAT AR AT THa |

FaTgieha &Tst (Graph paper) AT X—37e7 ¥ Y—3eT fg=1er |

AT ATl AT (upper limit) &5 MR=@ a9 (scale) AUz X—37ed T
EESRSIERGEY

FHEIegd qeTgddl Aiead arRFERdardrs [ie=d q (Scale) feagz Y-sterar
ESIERGEY

forge® (wifaear dran, afserd aRFaRan) |18 FHT ATHRAT TR |

IIHT WA ®IAT [Gge® SgHerd | 49 W4l $H qoad TRERAT 9%
AIES |

AT T AT TRFRAT % fg=t =IR01/aR®T (Steps of constructing more
than cumulative frequency curve or ogive)

q=3T Fel (>) Afsaa aRFaRar drdere! AT THa |

FATgieha &Tet (Graph paper) AT X—3767 ¥ Y—3&1 f@=1erd |

el Teedl AT (Lower limit) @5 ffv=ra a7 (Scale) fauz X—srerem

fores TS Terd |

Frafead TEgHF! Afsad aRFERATATs HM=rd 19 (Scale) fowz Y—sreram feega
SR |

[age® (Teal AT, Foad aRFERAT) AT HAL ITHAT AR |

A=A T BIH] [a3e® SISHed | 37 W q¢l qloaa SaRal a@ TrSTer
g |

BEEEE

gt aumgFate Wt FW afsad SIREERaT a9 ¥ W ael G STt a gagTod

TR Raeige

qreres | 5- 10 [10-15[15-20]20-25[25-30[30-35 [35-40] 40 - 45

et gge 4 6 8 10 7 15 14 5

o) PR




FHTI
fegus® qerswars T HH Al=q aRFErRal diid® T &d T,

- foge® (Fifaear Jr,
ATt e AT qfsad ARl St AT
10 9=s1 F7 (<10) 4 (10, 4)
15 971 F9 (<15) 4+6=10 (15, 10)
20 =T FH (< 20) 10+8=18 (20, 18)
25 VT FH (<25) 18+ 10=28 (25, 28)
30 9T FH (<30) 28 +7 =35 (30, 35)
35 9T FH (<35) 35+ 15 =50 (35, 50)
40 =T FH (<40) 50+ 14 =64 (40, 64)
45 w1 FH (<45) 64+ 5 =69 (45, 69)
; OX AT &H qfoaq aFarRar a& (Less than Ogive)
60
T 50—ttt
E 40
:aé 30
20
l 10 ¥
0 5 10 15 20 25 30 35 40 45
TS H
®i¢ fEgUF TATGHATS I=aT F&l Alsad aRFRAT AMARHT J&Ad ITaf,
qecl HrHT Fisad AR famgg® (Fedl 4T,
afsara armwar)
5 a1 FITeaT el (>5) 69 (5, 69)
10 a1 Fra=T @l (>10) 69 —4=065 (10, 65)

T, T S ( 39




15 a1 &2t @el (>15) 65—6=159 (15,59)
20 a1 F9=T F@l (>20) 59-8=>51 (20, 51)
25 a1 =T 9l (>25) 51-10=41 (25, 41)
30 a1 "r9=T FEr (>30) 41-7=34 (30, 34)
35 a1 9reear @6l (>35) 34-15=19 (35,19)
40 a1 FrH=T FET (>40) 19-14=>5 (40, 5)

qiserdq SRRl 99 fa=,
Y

A

T 9l Af>=q aFRAr a% (More than Ogive)

5 10 15 20 25 30 35 40 45
PINSIEEE

2

B s 172
1. @« fEus awegwar fGeewm™ (Histogram) AT 6@ TR

(&) |wrargs® 30-40 [ 40—-50 | 50-60 | 60—-70 | 7080 | 80 —90
formdt agen 4 6 8 10 8 4

(@) | IHT (AT 0-10 10-20 [ 20-30 | 30-40 | 40-50
ferrHTesT g 15 12 8 20 27

R ) P




@@ | =g 100 || 50—-60 60-70 70 — 80 80-90 | 90-100
FTHIR qSET 20 40 30 60 7

(%) aTriT-ER'(C_I_) 0-5 5-10 10 - 15 15-20 2025
FRFRAT (1) 3 8 12 7 2

2. fesusr auEE T aETRAT SEESHT TEd TR

(@) |vTTS® 0-10 10-20 [ 20—-30 | 30-40 | 40-50
fermdt @5 7 3 8 10 2

(@) | FTHE T 10-20 | 20-30 | 30—-40 | 40-50 | 50-60
FHAHD] TN 15 20 30 25 5

@@ | sreEEr & 100 || 20-35 | 35-50 | 50-65 | 65—-80 | 80-95
AT 10 7 6 5 2

(¥T) CEIGSLd (CI) 11.5-19.5(19.5 -27.5(27.5-35.5|35.5-43.5|43.5-51.5|51.5-59.5
FRFERAT (1) 7 17 10 4 1 1

3. a fesust awgwars Weal #H afsad st aoh (Less than ogive) T WeaT a@t
gfs=a areTar @ (More than ogive) AT T&d TR

(F) aTﬁ"_\‘R'(C.I.) 0-5 5-10 | 10-15 | 15-20 | 20—-25 | 25-30 | 30-35
arwErar () | 7 10 | 20 13 17 10 14

@) |ararew | 40-50 [ 50—60 [ 60—70 [ 70—80 | 80—90 [90 — 100

AT 4 6 16 20 30 24
@@ | ==y 0-6 6-12 [12—-18 | 18—-24 [ 24-30 | 30—-36
forererepr g 3 10 20 10 5 2

& | =T cgver yfaean 0-4 4-8 8—12 | 12-16 | 16-20
AT 28 35 66 40 31

A —— (333




4. fous R quaTgEars aTCRITRAr aiferRtdT Tedd TR

Y ferm (Histogram)
16
14
12
10
8
6
N
2
0 D¢
3 Q40Q5 Q Q70Q SOQ 90Q 100
%Qﬁx NN RS
PlIECa
5.  WEqq Wi STCRETEAT ShERT QRATEAATE STCRITEAT AT Tedd THER :
Y
80
T 70
60
&
E 40
30
lzo AN RAES RN AARTH ARERSNEARYARRNH XA EETRNASR]ARNERANAES EONNRARRIH EEERNIASYRANA KRS EESRN AAR] RN AT EARRR R
10
7770 20 30 40 50 60 70 80 90 -
PIRSIETC)

Y ) S




6. & ffram &= 50 afEe Wi ™ g At ae @ua (e avaeem

qRETH! ARATGHATE (TFATAT Jeai@ TNTH G
ITETT @I (AR [awm) 0-4 4-8 8—12 | 12-16 [ 16 -20
afvEr agern 28 35 66 40 31

() AP TATEFATS (G ITHAT TEA THEE |
7. fafv= 40 gewT @MEEET @R ificART af AT aiereEr TRuET a9euTEe
frTETET qeTEE TEal

qifes @) @ 23, 30, 20, 27, 44, 26, 35, 20, 29, 29, 25, 15, 18,
27, 19, 22, 12, 26, 34, 15, 27, 35, 26, 43, 35, 14, 24, 12, 23,
31, 40, 35, 38, 57, 22, 42, 24, 21, 27, 33

(&) AT JAtaaer iRl qETEEars 5/5 @=R g1 W (10 - 15), (15 - 20), ... faaz
A= SOTAT TeTad

(@) I HUEre [EERIH fa=TE |

(M) el Hare I=a1 &9 Fioad aRERdl 9e T 9w d¢l qiead aReEral a6
T3¢ TTRAT fa=Terd |

—EREIEE

SUIFS HIQATHT HEAT [a9TSIT A5 Jcdh FHE HET 6 afg 10 FFHHT FeTH
JEHad T,

(@®) 10/10 T AR & T ARFARAT ATABT (THT TR |
@) fewrme fa=1e |

(1) ARFERAT TG [@=Aele |

(]) W=l HH Hized ARl a [@=erd |

(3) AT gEl Fisad aRFERAT 9o f@=ad |

—

gee 7. (1) 3@ (7) Rrereers T@TeqEN |

A —— @k




dog I Udfad) dAras

as 18 (Measures of Central Tendency)

18.0 gARat® (Review)

TUTEEwh HET 8 T TETH! T [ATTHT YT Tl ITCATSHHT ATIRAT FARA T
freafafad gede®r qHE T

(%) qT AAEEP AT grArg® (Mean) i & ?

(@) wieF® (Median) & arar 7

(M) g &% faerder g TR yrArg® (Mode) FiA T

18.1 FEHIVAT HAF (Arithmetic mean)
BT

FET 9 HT 20 qUISHeb! T [auTHT THTg TIATHT 32 ST faemdiel grq el g
T9 YR qredr
12,9, 14, 16, 14,9, 12, 12, 10, 18, 14, 10, 12, 16, 18, 14, 12, 16, 16, 14, 16,
14, 14,12, 18, 16, 16, 18, 14, 12, 14, 16
ATTIHT TTGHET AT,
() AT HA b 7 AqaTs T MeEHT F Widwg 7 AT ITATSH i
&8, T SR |
(@) T TATEHATS @S HUTH] BITRO THE |
(M) @frgd HEre TTgFe®d! AR I AT ITATSE Hi &7, 7

(®F) YT TATEHHT Tdheh] ARFRAT T Teh g TR AAT AATT ATETHT Tgehl BTl
JafaaE SO T, T,
>X=9+9+10+10+12+12+12+12+12+12+12+ 14+ 14+ 14+ 14+
14+14+14+14+14+16+16+16+16+16+16+16+16+ 18+ 18+ 18+
18 =448

RY ) SPM—




@) fesuH! qATEHARE Gived JUHT AR &,

AT 9 10 12 14 16 18
foramdt g 2 2 7 9 8 4
(M grerE® (X) fer=mdt Iz (f) fx X

9 2 18

10 2 20

12 7 84

14 9 126

16 8 128

18 4 72

Y f=N=32 Y £X =448

ad,

TATEHEEH AR (XX) = 448

T STHT faandt wg@ (3f) =N =32
2X Y X448

.'.X Zf_ N_32_14

feguar TATGHF THAT MRS (Sum) AT TATGHE ST Fgerr (N) o
qWT &l AT TS ASHIUCTT TeAh a1 HedAsh a1 Arad (Arithmetice
mean or Mean or Average) 9= | Afs TEGHATE X of Htde TLAT AT
TATEFH AAATS X o SATewg | 9Y TSEITHT TATEHe® TUH ¥ AR
aff TUR FALITHT ASHAT TAEHAT: @ived =0 (Discrete series) AT
IEAT TR HeAF feard T AfTAT grg | AAd qHT TEATGRRT Fia e
Tag | TASHF dd Ygfddl HAIT 9 T3eT Hew@qu drad (tool)

HGHITATT HAF 2T |

ahre, e € (330




BTN

fau qungmeTe sIEFTUTT AeaE T SR

TS H 10 20 30 40 50 60
EEIR qgen 3 4 7 15 12 1
qHE
HTTEF (X) feramd @ge (f) fx X
10 3 3x10=30
20 4 4 x20=280
30 7 7x30=210
40 15 15 x40 =600
50 12 12 x 50 =600
60 1 1 x 60=060
Y f=N=42 Y X =1580

WT&WH&W(XFZ—]{?(

1580
- ®

=37.62
. AT YTATEE 37.62 S |

BEEE

feguar qeTEme! AEd ST 3. 4,100 HT p B A HeEee

STT %, 2,000 3,000 4,000 5,000 6,000 7,000
FTHIR TG 8 12 20 y 6 4
ks ) T, FEIT <




aeT,
e (X) FHIR T (f) fxX
2000 8 8 x 2000 = 16000
3000 12 12 x 3000 = 36000
4000 20 20 x 4000 = 80000
5000 y y x 5000 = 5000y
6000 6 6 x 6000 = 36000
7000 4 4 x 7000 = 28000
N=5f=50+y S /X = 196000 + 5000y
AT,
N X) - ZI{IX
196000 + 5000y
a9, 4100 = 50+y
+
o, 4100 _196000 + 5000y

1 50+y

A9, 196000 + 5000y = 4100(50 + y)
F9@T, 196000 + 5000y = 205000 + 4100y
A9, 5000y — 4100y = 205000 — 196000
744, 900y = 9000

_ 9000

9L Y = 7900

~y=10

A —— @




18.2 wfemepr (Median)
|| e

(F) @ SARATEAR faeik AT Fearehl Adiees faae ¥ fo fa=mr o=
TR 3ATE IAT AMSAR |

(@) FEE IATSATAR SR ASETHT FHETH ATdEw e ¥ (&% [a=mr a+ qrdrer
SEE IdT SR |

T fo =T 9 ATl IeATedrs & A e dl, BAhA Tl |

BT

G FATEH [ Geedl 9T [d5 ed g7 &&1 5 3@ Har 10 TFw (qamdien
IHY HHTER qrear

AT (@w=m) : 10, 8, 12, 10, 14, 8, 10, 12, 18, 12, 14, 10, 12, 14,
16, 14, 8, 12, 14, 16, 14, 12, 10, 12, 12, 14, 16, 14, 12

A YT TRSHEHN FAAAT T (FA(Arad JIAeed] Tr=adl A T
(F) ITd TATEH HA HOH G 7
(@) TATSHATS deal HAAT (HATR deleld |
() TATSHATS TGaT FHHHAT QTS (6 [T=dT £ TAEF Te, TAT AMS Tl |
(%) THET HIAATS & AT 7

(3) WIIH TATSHATS @ivegd 0l (Discrete series) AT F@l Hi>ad ARFRAT
qrferer T i g Tl |

(=) ARAF I T I TMS T |

(&) faguasr qearg® (data) Safes Sofmm g
(@) THTGHATS TGaT FHAT [HATIR AT,
8,8,8,10,10,10,10,10,12,12,12,12,12,12, 12,12, 12, 14, 14, 14, 14, 14,
14, 14, 14, 16, 16, 16, 18

() arrere afF 15 @ WWE T gEtare 9t 15 o TWET 99 Uger qensE 12
ITUHT B | STHET 29 3T TATEHH! (& (=T A9 50% AT 12 98 | TTATS
TR gaare 9 feqre 1ies

330 ) T, FET €




8,8,8,10,10,10, 10, 10, 12, 12, 12,12, 12,12, 12, 12, 12, 14, 14, 14, 14, 14,
14, 14, 14, 16, 16, 16, 18

. wferE (M) = 12
(3) [eSUH TAEHFH aARERAT | T AT T&T AUH [HEAAR Giogd ST
e qlehg,
JUT (FUE) 8 10 12 14 16 18
franst wrgen | 3 5 9 8 3 1

a0 aHITTH Fisera aremdr arfaesdr HH TR

IHT (FTHT) FFERAT Fisara aFERar (cf)
8 3 3
10 5 3+5=8
12 9 8+9=17
14 8 17+8=25
16 3 25+3=28
18 1 28+1=29

ST FgE (N) =29
(=) uf%uae‘rz(N—Hj o TR A
(29+1j N .
= It TRl "I

T, FET €
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=[ﬂj3ﬁwm-o€rm—rr
2

= 15 3 TIFH A

TEl A= aRFERAT AiddEre 15 HJf T 7 12 3 q9@d A/t (M) =12 579 |
HIAFTATS TR [oEaTe A T& gRUM FATST ATl 8o -

50% 50%
— e — e -
A M, B
T ———— e ———— el
100%

e % TATgHATS @@ AB HIMUHI G T AB @7 &% ATeT aarsd U3er fa=g
M, & & M, a1 11 T ZM 0 sR16R 8 ATHT A9id el 50% ¥ Aot 50% AT
EEISERICEE

fegu®! TATgHATs T8 aRTEX ANHT fa9rei 9 Aarg dteast (Median)
A=, | Al M, o SHIg | Al qeghers 50/50 Fiaera
faaTeTeT TEw; | AR Wi o T fedma T 2 o 9nT iy |

gitgd S0 9&dd dae®  (Data) @ AiA®T M&ear TeagHars
TGl AT Taal HHHT AMGwS; | AR T TATAE! Alad aRIARATATS ATAHTAT
feama TR I Afsara aRERATET FEtead JeaTgdEa T e (Median)
gD |

AT o T FTER I 9ANT T 9T e

N+1 A
STERT FE@T = N 9UHT, Al = [ 2+ jaﬁwma?rnw
BECEEEED
fazuat quagwaTe Attt T ATMERE ¢
9t (mm) 40 43 54 55 60 62
ESIC Lo 3 6 9 5 4 2

33 ) SPM—




JHE™

feguar qongs ffved w9AT ©/87 98 | afs ST W9 agal AT FaE FHEAT (HeY

TET FTETATARHT TRFERAT TeTIed, | A&l TATGHATs e 7 Tgal FHHT ArGuahrer

TS ATaeTE B |

9T (mm)

s (f)

Fsad aRFERAr (cf)

40

3

43

9

54

18

55

23

60

Aln|O|N|W

27

62

2

29

SR Fge (N) =3 = 29

TRIN=2973,
ETHIATS dTET B,

Hf%u-oﬁrz(NH) A TR AT

2

20+1) o
:( 2 je’"

HIAT

=[£)aﬁwm=rwm

2

=15 &t Tarer |99

afsara aREEarRar diideEre &al,

;. wferdr (M) = 54 mm & |

BEEETED

fezuat quagwaTe Attt o= AMERE ¢

qrdrE® (X)

10

15 20

25 30

4

6 8

T, FET €
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qHE
TET feSUsH TATGHATS Alad aRFRAT ATAHBTHT J&IT T,

qrTEF (X) FRERAT (f) Ffsard aRErRar (cf)
10 4 4
15 6 10
20 8 18
25 3 21
30 5 26
STHAT FZe (N) = 26

a9, At = (Nzl

=(262+1) 4 TR A

A TR /T

27 o
=3 AT TATTHI |
13.5 & TR /9
13 Y T /I + 14 3 T 99
2
20+ 20 [ qfserd SRRl drasdEre 13 7 14 &t

TITAHT JTH 20/20 ATHTA

I
|
I

\ o)

(@)

7 At (Md) = 20 &85 |

BEEEE

T augwaTe Aferst oo TSR
g (X) | 10 12 14 16 18 20
ARFRAT (f) 3 4 2 3 5 7

R ) T, e €




[qHE=
TET faSUs TATGHATS Alad aRFERAT ATABTHAT &I &,

g s (X) ARFERAT (f) gisaraq awERar (cf)
10 3 3
12 4 7
14 2 9
16 3 12
18 5 17
20 7 24
ST Igen (N) =24
+ A =

aqq, wf%u-oﬁrz(Nzl AT TITAHT ATH

=(N;1 AT TR /T
25 o

=3 A TR /T

= 12.5 & TATTHT AT
_ 12 Y R " + 13 & Tl /i

2
_ 16+18
- 2 TgqaTE T afq T Al
_ 34 At = 12 & TRt A+ 0.5 (13 f
2 TR HTHT — 12 & TR |1)
4 =16 +0.5 (18 - 16)
=16+1=17

o At (Md) = 17 &5 |
18.3 & (Mode)

BT

a7 (woe™n) ¢ 13, 13, 15, 8, 17, 8, 10, 15, 8, 13, 17, 13, 10,
13,12, 10, 12, 18, 15, 8, 17

(@) W fegusr qergdars aftgad AT et |
(@) A AT GATET TG IEMRTH @, T ASTE |
@M feeusl qeAgEs Rd #Hd g7 ?

A —— (33w




T (T0a) 8 10 12 13 15 17 18
TRERAT 4 3 2 5 3 3 1

(@) T, Gadw=T Tl AR URT (I TARFERAr THT) {4 13 &7 |
@ g, |a (M) =13 g9 |

fegusT ATEwEHE FaT=T TEl IRTRTHT AT 8¢ FRFETAT TTH
Herg 7 (Mode) A | Raerg M« geba TR, |

& Ra (M) = Foraw=T a¢] aRFERdT SUH TAEH

|| ST

fazuat aumrgmate fia oo TR
TS H 10 20 30 40 50 60 70
fam st agen 12 32 50 85 45 30 5
[qHE

TET FerAT G fqareier e IXeT YTASF 40 BT | T 85 ST T ITLHT B | AT
ITATSheeHed o=l 4¥ IRERAT 85 qUH Jrerge 40 &7 |

;. e grEE (M) =40 873

[ Eaatsy |
1. fETH qugFae SR Aead To TSHR

(@) | TS 10 20 30 40 50
qREERAT 2 5 12 7 1

@ | wiwasm |15 25 35 45 55
Feenfrar gz | 40 30 50 [ 20 10

(M X 40 50 55 62 75 80
f 4 6 10 8 5 2

3% ) SPM—




(<P)

)

g " (mf) | 500 | 700 | 1000 | 1500 | 2000
aiErR agE 8 5 9 5 3
fezuat qungsate Afeawt (Median) @ -

T 10 20 30 40 50 60
AT 5 9 15 12 6 3
TT (%) 300 | 350 | 400 | 450 [ 500 | 550 | 600

FHIR Tl 6 12 18 14 7 4 1
e (Kg) 20 25 30 35 40
AR qg& 5 7 10 5 3
ATHATIT (3.) 300 400 500 600 700
FTHIR Fge 10 14 20 12 4
geq q. 1 & TATSHFATE AABT MFTeeld |
9eq q. 2 H TATSHATE AZHFAT HAF (ARTeTed |
A [ATeRE
feguel qorgEer wead X = 38 WU k & A Hbreed
X 30 25 35 45 55
f 2 6 k 10 3
fegusr TeaTgHEHr Heg® X = 175 9T m &1 A e

EISSIEES 155 165 175 185 195

FRFRAT 3 m 5 4 2

T, FET €
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M fesuwr qensFsl 9% X = 24.55Kg AU r & A FHEeeld
A (Kg) 20 22 25 26 r 34
e ggen | 4 4 5 4 2 1

() X 10 15 20 25 30

(@) 1T (T, ) 120 | 150 | 175 | 200 | 225 | 300

FTHIR AT 10 12 17 13 4 3
(M) TS 15 25 45 55 65 70
R RAT 7 8 12 10 3 1
(%1) e (Kg) 10 20 30 40 50
AT Tge 5 9 15 12 6

7. U3 airamEn Afugwr 40 e faear 39 a9 fTua © | I auargsars afvgd Sufr
T T SISO Aeah T Afensht Freda -

9=g (em) @ 20, 25, 20, 10, 30, 35, 30, 25, 20, 40,
40, 35, 30, 30, 25, 20, 25, 30, 35, 30,
20, 25, 30, 25, 35, 25, 40, 25, 40, 30,

25, 35, 30, 35, 35, 25, 30, 35, 30, 30

335 ) T, FEIT <




— A

1. @) 30 (|) 30.33

2. (@) 30 (@) ¥.400

3. @ 30 @) 35

4. ® 32.8 (@)% 416.13
5.@® k=9 @) m=2

6. @ 20 @)% 175

7

(1) 58.31
(M) 30 kg
(M) 55
(M) 29 kg
(M r=30
(M) 45

(=) 1000 m/

(&) & 500

(1) 1000 m/

(&) 476.67

(&) 30 kg

.27.5 ecm? 30 cm , Mean (F&9%) = 29 cm, Madian (AfereT) = 30 cm

18.4 Iqaie@® (Quartiles)

| fm

feguert o sreorae T (HeAfdiEa gedessl Iav G e

A

B

(@) [ESUF T W@ETS AB @M 4 SR1EX ARTAT (G991 T9 F(q STSHT HeAds 7
fersrAT o1 fa=ge® & & [a3ust B 7
@) AB @ 100% 1= & 9= AP, PQ, QR ¥ RB #fd &fq gfqerd g7 Ms$s

A

P

Q

R

B

(M AB H A a1 P 9¥H, A d1¢ Q ¥ T A a1 R I#F &q Hiq gfqerd g ?

(F)  AB & @USE®EH 25% AIH A3 a5 P, 50% #F SArs+ a5 Q ¥ 75%
A SIS a5 R @78 & A=, 7

SGAh TS,

25% 25% 25% 25%

A O B
e I
—

100%

T, FET €

3R




(@) fegusl faar T@m@ve AB @75 4 axTeR N aWrs 3 fawgAT #raqaae | fassr ot
A fage® HA P, Q T R T@EUH T |

@) AB @g 100% =T,
AP =25%, PQ =25%, QR =25%, RB =25%

@  AB W A a1 P I 25%, A a1 Q I 50% ¥ A a1 R I8 75% &9 A3, |

(=) A AB @ 100% TAEHFATE TGS, AT T TATGHeEdATS TGal HTAT [HATIR
AEUHT G T dleadl 25% ATAEEHE ATTHTH ATAA P Bl TATTHT HUH AIAATS
THTSY, | TR 50% T 75% WIHewHA ATIHaH AT HAT Q T R T
AT US| AFeEds Ja8s | P, Q ¥ R &1 TATHHT HUH! AIHewd FHHA:

afedl, AN T TG TAL (TR AARATE TS |
75%

e eeee—
50% ~
e
25% -
A P Q R B
EIECIEGRIN afera qHT FqreT
Q) M) Q)

| a2

fegua qes® wemad T Afated gedesdl qHE™ THad
40, 48, 37, 35, 46, 45, 47

(@) [eSuH TATEHATS daT FHHAAT (AT TETel |

@) 25% T 75% ®T FA & TAEHF IS ardl !

@M 25% T 75% @rs fa=Tar &y 7T g e #d g 7

(®)  feguer deATgEmeRr qRATT EITAT | WISHE T FHT: 25% ¥ 75% T fa=Tar
G EH qael U e | AEUlE, Q, U W T Q, U T UWl &g
Q, ¥ Q, Fq T & e, TETerd |

EXENELCS

(%) fagusr qoTgHa a9t 9 35 B | 99 IH 35 9 ggaT HHAT TET,
35, 37, 40, 45, 46, 47, 48 T |

@ 35 (7) 40, 46, (37) 48

Q M, Q

3¥0 ) T, FET €




(M 25%= J00 = dixas = g4 — 4 1 AT

75% = %=i:§§=%=4wﬂw3m
(") fegust qaagFes 7 #ial S |
Q1=%(N+1)3ﬁtﬁ{=%(7+1)ﬁﬁ=%X8ﬁW=€|€TW
Q, = 3 7 =37
Q3=i(N+1)3ﬁ'q-q'=%(7+1)3ﬁq3=%xsaﬁ'qa':%tﬁqa’
Q, =l wa =47

5.Q, =37

Q,=47

BT

fagusr qerg@dd dergd T fAEfatgd geewa 3av [ a

JreT (kg) 20 22 24 27 28 30 31
AT 6 8 9 7 5 5 3

fegUs ToATEE TqEr FHEAT TTCHT AET FHHAT o4@,

(&) Fi=Iq ARFERAT qTAT AT TR |

(@) afedr T T FAATLT I T 9T AR |

(M) AF>ad IRFERAT qlFrare qfeal ¥ TG0 Tqaier a1 arsTard |
AR AT,
(@) Ao aRFERAT qledeTe! AT TaT

e (kg) FREERAT (f) Fiserd IRERAT (¢f)
20 6 6
22 8 14
24 9 23
27 7 30
28 5 35
30 5 40
31 3 43
e Fgen (N) = 43

P ( 3%q




(@) gfsaa aRERAr aifaeane

1 A
Q, = 7 (N+1) &l ®re |
= %X(43+1)3ﬁ¥21'|71_oﬁﬂﬁ
=11 & TP ATH
Ffs=rq aRIERATETe #al,
11 & ZaTeer TeE®F 22 & | FEd, Q, =22 &3 |
Q, = %(N+1)3ﬁw—rro€rm—rr

= %(43+1)3ﬁw—ﬂ$rm—rr

=33 & TITHI |19
afsara aR@ERAarEe &al,

33 off T AT 28 BT | A, Q, = 28 F |

fegUer TATGHATE 4 TRTEGR ATVTHT FA9TSIT T AFATET HAATS AT A |
ST qfgdl TqAieTers Q,, Arhl FqHierers Q, ¥ AHl AAAATE Q, « ATg |
Q,? Q, & T TATSHATE FHI: 25% T 75% AT AT THA |

FET Q, o W THTIHATS 50% AT [aWTSTT T AUHT qaqeArs Afedal (Median)
gt i, |

BTN

e feguet qeaTEhe qfgsl Jqain Q, T A%l JqAte Q, I ISR :
57,59, 52, 54,51, 53, 55

qHTE
fagusT qeEEars aeal HHAT TE,
51,52, 53, 54, 55,57, 59

[a2Us TATSFHe® 7 el S |

Qlﬁw=%(N+l)3ﬁq?{= %(7+1)3ﬁq‘<‘:=%x83ﬁq‘<’=a@rq‘c{

¥R ) T, FET €




Q, =3 A =52 \ .
Q3=i(N+1)sﬁw=z(7+1)3ﬁw=zsaﬁw’=$ﬁrq€

Q, =gl wE =

57

L Q =52
Q=57

|| ST

e feguet qeaTehae afgsl Jqain Q, T A%l JqAie Q, I SIS :

ElEIERD 10 20 30 40 50 60 70
CEIEN e 12 32 50 85 45 30 5
qHEA
fsora aRTERAr difder aarsar,
ELSIESS FRERAT (f) qisard aRERAT (cf)
10 6 6
20 4 10
30 2 12
40 1 13
50 5 18
60 8 26
70 9 35
STHT Hg@lT (N) = 35

Q
Q
Q
Q

I
4
9 It gTehl AT =20
3
4

27 4t 92 =70

Q=20
Q,=70

T, FET €

(N + 1) 3t 72 = 3 (35+ 1) of 72 =

= (N+1)3ﬁq_c{=%(35+1)3ﬁq?{=i><363ﬁq?{= 9 3t 93

3 . _
= X363 9T =27 A U2

(33




BEEEE

e fagust auarghee gl Sqata Q, T a9l Jqui Q, I LR

g ® 12 13 14 15 16 17 18
fradt @z | 6 8 9 3 3 5 4
THE
qfsaa aRIERAT diddT TATSal,

EIESIERT FRFERAT (f) qisaa IR (cf)

12 6 6

13 8 14

14 9 23

15 3 26

16 3 29

17 5 34

18 4 38

STHT Fger (N) = 38

= TN D = (38 + 1) 7 = L x 399t 9 = 975 e
Q, =9 & W& " +0.75 (10 A TaHN A — 9 f TTH A
=13+0.75 (13- 13)
=13
Q3=%(38+1)aﬁtrq'=%(38+1)aﬁw=%x39aﬁw=29.zsaﬁw
Q, =29 3t 9= A +0.25 (30 A T=THI A — 29 A TZaH AH)
=16+0.25 (17— 16)
=16+0.25

=16.25

¥ ) T, e €




B 12 [

1.

feguat auTgFaTe afeelt Fquie T aa Iqat R
@) 20, 40, 30, 15, 60, 90, 80
@) %400, 600, 350, 200, 550, %700, %320, ¥.625,
%370, %.650, %275
[ 20, 15, 5, 10, 25
(=) 15kg, 9kg, 12kg, 24kg, 18kg, 21kg
() 18°C, 28°C, 26°C, 16°C, 21°C, 29°C, 25°C, 12°C, 23°C

fagur auaTEsheTe deelt FqAte (Q,) T Atfdest Aquie (Q,) Feftetg :

qTATEH 5 10 15 20 25 30
foamdf g | 3 5 8 7 4 3
STAT 300 250 350 450 550
HTHIR TS&T 2 6 9 10 1
arer (Kg) 105 115 125 135 145 155
CILE=IEGI 8 10 7 12 7 6
X 16 12 20 14 18
f 7 3 6 8 4

iUt fawaat 30 qUTTEEHHT T3aT TIETHT FeTm 9 &1 19 ST fermeiiar v TRa1 SIg#
ﬁﬁlﬂ'ﬂﬂm:

15, 10, 25, 10, 20, 15, 20, 25, 15, 20, 10, 20, 25, 15, 30, 20,
20, 30, 25

AT qeTgddrs @ivegd HUH &I TR0 gl T 97 QAT a1 a3 el |
T3 e @&t et e 10 1 45 S i e (Kg A1) femam o

25, 40, 35, 35, 29, 40, 38, 25, 29, 27, 29, 27, 35, 40,
35, 29, 35, 38, 27, 29, 29, 40, 35, 35, 38, 29, 40, 27,
29, 35, 38, 27, 27, 29, 29, 25, 40, 27, 38, 25, 35, 25,
35, 29, 29

YT TATGHATE deddl T AT el aqdier el |

nfore, ¢ ( 3wy




5. o« feue auagwate afiet SEiE T O SaEiE o e
(%) 47, 49, 52, 54, 51, 53, 55
@ 7, 9, 6, 5, 7, 6, 4, 10, 9
™ 5, 10, 15, 20, 25
(&) 64, 60, 70, 72, 68, 80, 85, 56
6. T faSuE avaEFaE afE AgEiEr T A8 A O AR
(F) CIESIERD 60 | 70 | 80 | 8 | 90 | 95 | 98

N

faemdt agerm| S5 7 12 15 18 3 2

@) | arafes AT (%) | 300 | 400 | 500 | 600 | 700 | 800 [ 900
FTHTR TEET 40 | 20 15 17 | 25 10 5
(M) I=1E (cm) 120 | 121 | 122 [ 123 | 124 | 125 | 126
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IAT F ATSS, (A= g2 | TAY Faaept IR HT G 2T |

W qQ& (Random Experiment)
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Tl T3l [Faeprars IhIT Ea1 ATSH Fa FFATH TRUTHE S

S (3w




THAT &7 (S) = {H, T}
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1. T TOAUEE AT & AR ¢

(%) T3l S[59 Uh T [SII4l
(@) el faFpr g5 92k IHIal

() T FATEE TN aR FAIE T&l I R ﬂa
(o) fesual feqrars gaTSar 95 dfed a4 I8
2. T JEEATHT TTARE ACTRE : vp

(%) U3l Sed UF Tk [SISal SR L&l AT
(@) T3 fqaFT q5 TIF SHRIET qEATE a AN (H) e
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(%) T3 (GFpTeTg T AT IHIET USETHT 97 90T (H) ¥ HbT|r 999 907 (T)
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(%) ATAATARTRT TSI (0 AUHT IRAR G TR

(@) ATAATTABTR] TSEIT 2 AUH TRAR T FEATAT

(A1) ATAATARTR ST FRATAT 2 AUHT IRAR I TR

AT T TERE | TAF TS TF Uh W q@ (e | @ v aoe
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T AGEIATEE qAH! ATARHT HEH |
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19.2 F¥TIAr @b (Probability scale)
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2
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PR)=......., PG)=....... , POW)= oo

(@) FEITAAT AT AT [HebTeare, Terhl TR STerd |
P(R) +P(G) +P(W) = .oveeeireee. = e,
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1% 20 (Trigonometry)

20.0 gAREet®T (Review)
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20.2 faire FHoredr HEORGE I (Trigonometric ratio of

special angles)
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